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� =4EF>OM5< >FG5F5 >5 ���% ?D<<5=ONFEO E?54GNM<5 F5D<<=O E 
E>>F65FEF6GNM<<< >?D545?5=<O<<: 

�E?<D4F<O 3 ?D>F5EE G44?5=<O ?O?< < 747>6, >5D47GNM<EEO 6 ?D>F5EE5 

D45>FO F5E=>?>7<G5E>>7> >5>DG4>64=<O <7 ?D><76>4EF65==OE ?><5M5=<=. 

�>745=EF6<5 =4 >>DG64NMGN ED54G 3 ?N5>5 ?DO<>5 ?<5> >>E65==>5 
6>745=EF6<5 =4 >>DG64NMGN ED54G E>7O=EF65==>= <?< <=>= 45OF5?L=>EF<, 
?>E?54EF6<O<< >>F>D>= O6?ONFEO <7<5=5=<O >>DG64NM5= ED54O. 

�D>5?5=<5 3 MF> ?D>F5EE D47DGL5=<O >GE>>6 ?>?57=>7> <E>>?45<>7> ?>4 
45=EF6<5< 6=5L=<E E<?. 

�>=4 6>7<>6=>7> 6>745=EF6<O 3 GG4EF>> F5DD<F>D<<, 6 F>< G<E?5 
4>64F>D<<, 6 ?D545?4E >>F>D>7> 6 D57G?LF4F5 D54?<74F<< ??4=<DG5<>= 
E>7O=EF65==>= < <=>= 45OF5?L=>EF< ?D54GE<4FD<645FEO 6>745=EF6<5 =4 
>>DG64NMGN ED54G; 

�>=4 6>7<>6=>7> 6D54=>7> 6>745=EF6<O 3 GG4EF>> F5DD<F>D<<, 6 F>< 
G<E?5 4>64F>D<<, 6 ?D545?4E >>F>D>7> 6 D57G?LF4F5 D54?<74F<< ??4=<DG5<>= 
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>>DG64NMGN ED54G; 

$5>>=EFDG>F<O 3 G?GGL5=<5, GE>65DL5=EF6>64=<5 >E=>6=OE 
E4D4>F5D<EF<> >>=EFDG>F<<, 744=<O, E>>DG65=<O - E F5?LN G65?<G5=<5 
=>D<4F<6=>= =47DG7><, ?D>?GE>=>= E?>E>5=>EF<; 

�F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G (���%) 3 >?D545?5=<5 ?D< 
D47D45>F>5 ?D>5>F=>= 4>>G<5=F4F<< 6>7<>6=>7> 6>745=EF6<O =4 >>DG64NMGN 
ED54G ?D< D54?<74F<< ?D>5>F=OE D5L5=<=, ?D54?>?4745<OE <7<5=5=<= 
>>DG64NM5= ED54O, 4 F4>65 ?D>7=>7<D>64=<5 55 E>EF>O=<O 6 5G4GM5< 6 F5?OE 
?D<=OF<O D5L5=<O > 6>7<>6=>EF< <?< =56>7<>6=>EF< D54?<74F<< ?D>5>F=OE 
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%<?L6<=<F>64O >5>74F<F5?L=4O D45D<>4 (%�$) 3 >D74=<74F<O <?< 55 
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F5E=>?>7<G5E>>7> >><??5>E4, ?D54=47=4G5==4O 4?O ?5D5D45>F>< E>?O=OE DG4, 
?>?GG5=<O 7>F>6>7> ?D>4G>F4 < E>?44<D>64=<O >FE>4>6 ?D><76>4EF64. 
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�6545=<5 

�?4=<DG5<4O E>7O=EF65==4O 45OF5?L=>EFL ?D54EF46?O5F E>5>= 
D5>>=EFDG>F<N GG4EF>4 4D>5?5=<O, 6>?NG4NMGN D5>>=EFDG>F<N 
EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< �1-�8, D47D45>F4==OE ?> ?D>5>FG ��%� 
668-108-/25.1.2.5-01-214�-��-01; 45<>=F46 EGM5EF6GNM<E >55E?O?<64NM<E 

GEF4=>6>> F<?4 HKAF 36/100-K; <E 74<5=G =4 >F45?L=> EF>OM<5 EGE<5 DG>46=O5 
D<?LFDO �1, �2 E 46F><4F<G5E>>= E<EF5<>= <<?G?LE=>= >G<EF><  E64FO< 
6>74GE><.  

$47D45>F>4 ??4=>6 ?> D54?<74F<< >?<E4==>= 6OL5 D5>>=EFDG>F<< 5O?4 
=4G4F4 6 2000 7. 

�?4=<DG5<O5 ?D>5>F=O5 D5L5=<O (2000 7.), E>45D64M<5EO 6 ?D>5>F=>= 
4>>G<5=F4F<<, 6>?NG4O D47D45>F4==O= D4=55 ���% ?D>L?< 7>EG44DEF65==GN 
M>>?>7<G5E>GN M>E?5DF<7G. �O44=> ?>?>6<F5?L=>5 74>?NG5=<5 �'� 
«$5E?G5?<>4=E><= F5=FD 7>EG44DEF65==>= M>>?>7<G5E>>= M>E?5DF<7O, 
?>47>F>6><, ?>6OL5=<O >64?<D<>4F<< < ?5D5?>47>F>6>< >44D>6» �<=<EF5DEF64 
?D<D>4=OE D5EGDE>6 < >ED4=O >>DG64NM5= ED54O $5E?G5?<>< �5?4DGEL 
719/2021 >F 04.01.20207. < 6=5654><EF65==GN M>E?5DF<7G 6 $'� 
«�?467>EFD>=M>E?5DF<74» (M>E?5DF=>5 74>?NG5=<5 707-02/637 >F 03.06.20217.). 

�FG5F >5 ���% F4>65 5O? ?D54EF46?5= =4 7>EG44DEF65==GN 
M>>?>7<G5E>GN M>E?5DF<7G 6 E>EF465 ?D>5>F=>= 4>>G<5=F4F<< ?> ?D>5>FG 
«$5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 ?D><??>M44>5 2$' 
�D4E=>E?>5>4E>>7> DG4=<>4 ��� �5?4DGEL>4?<=». �>?GG5=> ?>?>6<F5?L=>5 
74>?NG5=<5 7>EG44DEF65==>= M>>?>7<G5E>>= M>E?5DF<7O >F 04.01.20207. 
719/2021. 

� =4EF>OM55 6D5<O 6 E6O7< E <=F5=E<D<>4F<5= ?D>F5EE>6 GEG4L5=<O 
F5E=<G5E>>7> E>EF>O=<O EFD><F5?L=OE >>=EFDG>F<=, 6 F5?>< D4EL<D5=<5< 
<4ELF45>6, 6>7=<>?4 =5>5E>4<<>EFL 6=5E5=<O <7<5=5=<= 6 ?D>5>F E6O74=> E 
4>FG4?<74F<5= D4=55 D47D45>F4==>7> ?D>5>F4 E>7?4E=> <7<5=5=<N 71 > 7444=<N 
=4 ?D>5>F<D>64=<5 >F 13.02.2024 7. (�D<?>65=<5 �). � <<5==> D4745?5=<5 
?D>5>F4 =4 465 >G5D54< EFD><F5?LEF64 < ?D>6545=<5 4>?>?=<F5?L=OE D45>F ?> 
>5N5<4< D5>>=EFDG>F<< >5N5>F4, E>7?4E=> D57G?LF4F4< F5E=<G5E>>7> 
>5E?54>64=<O EFD><F5?L=OE >>=EFDG>F<=.  

�>E>>?L>G 6 4>FG4?<74F<< ?D>5>F=>= 4>>G<5=F4F<< 6 D4<>4E 
D5>>=EFDG>F<< ??4=<DG5FEO G65?<G5=<5 ?D545?L=>= <4EEO 6O5D>E>6 
747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE 5>?55 G5< =4 ?OFL ?D>F5=F>6 
>F=>E<F5?L=> D4=55 D47D45>F4==>= ?D>5>F=>= 4>>G<5=F4F<<. � <<5==> 
EG<<4D=O= 64?>6O= 6O5D>E 747DO7=ONM<E 65M5EF6 E>7?4E=> 4>FG 
<=65=F4D<74F<< 6 2020 7. c GG5F>< ?D>5>F<DG5<OE <EF>G=<>>6 E>EF46?O? 
14,837188F/7>4. � E6O7< E G65?<G5=<5< 6O5D>E>6 747DO7=ONM<E 65M5EF6 >F 
?D>5>F<DG5<OE <EF>G=<>>6 E 20 <7/<3 4> 50 <7/<3 (>>?<G5EF6> <EF>G=<>>6 
>EF45FEO 557 <7<5=5=<=) EG<<4D=O= 64?>6O= 6O5D>E 747DO7=ONM<E 65M5EF6 
E>EF46?O5F 25,5212 F/7>4, E>7?4E=> FD55>64=<= ?G=>FG 4 EF4FL< 19 �4>>=4 
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$5E?G5?<>< �5?4DGEL 7 399-� >F 18.07.20167. «� 7>EG44DEF65==>= 
M>>?>7<G5E>>= M>E?5DF<75, EFD4F57<G5E>>= M>>?>7<G5E>>= >F5=>5 < >F5=>5 
6>745=EF6<O =4 >>DG64NMGN ED54G», =5>5E>4<<> 6O?>?=5=<5 >>DD5>F<D>6>< 
D4=55 D47D45>F4==>7> ���%. 

%>EF46 <EE?54>64=<= < ?>DO4>> ?D>6545=<O ���% >?D545?5=5= E>7?4E=> 

?>?>65=<O > ?>DO4>5 ?D>6545=<O >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G, 
FD55>64=<OE > E>EF46G >FG5F4 >5 >F5=>5 6>745=EF6<O =4 >>DG64NMGN ED54G, 
FD55>64=<OE > E?5F<4?<EF4<, >EGM5EF6?ONM<< ?D>6545=<5 >F5=>< 6>745=EF6<O 
=4 >>DG64NMGN ED54G [1], ->>�<� 17.02.06-001-2021 «�ED4=4 >>DG64NM5= 
ED54O < ?D<D>4>?>?L7>64=<5. �D46<?4 ?D>6545=<O >F5=>< 6>745=EF6<O =4 
>>DG64NMGN ED54G». 

�E=>6=>= F5?LN ?D>6545=<O ���% O6?O5FEO: 
" 6E5EF>D>==55 D4EE<>FD5=<5 M>>?>7<G5E><E < E6O74==OE E =<<< E>F<4?L=>-

M>>=><<G5E><E < <=OE ?>E?54EF6<= ??4=<DG5<>= 45OF5?L=>EF< 4> ?D<=OF<O 
D5L5=<O > 55 D54?<74F<<; 

" ?><E> >?F<<4?L=OE ?D>5>F=OE D5L5=<=, E?>E>5EF6GNM<E 
?D54>F6D4M5=<N <?< <<=<<<74F<< 6>7<>6=>7> 7=4G<F5?L=>7> 6D54=>7> 
6>745=EF6<O ??4=<DG5<>= 45OF5?L=>EF< =4 >>DG64NMGN ED54G < =4 <EF>D<>>-

>G?LFGD=>= F5==>EFL; 
" D47D45>F>4 MDD5>F<6=OE <5D ?> <<=<<<74F<< < (<?<) >><?5=E4F<< 

6>7<>6=>7> 7=4G<F5?L=>7> 6D54=>7> 6>745=EF6<O ??4=<DG5<>= 45OF5?L=>EF< =4 
>>DG64NMGN ED54G. 

�D< ?D>6545=<O ���% D5L5=O E?54GNM<5 7444G<: 

" >?<E4=O 4?LF5D=4F<6=O5 64D<4=FO D54?<74F<< ??4=<DG5<>= 
45OF5?L=>EF<, 6>?NG4O >F>47 >F 55 D54?<74F<< (=G?564O 4?LF5D=4F<64); 
" >?<E4=> EGM5EF6GNM55 E>EF>O=<5 >>DG64NM5= ED54O, E>F<4?L=>-

M>>=><<G5E><E < <=OE GE?>6<=; 
" >?<E4=O >E=>6=O5 <EF>G=<>< < 6>7<>6=O5 6<4O 6>745=EF6<O =4 

>>DG64NMGN ED54G >464>7> <7 4?LF5D=4F<6=OE 64D<4=F>6 D47<5M5=<O < (<?<) 
D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF<; 
" 6O?>?=5= ?D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O < 

E>F<4?L=>-M>>=><<G5E><E < <=OE GE?>6<=;  
" ?D54?>65=O <5DO ?> ?D54>F6D4M5=<N, <<=<<<74F<< <?< >><?5=E4F<< 

7=4G<F5?L=>7> 6D54=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G 6 D57G?LF4F5 
D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF<,  G?GGL5=<N E>F<4?L=>-M>>=><<G5E><E 
GE?>6<= 

" 6O?>?=5= ?D>7=>7 6>7=<>=>65=<O 65D>OF=OE GD576OG4==OE < 74?D>5>F=OE 
464D<==OE E<FG4F<= < >F5=>4 <E ?>E?54EF6<=, >?<E4=O <5DO ?> 
?D54G?D5645=<N F4><E E<FG4F<=, D547<D>64=<N =4 =<E, ?<>6<44F<< <E 
?>E?54EF6<=; 
" 6O?>?=5=> >5>E=>64=<5 6O5>D4 ?D<>D<F5F=>7> 64D<4=F4 D54?<74F<< 

??4=<DG5<>= 45OF5?L=>EF<; 
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" >F5=5=4 =5>5E>4<<>EFL ?D>7D4<< ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= 
ED54O < ?>E?5?D>5>F=>7> 4=4?<74 45OF5?L=>EF< >5N5>F4; 
" E45?4=O >E=>6=O5 6O6>4O ?> D57G?LF4F4< ?D>6545=<O ���%; 
" 44=4 >F5=>4 4>EF>65D=>EF< ?D>7=>7<DG5<OE ?>E?54EF6<= D54?<74F<< 

??4=<DG5<>= 45OF5?L=>EF<, E G>474=<5< 6OO6?5==OE ?D< ?D>6545=<< ���% 
=5>?D545?5==>EF5=; 
" ?D<6545=O GE?>6<O 4?O ?D>5>F<D>64=<O >5N5>F4.  

�EE>4=O<< 44==O<< 4?O 6O?>?=5=<O D45>F O6?O?<EL: ?D>5>F=O5 
<4F5D<4?O ?> >5N5>FG; <4F5D<4?O �� «��& ?> 75>?>7<<»; =4GG=O5 D47D45>F>< 
�=EF<FGF4 ?D<D>4>?>?L7>64=<O ��� �5?4DGE<; 6>?NG4O >FG5F >5 ���% ?> 
>5N5>FG «$5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 ?D><??>M44>5 
2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=», 2020 7., 
74>>=>44F5?L=>-=>D<4F<6=4O 4>>G<5=F4F<O; >4DF>7D4D<G5E><= <4F5D<4? 6 F>< 
G<E?5, ?D54>EF46?O5<O= <EF>G=<>4<< E5F< �=F5D=5F (D5EGDEO 
google.maps.com.). 



10 

 

1 %6545=<O > 74>47G<>5 ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF<, E6545=<O 
> F5?OE < =5>5E>4<<>EF< D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 

 

�4>47G<>>< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 6OEFG?45F ��� 
«�5?4DGEL>4?<=», 223710, �<=E>4O >5?4EFL, 7. %>?<7>DE>, G?. �>D64, 5. E-mail: 

belaruskali.office@kali.by; http://www.kali.by/; F5?.: (0174) 298608; D4>E: 
(0174)263765.  

&5?LN ??4=<DG5<>= 45OF5?L=>EF< O6?O5FEO D5>>=EFDG>F<O GG4EF>4 
4D>5?5=<O, 6>?NG4O D5>>=EFDG>F<N EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< �1-

�8, D47D45>F4==OE ?> ?D>5>FG ��%� 668-108-/25.1.2.5-01-214�-��-01; 

45<>=F46 EGM5EF6GNM<E >55E?O?<64NM<E GEF4=>6>> F<?4 HKAF 36/100-K; <E 
74<5=G =4 >F45?L=> EF>OM<5 EGE<5 DG>46=O5 D<?LFDO �1, �2 E 46F><4F<G5E>>= 
E<EF5<>= <<?G?LE=>= >G<EF>< E64FO< 6>74GE><. 

�5>5E>4<<>EFL ?D>6545=<O D5>>=EFDG>F<< >F45?L=OE 744=<= < 
E>>DG65=<= GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 ?D><??>M44>5 2$' 
�D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=», 6O764=4 
=5G4>6?5F6>D<F5?L=O< F5E=<G5E><< E>EF>O=<5< DO44 EFD><F5?L=OE 
>>=EFDG>F<= ?> D57G?LF4F4< <E F5E=<G5E>>7> >5E?54>64=<O. � F4>65 
FD55>64=<O<< >55E?5G5=<O MDD5>F<6=>= >G<EF>< 6O5D>E>6 6 4F<>ED5D=O= 
6>74GE >F >5>DG4>64=<O GG4EF>4 4D>5?5=<O >F ?O?<. 

 

 

mailto:belaruskali.office@kali.by
http://www.kali.by/
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2 �?LF5D=4F<6=O5 64D<4=FO D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 

�D< 4=4?<75 6>7<>6=>EF< ?D54EF46?5=<O 4?LF5D=4F<6=OE 64D<4=F>6 
D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 5O?< D4EE<>FD5=O 64D<4=FO 

F5DD<F>D<4?L=>7> D47<5M5=<O ?D><76>4EF65==>= ??>M44><, 4 F4>65 
F5E=>?>7<G5E><E D5L5=<=.  

�?LF5D=4F<6=O5 64D<4=FO ?> F5DD<F>D<4?L=><G D47<5M5=<N 
?D><76>4EF65==>= ??>M44>< =5 5O?< ?D<=OFO > D4EE<>FD5=<N, 6E?54EF6<5 
=4?<G<O =5>5E>4<<>EF< ?D>6545=<O D5>>=EFDG>F<< GG4EF>4 4D>5?5=<O, 
D4E?>?>65==>7> =4 ?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� 
«�5?4DGEL>4?<=», >5GE?>6?5==>= E5DL57=O< GEG4L5=<5< F5E=<G5E>>7> 
E>EF>O=<O EFD><F5?L=OE >>=EFDG>F<= 744=<= < E>>DG65=<= ?> D57G?LF4F4< 
>5E?54>64=<O < 4<47=>EF<>< <E F5E=<G5E>>7> E>EF>O=<O. %>>F65FEF65==> 
EGM5EF6G5F 65EF>4O ?D<6O7>4 ?D>6545=<O D45>F ?> D5>>=EFDG>F<< > >>=>D5F=>= 
?D><??>M44>5. 

�?LF5D=4F<6=O5 64D<4=FO 6 G4EF< F5E=>?>7<G5E><E D5L5=<= =5 
D4EE<4FD<64?<EL, 6 6<4G >E>55==>EF5= >><??5>E4 F5E=<G5E><E <5D>?D<OF<=, 
?D><76>4EF64 D45>F ?D< D5>>=EFDG>F<<:  

o D47=>D>4=>EFL, D4EED54>F>G5==>EFL < <5?>>>5N5<=>EFL 6O?>?=O5<OE 
D45>F; 

o 6O?>?=5=<5 >><??5>E4 D45>F, =5 ?D<EGM<E =>6><G EFD><F5?LEF6G 
(GE<?5=<5 >>=EFDG>F<=, 74<5=4 >F45?L=OE >>=EFDG>F<6=OE M?5<5=F>6, <E 
<>=F46 < F. ?.);  

o EF5E=5==O5 GE?>6<O EFD><F5?L=>= ??>M44><, ?D<G5< D4>F>D 
EF5E=5==>EF< >>47O645F D5L4NM55 6>745=EF6<5 =4 >5MGN EE5<G >D74=<74F<< 
D45>F. 

�5>5M4O 6OL5E>474==>5, 6 >4G5EF65 4?LF5D=4F<6=OE 64D<4=F>6 
D4EE<>FD5=O E?54GNM<5 64D<4=FO: 

I 64D<4=F - $5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 

II 64D<4=F - «=G?564O» 4?LF5D=4F<64 3 >F>47 >F ??4=<DG5<>= 
E>7O=EF65==>= 45OF5?L=>EF<. 

 

&4><< >5D47><, ?D< ED46=5=<< 46GE 64D<4=F>6 ?D54?>GF5=<5 5O?> >F44=>  
64D<4=FG I 3 $5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=», 

E>>F65FEF65==> 6 =4EF>OM5< >FG5F5 ?D<6545=4 >F5=>4 6>745=EF6<O ??4=<DG5<>= 
45OF5?L=>EF< ?D< D54?<74F<< ?D>5>F=OE D5L5=<= ?> 1 64D<4=FG. 

�F>47 >F ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 3 «=G?564O» 
4?LF5D=4F<64 3 =5 E6O74= E 6>745=EF6<5< =4 >>DG64NMGN ED54G, =5 
E>>F65FEF6G5F ?5DE?5>F<64< 44?L=5=L57> D476<F<O ��� «�5?4DGEL>4?<=» 3 

D?47<4=4 >4?<==>= ?D><OL?5==>EF<. 
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2.1 I 64D<4=F. $5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 6 
E>>F65FEF6<< E ?D>5>F=O<< D5L5=<O<<  

2.1.1 �5M4O E4D4>F5D<EF<>4 F5DD<F>D<< 6>76545=<O >5N5>F4 

1.2 �5M4O E4D4>F5D<EF<>4 F5DD<F>D<< 6>76545=<O >5N5>F4 

�D><??>M44>4 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 
=4E>4<FEO 6 E565D=>= G4EF< %>?<7>DE>>7> D4=>=4, E> 6E5E EF>D>= >7D4=<G5==4O 
75<?O<< ��� «�>?LL56<>-�7D>». �57>D=4O >4DF4 D4=>=4 <EE?54>64=<= 
?D54EF46?5=4 =4 D<E. 1.1. 

�D>5>F<DG5<O= >5N5>F ??>M44LN 0,2820574 D4E?>?>65= 6 F5=FD4?L=>= 
G4EF< F5DD<F>D<< ?D><??>M44>< �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=». 'G4EF>> >7D4=<G5= EGM5EF6GNM<<< FD4=E?>DF=O<< 
?D>5744<<, 74?5D5O<<.  

 

 

$<EG=>> 1.1 3 �57>D=4O >4DF4 D4=>=4 <EE?54>64=<=  

�MD>D>F>E=<<>> F5DD<F>D<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF<. 
'G4EF>> D5>>=EFDG>F<< E 6O>>?<D>6>>= <7 �5=??4=4 ?D54EF46?5=O =4 D<E. 1.2. 
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$<EG=>> 1.2 3 �MD>D>F>E=<<>> F5DD<F>D<< ??4=<DG5<>= E>7O=EF65==>= 
45OF5?L=>EF<. 'G4EF>> D5>>=EFDG>F<< (GG4EF>> 4D>5?5=<O) E 6O>>?<D>6>>= <7 
�5=??4=4  

�D4E=>E?>5>4E><= DG4=<> 2$' D4E?>?>65= 6 D4=>=5 45D565=L �>?>FG<FO 
< �>EO=<G<, %>?<7>DE>>7> D4=>=4 �<=E>>= >5?4EF<. �?<64=L4O 6<?4O 7>=4 3 

4. �>EO=<G< 3 =4E>4<FEO =4 D4EEF>O=<< 745 < =4 N7>-6>EF>> >F DG4=<>4. 

�?<64=L<= ?>65DE=>EF=O= 6>4=O= >5N5>F 3 D5>4 %<65?L74 ?D>F5>45F =4 
D4EEF>O=<< 5>?55 2 >< 6>EF>G=55 ?D>5>F<DG5<>7> >5N5>F4. 

$5?L5D ??>M44>< E?>>>==O=, E??4=<D>64==O= 6 ?D>F5EE5 EFD><F5?LEF64, 
?5D5E5G5=<= =5 <<55F. 

 

2.1.2 �D4F>>5 >?<E4=<5 ?D>5>F=OE D5L5=<= 

%4D4>F5D<EF<>4 EGM5EF6GNM57> ?D><76>4EF64 

$45>F4 GG4EF>4 4D>5?5=<O ?D><76>4<FEO ?> E?54GNM5<G F<>?G. 
$G44 >4?<==4O E> EF6>?4 71 ?>EFG?45F 6 EGM5EF6GNM<= <5F4??<G5E><= 

5G=>5D, >5N5< 350<3. % 5G=>5D4, ?>ED54EF6>< EGM5EF6GNM<E E>D55>>6OE 
?<F4F5?5= (4LF.) DG44 4>7<DG5FEO =4 F5E=>?>7<G5E><5 ?<=<< 71, 72, 73, 74. 
�D><76>4<F5?L=>EFL >4=>= F5E=>?>7<G5E>>= ?<=<< 700F/G. % E>D55>>6>7> 
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?<F4F5?O DG44 =4?D46?O5FEO =4 EGM5EF6GNM<= >>=65=5D ?5=F>G=O= >E=4M5==O= 
<47=<F=O< E5?4D4F>D>< 54D454==>7> F<?4. �>E?5 >F45?5=<O <5F4??<G5E><E 
6>?NG5=<= <47=<F=O< E5?4D4F>D><, DG44 ?>EFG?45F =4 EGM5EF6GNM<5 7D>E>FO 
?>7. 214.04/1,  214.04/2, 214.04/3, 214.04/4 (>4644O <7 ?>7. E>>F65FEF6G5F E6>5= 
F5E=>?>7<G5E>>= ?<=<<). �4 7D>E>F4E ?D><76>4<FEO >?4EE<D<>4F<O DG4O ?> 
>DG?=>EF< >GE>>6. �>4 D5LUF=O= ?D>4G>F 7D>E>F>6 ?>7. 214.04/1,  214.04/2 E 
F5E=>?>7<G5E><E ?<=<= 71, 72 ?>445FEO =4 EGM5EF6GNM<= >>=65=5D 
?5=F>G=O= ?>7. 214.06/1. �44 D5LUF=O= ?D>4G>F 7D>E>F>6 ?>7. 214.04/1, 214.04/2 

?D>E>4<F 4D>5?5=<5 =4 4D>5<?>5 <>?>F>>6>= < ?>445FEO =4 >>=65=5D ?5=F>G=O= 
?>7. 214.06/1. �>4 D5LUF=O= ?D>4G>F 7D>E>F>6 ?>7. 214.04/3, 214.04/4 E 
F5E=>?>7<G5E><E ?<=<= 73, 74 ?>445FEO =4 EGM5EF6GNM<= >>=65=5D 
?5=F>G=O= ?>7. 214.06/2. �44 D5LUF=O= ?D>4G>F 7D>E>F>6 ?>7. 214.04/3, 214.04/4 

?D>E>4<F 4D>5?5=<5 =4 4D>5<?>5 <>?>F>>6>= < ?>445FEO =4 >>=65=5D ?5=F>G=O= 
?>7. 214.06/2.  

�D><76>4<F5?L=>EFL EGM5EF6GNM<E >>=65=5D>6 ?5=F>G=OE ?>7. 214.06/1, 
214.06/2 (>4=>7> >>=65=5D4) E>EF46?O5F 1400F/G. �7 >>=65=5D>6 ?5=F>G=OE ?>7. 
214.06/1, 214.06/2 DG44 =4?D46?O5FEO 6 E>?44 ED4=5=<O DG4O <?< %�$ 2$'. 

�O?5G44?5=<5 E 7D>E>F>6 ?>7. 214.04/1, 214.04/2, 214.04/3, 214.04/4, 
>>=65=5D>6 ?5=F>G=OE ?>7. 214.06/1, 214.06/2 ?D><76>4<FEO ?>ED54EF6>< 
65=F<?OF>D4 < D<?LFD4 EGE>= >G<EF>< 6>74GE4, ?D54GE<>FD5==OE 6 D4745?5 �� 
(>F>??5=<5, 65=F<?OF<O < >>=4<F<>=<D>64=<5 6>74GE4). %5D>E ?O?< E D<?LFD>6 
EGE>= >G<EF>< 6>74GE4 ?D><76>4<FEO =4 >>=65=5D4 ?5=F>G=O5 ?>7. 214.06/1, 
214.06/2. �O5D>E >G<M5==>7> 6>74GE4 ?D><76>4<FEO 6 4F<>ED5DG. 

� E>>F65FEF6<< E ?>7<F<O<< 4>FG4?<74F<< D4=55 D47D45>F4==>7> ?D>5>F4 
E>7?4E=> <7<5=5=<N 71 > 7444=<N =4 ?D>5>F<D>64=<5 >F 13.02.2024 7.  
(�D<?>65=<5 �) ?D54GE<>FD5=> E?54GNM55:  

�5D6>= >G5D54LN EFD><F5?L=>7> ?D>5>F4 ?D54GE<4FD<645FEO: 
$5>>=EFDG>F<O 744=<O 4D>5?5=<O ?>7.1 ?> �� 

�44=<5 4D>5?5=<O ?> �� 71 ?D54=47=4G5=> 4?O >5D45>F>< DG4O, 
?>EFG?4NM5= <7 >>?D4 (?> 74>DOF><G >>D>5G =4 >F<. +30.950), E ?>E?54GNM<< 
4D>5?5=<5< 6 F5EG < ?>44G5= >>=65=5D=O< FD4=E?>DF>< G5D57 74?5D5< 752 < 
753 ?> �� 72,3 6 E>?44 ?> �� 74 < =4 D45D<>G 2$'. 

�44=<5 4D>5?5=<O <=>7>MF46=>5, <=>7>ODGE=>5, E ?>?=O< EF4?L=O< 
>4D>4E><, ?DO<>G7>?L=>= D>D<O 6 ??4=5, D47<5D4<< 33,5x18 <, 6OE>F>= 47,55 <. 
�> >E< � 6 >EOE 5-7 ?D<EFD>5=> 744=<5 ��� E =5EGM<<< ><D?<G=O<< EF5=4<<. 
�> >E< � 6 >EOE 3-5 ?D<<O>4NF 465 FD4=E?>DF5D=O5 74?5D5<, ?> >E< � 6 >EOE 3-5 

=44L4EF=>5 744=<5 EF6>?4 71. 
�D>5>F>< ?D54GE<>FD5=4 74<5=4 ?<D>74 >D>6?< =4 DG?>==GN GF5??5==GN, 

74<5=4 >7D4644NM<E EF5=>6OE >>=EFDG>F<= <7 ?D>D?<EF4 F5E4 4D>5?5=<O =4 
?4=5?L ?>M?5<5=F=>= E5>D>< (>4EE5F4 <7 =5D6465NM5= EF4?<, ??<F4 
<<=5D4?>64F=4O, ?D>D?<EF 6 746>4E>>= >>D4E>5). 
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�> EF5=4< 44<<=<EFD4F<6=>-5OF>6OE ?><5M5=<= <7 E<?<>4F=>7> ><D?<G4 
< OG5<EFOE 5?>>>6 ?D54GE<>FD5=> GF5??5=<5 ??<F4<< E ?>E?54GNM5= 
>5?<F>6>>= ?D>D?<EF><.   

�4?>?=5=<5 >>>==OE ?D>5<>6 - EF5>?>?4>5FO <7 ��%-?D>D<?O. 
�4?>?=5=<5 465D=OE ?D>5<>6 - EF4?L=O5 465D=O5 5?>>< ?> %&� 2433-2015 

6 746>4E>>= 7>F>6=>EF<, ��% 6 E4=<F4D=>-5OF>6OE ?><5M5=<OE, 6>D>F4 - 

EF4?L=O5 D4E?4L=O5, ?> %&� 2442-2007 6 746>4E>>= 7>F>6=>EF<. 
�4DG6=4O >F45?>4 ?D54GE<>FD5=4 E>7?4E=> FD55>64=<O< ?D>F>>>?4 

E>65M4=<O 6E. 71181 >F 05.06.2020. 
$4=55 D47D45>F4==O< EFD><F5?L=O< ?D>5>F>< 6 744=<< 4D>5?5=<O ?> 

7444=<N =4 ?D>5>F<D>64=<5 ?D54GE<4FD<64?4EL D5>>=EFDG>F<O EGM5EF6GNM<E 
4E?<D4F<>==OE E<EF5< �1-�8, D47D45>F4==OE ?> ?D>5>FG ��%� 668-108-

/25.1.2.5-01-214�-��-01. %GM5EF6GNM<5 >55E?O?<64NM<5 GEF4=>6>< F<?4 
HKAF 36/100-K, GEF4=>6?5==O5 =5?>ED54EF65==> =44 >5>DG4>64=<5<,  
45<>=F<DGNFEO < 74<5=ONFEO =4 >F45?L=> EF>OM<5  EGE<5 DG>46=O5 D<?LFDO �1, 
�2  E 46F><4F<G5E>>= E<EF5<>= <<?G?LE=>= >G<EF><  E64FO< 6>74GE><. 
'?>6?5==4O ?O?L ?>E?5 D<?LFD>6 6>76D4M45FEO 6 F5E=>?>7<G5E><= ?D>F5EE. 
%F5?5=L >G<EF>< E>EF46?O5F 98%. 

%>7?4E=> D4=55 D47D45>F4==OE ?D>5>F=OE D5L5=<= >G<M5==O= >F ?O?< 
6>74GE >F 45<>=F<DG5<OE GEF4=>6>> 6>76D4M4?EO 6 F5E (=5 >EGM5EF6?O?EO 6 
4F<>ED5DG). 

�4EF>OM<< ?D>5>F>< ?D54GE<4FD<645FEO 674<5= 74?D>5>F<D>64==OE D4=55 
6 ?D>5>F5 4E?<D4F<>==OE D<?LFD>6  $��% �/�$ 20000-��-12-21-30 E 
65=F<?OF>D4<< <>M=>EFLN 45 >�F  (E<EF5<O �1 < �2) ?D<<5=5=<5 <<5NM<EEO 
6 =4?<G<< G 74>47G<>4 4=4?>7<G=OE D<?LFD>6 $��% �/�$ 20000 E 
65=F<?OF>D4<< <>M=>EFLN 75 >�F. 

�><?D5EE>D=4O ?>7.05 ?> �� 

�D>5>F>< ?D54GE<>FD5=4 GEF4=>6>4 EF4=F<< <>4G?L=>= >><?D5EE>D=>= 
>>=F5==5D=>7> <E?>?=5=<O (%��). %�� ?D54=47=4G5=4 4?O ?D><76>4EF64 
E64F>7> 4F<>ED5D=>7> 6>74GE4. %�� <77>F46?<645FEO 6 6<45 5?>>-5>>E4 
<4>E<<4?L=>= 746>4E>>= 7>F>6=>EF<, E>EF>OM5< <7 54<=>7> FD4=E?>DF<DG5<>7> 
<>4G?O. �?>>-5>>E >E=4M45FEO E<EF5<4<< 65=F<?OF<<, >F>??5=<O, >?>65M5=<O > 
?>64D5 < =5E4=>F<>=<D>64==>< 4>EFG?5. %F4=F<O <>4G?L=4O >><?D5EE>D=4O 
E=4565=4 46G<O >><?D5EE>D4<< 6>74GL=O<< 6<=F>6O<<. �4<= >><?D5EE>D 
D45>G<=, >4<= D575D6=O=. 

$5<>=F =44L4EF=>7> EF6>?4 71 ?>7.6 ?> �� 

$5<>=F =44L4EF=>7> E>>DG65=<O EF6>?4 71 < >>?D4 ?D54GE<4FD<645FEO 6 
7D4=<F4E 6OE>F=OE >F<5F>> 0.000& +44.400. 

�>?5D EF6>?471 ?D54EF46?O5F E>5>= ?D>EFD4=EF65==GN E<EF5<G, 
E>EF>OMGN <7 ?>4>>?D>6>= D4<O, EF4=>4, ?>4L><6=OE D5D<, 7>?>6>< >>?D4, 
46GE G>>E<=.  
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�44L4EF=>5 744=<5, 6O?>?=5=> ?> >>=FGDG EF4=>4, ?D54EF46?O5F E>5>= 
?DO<>G7>?L=>5 6 ??4=5 E>>DG65=<5 E D47<5D4<< (12,00E7,90) <. �F<5F>4 65DE4 
?>>DOF<O +44,400. �> >E< «�» =4 GG4EF>4E E ?5D5>DOF<O<< < ?>>DOF<5< 744=<5 
?D<<O>45F > 744=<N 4D>5?5=<O ?>7. 01 ?> ��.  

$47D45>F4=O =>6O5 ?D>5>F=O5 D5L5=<O: 74<5=4 < GE<?5=<5 >F45?L=OE 
M?5<5=F>6 ??>M44>> >5E?G6<64=<O =44L4EF=>7> 744=<O EF6>?4 71 4> >F<. 
+44,400; 74<5=4 D555D 65EF>>EF< < M?5<5=F>6 >D5??5=<O EF5=>6>7> >7D4645=<O. 
$55D4 65EF>>EF< - =5D6465NM4O EF4?L, M?5<5=FO >D5??5=<O 3 5>?FO <7 
>>DD>7<>==>EF>=-><E EF4?5=. %F5=>6>5 >7D4645=<5 3 ?>6F>D=>5 ?D<<5=5=<5 
?<EF>6 <7 =5D6465NM5= EF4?< F>?M<=>= 2 << E ?D5464D<F5?L=>= >G<EF>>= < 
?>E?54GNM5= ?>>D4E>>= E>7?4E=> F65F>6><G D5L5=<N. �D< 74<5=5 ?<EF>6 
>7D4645=<O ?D54GE<>FD5=4 74<5=4 25% >F >5M5= ??>M44< EGM5EF6GNM57> 
>7D4645=<O. �4<5=4 EF5=>6>7> >7D4645=<O >>?D4 ?D54GE<>FD5=4 4> >F<. +44,400. 

 

�F>D>= >G5D54LN EFD><F5?L=>7> ?D>5>F4 ?D54GE<4FD<645FEO: 
$5>>=EFDG>F<O 74?5D5< 752 ?>7.2 ?> �� 

�4?5D5O 752 ?D54EF46?O5F E>5>= E>>DG65=<5 <>EF>6>7> F<?4 
?DO<>G7>?L=>= D>D<O 6 ??4=5. �4?5D5O =4>?>==4O, FD5E?D>?5F=4O, E ?D>?5F4<< 
15 < < E 46G<O >>=E>?O<< 4?<=>= 1830<< G F5E4 4D>5?5=<O < 3179<< 3 G 
?5D57DG7>G=>7> G7?4 E>?444 DG4O. $47<5DO ?> >EO< �-�/1-4 3 4,4E47,479 <. 

�D>5>F>< ?D54GE<>FD5= 45<>=F46/6>EEF4=>6?5=<5 >55F>=<D>6>> 
EF4?L=OE >?>D ?> D57G?LF4F4< F5E=<G5E>>7> 74>?NG5=<O, 74<5=4 EF5=>6>7> 
>7D4645=<O 74?5D5<, <7<5=5=<5 D4E?>?>65=<O >>>= < <7<5=5=<O <E >>?<G5EF64, 
D47D45>F4=O =>6O5 ?D>5>F=O5 D5L5=<O: 74<5=4 >F45?L=OE M?5<5=F>6 D5L5F>< 
>?>D 74?5D5<; 74<5=4/GE<?5=<5 >F45?L=OE M?5<5=F>6 D5D<, 74<5=4/GE<?5=<5 
>F45?L=OE M?5<5=F>6 ?>>DOF<O: ?D>7>=>6 < E6O75= ?> ?>>DOF<N; 74<5=4 E6O75= 
?> =<6=5<G < 65DE=5<G ?>OE4< D5D<; 74<5=4 M?5<5=F>6 EF5=>6>7> D4E65D>4. 

$5>>=EFDG>F<O 74?5D5< 753 ?>7.3 ?> �� 

�4?5D5O 753 ?D54EF46?O5F E>5>= E>>DG65=<5 <>EF>6>7> F<?4 
?DO<>G7>?L=>= D>D<O 6 ??4=5. �4?5D5O =4>?>==4O, FD5E?D>?5F=4O (F5=FD4?L=O= 
?D>?5F 3 7>D<7>=F4?L=O=, >D4==<5 ?D>?5FO 3 =4>?>==O5). �D<<O>4=<5 74?5D5< 
> F5EG 4D>5?5=<O < ?5D57DG7>G=><G E>?44G DG4O 6O?>?=5=> G5D57 >>=E>?L=O5 
GG4EF>< ?D>?5F=OE EFD>5=<=.  $47<5DO ?> >EO< �-�/1-4 3 4,4E41,5 <. 

�D>5>F>< ?D54GE<>FD5=O D45>FO ?> 6>EEF4=>6?5=<N >55F>=<D>6>> 
EF4?L=OE >?>D ?> D57G?LF4F4< F5E=<G5E>>7> 74>?NG5=<O; 74<5=4 EF5=>6>7> 
>7D4645=<O 74?5D5<, <7<5=5=<5 D4E?>?>65=<O >>>= < <7<5=5=<O <E >>?<G5EF64, 
D47D45>F4=O =>6O5 ?D>5>F=O5 D5L5=<O: GE<?5=<5 >F45?L=OE M?5<5=F>6 D5L5F>< 
>?>D 74?5D5<; GE<?5=<5 >F45?L=OE M?5<5=F>6 D5D<; 74<5=4/GE<?5=<5 >F45?L=OE 
M?5<5=F>6 ?>>DOF<O: ?D>7>=>6 < E6O75= ?> ?>>DOF<N; 74<5=4 E6O75= ?> =<6=5<G 
< 65DE=5<G ?>OE4< D5D<; 74<5=4 M?5<5=F>6 EF5=>6>7> D4E65D>4. 
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$5<>=F E>?444 DG4O ?>7.4 ?> �� 

%>?44 DG4O 6 ??4=5 <<55F ?D>EFGN ?DO<>G7>?L=GN D>D<G E D47<5D4<< 6 
>EOE 3-29 (112,5*45) <. � >EOE 1-3 > E>?44G ?D<<O>4NF ?5D57DG7>G=O5 G7?O, 
>5N54<=5==O5 E> E>?44>< >5M<<< >>=65=5D=O<< ?<=<O<<, ?> >E< 29 - 

?D<EFD>5==O= >5N5< 4?O >5E?G6<64=<O >>=65=5D4 =4 >F<. -1.600. � 
?5D57DG7>G=O< G7?4< E>?444 ?> >E< 1 ?D<<O>4NF 74?5D5< 752,53 (E<. 
>><??5>FO 5�7.13-02-�%-2.0.0, 5�7.13-03-�%-2.0.0). �44=<5 E>?444 FD5G7>?L=>= 
D>D<O 6 ?>?5D5G=>< D47D575 E <4>E<<4?L=>= 6OE>F>= 6 >>=L>5 - 26.8<. 

�D>5>F>< ?D54GE<>FD5=O D5<>=F=O5 D45>FO ?> D57G?LF4F4< F5E=<G5E>>7> 
>5E?54>64=<O EFD><F5?L=OE >>=EFDG>F<= (74<5=4 EF5=>6>7> >7D4645=<O 
?5D57DG7>G=OE G7?>6 6 >EOE 1-3, G4EF<G=4O 74<5=4 74?>?=5=<= >>>==OE < 
465D=OE ?D>5<>6, D5<>=F >F45?>G=OE ?>>DOF<= < ?>>DOF<= GG4EF>>6 ?>?>6), 4 
F4>65 >F45?>4 D4E44>6 ?D>D<?<D>64==O< EF4?L=O< ?<EF>< ?> EGM5EF6GNM<< 
>>=EFDG>F<O<. 

$5<>=F >455?L=>= MEF4>44O ?>7.9 ?> �� 

-EF4>444 3 ?D>E>4=4O >4=>ODGE=4O E 46GEEF>D>==<< D4E?>?>65=<5< 
>455?5= < FDG5>?D>6>4>6 ?> 65DEG FD465DE. �?<=4 MEF4>44O 3 83,0 <, 6 >EOE «4-

5» 6O?>?=5=4 F5<?5D4FGD=4O 6EF46>4 MEF4>44O. 
$G=44<5=FO 3 EF>?5G4FO5 E ?>4>>?>==<>4<< EF4>4==>7> F<?4 <>=>?<F=O5 

6/5. �?>DO 3 EF4?L=O5 >>?>==O <7 >DG7?OE M?5>FD>E64D=OE ?DO<>L>6=OE FDG5 
D530E7. �D>?5F=O5 >>=EFDG>F<< 3 EF4?L=O5 D5D<O ?D>?5F>< 12,0 < 18,0 < ?> 
E5D<< 3.015-2/92 6.III E ?4D4??5?L=O<< ?>OE4<<, D4E>>E=>= D5L5F>>= < 
?D><56GF>G=O<< EF>=>4<<, >5N54<=5==O5 ?> 65DE=<< ?>OE4< E<EF5<>= 
7>D<7>=F4?L=OE E6O75=, 4 F4>65 65DF<>4?L=> D4E?>?>65==O<< E6O756O<< 
D4<>4<<. �D>?5F=O5 >>=EFDG>F<< <7 D46=>?>?>G=OE G7>?>>6 < 7=GFOE 
L65??5D>6. �> 65DE=<< ?>OE4< D5D< 6 G7?4E D4E?>?>65=O FD465DEO 4?<=>= 3,60 
<. &D465DEO EF4?L=O5 E64D=O5, >>D>5G4F>7> E5G5=<O <7 7=GFOE L65??5D>6. 
%>4>6O5 ??>M44>< L<D<=>= 700 <<. �4?>< ??>M44>< <7 ?D>>4F=OE L65??5D>6, 
=4EF<? 3 ?D>E5G=>-6OFO6=4O EF4?L. 

$47D45>F4= =>6O= >><??5>F 5�7.13-09-��-2.0.0 E 6O45?5=<5< G4EF< 
?<EF>6 <7 >><??5>F4 5�7.13-01-�� D4=55 D47D45>F4==>7> E> E?54GNM<<< 
?D>5>F=O<< D5L5=<O<< ?> D57G?LF4F4< F5E=<G5E>>7> 74>?NG5=<O < 7444=<O 
E<56=OE ?>4D4745?5=<=: D47D45>F4=O =>6O5 ?D>5>F=O5 D5L5=<O: 
74<5=4/GE<?5=<5 >F45?L=OE M?5<5=F>6 65DE=57> ?>OE4 ?D>?5F=OE EFD>5=<= 
MEF4>44O (FD465DE, E6O75= ?> 65DE=5<G ?>OEG, 54?>> < 4D.); 74<5=4 >455?L=OE 
D5D< MEF4>44O. �455?L=O5 D5D<O E ?4D4??5?L=O<< ?>OE4<< < D4E>>E=>= 
D5L5F>>= <7 D46=>?>?>G=OE G7>?>>6 ?> ��%&8509-93; 74<5=4 M?5<5=F>6 
>455?L=OE >>=EFDG>F<= MEF4>44O =4 =>6O5 <7 G7>?>4 D46=>?>?>G=>7> ?> ��%& 
8509-93. �7D4645=<O E>4>6>= ??>M44>< ?> E5D<< 1.450.3-7.94 6.2. 
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$56<< D45>FO. �5DE>=4? 

$56<< D45>FO GG4EF>4 4D>5?5=<O 3 340 4=5= 6 7>4G, 2 E<5=O ?> 12G. 
� E6O7< E F5<, GF> ?D>5>F>< =5 ?D54GE<4FD<645FEO G65?<G5=<5 >>?<G5EF64 

M><?<D>6>> ?>46<6=>7> E>EF464 ?> ED46=5=<N E 45=EF6GNM<<< >5NU<4<< =4 
44==O= <><5=F, ?D>5>F>< =5 ?D54GE<4FD<645FEO 66>4 4>?>?=<F5?L=OE LF4F=OE 
54<=<F. 

�F>??5=<5 < 65=F<?OF<O 

�D>5>F>< ?D54GE<>FD5=4 E<EF5<4 >F>??5=<O 744=<O 4D>5?5=<O. 
�EF>G=<>>< F5??>E=4565=<O E?G6<F EGM5EF6GNM4O F5??>E5FL E &=105-70º%. 

�F>??5=<5 %�� M?5>FD<G5E>>5 E ?D<<5=5=<5< F5D<>>>=65>F>D>6. 
%<EF5<4 G44?5=<O <75OF>G=>7> F5??>6O45?5=<O >D74=<7>64==4 E ?><>MLN 
LF4F=OE 65=F<?OF>D>6 >><?D5EE>D>6. 

�5=F<?OF<O 6 F5E5 4D>5?5=<O ??4=<DG5FEO ?D<F>G=>-6OFO6=4O 
5EF5EF65==4O. �D<F>G=O5 E<EF5<O 6>7<5M4NF 6>74GE G44?O5<O= >5M5>5<5==>= 
6OFO6=>= 65=F<?OF<5= < 4E?<D4F<>==O<< E<EF5<4<<. 

�E?<D4F<O 6 F5E5 6O?>?=O5FEO >F <5EF ?O?5=<O F5E=>?>7<G5E>>7> 
>5>DG4>64=<O < >F <5EF ?5D5EO?>6 E >>=65=5D>6 E>7?4E=> 7444=<N F5E=>?>7>6.  

�?O E<EF5< 4E?<D4F<< ?D54GE<4FD<645FEO 5?>><D>6>4 D45>FO D<?LFD 
GEF4=>6>> E D45>F>= F5E=>?>7<G5E>>7> >5>DG4>64=<O. 

 

�>4>E=4565=<5 < >4=4?<74F<O 

�EF>G=<>>< E=4565=<O E>7O=EF65==>-?<FL56>= 6>4>= O6?O5FEO 
6=GFD<??>M44>G=4O 6>4>?D>6>4=4O E5FL.  

�D<5<=<>>< E>7O=EF65==>-5OF>6OE EF>G=OE 6>4 E?G6<F EGM5EF6GNM4O 
6=GFD<??>M44>G=4O >4=4?<74F<>==4O E5FL. �4?55 MF< EF>G=O5 6>4O ?>EFG?4NF 
6 E5FL E>7O=EF65==>-5OF>6>= >4=4?<74F<< 2$' < 74F5< =4 >5M57>D>4E><5 
>4=4?<74F<>==O5 >G<EF=O5 E>>DG65=<O 7. %>?<7>DE>4.  

�>65DE=>EF=O5 EF>G=O5 6>4O E F5DD<F>D<< ?D>5>F<DG5<>7> >5N5>F4 
?>>4?<7GNFEO < >F6>4OFEO 6> 6=GFD<??>M44>G=GN E5FL 4>6456>= >4=4?<74F<<,  

44?55 =4?D46?ONFEO 6 EGM5EF6GNMGN E<EF5<G 4>6456>= >4=4?<74F<< 
?D><??>M44>< 2$' 4?O >G<EF>< < 44?L=5=L57> <E?>?L7>64=<O 6 EE5<5 
?>6F>D=>7> 6>4>E=4565=<O 2$'. 

$54?<74F<O ?D>5>F=OE D5L5=<= =5 ?>FD55G5F 4>?>?=<F5?L=>7> 
6>4>?>FD55?5=<O < =5 ?D<6545F > G65?<G5=<N 6>4>>F6545=<O. 
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3 %4D4>F5D<EF<>4 ?D<D>4=OE GE?>6<= 

3.1 �?<<4F < <5F5>D>?>7<G5E><5 GE?>6<O 

&5DD<F>D<O D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 
>F=>E<FEO > 7>=5 E G<5D5==>->>=F<=5=F4?L=O<, =5GEF>=G<6> 6?46=O< 
>?<<4F><. �5>7D4D<G5E>>5 ?>?>65=<5 D4=>=4 ??4=<DG5<>7> EFD><F5?LEF64 6 
N6=>= G4EF< �<=E>>= >5?4EF< >5GE?46?<645F 65?<G<=G ?D<E>44 E>?=5G=>= 
D44<4F<< < E4D4>F5D F<D>G?OF<< 4F<>ED5DO. �4 44==>= F5DD<F>D<< 6 F5G5=<5 
6E57> 7>44 7>E?>4EF6G5F 74?44=O= ?5D5=>E 6>74GL=OE <4EE. �4=4>> G4EF> 
6F>D65=<5 4D>F<G5E>>7> 6>74GE4, GF> ?D<6>4<F > ?>=<65=<N F5<?5D4FGDO 4> 
E6><E <<=<<4?L=OE 7=4G5=<=. �D<E>4 FD>?<G5E><E 6>74GL=OE <4EE 6O7O645F 
7=4G<F5?L=>5 ?>6OL5=<5 F5<?5D4FGDO, E>?D>6>644NM55EO 6O?445=<5< >E44>>6 
?<6=56>7> E4D4>F5D4 [2]. 

%D54=55 <5EOG=>5 7=4G5=<5 F5<?5D4FGDO 6>74GE4 O6?O5FEO =4<5>?55 
>5M5= E4D4>F5D<EF<>>= F5<?5D4FGD=>7> D56<<4.  

�?<<4F %>?<7>DE>>7> D4=>=4 >F?<G45FEO <O7>>= >>D>F>>= 7<<>=, F5??O< 
< E>?=5G=O< 6575F4F<>==O< ?5D<>4><, =5GEF>=G<6O< G6?46=5=<5<. 
�5F5>D>?>7<G5E><5 =45?N45=<O 6 %>?<7>DE>>< D4=>=5 =5 >EGM5EF6?ONFEO. 
%4D4>F5D<EF<>< >E=>6=OE ?>>474F5?5= ?D><76545=O ?> 44==O< =45?N45=<= 
%?GF>>= <5F5>D>?>7<G5E>>= EF4=F<<. �> 44==O< =45?N45=<= %?GF>>= 
<5F5>D>?>7<G5E>>= EF4=F<< ED54=57>4>64O F5<?5D4FGD4 6>74GE4 E>EF46?O5F 6,8 
0%, ED54=OO F5<?5D4FGD4 6>74GE4 6 O=64D5 E>EF46?O5F -4,50%, 6 <N?5 3 +18,30%. 
�D>4>?6<F5?L=>EFL ?5D<>44 E> ED54=5EGF>G=O<< F5<?5D4FGD4<< 6OL5 00% 
E>EF46?O5F >>>?> 249 EGF>> [3]. 

�> >>?<G5EF6G 6O?444NM<E >E44>>6 <EE?54G5<4O F5DD<F>D<O >F=>E<FEO > 
7>=5 4>EF4F>G=>7> G6?46=5=<O. �>4>64O EG<<4 >E44>>6 6 ED54=5< E>EF46?O5F 609 

<<., ED54=55 >>?<G5EF6> 74 F5??O= ?5D<>4 7>44 (4?D5?L - >>FO5DL) 467 <<, 74 
E>?>4=O= (=>O5DL -<4DF) 3 189 <<. � 7>4>6>< E>45 <<=<<4?L=>5 >>?<G5EF6> 
>E44>>6 (31 <<) 6O?4445F 6 D56D4?5, <4>E<<4?L=>5 (86 <<) 3 6 <N=5  [4]. 

�<=4<<>4 <=>7>?5F=57> E>44 65?<G<=O 7>4>6OE EG<< 4F<>ED5D=OE 
>E44>>6 < ?> ?5D<>44< 7>44 (F5??O=, E>?>4=O=) ?D54EF46?5=4 =4 D<E. 3.1.  

$<EG=>> 3.1 >E44>>6 < ?> ?5D<>44< 7>44 (F5??O=, E>?>4=O=) 
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F5??O= ?5D<>4 E>?>4=O= ?5D<>4 7>4
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�>4>6>= E>4 ?D>4>?6<F5?L=>EF< >E44>>6 ?D>F<6>?>?>65= 7>4>6><G E>4G 
<E >>?<G5EF64. �4<5>?55 ?D>4>?6<F5?L=O >=< 7<<>=, ?5F>< <E 
?D>4>?6<F5?L=>EFL E>>D4M45FEO, => >>?<G5EF6> G65?<G<645FEO 5>?55 G5< 6 2 

D474; >E5=LN >E44>< <=>744 ?D<=<<4NF 74FO6=>= E4D4>F5D.  
�5D47>64=<5 GEF>=G<6>7> E=56=>7> ?>>D>64 6 ED54=5< ?D><EE>4<F 6 

E5D54<=5 45>45DO, D47DGL5=<5 3 > E5D54<=5 <4DF4. �OE>F4 57> 12-20 E<, ED54=OO 
7?G5<=4 ?D><5D74=<O ?>G6O ?>4 E=57>6O< ?>>D>6>< 45-50 E<, 4 ?D< 57> 
>FEGFEF6<< 3 4> 1 <. '<E?> 4=5= E> E=56=O< ?>>D>6>< 3 98. 

�5FD>6>= D56<< O6?O5FEO 646=O< D4>F>D><, 6?<ONM<< =4 
D4E?D>EFD4=5=<5 ?D<<5E5= 6 4F<>ED5D5. � D4=>=5 <EE?54>64=<= 6 ?5F=55 6D5<O 
?D5>5?444NF 65FDO 74?44=OE < E565D>-74?44=OE =4?D46?5=<=, 6 7<<=55 3 N7>-

74?44=OE, 74?44=OE < N7>-6>EF>G=OE =4?D46?5=<=. � F5?>< 74 7>4 ?D5>5?444NF 
74?44=O5 65FD4, =4<<5=LL4O ?>6F>DO5<>EFL G 65FD>6 E565D=>= G5F65DF< 
7>D<7>=F4. %D54=57>4>64O E>>D>EFL 65FD4, ?>6F>DO5<>EFL ?D56OL5=<O >>F>D>= 
E>EF46?O5F 5% D46=4 6 </E. 

$4E?D545?5=<5 ?>6F>DO5<>EF< 65FD4 ?> =4?D46?5=<O< ?D54EF46?5=> 6 6<45 
D>7O 65FD>6 =4 D<EG=>5 3.2 6 E>>F65FEF6<< E> ED54=<<< <=>7>?5F=<<< 44==O<< 
�' «$5E?G5?<>4=E><= F5=FD D44<4F<>==>7> >>=FD>?O < <>=<F>D<=74 
>>DG64NM5= ED54O» (?<EL<> >F 10.01.20227. 79-11/142, �D<?>65=<5 �). 

$<EG=>> 3.2 3 �D4D<> ED54=5<=>7>?5F=5= ?>6F>DO5<>EF< 65FD4 

 

�5F5>D>?>7<G5E><5 E4D4>F5D<EF<>< < >>MDD<F<5=FO, >?D545?ONM<5 
GE?>6<O D4EE5<64=<O 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 6>74GE5 6 D4=>=5 
D47<5M5=<O ?D>5>F<DG5<>7> >5N5>F4 (4.�4EO=<G< %>?<7>DE>>7> D4=>=4 
�<=E>>= >5?4EF<), ?D54EF46?5=O 6 F45?<F5 3.1. 
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&45?<F4 3.1 3 �5F5>D>?>7<G5E><5 E4D4>F5D<EF<>< < >>MDD<F<5=FO, 
>?D545?ONM<5 GE?>6<O D4EE5<64=<O 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 

6>74GE5 4. �4EO=<G< %>?<7>DE>>7> D4=>=4 �<=E>>= >5?4EF< 

�4<<5=>64=<5 E4D4>F5D<EF<> �5?<G<=4 

�>MDD<F<5=F, 746<EOM<= >F EFD4F<D<>4F<< 4F<>ED5DO 160 

�>MDD<F<5=F D5?L5D4 <5EF=>EF< 1 

%D54=OO <4>E<<4?L=4O F5<?5D4FGD4 =4DG6=>7> 6>74GE4 
=4<5>?55 64D>>7> <5EOF4 7>44, & >%  +21,3 

%D54=OO <4>E<<4?L=4O F5<?5D4FGD4 =4DG6=>7> 6>74GE4 
=4<5>?55 E>?>4=>7> <5EOF4 (4?O >>F5?L=OE, D45>F4NM<E 
?> >F>?<F5?L=><G 7D4D<>G), & >% 

-4,2 

 

3.2 �F<>ED5D=O= 6>74GE 

� E>EF>O=<< 4F<>ED5D=>7> 6>74GE4 D4=>=4 ??4=<DG5<>7> E>7O=EF65==>= 
45OF5?L=>EF< (4.�4EO=<G< %>?<7>DE>>7> D4=>=4 �<=E>>= >5?4EF<) <>6=> 
EG4<FL ?> 44==O< D>=>6OE >>=F5=FD4F<= 747DO7=ONM<E 65M5EF6. �=4G5=<O 
D>=>6OE >>=F5=FD4F<= ?D54EF46?5=O �' «$5E?G5?<>4=E><= F5=FD 
D44<4F<>==>7> >>=FD>?O < <>=<F>D<=74 >>DG64NM5= ED54O» (>F 10.01.20227. 
79-11/142, �D<?>65=<5 �) < ?D<6545=O 6 F45?<F5 3.2. 

&45?<F4 3.2 3 �=4G5=<O D>=>6OE >>=F5=FD4F<= 747DO7=ONM<E 65M5EF6 6 

4F<>ED5D=>< 6>74GE5  

�>4 

65M5EF
64 

�4<<5=>64=<5 

747DO7=ONM57> 

65M5EF64 

���, <>7/<3 �=4G5=<O 

D>=>6OE 

>>=F5=FD4F<=, 
<>7/<3 

<4>E<<4?L
=>-D47>64O 

ED54=5- 

EGF>G=4O 

ED54=5-

7>4>64O 

2902 &65D4O5 G4EF<FO* 300,0 150,0 100,0 42 

0008 &'10** 150,0 50,0 40,0 32 

0337 '7?5D>44 >>E<44 5000,0 3000,0 500,0 575 

0330 .%5DO 4<>>E<4 500,0 200,0 50,0 46 

0301  �7>F4 4<>>E<4 250,0 100,0 40,0 34 

0303 �<<<4> 200,0 - - 53 

1325 $>D<4?L457<4 30,0 12,0 3,0 20 

1071 $5=>? 10,0 7,0 3,0 2,3 

* F65D4O5 G4EF<FO (=54<DD5D5=F<D>64==4O ?> E>EF46G ?O?L/4MD>7>?L) 
** F65D4O5 G4EF<FO, DD4>F<< D47<5D>< 4> 10 <<>D>= 
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� 7. %>?<7>DE>5 >E=>6=O<< <EF>G=<>4<< 747DO7=5=<O 4F<>ED5D=>7> 
6>74GE4 O6?ONFEO �� «�5?4DGE>4?<=» < 46F>FD4=E?>DF. � D4=>=5 G?. %565D=4O 
D45>F45F 6 LF4F=>< D56<<5 EF4=F<O =5?D5DO6=>7> <7<5D5=<O E>45D64=<O 6 
4F<>ED5D=>< 6>74GE5 ?D<>D<F5F=OE 747DO7=ONM<E 65M5EF6. %>7?4E=> 
D4EEG<F4==O< 7=4G5=<O< ����, E>EF>O=<5 6>74GE4 6 2023 7. >F5=<64?>EL >4> 
>G5=L E>D>L55. �5D<>4O E G<5D5==O<, G4>6?5F6>D<F5?L=O<, ??>E<< < >?4E=O< 
GD>6=O<< 747DO7=5=<O 6>74GE4 >FEGFEF6>64?< (D<E. 3.3) [5].  

$<EG=>> 3.3 3 $4E?D545?5=<5 7=4G5=<= ���� (%) 6 2023 7.  
6 7. %>?<7>DE> (D4=>= G?. %565D=4O) 

 

�> ED46=5=<N E 2022 7. >F<5G5=> =5>>F>D>5 G65?<G5=<5 GD>6=O 
747DO7=5=<O 6>74GE4 E5DO 4<>>E<4><, G7?5D>4 >>E<4>< 3 E=<65=<5 =4 24 % (D<E. 
3.4). �> D57G?LF4F4< =5?D5DO6=OE =45?N45=<=, ED54=57>4>64O >>=F5=FD4F<O 
G7?5D>4 >>E<44 E>EF46?O?4 0,3 ��� E5DO 4<>>E<44 3 0,2 ���. �D56OL5=<O 
ED54=5EGF>G=OE < <4>E<<4?L=OE D47>6OE ��� ?> ?5D5G<E?5==O< 
747DO7=ONM<< 65M5EF64< =5 D<>E<D>64?<EL. �> ED46=5=<N E D57G?LF4F4<< 
=45?N45=<= =4 %$� 6 �5D57<=E>>< 74?>654=<>5 ED54=OO 74 2023 7. 
>>=F5=FD4F<O E5DO 4<>>E<44 5O?4 6OL5 6 3,3 D474, G7?5D>4 >>E<44 3 6OL5 6 1,4 
D474.  

 

$<EG=>> 3.4 3 �=GFD<7>4>6>5 D4E?D545?5=<5 ED54=5<5EOG=OE >>=F5=FD4F<= 
G7?5D>4 >>E<44 6 4F<>ED5D=>< 6>74GE5 7. %>?<7>DE>, 2022-2023 77. 
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$<EG=>> 4.61 3 $4E?D545?5=<5 7=4G5=<= ���� (%) 6 2023 7. 
6 7. %>?<7>DE> (D4=>= G?. %565D=4O
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$<EG=>> 3 �=GFD<7>4>6>5 D4E?D545?5=<5 ED54=5<5EOG=OE >>=F5=FD4F<= 
G7?5D>4 >>E<44 6 4F<>ED5D=>< 6>74GE5 7. %>?<7>DE> 3 2023 77.



 23 

%>45D64=<5 &'10 6 2023 7. <7<5DO?>EL 6 F5G5=<5 5 <5EOF56. �D56OL5=<O 
=>D<4F<64 ��� =5 74D<>E<D>64=O.  

%>45D64=<5 ?D<75<=>7> >7>=4 6 2023 7. <7<5DO?>EL 6 F5G5=<5 4 <5EOF56. � 
MF>F ?5D<>4 ?D56OL5=<O =>D<4F<6>6 ��� ?> ?D<75<=><G >7>=G =5 
74D<>E<D>64=O. �>=F5=FD4F<N 55=7(4)?<D5=4 6 6>74GE5 >?D545?O?< F>?L>> 6 
>>FO5D5: 6 MF>< <5EOF5 >>=F5=FD4F<O 55=7(4)?<D5=4 E>EF46?O?4 0,3 =7/<3.  

�<=4<<>4 <7<5=5=<O ED54=57>4>6OE >>=F5=FD4F<= G7?5D>4 >>E<44 
=5EF45<?L=4: ?> ED46=5=<N E 2019 7. E>45D64=<5 G7?5D>4 >>E<44 6 2023 7. 
G<5=LL<?>EL =4 37 %. &5=45=F<O <7<5=5=<O E>45D64=<O 6 6>74GE5 E5DO 
4<>>E<44 =5GEF>=G<64 [5]. 

�EF>G=<>4<< 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 6 %>?<7>DE>>< D4=>=5 
E>7?4E=> 44==OE >D74=>6 7>EG44DEF65==>7> E4=<F4D=>7> >>=FD>?O 74 >4G5EF6>< 
< 557>?4E=>EFLN 4F<>ED5D=>7> 6>74GE4 6 =4E5?5==OE ?G=>F4E [6], O6?ONFEO =5 
F>?L>> >5N5>FO ?D><OL?5==>EF<, 46F><>5<?L=O= FD4=E?>DF, => < E5?LE>>5 
E>7O=EF6>, E>7O=EF65==4O 45OF5?L=>EFL =4E5?5=<O.  

�4 2013-2022 77. =4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 >F<5G45FEO F5=45=F<O 
> ?>6OL5=<N GEF>=G<6>EF< ?>>474F5?5= 4F<>ED5D=>7> 6>74GE4.  

�F<>ED5D=O= 6>74GE 6 %>?<7>DE>>< D4=>=5 >>=FD>?<DG5FEO =4 
E>45D64=<5 ?O?<, >><E< G7?5D>44, 4<<<4>4, E5D>6>4>D>44, E?>D<EF>7> 6>4>D>44, 
E5D=<EF>7> 7474, >><E?>6 47>F4, D>D<4?L457<44 < D5=>?4. 

�4G5EF6> 4F<>ED5D=>7> 6>74GE4 %>?<7>DE>>7> D4=>=4 ?> D57G?LF4F4< 
<EE?54>64=<= 74 ?5D<>4 2013-2022 7>4O ?D54EF46?5=> 6 F45?. 3.3 [6]. 

&45?<F4 3.3 3 �4G5EF6> 4F<>ED5D=>7> 6>74GE4 6 %>?<7>DE>>< D4=>=5 ?> 
D57G?LF4F4< <EE?54>64=<= 74 ?5D<>4 2013-2022 7>4O 
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%?>D<EFO= 
6>4>D>4 

228 - 555 - 553 - 661 - 660 - 369 - 99 - 18 - 108 - 126 - 

�6G>><EL 
E5DO 

668 - 668 - 887 - 888 - 1186 - 1146 - 150 - 174 - 172 - 224 - 

�><EL 47>F4 884 - 880 - 1101 - 1109 - 2218 - 1193 - 175 - 2218 - 216 - 239 - 

$>D<4?L457<
4 

667 - 775 - 776 - 669 - 991 - 591 - 130 - 39 - 198 - 198 - 

$5=>? 666 - 774 - 883 - 774 - 995 - 6100 - 125 - 35 - 135 - 170 - 

�<<<4> 668 1 777 2 778 - 778 - 1109 - 1105 - 131 - 158 2 169 - 148 - 

�O?L, %� 999 - 888 - 1153 - 1141 - 4428 - 3362 - 238 - 423 - 497 - 448 - 

%5D>6>4>D>4 665 - 666 - 669 - 777 - 776 - 887 - 119 - 127 - 128 - 143 - 
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� 2022 7>4 6 %>?<7>DE>>< D4=>=5 ?D56OL5=<5 <4>E<<4?L=> D47>6OE ��� 
747DO7=<F5?5= 4F<>ED5D=>7> 6>74GE4 6 26-F< <>=<F>D<=7>6OE F>G>4E, 
D4E?>?>65==OE 6 6<?OE 7>=4E < 65?<7< 46F><47<EFD4?5= =5 D57<EFD<D>64?>EL.  

 

3.3 �>65DE=>EF=O5 6>4O 

3.3.1 �<4D>?>7<G5E>4O E4D4>F5D<EF<>4 

�<4D>7D4D<G5E>4O E5FL D4=>=4 <EE?54>64=<= ?D54EF46?5=4 

?>65DE=>EF=O<< 6>4=O<< >5N5>F4<<, >F=>EOM<<<EO > 54EE5==G D. %?GGL 3 

FD5FL5<G ?> 65?<G<=5 < 6>4=>EF< ?56>55D56=><G ?D<F>>G D. �D<?OFL. �?<=4 
D5>< E>EF46?O5F 197 ><, ??>M44L 6>4>E5>D4 5470 ><2.  

�>4>E5>D D. %?GGL 4>EF4F>G=> 74?5E5=, 745>?>G5==>EFL 57> E>EF46?O5F 
>>>?> 45 %, 4 >75D=>EFL - <5=55 1 % [7-9]. 

�>?<=4 D. %?GGL 6 <EE?54G5<>< D4=>=5 FD4?5F<56<4=4O, E>?>=O 55 
?>?>7<5, 6OE>F>= 4> 5 <, ?D5<<GM5EF65==> ?5EG4=O5 < EG?5EG4=O5. �>=<4 6 
>E=>6=>< 46GEEF>D>==OO, ?D5<<GM5EF65==> D>6=4O, 745>?>G5==4O. $GE?> D. 
%?GGL =4 5>?LL>< ?D>FO65=<< >4=4?<7>64==>5 < E?DO<?5==>5. �?<=4 DGE?4 6 
?D545?4E <7GG45<>= F5DD<F>D<< E>EF46?O5F 6E57> 4,5 ><. ,<D<=4 DGE?4 6 
ED54=5< E>EF46?O5F >>>?> 45 <. �=> D>6=>5, ?5EG4=>5, E?45> <54=4D<DGNM55. 
�>?<=4 D5>< E?>65=4 4??N6<4?L=O<< >F?>65=<O<< E <4EE<64<< 5>?>F < 
7DO44<< M>?>6>7> ?D><EE>645=<O. $GE?> D5>< =4 ?D>FO65=<< 16 >< 
74D57G?<D>64=> %>?<7>DE><< 6>4>ED4=<?<M5<.  

�4<5>?55 >DG?=O< ?D<F>>>< D. %?GGL 6 <EE?54G5<>< D4=>=5 O6?O5FEO D. 
%<65?L74. $5>4 D4E?>?>65=4 6 2,15 >< > 6>EF>>G >F 6>7<>6=>7> <EF>G=<>4 
747DO7=5=<O ?>65DE=>EF=OE 6>4 3 D5>>=EFDG<DG5<OE >5N5>F>6 ?D><??>M44>< 
2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=». �?<=4 55 6 ?D545?4E 
<7GG45<>= F5DD<F>D<< E>EF46?O5F 6,9 ><, >5M4O ??>M44L 6>4>E5>D4 - 200 ><2, 

ED54=<= G>?>= 6>4=>= ?>65DE=>EF< - 0,7 %.  

$GE?> D. %<65?L74 >4=4?<7<D>64=> < ?<LL 6 =<6=5= G4EF< F5G5=<O (>F 
45D56=< �5?<><= �O>>6 < 4> 6?445=<O 6 D. %?GGL) DGE?> D5>< <76<?<EF>5. 
,<D<=4 DGE?4 <7<5=O5FEO >F 4 4> 12 <. /6?OOEL ?D46O< ?D<F>>>< D. %?GGL, GEFL5 
D. %<65?L74 =4E>4<FEO 6 0,8 >< > E565DG >F E565D=>= >>D4<=O 45D56=< �>7>EF 2-

>=. 

%>?<7>DE>>5 6>4>ED4=<?<M5 =4E>4<FEO 6 15,8 >< > N7>-6>EF>>G >F 
D5>>=EFDG<DG5<>7> >5N5>F4. �>4>ED4=<?<M5 GEFD>5=> 6 ED54=5< F5G5=<< D. 

%?GGL (115 >< >F GEFLO), 6>7?5 7. %>?<7>DE> < FO=5FEO 4G7>= E E565D>6>EF>>4 =4 
N7>-74?44. �5D574 57> =<7><5, ?>?>7<5, 6OE>F>= 1-2 <. �5D57>64O ?<=<O 
<76<?<EF4O. %>744=> 6 1967 7. 4?O >55E?5G5=<O 6>4>= ��� «�5?4DGEL>4?<=», 
D57G?<D>64=<O EF>>4 D. %?GGL, >56>4=5=<O ?D<?574NM<E 75<5?L, ?<F4=<O 
?>?=>E<EF5<=>7> DO5>6>4=>7> E>7O=EF64 «%F4D>5<=». �> 74F>??5=<O =4 <5EF5 
6>4>ED4=<?<M4 5O? 745>?>G5==O= F>DDO=>= <4EE<6. 

% F5?LN ?D54>F6D4M5=<O 74F>??5=<O 75<5?L ?56>55D56=4O G4EFL =4 
5>?LL>< ?D>FO65=<< G>D5??5=4 ?5EG4=O<< 44<54<<. �F<5F>4 =>D<4?L=>7> 
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?>4?>D=>7> GD>6=O (��') - 146,3 <. �4D4<5FDO 6>4>ED4=<?<M4 ?D< ��': 
??>M44L 75D>4?4 6>4>ED4=<?<M4 - 20,1 <?= ><2, 4?<=4 - 20,8 ><, =4<5>?LL4O 
L<D<=4 - 1,9 ><. %D54=OO 7?G5<=4 - 2,2 <, <4>E<<4?L=4O - 8,0 <. �5N5< 6>4O - 45 

<?= < 3. �4 %>?<7>DE>>< 6>4>ED4=<?<M5 7<4D>?>7<G5E><5 =45?N45=<O 
>EGM5EF6?ONFEO =4 >4=>< ?G=>F5, D4E?>?>65==>< 6 7. %>?<7>DE>. �<F4=<5 
6>4=OE ?>F>>>6 E<5L4==>5 E ?D5>5?444=<5< E=57>6>7> [9-11].  

�5E5==55 ?>?>6>4L5 =4 <EE?54G5<>= F5DD<F>D<< =4G<=45FEO 6 E5D54<=5 
<4DF4, 74>4=G<645FEO 6 =4G4?5 <4O, ED54=OO 6OE>F4 ?>4=OF<O GD>6=O =44 
<565=LN E>EF46?O5F 1-2 <. �46>4>< >F?<G4NFEO 5OEFDO< < >5OG=> 
=5?D>4>?6<F5?L=O< G65?<G5=<5< >5N5<4 EF>>4 < GD>6=O 6>4O. � D. %<65?L74, 
>4> 6 D5>4E 54EE5==4 D. %?GGL, >=< =45?N44NFEO G4M5 6E57> ?5F>< < >E5=LN 6 
E6O7< E 5>?LL<<< >5N5<4<< 4F<>ED5D=OE >E44>>6. �OE>><5 ?46>4>< =4 D5>5 
>F<5G4NFEO F4>65 < 6 >E5==5-7<<=<= ?5D<>4. �4 ?5D<>4 65E5==57> ?>?>6>4LO 
?D<E>4<FEO >>>?> 60 %, ?5F=5->E5==NN <565=L - 25 %, 7<<=NN <565=L - 15 % 

>5N5<4 7>4>6>7> EF>>4. �4<5D745F D. %<65?L74 6 >>=F5 45>45DO. �5E5==<= ?54>E>4 
6 D4=>=5 <EE?54>64=<= 6 ED54=5< E>EF46?O5F >>>?> 8 EGF>>. %D54=<= 
<=>7>?5F=<= <>4G?L EF>>4 E>EF46?O5F 4,3 ?/E·><2 [9]. 

�<F4=<5 6>4=OE ?>F>>>6 E<5L4==>5 E ?D5>5?444=<5 E=57>6>7>. �<> 
65E5==57> ?>?>6>4LO 6 2023 7. =4 54EE5==5 D. %?GGL ?D<L5?EO =4 ?5D6GN 45>44G 
4?D5?O, GF> ?>765 ED54=<E <=>7>?5F=<E 44F 6 ED54=5< =4 465 =545?<. 

�> E6><< 7=4G5=<O< 6OEL<5 GD>6=< 65E5==57> ?>?>6>4LO 5O?< 6OL5 
ED54=<E <=>7>?5F=<E 7=4G5=<= 6 ED54=5< =4 30 E<. �>4=>EFL D5> 65E5==57> 
E57>=4 6 54EE5==5 D. %?GGL 5O?4 6OL5 =>D<O < E>EF46<?4 103-135 % >F ED54=<E 
<=>7>?5F=<E 7=4G5=<= [12]. 

�4 D. %?GGL G 4. �5=<= 6>4=>EFL ?5F=57> E57>=4 5O?4 6OL5 =>D<O (166 < 
108 % >F ED54=<E <=>7>?5F=<E 7=4G5=<= E>>F65FEF65==>). �>4=>EFL >E5==57> 
E57>=4 5O?4 6OL5 =>D<O (172 < 108 % >F ED54=<E <=>7>?5F=<E 7=4G5=<= 
E>>F65FEF65==>).  

�>4=O5 D5EGDEO 6 2023 7. D>D<<D>64?<EL 6 E>>F65FEF6<< E >>?<G5EF6>< 
6O?46L<E >E44>>6 6 F5>GM5< 7>4G < G6?46=5==>EFLN ?D54L5EF6GNM57> 
>E5==57> E57>=4 < E>EF46<?< >>>?> 124 % >F ED54=5= <=>7>?5F=5= 65?<G<=O. 

$5EGDEO D5G=>7> EF>>4 (><3) 4> 7<4D>?>7<G5E><E EF6>D>6 74 2023 7>4 < 

ED46=5=<5 E <=>7>?5F=<<< 7=4G5=<O<< ?D<6545=O 6 F45?<F5 3.4 [12]. 

&45?<F4 3.4 - $5EGDEO D5G=>7> EF>>4 (><3) 4> 7<4D>?>7<G5E><E EF6>D>6 74 

2023 7>4 < ED46=5=<5 E <=>7>?5F=<<< 7=4G5=<O<< 

'G4EF>> 
54EE5==4 D5>< 
(=<6=<= 
EF6>D) 

�45?N45==O= EF>> 

�>4 �<<4 

(XII-II) 

�5E=4 
(III-V) 

�5F> 
(VI-IX) 

�E5=L 
(X-XI) 

7=4G5=<
5 

% >F 
<=>7>?5
F=<E 

7=4G5=<
5 

% >F 
<=>7>?5
F=<E 

7=4G5=<
5 

% >F 
<=>7>?5F
=<E 

7=4G5=<
5 

% >F 
<=>7>?5
F=<E 

7=4G5=<
5 

% >F 
<=>7>?5
F=<E 

D. %?GGL - 4. 
�5=<= 

0,944 168 0,268 255 0,343 126 0,168 166 0,122 172 
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3.3.2 �<4D>E<<<G5E>4O E4D4>F5D<EF<>4 

�>65DE=>EF=O5 6>4=O5 >5N5>FO F5DD<F>D<< <EE?54>64=<=, 6>?NG4O D5>G 

%<65?L74, >F=>EOM<5EO > 54EE5==G D5>< %?GGL, ?D<GD>G5=O > 7>D>44< �5?4DGE< 
E D476<FO< ?D><OL?5==O< ?D><76>4EF6><, 6 MF>= E6O7< <E?OFO64NF 

7=4G<F5?L=GN 4=FD>?>75==GN =47DG7>G, >>F>D4O ?D>O6?O5FEO 6 ?5D6GN >G5D54L 
6 <7<5=5=<< <E 7<4D>E<<<G5E>>7> D56<<4. 

�45?N45=<O 74 E>EF>O=<5< ?>65DE=>EF=OE 6>4 D. %?GGL ?D>6>4OFEO =4 
FD5E 45=EF6GNM<E ?>EF4E G 4. �?5?G4=O (=<65 7. %?GF>), 6 7. %>?<7>DE> (?G=>F 
=45?N45=<O D4E?>?>65= =4 %>?<7>DE>>< 6>4>ED4=<?<M5) < =<65 ?> F5G5=<N G 
4. �5=<= �<F>>6<GE>>7> D4=>=4 ?> 7<4D>5<>?>7<G5E><< < 7<4D>E<<<G5E><< 
?>>474F5?O<.  

%E5<4 D4E?>?>65=<O ?G=>F>6 =45?N45=<= ?> 7<4D>E<<<G5E><< 
?>>474F5?O< 6 54EE5==5 D. %?GGL 6 D47D575 <>=<F>D<=74 ?>65DE=>EF=OE 6>4 6 
54EE5==5 D. �D<?OFL ?D<6545=4 =4 D<E. 3.5. 

 

$<EG=>> 3.5 3 %E5<4 D4E?>?>65=<O ?G=>F>6 =45?N45=<= 6 54EE5==5 D. 
%?GGL 

 

�>=<F>D<=7 ?>65DE=>EF=OE 6>4 6>4>F>>>6 6 54EE5==5 D. %?GGL 
>EGM5EF6?O5FEO ?> E?54GNM<< 7<4D>E<<<G5E><< ?>>474F5?O<: M?5<5=FO 
>E=>6=>7> E>?56>7> E>EF464; ?>>474F5?< D<7<G5E><E E6>=EF6 < 747>6>7> E>EF464; 
>D74=<G5E><5 65M5EF64; 5<>75==O5 65M5EF64 (E>54<=5=<O 47>F4, D>ED>D4); 
<5F4??O (65?57>, <54L, F<=>, =<>5?L, ED><, <4D74=5F, >44<<=, E6<=5F), 
=5DF5?D>4G>FO. 

�>4O D. %?GGL ?D5E=O5, E4D4>F5D<7GNFEO ED54=5= <<=5D4?<74F<5=, >>>?> 
0,3 7/4<3. 
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� F45?<F5 3.5 ?D<6545=O >E=>6=O5 7<4D>E<<<G5E><5 ?>>474F5?< 4?O 46GE 
?>EF>6 =4 D. %?GGL 

&45?<F4 3.5 3 �E=>6=O5 7<4D>E<<<G5E><5 ?>>474F5?< 4?O 46GE ?>EF>6 =4 D. 
%?GGL 

�<4D>75>?>7<
G5E><= ?>EF 

 

�>>474F5?L 

�4F<>=O �=<>=O 

D� 
%G<<4 
<>=>6 

�5D<4=4=4
F=4O >><E-

?O5<>EFL 

&65F=>EFL 
Ca2+ Mg2+ Cl- HCO3

- PO4
3- 

<7/4<3 <7/4<3 <7/4<3 <7/4<3 <7/4<3 54 D� <7/4<3 <7/4<3 7D44. 

4. �?5?G4=O 

 

72,3-

79,9 
12,6-

19,3 

30,1-

40,1 
274,5 0,0 

6,58-

7,38 

399,5-

403,8 
11,3 50-60 

7. %>?<7>DE> 

 79,4 18,7 41,3 158,6 0,0 7,04 298,0 14,1 40 

 

� D5>5 %<65?L74, ?D>F5>4NM5= 6>EF>G=55 >5N5>F4 <EE?54>64=<=, 
<<=5D4?<74F<O =5E>>?L>> 6OL5 < E>EF46?O5F >>>?> 0,6 7/4<3. �>4O D. %<65?L74 
?D5E=O5, G<5D5==>-65EF><5, ?> 65?<G<=5 D� - M5?>G=O5, ?> E<<<G5E>><G 
E>EF46G - 7<4D>>4D5>=4F=>-EG?LD4F=>-E?>D<4=O5 >4?LF<56>-<47=<56>-

=4FD<56>->4?<56O5. 
�>65DE=>EF=O5 6>4O D5> %?GGL < %<65?L74 O6?ONFEO 65EL<4 ?D5E=O<< < 

?D5E=O<<, ?> 7=4G5=<N pH >F=>EOFEO > =5=FD4?L=O<. � >E=>6=>< E<<<G5E><= 
E>EF46 6>4 E?>D<4=>-7<4D>>4D5>=4F=O= <47=<56>->4?LF<56O=. �D><5 F>7>, 6 
6>45 >F<5G45FEO ?>6OL5==>5 E>45D64=<5 <>=>6 65?574 (Fe2+ < Fe3+).  

� 2023 7. >?4EEO >4G5EF64 ?> 7<4D>E<<<G5E><< ?>>474F5?O< 
?>65DE=>EF=OE 6>4=OE >5N5>F>6 (DD. %<65?L74, %?GGL) 6 F5?>< G?GGL<?<EL. �> 
7<4D>5<>?>7<G5E><< ?>>474F5?O< >F<5G5=> G?GGL5=<5 >?4EE4 >4G5EF64 6 6>45 D. 
%?GGL =.?. �5=<= < ?D<E6>5= 1 (>F?<G=O=) >?4EE >4G5EF64 [12]. 

$5>< %?GGL < %<65?L74 6?444NF 6 %>?<7>DE>>5 6>4>ED4=<?<M5, 
D4E?>?>65==>5 N7>-6>EF>G=55 >5N5>F4 D5>>=EFDG>F<<. �?O 6>4>ED4=<?<M4 
E4D4>F5D=O >F=>E<F5?L=> 6OE>><5 ED54=57>4>6O5 >>=F5=FD4F<< D4EF6>D5==>7> 
><E?>D>44 >F 11,0 4> 13,3 <7�2/4<3 (114,3 % =4EOM5=<O), >5GE?>6?5==O5 
«F65F5=<5<» 6>4>5<>6, < E>>F65FEF65==> 4>F<6=O< 6O45?5=<5< ><E?>D>44 6 
?D>F5EE5 D>F>E<=F574. 

%D54=57>4>6O5 >>=F5=FD4F<< 5>?LL<=EF64 E<<<G5E><E >><?>=5=F>6 

6>4O =5 ?D56OL4NF GEF4=>6?5==OE ?D545?L=> 4>?GEF<<OE 65?<G<=, 74 
<E>?NG5=<5<, 6 =5>>F>DOE E?GG4OE, ?>6OL5==>7> E>45D64=<O 65?574 >5M57>, 
O6?ONM57>EO ?D<D>4=O< >><?>=5=F><, 47>F4 4<<>=<==>7>, E>54<=5=<= <54< < 

<4D74=F4, GF> E6O74=> E5?LE>>E>7O=EF65==>= 45OF5?L=>EFLN. �5D<>4<G5E>< 6 

6>44E 6>4>ED4=<?<M4 74D<>E<D>64=> ?>6OL5==>5 E>45D64=<5 =5DF5?D>4G>F>6 
< =<FD<F-<>=>6. 

%?54G5F >F<5F<FL, GF> 6 E565D=>= G4EF< %>?<7>DE>>7> 6>4>ED4=<?<M4, 
E4D4>F5D=O 5>?55 ?>6OL5==O5 7=4G5=<O <<=5D4?<74F<< ?>65DE=>EF=OE 6>4 
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?>DO4>4 503,0 <7/4<3 (<4>E<<G< ?>>474F5?O 6 >>FO5D5 2023 7.), 4 4?O N6=>= G4EF< 
E4D4>F5D=O ?>=<65==O5 7=4G5=<O <<=5D4?<74F<<, E>EF46?ONM<5 ?>DO4>4 224,1-

378,8 <7/4<3, GF> E6O74=> 65D>OF=55 6E57>, E ?>65DE=>EF=O< EF>>>< 
747DO7=ONM<E 65M5EF6 (?D5645 6E57> <>=>6 =4FD<O < E?>D4) E L?4<>ED4=<?<M 
< E>?5>F64?>6, D4E?>?>65==OE 6 =5?>ED54EF65==> 5?<7>EF< > E565D=>= G4EF< 
%>?<7>DE>>7> 6>4>ED4=<?<M4 [12]. 

�D><5 F>7>, EF>> ?>65DE=>EF=OE 6>4 ?D><EE>4<F ?> G>?>=G 4=56=>= 
?>65DE=>EF<, >>F>DO= =4?D46?5= E =4<5>?55 6OE>><E >F<5F>>, 745 D4E?>?>65=O 

45=EF6GNM<5 L?4<>ED4=<?<M4 < E>?5>F64?O 3 <EF>G=<>< 747DO7=5=<O 
?>65DE=>EF=OE 6>4, 6 EF>D>=G E=<65=<O 45E>?NF=OE >F<5F>> 75<=>= 
?>65DE=>EF< 3 6 EF>D>=G %>?<7>DE>>7> 6>4>ED4=<?<M4, 4 <<5==> 6 6>EF>G=><, 
E565D>6>EF>G=>< < N7>-6>EF>G=>< =4?D46?5=<OE. 

�D56OL5=<O =>D<4F<64 >4G5EF64 6>4O ?> =<FD<F-<>=G 5O?< 
74D<>E<D>64=O 6 6>45 64ED. %>?<7>DE>>5 4> 0,073 <7N/4<3, (3,04 ���) 6 D56D4?5 

[12].  

� <N?5 2023 7. 6 6>45 64ED. %>?<7>DE>>5 D<>E<D>64?<EL 7=4G5=<O, 
?D56OL4NM<5 =>D<4F<6 >4G5EF64 6>4O ?> F<=>G (4> 3,7 ���).  

%>45D64=<5 =5DF5?D>4G>F>6 < E<=F5F<G5E><E ?>65DE=>EF=>-4>F<6=OE 
65M5EF6 6 6>45 6>4>ED4=<?<M4 =5 ?D56OL4?> =>D<4F<6 >4G5EF64 6>4O.  

&4><< >5D47><, 6 2023 7. GEG4L5=<5 >?4EE4 >4G5EF64 ?> 7<4D>E<<<G5E><< 
?>>474F5?O< E>ED4=<?>EL =4 GD>6=5 ?D>L?>7> 7>44. 

  

3.4 �54D4 (75>?>7<G5E><5, 7<4D>75>?>7<G5E><5 GE?>6<O, <=65=5D=>-

75>?>7<G5E><5 < <=O5 GE?>6<O).  
 

&5?LN 44==>7> D4745?4 O6?O5FEO >?D545?5=<5 >5M<E >E>55==>EF5= 
75>?>7<G5E>>7> EFD>5=<O < 7<4D>75>?>7<G5E><E GE?>6<=, 6O45?5=<5 
?<F>?>7<G5E><E D47=>EF5=, =4?<G<O 6>4>=>E=OE 7>D<7>=F>6 < <E 
D4E?D>EFD4=5=<5 ?> ??>M44< < 7?G5<=5. 

�?<E4=<5 75>?>7>-7<4D>75>?>7<G5E><E GE?>6<= D4=>=4 <EE?54>64=<= 
6O?>?=5=> =4 >E=>65 <<5NM<EEO <4F5D<4?>6 $� «��& ?> 75>?>7<<» [13,14], ?> 
<=65=5D=>-75>?>7<G5E><< <7OE>4=<O< ?>4 >5N5>F. 

3.4.1 �5>?>7<G5E>>5 EFD>5=<5 

�5?>64O E<EF5<4 

�5?>64O E<EF5<4 ?D54EF46?5=4 6 D4=>=5 FGD>=E><< ODGE>< 65DE=57> 
>F45?4. 

 �F?>65=<O FGD>=E>>7> ODGE4 (�2t) D4E?D>EFD4=5=O ?>6E5<5EF=> < 
6EFD5G5=O =4 7?G5<=5 93-121 < =4 45E>?NF=OE >F<5F>4E 42,9-71,3 <. �>M=>EFL 
4> 40,8 <. %?>65=O <5?>< 55?O<, ??>F=O<, <4EE<6=O< <?< FD5M<=>64FO<. 
%D54< ??>F=>7> ?<EG57> <5?4 6EFD5G4NFEO ?D>E?>< E65F?>-E5D>7> <5D75?O. 
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�4?5>75=>64O E<EF5<4 

�F?>65=<O ?4?5>75=>6>= E<EF5<O D4E?D>EFD4=5=O ?D4>F<G5E>< 
?>6E5<5EF=>, >FEGFEF6GO ?<LL 6 ?5D5G7?G5?5=<OE G5F65DF<G=OE 4>?<=.  

->F5=>64O ><56E>4O E6<F4 ($2kv) 74?5745F =4 7?G5<=5 80,1-80,0 < < <<55F 
<>M=>EFL 0,9-15,0 <. �D54EF46?5=4 4?56D<F4<<, ?5E>4<<, ?5EG4=<>4<<, 
4?56D>?<F4<< < 7?<=4<< 75?5=>64F>-E5DO<<, E5D>64F>-75?5=O<< 4> F5<=>-

75?5=OE 7?4G>>=<F>6>->64DF56O<<. �?56D<FO GG4EF>4<< ?5EG4=<EFO5 <?< 
7?<=<EFO5. �5E>< F>=>>-<5?>>75D=<EFO5, 6 >E=>64=<< <=>744 74?574NF 
>64DF56O5 ?5E>< < ?5EG4=<><, G4EF> E>45D64M<5 <5?>GN 74?L>G D>ED>D<F>6>7> 
?5EG4=<>4. �=>744 6EFD5G4NFEO 6>?NG5=<O 7D46<==OE 75D5= E>D>L> >>4F4==>7> 
<>?>G=>-55?>7> >64DF4. 

�5>75=>64O E<EF5<4 

�5>75=>64O E<EF5<4 ?D54EF46?5=4 <<>F5=>< (5D<=56E>4O < 4=F>?>?LE>4O 
E6<FO). 

�D<=56E>4O E6<F4 (N1br) <<55F L<D>>>5 D4E?D>EFD4=5=<5. �=4 E> 
EFD4F<7D4D<G5E><< =5E>7?4E<5< 74?5745F =4 ?4?5>75=>6OE >F?>65=<OE, <=>744 
=4 <5?>6OE <?< 456>=E><E. �5D5>DOF4 4=F>?>?LE>>= E6<F>= <?< E ?5D5DO6>< 
G5F65DF<G=O<< >F?>65=<O<<. �?G5<=4 74?574=<O >F 42,0 4> 106,8 <. �>M=>EFL 
1,2-42,2 <. 

�F?>65=<O 5D<=56E>>= E6<FO ?D54EF46?5=O ?5E>4<< E65F?>-E5DO<<, 
E5DO<<, ?D5<<GM5EF65==> <5?>>75D=<EFO<< >64DF56O<<, G4EF> E 6>?NG5=<5< 
5>?LL>7> >>?<G5EF64 ?O?564F>7> G7?<EF>7> 65M5EF64, <=>744 E 6>?NG5=<O<< 
E>D>L> >>4F4==OE 7D46<==OE 75D5= <>?>G=>-55?>7> >64DF4, 4 F4>65 4?56D<F4<< 
D47=>= EF5?5=< 7?<=<EF>EF< < 7?<=4<<. � E?>65=<< 65DE=5= G4EF< D47D574 
5>?LLGN D>?L <7D4NF >F?>65=<O 5GD>7> G7?O, E >>F>DO<< E6O74=O >E=>6=O5 
G7?5?D>O6?5=<O E4D4>F5D<7G5<>= F5DD<F>D<<. 

�=F>?>?LE>4O E6<F4 (N1an) <<55F <5=55 L<D>>>5 D4E?D>EFD4=5=<5 ?> 
ED46=5=<N E 5D<=56E>>=. � =4<5>?55 ?>?=OE D47D574E >=4 557 ?5D5DO64 74?5745F 
=4 5D<=56E>>= <?< E D47<O6>< =4 ?4?5>75=>6OE >F?>65=<OE. �5D5>DOF4 
??<>F5=>6O<< <?< E D47<O6>< G5F65DF<G=O<< >F?>65=<O<<. �?G5<=4 74?574=<O 
33,0-89,0 <. �>M=>EFL 0,8-33,1 <. 

�F?>65=<O 4=F>?>?LE>>= E6<FO ?D54EF46?5=O ?D5<<GM5EF65==> 7?<=4<< 
E65F?>-75?5=>64F>-E5DO<< 4> >>D<G=56>-F5<=>-E5DOE <?< <=>744 ?>GF< G5D=OE, 
FO65?O<<, <4EE<6=O<<, >><>>64FO<< <?< >E>>?LG4F>= EFDG>FGDO, 
?D5<<GM5EF65==> =5 E?><EFO<<, >G5=L ??4EF<G=O<<, <>=F<>D<??>=<F>6O<<, 6 
=<6=5= G4EF< E ?D>E?>O<< 5GD>7> G7?O. � ?>4G<=5==>< 7=4G5=<< ?D<EGFEF6GNF 
?5E>< E5DO5, F5<=>-E5DO5, <5?>>75D=<EFO5, >64DF56O5, G7?<EFO5 < 4?56D<FO 
E5DO5, 5GD>64F>->>D<G=56O5. 

'5F65DF<G=4O E<EF5<4 

'5F65DF<G=4O E<EF5<4 E?>65=4 >F?>65=<O<< =<6=57>, ED54=57>, 65DE=57> 
765=L56 ??5=EF>F5=4 < 7>?>F5=4 (D<E. 3.6-3.7). �<65 445FEO >D4F>>5 >?<E4=<5 
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=4<5>?55 D4E?D>EFD4=5==OE =4 44==>= F5DD<F>D<< >F?>65=<= 55D57<=E>>7>, 
4=5?D>6E>>7> < E>6E>>7> >?545=5=<= < E>6D5<5==OE >F?>65=<=. 

�>D5==O5 >F?>65=<O 55D57<=E>>7> 7>D<7>=F4 (gIbr) 6 N6=>= G4EF< 
74?574NF =5?>ED54EF65==> =4 =5>75=>6OE >F?>65=<OE, 4 6 E565D=>= 3 

?>4EF<?45FEO D?N6<>7?OF<4?L=O<< ?5E>4<< 6D5<5=< =4EFG?4=<O 55D57<=E>>7> 
?54=<>4, E?>65=4 EG?5EO<< < EG7?<=>4<< E5DO<<, 7>?G5>64F>-E5DO<<, F5<=>-

E5DO<< E 7>?G5>64FO< >FF5=>><, F65D4O<< E 6>?NG5=<5< 7D46<O, 74?L>< < 
64?G=>6 ?D5<<GM5EF65==> >E44>G=OE ?>D>4. �D>6?O MF<E >F?>65=<= 
D4E?>?4745FEO =4 45E>?NF=OE >F<5F>4E 100-120 <, 6 =5>>F>DOE E?GG4OE E6OL5 
125 <. �>M=>EFL <>D5==>7> 7>D<7>=F4 D54>> ?D56OL45F 65?<G<=G 5,0 <. �?O 
55D57<=E>>= <>D5=O E4D4>F5D5= 55 D47<O6 =4 7=4G<F5?L=>= F5DD<F>D<< D4=>=4 
<EE?54>64=<=. 

 

 

$<EG=>> 3.6 3  �4DF4 G5F65DF<G=OE >F?>65=<= (6O>>?<D>6>4) 
 

�>4=>?54=<>>6O5 >F?>65=<O <56<>D5==O5 55D57<=E>>-4=5?D>6E>>7> 
7>D<7>=F4 (f, lgIbr-IId) D4E?D>EFD4=5=O =4 6E5= F5DD<F>D<< D4=>=4 
<EE?54>64=<= < ?D54EF46?5=O 5>?>F=O<<, >75D=>-5>?>F=O<<, >75D=>-

7?OF<4?L=O<< < D?N6<>7?OF<4?L=O<< D4F<O<<. 
�4<5>?55 D4E?D>EFD4=5=O D?N6<>7?OF<4?L=O5 >F?>65=<O, 

?D54EF46?5==O5 ?5E>4<< <5?>>-, ED54=5-, >DG?=>- < D47=>75D=<EFO<< 65?FO<<, 
E5DO<< < D>7>64FO<< E 7D46<5<, 74?L>>=, <5EF4<< 64?G=4<< ??>E> >>4F4==OE 
?>D>4. �>?55 >DG?=O5 D4F<< ?D5>5?444NF 6 =<6=5= G4EF< D47D574. �5DE=NN 
G4EFL D47D574 E?474NF <5?>>75D=<EFO5 ?5E><. �4?574NF >F?>65=<O 55D57<=E>>-

4=5?D>6E>>7> 6D5<5=< =4 7?G5<=5 35,0-40,0 <5FD>6, 4 <E <>M=>EFL >>?55?5FEO 6 
7=4G<F5?L=OE ?D545?4E (10,0-25,0 < < 6OL5).  
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$<EG=>> 3.7 3  �5>?>7>-7<4D>75>?>7<G5E><= D47D57 

 

�>D5==O5 >F?>65=<O 4=5?D>6E>>7> 7>D<7>=F4 (gIId) >FEGFEF6GNF =4 
7=4G<F5?L=>= G4EF< D4=>=4, GF> E6O74=> E D476<F<5< 4D56=<E ?>65<= EF>>4, 
74<O>4NM<EEO G >D4O 5>?LL>7> >75D>6<4=>7> 54EE5==4, EGM5EF6>646L57> 745EL 
6 F5G5=<5 4?<F5?L=>7> 6D5<5=< >F >>=F4 4=5?D>6E>>7> >?545=5=<O 4> F>7> 
<><5=F4, >4> MF4 F5DD<F>D<O 5O?4 ?5D5>DOF4 <>D5=>= E>6E>>7> >?545=5=<O. 
�D54EF46?5=4 4=5?D>6E>4O <>D5=4 EG?5EO<< E5DO<<, E65F?>-E5DO<<, 65?F>64F>-

E5DO<<, <=>744 >D4E=>-5GDO<< < EG7?<=>4<< 7>?G5>64F>-E5DO<<, E5DO<<, 
75?5=>64F>-E5DO<<, >D4E=>64F>-5GDO<< E 7D46<5<, 74?L>>= < 64?G=4<< 7D4=<F>6, 
??>E> >>4F4==OE, ?D5<<GM5EF65==> G7?>64FOE. �?G5<=4 74?574=<O E>EF46?O5F 
?>DO4>4 25,0-44,0 <. �>M=>EFL >F 5,0 4> 10,0 <. 

�>4=>?54=<>>6O5 >F?>65=<O <56<>D5==O5 4=5?D>6E>>-E>6E>>7> 
7>D<7>=F4 (f, lgIId-sz) >F?>65=<O >5D47GNF <>M=GN E?>6=> ?>EFD>5==GN 
F>?MG >75D=>-5>?>F=OE, >75D=>-7?OF<4?L=OE < D?N6<>7?OF<4?L=OE D4F<= < 
?D54EF46?5=O 6 >E=>6=>< ?5E>4<< <5?>>-, ED54=5-, >DG?=>- < D47=>75D=<EFO<<. 
�4> ?D46<?>, >DG?=O5 ?5E>< ?D5>5?444NF 6 65DE=5= G4EF< D47D574 MF>= F>?M<. � 
=4?D46?5=<< > 4>?<=5 D.%?GGL >DG?=>EFL ?5E>>6 ?>EF5?5==> G65?<G<645FEO. �4 
D47?<G=OE 7?G5<=4E 6 E>EF465 ?5EG4=>= F>?M< 6EFD5G5=O 7D46<=, 74?L>4 < 
64?G=O E?45>>>4F4==>7> <4F5D<4?4. �5E>< 65?F>7> <?< 65?F>64F>-E5D>7> F65F4, 
<5EF4<< E E>D>L> 6OD465==>= E?><EF>EFLN. �4>>=><5D=>5 G<5=LL5=<5 
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<>M=>EF< MF>7> 7>D<7>=F4 >F<5G45FEO 6 =4?D46?5=<< > 4>?<=5 D.%?GGL (10-15 <). 
�?G5<=4 >F?>65=<= E>EF46?O5F 12,0 3 13,0 <. �>M=>EFL >F?>65=<= 3 31,0 <. 

�>D5==O5 >F?>65=<O E>6E>>7> 7>D<7>=F4 (gIIsz) L<D>>> 
D4E?D>EFD4=5=O E ?>65DE=>EF<  < >FEGFEF6GNF F>?L>> 6 ?D545?4E 4>?<=O D.%?GGL 
(%>?<7>DE>>5 6>4>ED4=<?<M5). �>M=>EFL >F?>65=<= E>EF46?O5F 10-15 <. �?O 
E>6E>>= <>D5=O E4D4>F5D5= =5>4=>D>4=O= E>EF46, =4?<G<5 ?<=7 < ?D>E?>56 
7DG5>E>DF<D>64==>7> <4F5D<4?4, 4 =4 >F45?L=OE GG4EF>4E >F?>65=<O MF>7> 
6>7D4EF4 ?D54EF46?5=O >>=5G=>= <>D5=>=. � D47D574E =45?N445FEO 
=5>4=>D>4=O= E>EF46 ?>D>4, =4?<G<5 <=>7>G<E?5==OE ?<=7 < ?D>E?>56 ?5E>>6 
D47?<G=>7> 65M5EF65==>7> E>EF464 6 EG7?<=>4E < 7?<=4E <>D5==OE. � ?D545?4E 
%>?<7>DE>>= 7DO4O >F<5G5=O >F45?L=O5 E>?<O ?>GF< ?>?=>EFLN E?>65==O5 
?5EG4=>-7D46<==>-74?5G=O< <4F5D<4?><.  

�>>D>6=O5 D?N6<>7?OF<4?L=O5 >F?>65=<O EF44<< >FEFG?4=<O 
E>6E>>7> ?54=<>4 (fIIszs) ?>6E5<5EF=> (74 <E>?NG5=<5< 4>?<= < 6>76OL5==OE 
GG4EF>>6 >>=5G=>-<>D5==OE 7DO4) ?5D5>DO64NF <>D5=G. �OE>4OF =4 
?>65DE=>EFL, E>EF46?OO 6F>D>= GD>65=L 4>>G<G?OF<<, 45E>?NF=O5 >F<5F>< 
>>F>D>7> ?>GF< 6EN4G =<65 160 <. '4EF> >=< ?5D5>DO64NFEO >75D=>-

4??N6<4?L=O<< >75D=>-5>?>F=O<< >F?>65=<O<<. �4 =<E D476<FO >E=>6=O5 
M>?>6O5 4>>G<G?OF<<. �4>E<<4?L=4O <>M=>EFL >F?>65=<= 31,4 <. 
�5?>ED54EF65==> E ?>65DE=>EF< 6E>DO645FEO 7G<GE<D>64==O= E?>=, 
?5D5E>4OM<= 6 EG7?<=>> E5DO=, ?O?564FO= E E>44<< 75<?5D>==OE >D74=<7<>6 < 
D4EF<F5?L=OE >EF4F>>6. %G7?<=>> ?>EF5?5==> ?5D5E>4<F 6 EG?5EL 65?F>-5GDGN 
?5EE>6<4=GN 557 6>?NG5=<=. %>EF46 EG7?<=>4 < EG?5E< 6 ?D545?4E 
<EE?54>64==>= F5DD<F>D<< >4=>D>4=O=, 4 <>M=>EFL =5 ?D56OL45F 0,5 <. � 
E565D=>< =4?D46?5=<< <>M=>EFL <E ?>EF5?5==> G65?<G<645FEO. 

�??N6<4?L=O5 >F?>65=<O 7>?>F5=>6>7> 7>D<7>=F4 (4IV) F4>65 
?D54EF46?5=O D4F<O<<  ?>=<5==>7>, EF4D<G=>7> < DGE?>6>7> 4??N6<O D5> 
%?GGL, %<65?L74 < $GF>4. � E>EF465 ?>=<5==>7> 4??N6<O =45?N445FEO 
?5D5E?4<64=<5 EG?5E< E <5?>>75D=<EFO< ?5E>><. �>M=>EFL 57> =5 ?D56OL45F 
2,0 <. %F4D<G=O= 4??N6<= E?>65= ?<=74<< <7 F5<=>-E5DOE, E5DOE < E65F?>-

E5DOE FO65?OE EG?5E5= E 6>?NG5=<5< D4G=O < D4EF<F5?L=OE >EF4F>>6. 
�4<5>?LL<< D4E?D>EFD4=5=<5< ?>?L7G5FEO D4F<O DGE?>6>7> 4??N6<O <7 
<5?>>75D=<EFOE, 4 > >E=>64=<N D47D574 ED54=575D=<EFOE < >DG?=>75D=<EFOE 
?5E>>6. �>M=>EFL 4??N6<4?L=OE >F?>65=<= E>EF46?ONF 2,0-8,0 <.  

&5E=>75==O5 >5D47>64=<O (thIV) 74?574NF 6 ?D545?4E =4E5?5==OE 
?G=>F>6, >5N5>F>6 ?D><OL?5==>7> EFD><F5?LEF64. �>M=>EFL >F?>65=<= <>65F 
4>EF<74FL 3,0-4,0 <. �D54EF46?5=O >F?>65=<O =4EO?=O<< 7DG=F4<<, E>EF>OM<< 
<7 E<5E< 7?<=<EFOE < ?5EG4=OE 7DG=F>6, EFD><F5?L=OE >FE>4>6. 
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3.4.2 �<4D>75>?>7<G5E><5 GE?>6<O 

%>7?4E=> 7<4D>75>?>7<G5E>><G D4=>=<D>64=<N F5DD<F>D<< �5?4DGE< 
<EE?54G5<O= >5N5>F =4E>4<FEO 6 ?D545?4E E565D>-74?44=>= >>D4<=O 
�D<?OFE>>7> 4DF57<4=E>>7> 54EE5==4.  

�E=>6=O5 7<4D>75>?>7<G5E><5 ?>4D4745?5=<O G5F65DF<G=OE >F?>65=<=. 

�>4>=>E=O= 7>?>F5=>6O= 4??N6<4?L=O= ?>=<5==O= 7>D<7>=F (aIV) 
D4E?D>EFD4=5= 6 4>?<=4E D5> %?GGL, %<65?L74 < $GF>4. �>4>6<5M4NM<5 ?>D>4O 
?D54EF46?5=O, 6 >E=>6=><, <5?>>75D=<EFO<< ?5E>4<<, E>D>L> 
>FE>DF<D>64==O<< < >>4F4==O<<, <>M=>EFLN >F 0,5 4> 6,0-7,0 <. 'D>6=< =4 
7?G5<=4E 0,29-1,7 <. �5E>?NF=O5 >F<5F>< GD>6=5= 139,0-151,5 <. '45?L=O5 
455<FO E>646<= E>EF46?ONF >F 0,03 4> 0,2 E/E, >>MDD<F<5=FO D<?LFD4F<< 3 >F 
0,8 4> 16,6 </EGF. �>4>?D>6>4<<>EFL >F 8,2 4> 78,0 <2/EGF. �> E<<<G5E>><G 
E>EF46G 6>4O ?D5<<GM5EF65==> 7<4D>>4D5>=4F=O5, <47=<56>->4?LF<56O5. 
�<=5D4?<74F<O 4> 0,5 7/4<3. �?O E>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O =5 
<E?>?L7GNFEO. 

�>4>=>E=O= E>6E><= =44<>D5==O= D?N6<>7?OF<4?L=O= 7>D<7>=F 
(fIIszs) D4E?D>EFD4=5= 6 4>?<=4E D5> %?GGL < %<65?L74. 

�>4>6<5M4NM<5 ?>D>4O ?D54EF46?5=O ?5E>4<< D47?<G=>7> 
7D4=G?><5FD<G5E>>7> E>EF464, G4EF> E 6>?NG5=<O<< 7D46<O < 74?L><, E 
?D>E?>O<< EG?5E5=. �>M=>EFL 6>4>6<5M4NM<E ?>D>4 E>EF46?O5F >F 3,6 < 4> 
20,2 <. �>4>6<5M4NM<5 ?>D>4O ?D54EF46?5=O ED54=575D=<EFO<< ?5E>4<< E 
6>?NG5=<O<< 7D46<O < 74?L><, E F>=><<< ?D>E?>O<< EG?5E5= < EG7?<=>>6. 

�>4O E> E6>5>4=>= ?>65DE=>EFLN. 'D>65==O= D56<< 746<E<F >F 
>?<<4F<G5E><E, 75><>DD>?>7<G5E><E < 7<4D>75>?>7<G5E><E GE?>6<=. 

� <EE?54G5<>< D4=>=5 6>4>=>E=O= 7>D<7>=F >?D>5>64= >F>4G>4<< <7 
>>?>4F4 =4 E565D=>= >>D4<=5 =.?. �>7>EF < <7 E>646<=O 6 0,4 >< > N7G >F =57>. 
'45?L=O5 455<FO <E E>EF46<?< E>>F65FEF65==> 0,029 < 0,17 ?/E, 4 >>MDD<F<5=FO 
D<?LFD4F<< 3 0,89 < 2,3 </EGF.  

�<F4=<5 >><??5>E4 >EGM5EF6?O5FEO, 6 >E=>6=><, 74 EG5F <=D<?LFD4F<< 
4F<>ED5D=OE >E44>>6, 4D5=46 - D5G=>= E5FLN < <5?<>D4F<6=O<< >4=4?4<<.  

�> E>45D64=<N >E=>6=OE E<<<G5E><E M?5<5=F>6 6>4O ?D5<<GM5EF65==> 
7<4D>>4D5>=4F=O5, >4?LF<56>-<47=<56O5, E <<=5D4?<74F<5= 4> 1,12 7/4<3, 

G4EF<G=> <E?>?L7GNFEO <5EF=O< =4E5?5=<5< 4?O E>7O=EF65==>-?<FL56OE =G64 E 
?><>MLN >4<=>G=OE E>646<= < >>?>4F56.  

%?45>6>4>=>E=O= E>6E><= <>D5==O= >><??5>E (gIIsz) ?D<GD>G5= =4 
F5DD<F>D<< <EE?54>64=<= > ?5EG4=O< ?D>E?>O< < ?<=74<, 74?574NM<< 6 
7?<=<EF>= F>?M5 <>D5==OE >F?>65=<= 557 >?D545?5==>= 74>>=><5D=>EF<  ?> 
??>M44< < 7?G5<=5. �>M=>EFL ?5EG4=OE ?<=7 < ?D>E?>5>  <7<5=O5FEO >F 4>?5= 
4> 5-10 < 5>?55 <5FD>6. �>475<=O5 6>4O >><??5>E4 <<5NF =4?>D=>-

557=4?>D=O= E4D4>F5D. �5?<G<=4 =4?>D4 E>EF46?O5F 3,4 < 5>?55 <5FD>6. 
�>4>6<5M4NM<<< >F?>65=<O<< O6?ONFEO ?5E>> D47=>75D=<EFO=, ?5EG4=>-

7D46<==O= <4F5D<4?. �<F4=<5 ?>475<=OE 6>4 MF>7> >><??5>E4 >EGM5EF6?O5FEO 
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74 EG5F <=D<?LFD4F<< 4F<>ED5D=OE >E44>>6, 4 F4>65 74 EG5F ?5D5F5>4=<O <7 
6OL5- < =<65?564M<E 7>D<7>=F>6.  $477DG7>4 >EGM5EF6?O5FEO 6 D5G=GN E5FL, 
<=>744 G5D57 D>4=<><. 

�> E<<<G5E>><G E>EF46G 6>4O ?D5E=O5 E <<=5D4?<74F<5= 4> 0,9 7/4<3, 

G<5D5==> 65EF><5, <=>744 E ?>6OL5==O< E>45D64=<5< E?>D<4>6, EG?LD4F>6 < 
=<FD4F>6, GF> 7>6>D<F >5 <E 747DO7=5=<< E ?>65DE=>EF<. �?O F5=FD4?<7>64==>7> 
6>4>E=4565=<O 6>4O MF>7> 7>D<7>=F4 ?D4>F<G5E>< =5 <E?>?L7GNFEO. 

�>4>=>E=O= 4=5?D>6E><=-E>6E><= 6>4=>-?54=<>>6O= >><??5>E (f,lgIId-

sz) L<D>>> D476<F =4 F5DD<F>D<< <EE?54>64=<=. 
�>4>6<5M4NM<5 ?>D>4O 65EL<4 ?5EFD>7> 6 7D4=G?><5FD<G5E>>< 

>F=>L5=<< E>EF464 3 ?5E>< >F <5?>>75D=<EFOE 4> >DG?=>75D=<EFOE E 
6>?NG5=<5< 7D46<O < <5?>>= 74?L><, E ?D>E?>O<< < ?<=74<< 7?<=, EG7?<=>>6 < 
EG?5E5=, E ?>7D555==O<< F>DDO=<>4<<. 

%65DEG >><??5>E ?5D5>DOF E6>5>4=>?D>=<F45<O<< >F?>65=<O<< 
E>6E>>= <>D5=O, E=<7G ?>4EF<?45FEO <>D5==O<< >F?>65=<O<< 4=5?D>6E>>7> 
>?545=5=<O, 4 6 <5EF4E <E >FEGFEF6<O 3 D?N6<>7?OF<4?L=O<< ?5E>4<< 
55D57<=E>>-4=5?D>6E>>7> 6D5<5=<. �>M=>EFL 6>4>=>E=>7> >><??5>E4 
E>EF46?O5F 6 ED54=5< 20-25 <, G<5=LL4OEL 4> 10-15 < > 4>?<=5 D.%?GGL, 
<4>E<<4?L=4O <>M=>EFL 4>EF<745F 36 <. �>4O E?45>=4?>D=O5. 'D>65=L 74?5745F 
=4 7?G5<=4E >F 2,0 < G 6>4>ED4=<?<M4 4> 10,5 < 3 =4 6>4>D4745?L=OE GG4EF>4E. 
�5M<= G>?>= ?>65DE=>EF< 75D>4?4 7DG=F>6OE 6>4 >><??5>E4 =4?D46?5= E 74?444 
=4 6>EF>>, > >E=>6=>= 4D5=5 D .%?GGL, E <5EF=O<< G>?>=4<< > 55 ?D<F>>G. 
�>MDD<F<5=FO D<?LFD4F<< <7<5=ONFEO 6 4<4?47>=5 >F 0,66 </EGF 6 
<5?>>75D=<EFOE 7?<=<EFOE ?5E>4E (=.?.'<656<G<) 4> 14,5 </EGF 6 ?5E>4E ED54=5- 

< >DG?=>75D=<EFOE (7.?.%F4D>5<=). '45?L=O5 455<FO >>?55?NFEO 6 ?D545?4E >F 
0,11 4> 4,61 <3/G4E. 

�E=>6=>5 ?<F4=<5 6>4>=>E=O= >><??5>E ?>?GG45F 74 ?D545?4<< D4=>=4 
<EE?54>64=<= =4 6>4>D4745?L=>< <4EE<65 DD. �>D>GL < %?GGL 74 EG5F 
4F<>ED5D=OE >E44>>6. '4EF<G=> D477DG64OEL 6 4>?<=5 D. %?GGL < 55 ?D46OE 
?D<F>>4E, 6>4O 6 4=5?D>6E>>-E>6E><E >F?>65=<OE D4E?D>EFD4=ONFEO 44?LL5 =4 
N7>-6>EF>> < =4 N7 >F <EE?54G5<>7> D4=>=4. 

�>4>=>E=O= >><??5>E =4 GG4EF>4E D47<O64 E>6E>>= <>D5=O 
7<4D46?<G5E>< 674<<>E6O74= E 6>44<< 5>?>F=OE < 4??N6<4?L=OE >F?>65=<=, E 
?>65DE=>EF=O<< 6>44<< 6 GEFL56OE G4EFOE ?D<F>>>6 D. %?GGL < 
6>4>ED4=<?<M5<, 4 6 <5EF4E >FEGFEF6<O 4=5?D>6E>>= <>D5=O, E 6>44<< 
=<65?564M57> 55D57<=E>>-4=5?D>6E>>7> 6>4>=>E=>7> >><??5>E4. 

�>475<=O5 6>4O 6>4=>-?54=<>>6>7> >><??5>E4 3 ?D5E=O5, E E>D>L<<< 
?<FL56O<< >4G5EF64<<, EGE>= >EF4F>> 6 5EF5EF65==OE GE?>6<OE >5OG=> =5 
?D56OL45F 500 <7/4<3, ?> E>?56><G E>EF46G 3 7<4D>>4D5>=4F=>->4?LF<56>7> 
F<?4. 

�>4O 4=5?D>6E>>-E>6E>>7> 6>4>=>E=>7> >><??5>E4 E?G64F >E=>6=O< 
<EF>G=<>>< 6>4>E=4565=<O =4E5?5==OE ?G=>F>6 D4=>=4 <EE?54>64=<=. �45>D <E 
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>EGM5EF6?O5FEO E ?><>MLN <=>7>G<E?5==OE >>?4=OE >>?>4F56 < >4<=>G=OE 
M>E??G4F4F<>==OE E>646<=, ?D>5GD5==OE G 6<6>F=>6>4G5E><E D5D<. 

�F=>E<F5?L=O< 6>4>G?>D><, ?>4EF<?4NM<< 4=5?D>6E><=-E>6E><= 
6>4>=>E=O= >><??5>E E?G64F <>D5==O5 EG?5E< < D565 EG7?<=>< 4=5?D>6E>>7> 
>?545=5=<O. �=5?D>6E>4O <>D5=4 =5 <<55F ?>6E5<5EF=>7> D4E?D>EFD4=5=<O 6 
<EE?54G5<>< D4=>=5. �>M=>EFL 4=5?D>6E>>7> 6>4>G?>D4 6 ED54=5< E>EF46?O5F 
>>>?> 5 < < 6 >F45?L=OE <5EF4E 4>EF<745F 18,0-19,0 < (=.?.�O>>6>). $5?L5D 
?>65DE=>EF< >D>6?< =5D>6=O= <, >4> ?D46<?>, ?>=<645FEO > <5EF4< 
6O>?<=<64=<O. �5E>?NF=O5 >F<5F>< >D>6?< >>?55?NFEO 6 ?D545?4E >F 113,42 4> 
144,0 <. �>D5==O5 EG7?<=>< < EG?5E< E?45>6>4>?D>=<F45<O. �>MDD<F<5=F 
D<?LFD4F<< ?> 44==O< EF4F<EF<G5E>>= >5D45>F>< E>EF46?O5F 4?O EG?5E5= 20 
E</EGF, 4 ?> >?D545?5=<O<, ?D>6545==O< 6 ?45>D4F>D=OE GE?>6<OE, E>EF46?O5F 
0,47-0,67 E</EGF. 

�=4G<F5?L=4O D47<OF>EFL 4=5?D>6E>>= <>D5=O < 55 D<?LFD4F<>==O5 
E6>=EF64 >55E?5G<64NF 7<4D46?<G5E>GN 674<<>E6O7L <564G 4=5?D>6E>>-

E>6E><< < 55D57<=E>>-4=5?D>6E><< 6>4>=>E=O<< >><??5>E4<<. 
�>4>=>E=O= 55D57<=E><=-4=5?D>6E><= 6>4=>-?54=<>>6O= >><??5>E 

(f,lgIbr-IId) D4E?D>EFD4=5= =4 6E5= F5DD<F>D<< <EE?54G5<>7> D4=>=4. 
�>4>=>E=O<< >F?>65=<O<< >><??5>E4 E?G6<F =5D4EG?5=5==4O F>?M4 

?5E>>6 D47?<G=>= >DG?=>EF< 3 >F 7?<=<EFOE 4> >DG?=>75D=<EFOE, ED54< =<E 
6EFD5G4NFEO 7D46<==>-74?5G=O5 ?D>E?><. 

�>4O 6E>DOFO =4 7?G5<=4E >F 32,0 4> 46,0 <, <>M=>EFL 6>4>=>E=>7> 
>><??5>E4 >>?55?5FEO >F 5,0 4> 45 < (6 ?>7D555==>= 4>?<=5 3 91,0 <), 6 ED54=5< 
E>EF46?O5F 20-25 <.  

�>4>>5<?L=>EFL 6>4>=>E=>7> >><??5>E4 < 57> D<?LFD4F<>==O5 E6>=EF64 6 
>E=>6=>< 746<EOF >F 7D4=G?><5FD<G5E>>7> E>EF464 ?5E>>6. �=4G5=<O G45?L=>7> 
455<F4 < >>MDD<F<5=F4 D<?LFD4F<< >>?55?NFEO 6 L<D>><E ?D545?4E, 
E>>F65FEF65==>, >F 0,14 <3/G4E (=.?.�?O4><) 4> 9,9 <3/G4E (=.?. �>7>EF), 
>>MDD<F<5=F D<?LFD4F<< 3 >F 0,16 4> 13,45 </EGF. 

�<F4=<5 6>4>=>E=>7> >><??5>E4 ?D><EE>4<F, 6 >E=>6=><, 74 ?D545?4<< < 
G4EF<G=> =4 F5DD<F>D<< <EE?54G5<>7> D4=>=4 74 EG5F 4F<>ED5D=OE >E44>>6 < 
?5D5?<64 <7 6OL5?564M57> 4=5?D>6E>>-E>6E>>7> 6>4>=>E=>7> >><??5>E4. 

'D>6=< 6>4 >><??5>E4 GEF4=46?<64NFEO, 6 >E=>6=><, =4 F5E 65 >F<5F>4E, 
GF> < 6OL5?564M<E 6>4>=>E=OE 7>D<7>=F>6, =5E>>?L>> =<65 3 6 74?44=OE 
G4EFOE <, ?D56OL4O <E, 6 ?D545?4E 4> =5E>>?L><E E< 6 4>?<=5 D. %?GGL. -F> 
7>6>D<F > F5E=>= 7<4D46?<G5E>>= 674<<>E6O7< 6E5E G5F65DF<G=OE 6>4>=>E=OE 
7>D<7>=F>6. 

$4=>= <EE?54>64=<= 4?O 6>4 55D57<=E>>-4=5?D>6E>>7> 6>4>=>E=>7> 
>><??5>E4 O6?O5FEO >5?4EFLN FD4=7<F4 =4 <E ?GF< E E565D>-74?444 =4 N7>-6>EF>>, 
?D< G4EF<G=>= D477DG7>5 6 4>?<=5 D. %?GGL. 

� 5EF5EF65==OE GE?>6<OE ?> E<<<G5E>><G E>EF46G 6>4O 5O?< ?D5E=O<< E 
<<=5D4?<74F<5= 4> 0,2-0,25 7/4<3, 7<4D>>4D5>=4F=>->4?LF<56>7> F<?4. 
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�> <=>7<E =4E5?5==OE ?G=>F4E ?>475<=O5 6>4O 7>D<7>=F4 
M>E??G4F<DGNFEO 6>4>745>D=O<< E>646<=4<< 4?O E>7O=EF65==>-5OF>6OE F5?5=. 

�5D57<=E><5 <>D5==O5 >F?>65=<O, E?G64M<5 6 <5EF4E <E D476<F<O 
=<6=<< >F=>E<F5?L=O< 6>4>G?>D>< 4?O 55D57<=E>>-4=5?D>6E>>7> 6>4>=>E=>7> 
7>D<7>=F4, <<5NF =4<<5=LL55 D4E?D>EFD4=5=<5 ?> ED46=5=<N E 6OL5?564M<<< 
E>6E>>= < 4=5?D>6E>>= <>D5=4<<. 

�>D5==O5 >F?>65=<O ?D54EF46?5=O E5DO<< < F5<=>-E5DO<< EG?5EO<< E 
6>?NG5=<5< 7D46<O, 74?L>< < <5?><E 64?G=>6. �>M=>EFL <>D5=O 6 ED54=5< 
E>EF46?O5F 4,0-5,0 <, 6 >F45?L=OE <5EF4E 4>EF<74O 13,0-14,0 <. 

�5D57<=E>4O <>D5=4 D57<>=4?L=> =56O45D64==4O < ?> E6><< 
D<?LFD4F<>==O< E6>=EF64< 5?<7>4 > D<?LFD4F<>==O< E6>=EF64< 4=5?D>6E>>= 
<>D5=O. �=4 =5 >55E?5G<645F <7>?OF<< 6OL5- < =<65?564M<E 6>4>=>E=OE 
7>D<7>=F>6 4DG7 >F 4DG74 < =5 O6?O5FEO =4456=>= ?D57D44>= >F ?D>=<>=>65=<O 
67?G5L 74E>?5==OE 6>4. 

�>4>=>E=O= >><??5>E ?4?5>75=>6OE < =5>75=>6OE >F?>65=<= (P-N) 

�>475<=O5 6>4O 6 ?>?F46E><E < ><56E><E E?>OE 6 ?D545?4E D4=>=4 
<EE?54>64=<O <<5NF ?>6E5<5EF=>5 D4E?D>EFD4=5=<5. �=< 74?574NF >5OG=> =4 
7?G5<=4E 50-65 <. 

�>M=>EFL 44==>7> >><??5>E4 <7<5=O5FEO >F 7 4> 45 <, 6 D4=>=5 
?D>D<?4>F>D<O >=4 E>EF46?O5F 33,4 <. �>4>6<5M4NM<5 ?>D>4O ?D54EF46?5=O 
?D5<<GM5EF65==>  ?5E>4<<  D47?<G=>7>  7D4=G?><5FD<G5E>>7> E>EF464 E 
?>4G<=5==O<< ?D>E?>O<< 7?<=. �>4>=>E=O= 7>D<7>=F  =4?>D=O=. 

�L57><5FD<G5E><= GD>65=L GEF4=46?<645FEO 6 E>646<=4E =4 7?G5<=4E 1,2-

14,35 <, =<65 ?>65DE=>EF< 75<?<. �>4>>5<5= ?4?5>75=>6OE >F?>65=<= 65EL<4 
D47=>>5D475= < 746<E<F >F 7D4=G?><5FD<G5E>>7> E>EF464 6>4>6<5M4NM<E ?>D>4. 
�>MDD<F<5=F D<?LFD4F<< 6>4>6<5M4NM<E ?5E>>6 <7<5=O5FEO 6 ?D545?4E >F 0,9 
4> 19,2 </EGF < =4 >F45?L=OE GG4EF>4E 4>EF<745F 32,7 </EGF. 

�<=5D4?<74F<O 6>4O =57=4G<F5?L=4O (>>>?> 350 <7/?), 6>4O >F=>EOFEO > 
7<4D>>4D5>=4F=><G >4?LF<56><G F<?G. �<F4=<5 44==>7> 6>4>=>E=>7> >><??5>E4 
>EGM5EF6?O5FEO 74 EG5F ?5D5F5>4=<O 6>4 <7 G5F65DF<G=>7> 6>4>=>E=>7> 

7>D<7>=F4 <, >D><5 MF>7>, 6>7<>6=> ?>4?<FO64=<5 <E 74 EG5F =4?>D=OE 6>4 
<5D75?L=>-<5?>6>= F>?M< 65DE=57> <5?4. 

�>475<=O5 6>4O ?4?5>75=>6OE < =5>75=>6OE >F?>65=<= O6?ONFEO 
>E=>6=O< <EF>G=<>>< 6>4>E=4565=<O =4E5?5==OE ?G=>F>6. 

�>4>E=4565=<5 7.%>?<7>DE>4 >EGM5EF6?O5FEO ?>ED54EF6>< 7DG??>6OE 
6>4>745>D>6 3 «�5?56<G<» (D4E?>?>65= 6 D4=>=5 4. �4?OL56<G< %?GF>>7> 
D4=>=4, E>646<=O 7?G5<=>= >F 137 < 4> 214 <), «�5D57><» (=5?>ED54EF65==> 6 
7.%>?<7>DE>5, E>646<=O 7?G5<=>= >F 65 < 4> 100 <.).  

$O4 ?D><?D54?D<OF<= 7>D>44 - %>?<7>DE><= D<?<4? ��� «%?GF><= 
EOD>45?L=O= >><5<=4F», %>?<7>DE><= E?55>746>4 $<?<4? ��� 
«�>D<E>6E?55?D><»,  ��� «�5?4DGEL>4?<=» , ?D>D<?4>F>D<= «�5D57>4» <<5NF 
E>5EF65==O5 E>646<=O. 
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3.4.3 %>EF>O=<5 ?>475<=OE 6>4 

�>=<F>D<=7 ?>475<=OE 6>4 ?D54EF46?O5F E>5>= E<EF5<G D57G?OD=OE 
=45?N45=<= 74 E>EF>O=<5< ?>475<=OE 6>4 ?> 7<4D>75>?>7<G5E><<, 
7<4D>E<<<G5E><< < 4DG7<< ?>>474F5?O<. �O>>?<D>6>4 <7 >4DFO-EE5<O 
45=EF6GNM<E ?G=>F>6 =45?N45=<O 74 E>EF>O=<5< ?>475<=OE 6>4 (?> E>EF>O=<N 
=4 01.01.2024)  6 54EE5==5 D. �D<?OFL ?D<6545=4 =4 D<EG=>5 3.8 [15]. 

�D< ?D>6545=<< =45?N45=<= 74 E>EF>O=<5< ?>475<=OE 6>4 ?> 
7<4D>75>?>7<G5E><< ?>>474F5?O<, ?D>6>4<<OE 6 D4<>4E �%��%, >F<5G5=O 
E?54GNM<5 >E>55==>EF< D>D<<D>64=<O GD>6=5==>7> D56<<4:  

" <7<5=5=<5 7<4D>4<=4<<G5E>>7> D56<<4 ?>475<=OE 6>4 
>?D545?O5FEO E>G5F4=<5< D<7<>>-75>7D4D<G5E><E, 75><>DD>?>7<G5E><E, 
75>?>7<G5E><E, 7<4D>75>?>7<G5E><E < <5F5>D>?>7<G5E><E D4>F>D>6;  

" F5DD<F>D<O D5E?G5?<>< E4D4>F5D<7G5FEO >5?4EFLN E57>==>7> 
65E5==57> < >E5==57> ?<F4=<O, E>>F65FEF65==> MF<< E57>=4< 6 7>4>6>< E>45 
GD>6=5= 7DG=F>6OE < 4DF57<4=E><E 6>4 >F<5G4NFEO ?>4N5<O, E<5=O5<O5 
E?444<<;  

" >>?554=<O GD>6=5= =4?>D=OE 6>4 ?D4>F<G5E>< ?>6F>DONF >>?554=<O 
GD>6=5= 7DG=F>6OE 6>4, GF> ?>4F65D6445F E>D>LGN 7<4D46?<G5E>GN 
674<<>E6O7L <564G 6>4>=>E=O<< 7>D<7>=F4<< < 6>44<< ?>65DE=>EF=OE 
6>4>F>>>6 < 6>4>5<>6. 
 

 

$<EG=>> 3.8 3 �O>>?<D>6>4 <7 >4DFO-EE5<O 45=EF6GNM<E ?G=>F>6 
=45?N45=<O 74 E>EF>O=<5< ?>475<=OE 6>4  (?> E>EF>O=<N =4 01.01.2024) 
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�4==O5 <>=<F>D<=74 E6<45F5?LEF6GNF > F><, GF> 6 2023 7. =4 7=4G<F5?L=>= 
F5DD<F>D<< D5E?G5?<>< 6 ?D545?4E D5G=OE 54EE5==>6 ?D><EE>4<?> E=<65=<5 
7?G5<=O 74?574=<O GD>6=5= ?>475<=OE 6>4. &4> 6 54EE5==5 D. �D<?OFL E=<65=<5 
E>EF46<?> 4?O 7DG=F>6OE 6>4 >F 0,21 < 4> 1,08 <, 4?O 4DF57<4=E><E 6>4 3 >F 0,01 
< 4> 1,22 <, GF> 6 ED54=5< <5=LL5, G5< 6 2019 7>4G, 6 >>F>D>< =45?N44?>EL 
E=<65=<5 6 ED54=5< =4 0,3 < 4?O 7DG=F>6OE 6>4 < 0,4 < 4?O 4DF57<4=E><E 6>4 

[15]. 

�>4>6O5 4<??<FG4O >>?554=<= GD>6=5= 7DG=F>6OE 6>4 74 2023 7. 
E>EF46<?< >F 0,32 < 4> 1,81 <, 6 ED54=5< 1,03 <. �>4>6O5 4<??<FG4O >>?554=<= 
GD>6=5= 4DF57<4=E><E 6>4 74 MF>F 65 ?5D<>4 E>EF46<?< >F 0,1 < 4> 2,14 <. 

� 54EE5==5 D. �D<?OFL =45?N45=<O 74 >4G5EF6>< ?>475<=OE 6>4 6 2023 7. 
?D>6>4<?<EL ?> 5 7/7 ?>EF4< (3 =45?N44F5?L=O5 E>646<=O >5>DG4>64=O =4 
7DG=F>6O5 6>4O < 3 E>646<=O 3 =4 4DF57<4=E><5). �F5>D ?D>5 ?D><76>4<?EO <7 
E>646<= �>D>E>6E>>7>, �?O=>>E>>7>, �?5>E4=4D>6E>>7>, �><4GE>>7> < 
�>7ODLE>>7> 7/7 ?>EF>6.  

�4G5EF6> ?>475<=OE 6>4 6 54EE5==5 D. �D<?OFL 6 >E=>6=>< E>>F65FEF6G5F 
GEF4=>6?5==O< FD55>64=<O< ?> >4G5EF6G 6>4O. �=4G<F5?L=OE <7<5=5=<= ?> 
E<<<G5E>><G E>EF46G ?>475<=OE 6>4 =5 6OO6?5=>. 

�5?<G<=4 6>4>D>4=>7> ?>>474F5?O 6 2023 7. E>EF46<?4 >F 5,6 4> 7,64 54. D�, 
<7 G57> E?54G5F, GF> 6>4O 54EE5==4 6 >E=>6=>< =5=FD4?L=O5, D565 E?45>><E?O5. 
�<LL 6 E>646<=5 1354 �><4GE>>7> 7/7 ?>EF4 6>4O M5?>G=O5 (9,5 54. D�). 
�>>474F5?L >5M5= 65EF>>EF< E>EF46<? >F 0,54 4> 4,05 <<>?L/4<3, GF> 
E6<45F5?LEF6G5F > D4E?D>EFD4=5=<< >F >G5=L <O7><E 4> ED54=<E ?> 65EF>>EF< 
?>475<=OE 6>4 (D<EG=>> 3.16). 

�DG=F>6O5 6>4O 54EE5==4 D. �D<?OFL E4D4>F5D<7GNFEO ?> FD5< 
=45?N44F5?L=O< E>646<=4<. �>4O 6 >E=>6=>< 7<4D>>4D5>=4F=O5 <47=<56>-

>4?LF<56O5. %>45D64=<5 EGE>7> >EF4F>4 6 7DG=F>6OE 6>44E E>EF46<?> 67,0-107,0 

<7/4<3, E?>D<4>6 3 2,4-3,9 <7/4<3, EG?LD4F>6 3 4,5-15,7 <7/4<3, =<FD4F-<>=>6 3 

<0,1-<0,2 <7/4<3, =<FD<F-<>=>6 3 <0,01-<0,2 <7/4<3. �4F<>==O= E>EF46 6>4 
E?54GNM<=: =4FD<= 3 2,0-4,4 <7/4<3, >4?<= 3 0,7-3,3 <7/4<3, >4?LF<= 3 9,6-23,4 

<7/4<3, <47=<= 3 0,7-2,2 <7/4<3, 4<<>=<=-<>= 3 <0,1-1,3 <7/4<3. 

�4> ?>>474?< 44==O5 D56<<=OE =45?N45=<=, 6 7DG=F>6OE 6>44E 54EE5==4 
D. �D<?OFL, >?D>5>64==OE 6 2023 7., ?D56OL5=<5 ��� 6OO6?5=O ?> 
>><E?O5<>EF< ?5D<4=74=4F=>= 6 1,7 D474 ?D< ���=5,0 <7/4<3, ?> <GF=>EF< 6 
10,3-23,0 D474 >F ��� (���=1,5 <7/4<3), ?> F65F=>EF< 6 5,7-12,0 D47 >F ��� 
(���=20 7D44.), ?> >D5<=<N 6 1,3 D474 ?D< ���=10,0 <7/4<3 < ?> 65?57G >5M5<G 
6 2,2-85,3 D474 ?D< ���=0,3 <7/4<3. 

�DF57<4=E><5 6>4O 54EE5==4 D. �D<?OFL ?> E<<<G5E>><G E>EF46G, 7?46=O< 
>5D47><, 7<4D>>4D5>=4F=O5 <47=<56>->4?LF<56O5 < 7<4D>>4D5>=4F=O5 
>4?LF<56O5. %>45D64=<5 EGE>7> >EF4F>4 ?> 54EE5==G <7<5=O?>EL 6 ?D545?4E 
121,0-514,0 <7/4<3, E?>D<4>6 3 31,1-126,5 <7/4<3, EG?LD4F>6 3 1,3-37,9 <7/4<3, 

=<FD4F-<>=>6 3 <0,1-<0,2 <7/4<3, =<FD<F-<>=>6 3 <0,01-<0,2 <7/4<3, =4FD<O 3 5,9-
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179,1 <7/4<3, <47=<O 3 2,5-13,4 <7/4<3, >4?LF<O 3 10,2-59,1 <7/4<3, >4?<O 3 1,1-5,4 

<7/4<3, 4<<>=<=-<>=4 3 <0,1-0,9 <7/4<3. 

�=4?<7 44==OE, ?>?GG5==OE 74 2023 7., ?>>474?, GF> ?D56OL5=<O ��� 
6OO6?5=O ?> <GF=>EF< 6 1,2-14,6 D474 ?D< ���=1,5 <7/4<3, ?> 65?57G >5M5<G 6 
2,5-168,0 D47 ?D< ���=0,3 <7/4<3, ?> F65F=>EF< 6 2,6 D474 >F ��� (���=20 7D44.) 
< ?> 74?4EG 6 1-1,5 D474 ?D< ���=2 54??4. &4><5 ?>>474F5?< >5GE?>6?5=O 
6?<O=<5< >4> ?D<D>4=OE, F4> < 4=FD>?>75==OE D4>F>D>6 (E5?LE>>E>7O=EF65==>5 
747DO7=5=<5). 

%>7?4E=> 44==O< [6] >4G5EF6> 6>4O ?> >E=>6=O< ?>>474F5?O< E<<<>>-

54>F5D<>?>7<G5E>>7> E>EF464 4=5?D>6E>>-E>6E>>7> 6>4>=>E=>7> 7>D<7>=F4, 
?>475<=O5 6>4O >>F>D>7> O6?ONFEO >E=>6=O< <EF>G=<>>< E>7O=EF65==>-

?<FL56>7> 6>4>E=4565=<O =4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4, G4>6?5F6>DO5F 
FD55>64=<5< %4=�<� 7 10-124 $� 99 «�<FL564O 6>44. �<7<5=<G5E><5 
FD55>64=<O > >4G5EF6G 6>4O F5=FD4?<7>64==OE E<EF5< ?<FL56>7> 
6>4>E=4565=<O. �>=FD>?L >4G5EF64» 74 <E>?NG5=<5 ?>6OL5==>7> E>45D64=<O 

65?574. 

�?O ?D54EF46?5=<O > E<<<G5E>>< E>EF465 ?>475<=OE 6>4 6 ?D545?4E 
GG4EF>4 ??4=<DG5<>= D5>>=EFDG>F<< =4 F5DD<F>D<< 2$' ?D<6545=O D57G?LF4FO 
E<<<G5E><E 4=4?<7>6 ?D>5 ?>475<=OE 6>4 6>4>745>D4 73 (2$') E>6. 7 25 (F45?. 
3.6). 
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&45?<F4 3.6  3 $57G?LF4FO E<<<G5E><E 4=4?<7>6 ?>475<=OE 6>4 4DF57<4=E>>= 6>4>745>D=>= E>646<=O 7 25 6>4>745>D4  
73 2$' 

 

 
 

�><5
D 

E>64
6<=

O 

 

D� 
 

$>D<4 
6OD465

=<O 
4=4?<74 

 

�E=>6=O5 E<<<G5E><5 >><?>=5=FO 

 

�
5E

F>
>E

FL
 >

5M
4O

, 

 

�
GF

=>
EF

L,
 

 

�
><

E?
O5

<>
EF

L,
 

�
<=

5D
4?

<7
4F

<O
,  

%GE>= 
>EF4F>>
, 

<7/4<3 

�4F<>=O �=<>=O 

Na
+ 

+ K
+

  

Ca
2+ 

 

Mg
2+ 

 

NH4
+ 

 

Fe>5M. 

 

%l- 

 

SO4
2- 

 

HCO3
- 

 

NO3
- 

 

NO2
-- 

Na
+

 K
+ 

��� 6 - 9  200,0 - - - 2,0 0,3 (1,0) 350,0 500,0 - 45,0 3,0 
7,0 

(10,0) 
- 5,0 

1000,0 

(1500,0) 

1000,0 

(1500,0) 

7 25 7,6 

 18,66 5,86 - - 0,39 0,363 12,98 17,56 298,9 0,20 0,20 

4,8 0,82 0,57 355,1 308,0  0,81 0,15 - - 0,02 0,00 0,37 0,37 4,90 0,00 0,00 

 82,56 15,24 - - 2,20 0,00 6,49 6,49 86,89 0,06 0,08 
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3.5 �5<5?L=O5 D5EGDEO. �>G6O  

3.5.1 %FDG>FGD4 75<5?L=OE D5EGDE>6 

%>EF>O=<5 75<5?L=OE D5EGDE>6 ?> %>?<7>DE>><G D4=>=G ?D<6545=O ?> 
44==O< D55EFD4 75<5?L=OE D5EGDE>6 $5E?G5?<>< �5?4DGEL (?> E>EF>O=<N =4 1 
O=64DO 2024 7>44) [16]. 

�5M4O ??>M44L 75<5?L 3 20762,9 FOE. 74, <7 =<E: 
- E5?LE>>E>7O=EF65==OE 75<5?L, 6E57> 3 8036,3 FOE. 74, 6 F>< G<E?5 

?4E>F=OE- 5567,8 FOE. 74; 
- ?5E=OE 75<5?L 3 9028,8 FOE. 74; 
- 75<5?L ?>4 4D565E=>->GEF4D=<>>6>= D4EF<F5?L=>EFLN 3 987,3 FOE. 74; 
- 75<5?L ?>4 5>?>F4<< 3 725,8 FOE. 74; 
- 75<5?L ?>4 6>4=O<< >5N5>F4<< 3 464,6 FOE. 74; 
- 75<5?L ?>4 4>D>74<< < <=O<< FD4=E?>DF=O<< >><<G=<>4F<O<< 3 364,9 

FOE. 74; 
- 75<5?L >5M57> ?>?L7>64=<O 3 107,0 FOE. 74; 
- 75<5?L ?>4 74EFD>=>>= 3 552,4 FOE.74; 
- =4DGL5==OE 75<5?L 3 3,5 FOE. 74; 
- =5<E?>?L7G5<OE 75<5?L 3 412,5 FOE. 74; 
- <=OE 75<5?L 3 79,8 FOE. 74. 

 

%FDG>FGD4 75<5?L=>7> D>=44 ?> 6<44< 75<5?L 6 D4=>=5 D4E?>?>65=<O 
>5N5>F4 ??4=<DG5<>= D5>>=EFDG>F<< >FD465=4 =4 D<E. 3.9. 

 

 

$<EG=>> 3.9 3 %FDG>FGD4 75<5?L=>7> D>=44 6 D4=>=5 D4E?>?>65=<O >5N5>F4 
??4=<DG5<>= D5>>=EFDG>F<< 
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� EFDG>FGD5 75<5?L=>7> D>=44 6 %>?<7>DE>>< D4=>=5 4>?O ??>M44< 
E5?LE>>E>7O=EF65==OE 75<5?L: ?4E>F=OE (40,7%), ?G7>6OE (19,9 %), ?>4 
?>EF>O==O<< >G?LFGD4<< (2,1 %) ?D56OL45F 6E5 >EF4?L=O5 >4F57>D<<.  

� E>>F65FEF6<< E ?>G65==>-75>7D4D<G5E><< D4=>=<D>64=<5< F5DD<F>D<O 
<EE?54>64=<O >F=>E<FEO > �>6>7DG4E>>-�5E6<6E>><G-%?GF>><G D4=>=G 45D=>6>-

?>47>?<EFOE ?O?564F>-EG7?<=<EFOE < EG?5EG4=OE ?>G6 �4?44=>= >>DG7< 
&5=FD4?L=>= (�5?>DGEE>>=) ?D>6<=F<< [17]. 

�5><>DD>?>7<G5E><5 E4D4>F5D<EF<>< D4=>=4, <5?>>E>?<<EF>-7DO4>6O5 

<>D5==O5 6>76OL5=<O ?5D5E>4OM<5 6 ??>E>>6>?=<EFO5 <>D5==O5, <>D5==>-

74=4D>6O5 < 6>4=>?54=<>>6O5 D46=<=O, 4 F4>65 ??>E><5 4D56=54??N6<4?L=O5 
?>6OL5=<O, G5D54GNM<5EO E >DG?=O<< 745>?>G5==O<< ?>=<65=<O<<, >5GE?>6<?< 
?D5>5?444=<5 =4 <EE?54>64==>= F5DD<F>D<< 45D=>6>-?>47>?<EFOE 745>?>G5==OE (6 
>E=>6=>< 6D5<5==> <75OF>G=> G6?46=5==OE) < F>DDO=>-5>?>F=OE ?>G6 =<7<==>7> 
F<?4, 4>?O >>F>DOE E>EF46?O5F 5>?55 56%. �D4=G?><5FD<G5E><= E>EF46 
?>G6>>5D47GNM<E ?>D>4 <<=5D4?L=OE ?>G6, >4> ?D46<?>, DOE?>- < 
E6O7=>EG?5EG4=O=, D565 ?57>>EG7?<=<EFO=. 

�4 GG4EF>4E =5?>ED54EF65==> ?D<<O>4NM<E > 6>4>ED4=<?<MG, 7?46=O< 
>5D47>< =4 ?>=<65==OE M?5<5=F4E D5?L5D4, D4E?D>EFD4=5=O 45D=>6>-7?5564FO5 
< 7?556O5 4??N6<4?L=O5 (?>=<5==O5) 45D=>6O5 745>?>G5==O5 ?>G6O =4 
E6O7=>EG?5EG4=>< 4??N6<<, E<5=O5<>< ?5EG4=O< 4??N6<5< E 7?G5<=O 0,430,5 

<, 4 F4>65 <?>64F>-F>DDO=>-7?556O5 ?>G6O =4 7<?=>6>->E>>>6OE F>DD4E, 
?>4EF<?45<OE ?5E>4<< E 7?G5<=O 0,330,5 <. 

�>EF>G=4O G4EFL 6>4>E5>D4 %>?<7>DE>>7> 6>4>ED4=<?<M4 ?D54EF46?5=4 
?>G64<< 5>?55 ?57>>7> <5E4=<G5E>>7> E>EF464. �<LL 6 E565D=>= G4EF<, 6 
>>D5EF=>EFOE 4.4. �>7>EF31-= < &5E>6> ?D5>5?444NF 45D=>6>-?>47>?<EFO5 
EG7?<=<EFO5 ?>G6O =4 ?O?564FOE (?5EE>6<4=OE) ?57><E EG7?<=>4E, 
?>4EF<?45<OE <>D5==O<< EG7?<=>4<< <?< ?5E>4<< E 7?G5<=O 0,530,9 <. � F> 65 
6D5<O 7=4G<F5?L=4O G4EFL MF>= F5DD<F>D<< ?D54EF46?5=4 EG?5EG4=O<< ?>G64<<, 
D476<64NM<<<EO =4 ?O?564FOE E6O7=OE EG?5EOE. 

�4 =4<5>?55 ?>=<65==OE GG4EF>4E D4E?D>EFD4=5=O F>DDO=>-5>?>F=O5 
=<7<==O5 ?>G6O =4 4D565E=>->E>>>6>-FD>EF=<>>6OE F>DD4E, ?>4EF<?45<OE 
?5E>4<< E 7?G5<=O 0,531,0 <. �4 >F45?L=OE, >F=>E<F5?L=> =55>?LL<E ?> 
??>M44< GG4EF>4E, 6EFD5G4NFEO F>DDO=>-5>?>F=O5 65DE>6O5 ?>G6O =4 4D565E=>-

?GL<F>-ED47=>6OE F>DD4E, ?>4EF<?45<OE ?5E>4<< E 7?G5<=O 0,230,3 <. 
�F45?L=O5 GG4EF>< F>DDO=>-5>?>F=OE ?>G6 =<7<==>7> F<?4 <5?<>D<D>64=O. 
�>G65==O= ?>>D>6 745EL ?D54EF46?5= F>DDO=<EF>-?5EG4=>-7?556O<< ?>G64<< =4 
4D565E=>->E>>>6>-FD>EF=<>>6OE F>DD4E (E <>M=>EFL F>DD4 4> 1 <), =4<5>?55 
7=4G<F5?L=O= ?> ??>M44< <4EE<6 F4><E ?>G6 =4E>4<FEO 74?44=55 4. �4656<G<.  

&>DDO=>-5>?>F=O5 =<7<==O5 ?>G6O D>D<<DGNFEO 6 D4=>=5 F5DD<F>D<< 

<EE?54>64=<= 6 ?>=<5 D. %<65?L74 ?D< =57?G5>>>< 74?574=<< 7DG=F>6OE 6>4. 

�<7<==O5 F>DDO=>-5>?>F=O5 ?>G6O E>45D64F 5>?LL5 G7?5D>44 < 47>F4, 4 
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><E?>D>44 <5=LL5, =565?< 65DE>6O5. %F5?5=L =4EOM5==>EF< <E >E=>64=<O<< 

4>EF<745F 70- 80 %. 

3.5.2 �4G5EF65==4O E4D4>F5D<EF<>4 ?>G6 

� D4<>4E ?D>7D4<<O �4F<>=4?L=>= E<EF5<O <>=<F>D<=74 >>DG64NM5= 
ED54O (�%��%) ?D>6>4OFEO <>=<F>D<=7 E<<<G5E>>7> 747DO7=5=<O 75<5?L 
(6>?NG4O ?>G6O) >4> 6 =4E5?5==OE ?G=>F4E, F4> < =4 D>=>6OE F5DD<F>D<OE. � 
?D>54E ?>G6O 4=4?<7<D>64?>EL E>45D64=<5 FO65?OE <5F4??>6 (>5M55 
E>45D64=<5), pH, EG?LD4F>6, =<FD4F>6, =5DF5?D>4G>F>6, 55=7>(4)?<D5=4, 
?>?<E?>D<D>64==OE 4<D5=<?>6 (�%�). $>=>6>5 E>45D64=<5 >?D545?O5<OE 
<=7D54<5=F>6 6 ?>G65  ?> 44==O< =45?N45=<= 74 2023 7>4 ?D<6545=> 6 F45?<F5 
3.7. 

&45?<F4 3.7 3 $>=>6>5 E>45D64=<5 >?D545?O5<OE <=7D54<5=F>6 6 ?>G65 
?> 44==O< =45?N45=<= 74 2023 7>4, <7/>7 [16]  

 

 

�>>474F5?L 

�5DF5-

?D>4G>FO 
�5=7(4)- 

?<D5= 

 

KCl 
NO3

- 
SO4

2- 
&O65?O5 <5F4??O 

Cd Zn Pb Cu Ni Cr As Hg 

$>=>6O5 

7=4G5=<O 

 

20,8 
 

0,001 
 

12,2 
 

5,6 
 

45,7 
 

0,11 
 

14,3 
 

5,1 
 

3,9 
 

3,1 
 

3,1 
 

1,0 
 

0,05 

��� (���) 

4?O ?>G6: 
- ?5EG4=OE < 

EG?5EG4=OE 

- EG7?<=<EFOE 

< 7?<=<EFOE 

(D�<5,5) 
- EG7?<=<EFOE 

< 7?<=<EFOE 

(D�>5,5) 

50,0* 

(100,0) 

 

- 

 

0,02 

 

- 

 

- 

360,0 130,0 

 

- 

 

- 

160,0 

 

- 

 

- 

- 

 

0,5 

 

1,0 

- 

 

55,0 

 

110,0 

32,0 

 

- 

 

- 

- 

 

33,0 

 

66,0 

- 

 

20,0 

 

40,0 

100 

 

- 

 

- 

2,0 2,1 

 

- 

 

- 

* =>D<4F<6 ��� 3 50,0 <7/>7 3 GEF4=>6?5= 4?O 75<5?L 74?4E4, 75<5?L ?D<D>4>>ED4==>7>, D5>D54F<>==>7> 
=47=4G5=<O,  75<5?L  E5?LE>>E>7O=EF65==>7>  =47=4G5=<O;  =>D<4F<6  ���  3  100,0  <7/>7  3  4?O  75<5?L 
=4E5?5==OE ?G=>F>6, E44>6>4G5E><E F>64D<M5EF6, 44G=OE >>>?5D4F<6>6 [6]. 

 

�4 ��� «�5?4DGEL>4?<=» 6 D4<>4E ?>>4?L=>7> <>=<F>D<=74 75<5?L 
?D>6>4OFEO =45?N45=<O =4 F5DD<F>D<< 65?<7< E>?5>F64?>6 < L?4<>ED4=<?<M 
DG4>G?D46?5=<= 71-4 ?> FD5< ?4D4<5FD4<: E?>D<4O, >4?<= < =4FD<=. 
%>45D64=<5 =45?N445<OE 747DO7=ONM<E 65M5EF6 6 2019 7. =4E>4<?>EL 6 
?D545?4E 46GE>D4=OE 7=4G5=<= D>=>6OE >>=F5=FD4F<= 44==OE ?>>474F5?5=. 

�D>6>4<<O5 D4==55 DO4>< 46F>D>< <EE?54>64=<O ?>>47O64NF =4 
74E>?5=<< ?>G6 6 D4=>=5 6>745=EF6<O  ��� «�5?4DGEL>4?<=»  [18-20]. 

�> 44==O< [19] ?D4>F<G5E>< 6E5 4=4?<7<DG5<O5 ?>G6O >F?<G4NFEO 
?>6OL5==O< < 6OE>><< E>45D64=<5< ?>46<6=OE E>54<=5=<= D>ED>D4 < >4?<O. 
&4>, 6 ?4E>F=OE 7>D<7>=F4E 45D=>6>-?>47>?<EFOE ?>G6, D4E?>?>65==OE 65?<7< 
DG4>G?D46?5=<=, E>45D64=<5 P2O5 E>EF46<?> 234.4 < 336.4 <7/>7 (?>6OL5==>5 < 
6OE>>>5), 6 ?>4?4E>F=OE 4 230.7 <7/>7 (?>6OL5==>5), GF> 5>?LL5 ?> ED46=5=<N 
E D>=>< =4 68.0%. 
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�EE?54>64=<O [20] 6 7>=5 6>745=EF6<O 45=EF6GNM<E ��� ��� 
«�5?4DGEL>4?<=» 6OO6?5=> EGM5EF65==>5 ?D56OL5=<5 6 ?>G65 E>45D64=<O 
E>?5= - 6 7-10 D47 ?> EG<<5 6>4>D4EF6>D<<OE >4?<O, =4FD<O < E?>D4 
=5?>ED54EF65==> G 7D4=<FO ?D54?D<OF<O 6 ED46=5=<< E D>=><. �4 D4EEF>O=<< 3 
>< ?D56OL5=<5 =44 D>=>< E>EF46?O?> 3 - 5 D47, 4 6 10 >< 4 1,5 D474. 

 

3.6 $4EF<F5?L=O= < 6<6>F=O= <<D  

3.6.1 %>EF>O=<5 D4EF<F5?L=>7> <<D4 6 D4=>=5 ??4=<DG5<>= 
E>7O=EF65==>= 45OF5?L=>EF< 

�> 75>5>F4=<G5E>><G D4=>=<D>64=<N �5?4DGE< <EE?54G5<4O F5DD<F>D<O 
D4E?>?>65=4 6 &5=FD4?L=>-�D54?>?5EE>>< >>DG75 ?>47>=O 7D45>6>-4G5>6>-

F5<=>E6>==OE ?5E>6.  
� E565DG < E565D>-74?44G >F 7. %>?<7>DE> ?D5>5?444NF ED54=56OE>F=O5 

D46=<==O5 6F>D<G=>-6>4=>-?54=<>>6O5 ?4=4L4DFO E E>E=>6O<< < 
<5?>>?<EF65==O<< ?5E4<<, >F45?L=O<< 6>D4??5=<O<< 6EFD5G4NFEO 
6>76OL5==O5 E>?<<EF>-<>D5==>-MD>7<>==O5 ?4=4L4DFO E L<D>>>?<EF65==>-

5?>6O<< ?5E4<< =4 45D=>6>-?>47>?<EFOE ?>G64E. � E565D>-6>EF>>G >=< 
E<5=ONFEO 6F>D<G=>-<>D5==O<< < <>D5==>-74=4D>6O<< ?4=4L4DF4<< E 
L<D>>>?<EF65==>-5?>6O<<, E>E=>6O<< < 4G5>6O<< ?5E4<<. �5E>E>7O=EF65==O5 
F5DD<F>D<< =4E>4OFEO 6 6545=<< ��%' «%F4D>5<=E><= ?5EE>7». 

'G4EF>> ??4=<DG5<>= D5>>=EFDG>F<< ?D<GD>G5= > EGM5EF6GNM5= 
?D><76>4EF65==>= ??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� 
«�5?4DGEL>4?<=» ?D4>F<G5E>< E6>5>45= >F 4D565E=>->GEF4D=<>>6>= 
D4EF<F5?L=>EF<. �?<64=L<5 > <EE?54G5<>= F5DD<F>D<< ?5E=O5 =4E4645=<O 
=4E>4OFEO =4 D4EEF>O=<< ~800 <, 4 =5?>ED54EF65==> F5DD<F>D<O DG4=<>4 E> 6E5E 
EF>D>= >>DG65=4 ?4E>F=O<< E5?LE>>E>7O=EF65==O<< 75<?O<< ��� 
«�>?LL56<>-�7D>», E<EF5<4F<G5E>< >5D454FO645<O<< (?5D5?4E<645<O<<) < 
<E?>?L7G5<O<< ?>4 ?>E56O E5?LE>>E>7O=EF65==OE >G?LFGD, 6>?NG4O ?>E56O 
<=>7>?5F=<E FD46. 

%D54< ?4L5==>7> E>>5M5EF64 <4?>?5F=<E E>D=OE FD46 L<D>>> 
D4E?D>EFD4=5=O FD<6<4?L=O5 E>D=O><, >5OG=> ?D<EGFEF6GNM<5 6 
47D>D<F>F5=>74E 3 M5F<==<> E<7O=, 76574G4F>4 ED54=OO, 56>6=<> 
>5O>=>65==O=, M<D<F4 74?D>><=GF4O, ?OD5= ?>?7GG<=, 74?<=7>74 
<5?>>F65F>>64O, ?<>G?L=<> >D4E<6O=, 7>D5F L5D>E>64FO=, <4DL 55?4O, 65D>=<>4 
?>?564O, 7>D>L5> <OL<=O=, >4G64=G<> ?5>4DEF65==O=, D4??>?<O 6LN=>>64O, 
6LN=>> ?>?56>=. 

� D4=>=5 ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< <5EF4 ?D><7D4EF4=<O 
D4EF5=<=, 74=5E5==OE 6 �D4E=GN >=<7G $5E?G5?<>< �5?4DGEL, >FEGFEF6GNF. 
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3.6.2 %>EF>O=<5 6<6>F=>7> <<D4 6 D4=>=5 ??4=<DG5<>= 6 D4=>=5 
??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 

�5?>ED54EF65==> F5DD<F>D<N D5>>=EFDG>F<< <>6=> =5 D4EE<4FD<64FL 

>4> F5DD<F>D<N ?D<7>4=GN 4?O >5<F4=<O. �4 ?D<?574NM<E ?4E>F=OE 

E5?LE>775<?OE >5O>=>65==O<< 6EFD5G4NM<<<EO <?5>>?<F4NM<<< O6?ONFEO 
7DO7G=O, >>F>DO5 ?>?GG4NF 5>?LLGN 6O7>4G >F <>74<G=>EF< ?4=4L4DF4 < 
=4?<G<O 6 57> EFDG>FGD5 E5?LE>>E>7O=EF65==OE ?>?5=. �D=<F>D4G=4 
?D54EF46?5=4 6<44<<, E4D4>F5D=O<< 4?O 47D>?4=4L4DF>6.  

&5DD<F>D<< 6>>DG7 GG4EF>4 ?5DE?5>F<6=>7> EFD><F5?LEF64  =5 6E>4OF 6 
O4D4 >>=F5=FD4F<< >>?OF=OE. �<7D4F<>==O= >>D<4>D B4-GM5 ?D>E>4< 
7=4G<F5?L=> E565D=55 < <<55F E?54GNM<5 7D4=<FO (D<EG=>> 3.10): 

 

 

$<EG=>> 3.10 3 �4DF4-EE5<4 <<7D4F<>==OE >>D<4>D>6 �<=E>>= >5?4EF< 
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%565D=4O 7D4=<F4: 64>?L =.?. &5E=4 3 �G5<F4 3 �5?<G>>6<G< 3 

�>6>?>?5EE><= 3 �5F5=5F 3 �4<5=L - �>6. �D4<>F4 3 �47>DL5 - �D4E=4O �>?O=4 3 

�D4E=>5 3 �><<G=4 3 �>474?L5 3 $4EF>6 

.6=4O 7D4=<F4: 64>?L =.?. �>F> 3 �G7<G< 3 $4E>6<G< - �5?<><= �5E 3 

/E>>6<G< 3 �D>7D5EE 3 �4?5D5E>4=>5 3 %>>6L<= 3 �45D>4L5 3 �>EF>?O 3 

�><4D>6<G< 3 �D>E>4O 3 �5<5=>4. 

� D4=>=5 ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< <5EF4 >5<F4=<O 
6<6>F=OE, 74=5E5==OE 6 �D4E=GN >=<7G $5E?G5?<>< �5?4DGEL, >FEGFEF6GNF. 
 

3.7 �D<D>4=O5 >><??5>EO < ?D<D>4=O5 >5N5>FO  
�D<D>4=O= >><??5>E 3 DG=>F<>=4?L=> < 5EF5EF65==> E6O74==O5 <564G 

E>5>= ?D<D>4=O5 >5N5>FO, >5N54<=5==O5 75>7D4D<G5E><<< < <=O<< 
E>>F65FEF6GNM<<< ?D<7=4>4<<. �D<D>4=O= >5N5>F 3 5EF5EF65==4O 
M>>?>7<G5E>4O E<EF5<4, ?D<D>4=O= ?4=4L4DF, 5<>F>? < E>EF46?ONM<5 <E 
>><?>=5=FO ?D<D>4=>= ED54O, E>ED4=<6L<5 E6>< ?D<D>4=O5 E6>=EF64 

�?O >ED4=O  G=<>4?L=OE, MF4?>==OE <?< <=OE F5==OE ?D<D>4=OE 
>><??5>E>6 < >5N5>F>6, <<5NM<5 >E>5>5 M>>?>7<G5E>>5, =4GG=>5 < (<?<) 
MEF5F<G5E>>5 7=4G5=<5 >5NO6?ONFEO >E>5> >ED4=O5<O5 ?D<D>4=O5 F5DD<F>D<<. 

$5L5=<5< %>?<7>DE>>7> D4=>==>7> <E?>?=<F5?L=>7> >><<F5F4 >F 
30.12.2015 7 2786 6 %>?<7>DE>>< D4=>=5 >5NO6?5=O E?54GNM<5 >E>5> 
>ED4=O5<O5 ?D<D>4=O5 F5DD<F>D<< (���&)  [ 21]. 

" 7<4D>?>7<G5E><= 74>47=<> 3 «�D4E=>5 >75D>» (�5<?< ?5E=>7> D>=44 
6 >64DF4?5 21 (6O45? 35) %>>6L<=E>>7> ?5E=<G5EF64 ��%' «%F4D>5<=E><= 
?5EE>7», 75<?< >F>DOF>7> 4>F<>=5D=>7> >5M5EF64 «%>>6L<=»),  

" 7<4D>?>7<G5E><= 74>47=<> «%6OF>5 >75D>» (�5<?< ?5E=>7> D>=44 6 
>64DF4?4E 25 (6O45?O 29, 34, 35, 45348, 53366), 26 (6O45?O 21, 34337, 45351), 34 

(6O45?O 339, 14316, 18325), 35 (6O45?O 137, 14316, 22325) �<EF>?44>6<GE>>7> 
?5E=<G5EF64 ��%' «%F4D>5<=E><= ?5EE>7»), 

" 7<4D>?>7<G5E><= 74>47=<> «�D<G<=>-%F4D>5<=E><=» (�5<?< ?5E=>7> 
D>=44 6 >64DF4?4E 1 (6O45?O 8310, 12, 13, 16), 2, 3 (6O45?O 133, 5315), 10 (6O45?O 
136), 11 (6O45?O 1310, 12, 19), 12 (6O45?O 134, 7310, 21) < >64DF4?4E 77 (6O45?O 
4, 14, 15, 17320), 78 (6O45?O 237, 11, 13), 79, 80, 81 (6O45?O 1, 2, 4, 6, 7, 10314) 

%F4D>5<=E>>7> ?5E=<G5EF64 ��%' «%F4D>5<=E><= ?5EE>7»),  
" 7<4D>?>7<G5E><= 74>47=<> «�5?<G>>6<G<» (�5<?< ?5E=>7> D>=44 6 

>64DF4?5 44 �5?<G>>6<GE>>7> ?5E=<G5EF64 7>EG44DEF65==>7> 
?5E>E>7O=EF65==>7> GGD5645=<O «%F4D>5<=E><= ?5EE>7» (44?55 3 ��%' 
«%F4D>5<=E><= ?5EE>7»), 75<?< E5?LE>>E>7O=EF65==>7> F5E4 «�5?<G>>6<G<» 
>F>DOF>7> 4>F<>=5D=>7> >5M5EF64 «�5?4DGEL>4?<=»).  

�4<OF=<>< ?D<D>4O <5EF=>7> 7=4G5=<O >5NO6?5=O D5L5=<5< 
%>?<7>DE>>7> D4=>==>7> <E?>?=<F5?L=>7> >><<F5F4 >F 30.12.2015 7 2785:  
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" «�4D> «�<EF>?44>6<G<» (=4 N6=>= >>D4<=5 4. �<EF>?44>6<G< =4 
75<?OE ?5E=>7> D>=44: ��%' «%F4D>5<=E><= ?5EE>7», �<EF>?44>6<GE>>5 
?5E=<G5EF6>, >64DF4? 16, 6O45? 52); 

" «�4D> «�>7>EF» (=4 N7>-6>EF>G=>= >>D4<=5 4. �>7>EF-2 < =4E>4<FEO 
=4 F5DD<F>D<< '<656<GE>>7> E5?LE>65F4); 

" «�?5=» (4. �>?LL<5 �46L<FO, =4 F5DD<F>D<< 7>EG44DEF65==>7> 
GGD5645=<O >5D47>64=<O «�46L<F><= GG55=>-?5447>7<G5E><= >><??5>E E44 3 

547>64O L>>?4 %>?<7>DE>>7> D4=>=4», 6 6 < >F 744=<O); 
" «�G5D464-1» (6 1,1 >< > N7>-6>EF>>G >F N6=>= >>D4<=O 4. 

�<EF>?44>6<G< =4 75<?OE ?5E=>7> D>=44: 7>EG44DEF65==>5 ?5E>E>7O=EF65==>5 
GGD5645=<5 «%F4D>5<=E><= ?5EE>7» (44?55 3 ��%' «%F4D>5<=E><= ?5EE>7»), 
�<EF>?44>6<GE>>5 ?5E=<G5EF6>, >64DF4? 23, 6O45? 6);  

" «�G5D464-2» (6 3,1 >< > N7G >F N6=>= >>D4<=O 4. �<EF>?44>6<G< =4 
75<?OE ?5E=>7> D>=44: ��%' «%F4D>5<=E><= ?5EE>7», �<EF>?44>6<GE>>5 
?5E=<G5EF6>, >64DF4? 39, 6O45? 13);  

" «�G5D464-3» (6 6,2 >< > E565D>-6>EF>>G >F 4. /E>>6<G< =4 75<?OE 
?5E=>7> D>=44: ��%' «%F4D>5<=E><= ?5EE>7», /E>>6<GE>>5 ?5E=<G5EF6>, 
>64DF4? 30, 6O45? 37);  

&5DD<F>D<O ??4=<DG5<>= D5>>=EFDG>F<< 2$' �D4E=>E?>5>4E>>7> DG4=<>4 
��� «�5?4DGEL>4?<=» =5 6E>4<F 6 7D4=<FO F5DD<F>D<< ���&. 

$54?<74F<O ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< =5 >>465F 
=574F<6=>7> 6>745=EF6<O =4 DG=>F<>=<D>64=<< 44==OE ?D<D>4>>ED4==OE 
>5N5>F>6, F4> >4> >=< D4E?>?>65=O =4 7=4G<F5?L=>< G44?5=<< >F 
?D>5>F<DG5<>7> >5N5>F4. 

&5DD<F>D<< 6>>DG7 GG4EF>4 ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< =5 
6E>4OF 6 %E5<G =4F<>=4?L=>= M>>?>7<G5E>>= E5F<, =5 74D575D6<D>64=O 4?O 
>5NO6?5=<O ���&. 

  

3.8 $44<4F<>==4O >5EF4=>6>4 

� E>>F65FEF6<< E 44==O<< [6] =4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 
D4E?>?>65=> 9 =4E5?5==OE ?G=>F>6, 747DO7=5==OE D44<>=G>?<44<< ?>E?5 
464D<< =4 '5D=>5O?LE>>= �-% < >F=>EOM<EEO > 7>=5 E ?5D<>4<G5E><< 
D44<4F<>==O< >>=FD>?5<: 4. %>D>EF>6>, 4. �DG74>6>, 4. �46D<?LG<FO, 4. 
�5EG4=>4, 4. &5E=4, 4. �G5<F4, 4. �>6<=4, 4. �>F>, 4. '5?>=5F (D<E. 3.11).  

� ?5D5G<E?5==OE =4E5?5==OE ?G=>F4E ?D>6>4<FEO D57G?OD=O= >>=FD>?L 
?D>4G>F>6 ?<F4=<O, 6>4O < >5N5>F>6 >>DG64NM5= ED54O =4 E>45D64=<5 
>E=>6=OE D44<>=G>?<4>6: F57<O-137 (Cs-137) < EFD>=F<O-90 (Sr-90), 4 F4>65 
?D>6>4<FEO <>=<F>D<=7 D44<4F<>==>7> D>=4. 

�?<64=L<= ?G=>F =45?N45=<O D44<4F<>==>7> <>=<F>D<=74 > 
?D>5>F<DG5<><G >5N5>FG D5>>=EFDG>F<< D4E?>?>65= 6 7. %?GF> �<=E>>= 
>5?4EF<. 
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�> D57G?LF4F4< <>=<F>D<=74 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 
>>=EF4F<DG5FEO GEF>=G<6O= FD5=4 6 G4EF< EF45<?L=>EF< D44<4F<>==>= 
>5EF4=>6><, >>F>D4O >5GE?>6?5=4 5EF5EF65==O<< < F5E=>75==O<< <EF>G=<>4<< 
<7?GG5=<O. 

� 2022 7>4G D44<4F<>==4O >5EF4=>6>4 =4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 
>5GE?>6?5=4 F5E=>75==O<< < 5EF5EF65==O<< <EF>G=<>4<< <>=<7<DGNM57> 
<7?GG5=<O < E4D4>F5D<7G5FEO >4> EF45<?L=4O. 

 

$<EG=>> 3.11 3 �>=O E ?5D<>4<G5E><< D44<4F<>==O< >>=FD>?5< 

6 %>?<7>DE>>< D4=>=5 
 

�> 44==O< ?G=>F4 =45?N45=<O D44<4F<>==>7> <>=<F>D<=74, 
D4E?>?>65==>7> 6 7. %?GF>5, <>M=>EFL 4>7O 74<<4-<7?GG5=<O E>EF46?O5F 0,1 
<>�6/G < =5 ?D56OL45F GD>65=L 5EF5EF65==>7> 74<<4-D>=4 (4> 0,20 <>�6/G). 

� F5G5=<5 7>44 ED54=<5 7=4G5=<O EG<<4D=>= 55F4-4>F<6=>EF< 
5EF5EF65==OE D44<>4>F<6=OE 6O?445=<= <7 ?D<75<=>7> E?>O 4F<>ED5DO 
E>>F65FEF6>64?< GEF4=>6<6L<<EO <=>7>?5F=<< 7=4G5=<O<. 

�EGM5EF6?O5FEO >>=FD>?L 74 28 >5N5>F4<<, <E?>?L7GNM<<< <EF>G=<>< 
<>=<7<DGNM57> <7?GG5=<O (���) 6 <54<F<=5 < 8 D44<4F<>==OE >5N5>F>6 =4 
?D><OL?5==OE ?D54?D<OF<OE %>?<7>DE>>7> D4=>=4, <E?>?L7GNM<E <EF>G=<>< 
<>=<7<DGNM57> <7?GG5=<O: $��, 74<<4- < D5=F75=>45D5>F>E>>?<G5E><5 
4??4D4FO. 

�D4F=>EFL D44<4F<>==>7> >>=FD>?O, 57> >5N5< >EGM5EF6?O5FEO 6 
E>>F65FEF6<< E E4=<F4D=O<< =>D<4<< < ?D46<?4<< < 7<7<5=<G5E><< 
=>D<4F<6><. 

$47D45>F4=O < GF65D645=O ??4=O <5D>?D<OF<= ?> 74M<F5 D45>F=<>>6 < 
=4E5?5=<O >F D44<4F<>==OE 464D<= < <E ?>E?54EF6<=. 

- �>=O ?D>6<64=<O E ?5D<>4<G5E><< D44<4F<>==O< >>=FD>?5<  
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� 2022 7>4G 5O?> <EE?54>64=> 277 ?D>5 ?<M56OE ?D>4G>F>6 =4 
E>45D64=<5 D44<>=G>?<4>6 F57<O-137, <7 =<E 242 ?D>5O <7 ?D><76>4EF65==>7> 
E5>F>D4 < 35 <7 ?<G=OE ?>4E>5=OE E>7O=EF6. �D56OL5=<5 4>?GEF<<OE GD>6=5= 
?> E>45D64=<N D44<>=G>?<4>6 F57<O-137 6 ?D>54E =5 6OO6?5=>. 

3.9 �5D4M5=<5 E >FE>44<<  

�4 F5>GM<= <><5=F >><<G=4?L=O5 >FE>4O =4 74E>D>=5=<5 ?D<=<<4NF 
464 ?>?<7>=4 &�� ��'� "->>�><??5>E": 

" �>?<7>= &�� 7.?. �D4E=4O %?>5>44  
" �>?<7>= &�� 4. �G55<,   

 

�D<=F<? D4745?L=>7> E5>D4 6 7. %>?<7>DE>5 >E=>6O645FEO =4 D4745?5=<< 
&�� =5?>ED54EF65==> 6 <5EF4E >5D47>64=<O >FE>4>6. �> 6E5E 46>D4E 6<?>= 
74EFD>=>< 7. %>?<7>DE>4 D4EEF46?5=O >>=F5==5DO 4?O D4745?L=>7> E5>D4 
>><<G=4?L=OE >FE>4>6. &4>65 D4745?L=O= E5>D 6=54DO5FEO < =4 F5DD<F>D<< 
E5?LE><E =4E5?5==OE ?G=>F>6. 

� 2013 7>4G 5O?4 66545=4 6 M>E??G4F4F<N F5E=>?>7<G5E>4O ?<=<O 
E>DF<D>6>< 6F>D<G=OE <4F5D<4?L=OE D5EGDE>6. 

�4 F5DD<F>D<< D4=>=4 DG=>F<>=<DGNF E?54GNM<5 >5N5>FO ?> 
<E?>?L7>64=<N >FE>4>6, ?D<=<<4NM<5 >FE>4O DG55D><44, 5>= ><D?<G4 
>5D4<<G5E>>7>, >FE>4O 55F>=4, 5>= 55F>==OE <745?<=, 5>O 65?57>55F>==OE 
<745?<=, >FE>4O >5D4<7<F4 55F>=4, >FE>4O F>64D=>7> 5<FG<4, >FE>4O >GE>=L 
(F45?<F4 3.8). �4==O5 ?D<6545=O 6 E>>F65FEF6<< E D55EFD4<< >5N5>F>6 ?> 
<E?>?L7>64=<N, ED4=5=<N, 74E>D>=5=<N < >5576D56<64=<N >FE>4>6 $'� 
«�5?��& ->>?>7<O» [22]. 

 

&45?<F4 3.8 3 �5N5>FO ?> <E?>?L7>64=<N >FE>4>6 %>?<7>DE><= D4=>=  
�4764=<5 >D74=<74F<<  'EF4=>6>4  �<4 >FE>4>6 

��� "->> &D5EF",   
223715, ?5D. �4D>>6O= 44, 
4. �>7>EF-2, '<656E><= 
E/E, %>?<7>DE><= D-=, 
�<=E>4O >5? 

�7<5?LG<F5?L �&�-1 (<) 
<>5<?L=O= ?> <E?>?L7>64=<N 
(?5D5D45>F>5) 
5<FG<>E>45D64M<E >FE>4>6 

1870500 �FE>4O DG55D><44  

5492300 �FE>4O F>64D=>7> 
5<FG<4 

'%� "&D5EF 
"$5<<>=F46EFD>=",  
7. %>?<7>DE>, G?. 
%FD><F5?5=, 24, 302, 
�<=E>4O >5? 

'EF4=>6>4 EXTEC-S-3 

E>DF<D>6>G=4O < GEF4=>6>4 

 EXTEC-C-10 4D>5<?L=4O 

3140705 �>= ><D?<G4 
>5D4<<G5E>>7> 

3142701 �FE>4O 55F>=4      
3142707 �>= 55F>==OE 
<745?<=  
3142708 �>= 
65?57>55F>==OE <745?<= 

3142702 �FE>4O 
>5D4<7<F>55F>=4 
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��� "�5?4DGE>4?<=-�7D>" 
- G?D46?ONM4O >><?4=<O 
E>?4<=74 "�5?4DGE>4?<=-

�7D>" 

223743, G?. .5<?5==4O, 
744=<5 4><4 <5E4=<74F>D4, 
47. �5?<G>>6<G<, 
%>?<7>DE><= D4=>= 

-=5D7>75=5D<DGNM4O 
GEF4=>6>4, D45>F4NM4O =4 
5<>7475 6 %%& "�5?<G>>6<G<" 

 

9120300 �FE>4O >GE>=L < 
?D54?D<OF<= >5M5EF65==>7> 
?<F4=<O   
9121100 $4EF<F5?L=O5 
>FE>4O >F G5>D>< 
F5DD<F>D<= E44>6, ?4D>>6, 
>?445<M 

 

�5=??4=>< 7. %>?<7>DE>4, GF65D645= D5L5=<5< %>?<7>DE>>7> D4=>==>7> 
%>65F4 45?GF4F>6 7106 >F 09.01.2020, 7D44>EFD><F5?L=O<< <5D>?D<OF<O<< ?> 
>ED4=5 >>DG64NM5= ED54O ?D54GE<4FD<645FEO D476<F<5 < GE>65DL5=EF6>64=<5 
EGM5EF6GNM5= ??4=>6>-D57G?OD=>= E<EF5<O E4=<F4D=>= >G<EF>< F5DD<F>D<< 
7>D>44 E 74E>D>=5=<5< F65D4OE >><<G=4?L=OE >FE>4>6 (&��) =4 D57<>=4?L=>< 
?>?<7>=5 &��, EFD><F5?LEF6> >>F>D>7> ?D54GE<4FD<645FEO 6 6>EF>G=>< 
=4?D46?5=<<, 6 D4=>=5 =. ?. �GF=56>, E> EFD><F5?LEF6>< 
<GE>D>?5D5D454FO64NM57> >><??5>E4 =4 57> F5DD<F>D<<. �4> 64D<4=F, 
EFD><F5?LEF6> D57<>=4?L=>7> ?>?<7>=4 &�� E> EFD><F5?LEF6>< 
<GE>D>?5D5D454FO64NM57> >><??5>E4 =4 5475 45=EF6GNM57> ?>?<7>=4 &�� 6 7. 
?. �D4E=4O %?>5>44, 4 F4>65 ?<>6<44F<O EF4D>7> ?>?<7>=4 &�� 6 4.�G55< E 
D5>G?LF<64F<5= < 5?47>GEFD>=EF6>< ?D<?574NM5= F5DD<F>D<< (?G=>F 3.7.7).  

 

3.10 %>F<4?L=>-M>>=><<G5E><5 GE?>6<O  

%>?<7>DE><= D4=>= D4E?>?>65= 6 132 >< N6=55 �<=E>4 < O6?O5FEO 
>DG?=O< F5=FD>< 7>D=>-E<<<G5E>>= ?D><OL?5==>EF< $5E?G5?<>< �5?4DGEL. 
%>?<7>DE><= D4=>= 7D4=<G<F E> %?GF><<, �N54=E><<, �>?O?LE><< D4=>=4<< 
�<=E>>= >5?4EF<, �<F>>6<GE><< 3 �><5?LE>>=, �G=<=5F><< < �4=F56<GE><< 3 

�D5EFE>>= >5?4EF<. �7> ??>M44L E>EF46?O5F 2,5 FOE. >6. ><. �4<<=<EFD4F<6=> 
D4=>= 45?<FEO =4 ?>E5?>>6O5 (2) < E5?LE><5 (14) %>65FO. '<E?5==>EFL =4E5?5=<O, 
?D>6<64NM57> 6 170 =4E5?5==OE ?G=>F4E, E>EF46?O5F 130,5 FOE. G5?>65> (6 F.G. 
7>D>4E>>5 3 111,4 FOE., E5?LE>>5 3 19,07 FOE. G5?>65>). $4=>==O< F5=FD>< 
O6?O5FEO 7>D>4 %>?<7>DE> E =4E5?5=<5< 100,8 FOE. G5?>65> [23].  

�D><OL?5==>EFL. %57>4=O 6 D4=>=5 D45>F45F 19 ?D><OL?5==OE 
?D54?D<OF<=, 745 FDG4<FEO 24,3 FOE. G5?>65>. � E>EF465 ?D><OL?5==>7> 
>><??5>E4 D4=>=4 DG=>F<>=<DGNF ?D54?D<OF<O E<<<G5E>>= ?D><OL?5==>EF<, 
<4L<=>EFD>5=<O < <5F4??>>5D45>F><. $476<F4 ?57>4O, ?<M564O, F>??<6=4O 
?D><OL?5==>EFL < ?D><OL?5==>EFL EFD><F5?L=OE <4F5D<4?>6. �<7<F=>= 
>4DF>G>>= D4=>=4, >5?4EF< < 6E5= EFD4=O O6?O5FEO �F>DOF>5 4>F<>=5D=>5 
>5M5EF6> «�5?4DGEL>4?<=» - >4<= <7 >DG?=5=L<E 6 <<D5 < E4<O= >DG?=O= =4 
F5DD<F>D<< %�� ?D><76>4<F5?L < ?>EF46M<> >4?<==OE <<=5D4?L=OE 

G4>5D5=<=. � >5N54<=5=<< FDG4<FEO 18,0 FOE. G5?>65>. �D><5 F>7>, ?D54?D<OF<5 
6O?GE>45F F5E=<G5E>GN, ?<M56GN (6 F>< G<E?5 =>4<D>64==GN) < >>D<>6GN (6 
F>< G<E?5 5D<>5F<D>64==GN) E>?<.  
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� D4=>=5 D45>F4NF 4 ?D54?D<OF<= ?57>>= ?D><OL?5==>EF<. �4<5>?55 
>DG?=O<< O6?ONFEO: ��� «�G?4?<=>4», ��� «�4?<=>4». 

�5E><O= 6>?44 6 M>>=><<>G D4=>=4 6=>EOF >D74=<74F<< <4L<=>EFD>5=<O 
< <5F4??>>5D45>F>< (��� «��� «'=<65DE4?», ��� «%>?<7>DE><= �&�», '�� 
«�<64» < 4D.). �$'� «%F4D>5<=E><= F>DD>5D<>5F=O= 746>4» O6?O5FEO 
?D54?D<OF<5< F>??<6=>= >FD4E?< ?D><OL?5==>EF< < >DG?=5=L<<  
?D><76>4<F5?5< 5D<>5F>6 6 $5E?G5?<>5 �5?4DGEL. 

%>D>L> D476<F EFD><F5?L=O= >><??5>E, 6>?NG4NM<= 6 E55O ��� 
«%FD>=FD5EF 73 �D45=4 �>FO5DLE>>= D56>?NF<<», ��� «&D5EF 
«,4EF>E?5FEFD>=» < ��� «%>?<7>DE><= 4><>EFD><F5?L=O= >><5<=4F». 

�>?O M>E?>DF4 6> 6=5L=5F>D7>6>< >5>D>F5 %>?<7>DE>>7> D4=>=4 
E>EF46?O5F 96,6%. �4<5>?LL<= G45?L=O= 65E 6 M>E?>DF=OE ?>EF46>4E 74=<<45F 
$'� «�� «�5?4DGEL>4?<=» (98,7%). �=5L=OO F>D7>6?O >EGM5EF6?O5FEO 5>?55 
G5< E 50 EFD4=4<< <<D4. 

� 47D>?D><OL?5==>< >><??5>E5 %>?<7>DE>>7> D4=>=4 18 
E5?LE>7?D54?D<OF<=, <7 =<E 5 E5?LE>7?>4D4745?5=<= ?D<E>54<=U==OE > 
>5E?G6<64NM<< ?D><OL?5==O< ?D54?D<OF<O<, $'%�� «�F<F5D45D<>4 
«%>?<7>DE>4O», ''� «%>?<7>DE><= >>>??D><». %>7O=EF64 D4=>=4 
E?5F<4?<7<DGNFEO =4 ?D><76>4EF65 <>?>>4 < 75D=4. �DG?=5=L<<< 
?D><76>4<F5?O<< E5?LE>>E>7O=EF65==>= ?D>4G>F<< D4=>=4 O6?ONFEO %�� 
«�>?LL56<>-�7D>», %%& «�5?<G>>6<G<», %�� «�D4E=>46>DFO» < 4D. &4>65 6 
%>?<7>DE>>< D4=>=5 =4EG<FO645FEO 5>?55 45 >D5EFLO=E><E (D5D<5DE><E) 
E>7O=EF6 [23]. 

�O?GE>>< ?D>4>6>?LEF65==OE F>64D>6 =4 F5DD<F>D<< D4=>=4 74=<<45FEO 4 
?D54?D<OF<O: D<?<4? «%>?<7>DE><= E?55>746>4» ��� «�>D<E>6E?55?D><», 
%>?<7>DE><= D<?<4? ��� «%?GF><= EOD>45?L=O= >><5<=4F», ��� 
«%>?<7>DE>4O ?F<F5D45D<>4», ?>4E>5=>5 E>7O=EF6> ��� «�5?4DGEL>4?<=». [23] 

&>D7>64O <=DD4EFDG>FGD4. $>7=<G=4O F>D7>64O E5FL %>?<7>DE>>7> D4=>=4 
=4EG<FO645F 1 DO=>>, 1315 >5N5>F>6 D>7=<G=>= F>D7>6?<, <7 =<E: <4747<=O, 
4?F5><, F>D7>6O5 F5=FDO 3 560 >5N5>F>6, <E F>D7>64O ??>M44L E>EF46?O5F 
95604,48 >6.<., < 62 ?4?4F>>, ><>E>>6. %5FL >5M5EF65==>7> ?<F4=<O D4=>=4 
?D54EF46?5=4 323 >5N5>F4<< >5M5EF65==>7> ?<F4=<O =4 15,1 FOE. ?>E44>G=OE 
<5EF. �7 =<E: D5EF>D4=>6 3 4, D5EF>D4=>6 5OEFD>7> >5E?G6<64=<O 3 5, >4D5 3 36, 

>4D5 5OEFD>7> >5E?G6<64=<O 3 5, EF>?>6OE 3 68, 54D>6 3 33, 74>GE>G=OE 3 8, 

<<=<->4D5 3 18, >4D5F5D<56 3 8, 4DG7<E >5N5>F>6 4 138. 

� GE?G74< 46F><>5<?<EF>6 =4 F5DD<F>D<< D4=>=4 DG=>F<>=<DGNF 13 
>5N5>F>6 ?D<4>D>6=>7> E5D6<E4, <7 =<E 3 4 <4747<=4, 1 ><>E> ?D< 
46F>74?D46>G=OE EF4=F<OE < 8 >5N5>F>6 >5M5EF65==>7> ?<F4=<O: =4 FD4EE5 $-23 

�<=E> 4 �<>4L56<G< >4D5 «�5E=>5» ��� «�<5F-??NE» =4 33 <5EF4, >4D5 
«�6F>%F>?» ��� «&D<G<6<D4F-E5D6<E» =4 36 <5EF, >4D5F5D<= $'� 
«�5?>DGE=5DFL-�<=E>>5?=5DF5?D>4G>F» =4 8 <5EF; =4 FD4EE5 �-9637 �<=E>-

$44>>6>-�G?56<G< 4 >4D5 «%5<L 65FD>6» ��� «�<5F-??NE» =4 50 <5EF; >4D5 
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«&.'<=>DD» ��� «&OG<=>DD» =4 100 <5EF 6 D4=>=5 46F>4>D>7< %>?<7>DE>-

&OG<=O; >4D5 «�?<= E4GE» ��� «->E?D5EE�<?G?LE» =4 16 <5EF (%>?<7>DE><= 
D4=>=, 4.�G?4><, G?.&5=FD4?L=4O, 41�/1). 

%?5F<4?<7<D>64==O< ?D54?D<OF<5< ?> >>474=<N L<D>>>7> E?5>FD4 
5OF>6OE GE?G7 =4E5?5=<N 6 %>?<7>DE>>< D4=>=5 O6?O5FEO >><<G=4?L=>5 
G=<F4D=>5 ?D54?D<OF<5 «%>?<7>DE><= D4=>==O= >><5<=4F 5OF>6>7> 
>5E?G6<64=<O». 

&D4=E?>DF. $<?<4? «�6F>5GE=O= ?4D> 71» 5O? >E=>64= 6 1960 7>4G. �4 
E57>4=OL=<= 45=L MF> GE?5L=>5 46F>FD4=E?>DF=>5 ?D54?D<OF<5, 
=4EG<FO64NM55 215 54<=<F ?4EE46<DE>>7> < 76 54<=<F 7DG7>6>7> FD4=E?>DF4, 
ED54< >>F>DOE >><D>DF455?L=O5 46F>5GEO 6OE>>>7> <564G7>D>4=57> >?4EE4, 
>5E?G6<64NM<5 >4> D5E?G5?<>4=E><5, F4> < <564G7>D>4=<5 <4DLDGFO. 

�4D46>>ED4=5=<5. «%>?<7>DE>4O &$�» 6>?NG45F 6 E55O 70 ?5G55=>-

?D>D<?4>F<G5E><E >D74=<74F<=, 6 F>< G<E?5: 8 5>?L=<G=OE GGD5645=<=: 
%>?<7>DE>4O &$� =4 822 >>=><, 45FE>4O 5>?L=<F4 =4 129 >>5>, %F4D>5<=E>4O 
7>D5>?L=<F4 =4 100 >>5>, �D4E=>E?>5>4E>4O 7>D5>?L=<F4 =4 40 >>5>, 
�D4E=>E?>5>4E>4O 5>?L=<F4 E5EFD<=E>>7> GE>44 =4 20 >>5>, �>?7>6E>4O 
5>?L=<F4 E5EFD<=E>>7> GE>44 E 6D4G55=>= 4<5G?4F>D<5= =4 40 >>5>, �>6=>-

65=5D>?>7<G5E><= 4<E?4=E5D =4 30 >>5>. 
%G<<4D=4O >>5G=4O <>M=>EFL ?> '� «%>?<7>DE>4O &$�» E>EF46?O5F 1236 

>>5>, GF> E>EF46?O5F 8,5 >>5> =4 1000 =4E5?5=<O. 
�<5G?4F>D=>-?>?<>?<=<G5E>4O E5FL ?D54EF46?5=4: 6 ?>?<>?<=<>4<<, 2 

4<E?4=E5D4<<, 65=E>>= >>=EG?LF4F<5=, 8 4<5G?4F>D<O<< (7 <7 =<E 3 

4<5G?4F>D<< >5M5= ?D4>F<><), 24 D5?L4L5DE>>-4>GL5DE><<< ?G=>F4<<, 26 
D5?L4L5DE><<< 74D46?G=>F4<<. 

�45>?5645<>EFL =4E5?5=<O %>?<7>DE>>7> D4=>=4 , >5GE?>6?5==4O 
E>F<4?L=>-7<7<5=<G5E><<< D4>F>D4<</D<E>4<< ED54O 6<7=545OF5?L=>EF< [6].  

� EFDG>FGD5 ?5D6<G=>= 745>?5645<>EF< 67D>E?>7> =4E5?5=<O %>?<7>DE>>7> 
D4=>=4 654GM55 <5EF> ?D<=44?56<F 5>?57=O< >D74=>6 4OE4=<O (43,5%), =4 
6F>D>< <5EF5 FD46<O, >FD46?5=<O < =5>>F>DO5 4DG7<5 ?>E?54EF6<O 6>745=EF6<O 
6=5L=<E ?D<G<= (8,7%), FD5FL5 <5EF> 74=<<4NF 3 =5>>F>DO5 <=D5>F<>==O5 < 
?4D47<F4D=O5 5>?57=< (8,2%). � EFDG>FGD5 ?5D6<G=>= 745>?5645<>EF< 45FE>>7> 
=4E5?5=<O %>?<7>DE>>7> D4=>=4 6 2022 7>4G 75,8% E>EF46?ONF 5>?57=< >D74=>6 
4OE4=<O, =4 6F>D>< <5EF5 3 FD46<O, >FD46?5=<O < =5>>F>DO5 4DG7<5 ?>E?54EF6<O 

6>745=EF6<O 6=5L=<E ?D<G<= (4,3%), FD5FL5 <5EF> 74=<<4NF 5>?57=< 7?474 

(3,3%).  

�D>D5EE<>=4?L=4O 745>?5645<>EFL [6].  

�O?>?=5=<5 EG5N5>F4<< E>7O=EF6>64=<O >5?4EF< <5D>?D<OF<= ?> 
G?GGL5=<N GE?>6<= FDG44 D45>F4NM<E, D5<>=FG, D5>>=EFDG>F<< < 
<>45D=<74F<< ?D><76>4EF6 ?>76>?<?> ?D<65EF< GE?>6<O FDG44 6 E>>F65FEF6<5 E 
FD55>64=<O<< 7<7<5=<G5E><E =>D<4F<6>6 D45>G<E <5EF4E. 
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� 20227 6 %>?<7>DE>>< D4=>=5 74D57<EFD<D>64=> 6 5>?L=OE E ?5D6<G=> 
GEF4=>6?5==O< 4<47=>7>< ED>=<G5E>>7> ?D>D5EE<>=4?L=>7> 745>?564=<O, GF> 
E>EF46?O5F 1,4 E?GG4O =4 10 000 D45>F4NM<E (� 20217 6 %>?<7>DE>>< D4=>=5 
74D57<EFD<D>64=> 8 5>?L=OE E ?5D6<G=> GEF4=>6?5==O< 4<47=>7>< 
ED>=<G5E>>7> ?D>D5EE<>=4?L=>7> 745>?564=<O, GF> E>EF46?O5F 1,9 E?GG4O =4 10 
000 D45>F4NM<E (20207 3 13). 4 E?GG4O ?D>D5EE<>=4?L=>= 745>?5645<>EF< 
74D57<EFD<D>64=O 6 ��� «�5?4DGEL>4?<=», 1 E?GG4= 6 ��� «&D5EF 
,4EF>E?5FEFD>=», 1 E?GG4= ��� «%FD>=FD5EF 73 ��$», 1 E?GG4= $<?<4? %�' 
��� «�D><F5E<>=F46», 1 E?GG4= ��� «%>?<7>DE><= ��$E��»). 

�<=4<<>4 ?D>D5EE<>=4?L=>= 745>?5645<>EF< 6 %>?<7>DE>>< D4=>=5 6 
2018-202277. E4D4>F5D<7G5FEO G<5D5==>= F5=45=F<5= > E=<65=<N. 
�4>E<<4?L=O= GD>65=L ?D>D5EE<>=4?L=>= 745>?5645<>EF< D57<EFD<D>64?EO 6 
2018 7>4G. 

� 2022 7 ?D><OL?5==O<< ?D54?D<OF<O<< %>?<7>DE>>7> D4=>=4 6 F5?OE 
G?GGL5=<O GE?>6<= FDG44, E>>D4M5=<O G<E?4 D45>G<E <5EF E 6D54=O<< < 
>?4E=O<< GE?>6<O<< FDG44 ?> ?D54?>65=<O< E4=M?<4E?G65O ?D>6545= 
>><??5>E <5D>?D<OF<=: 6 ��� «�5?4DGEL>4?<=», ��� «&D5EF 
,4EF>E?5FEFD>=», ?D>6545=4 <>45D=<74F<O F5E=>?>7<G5E>>7> >5>DG4>64=<O E 
F5?LN E=<65=<O 6D54=OE ?D><76>4EF65==OE D4>F>D>6 (LG<, 6<5D4F<O, -%�, 
-��, ?O?L), 6=54D5=4 =>64O F5E=<>4 < E>6D5<5==>5 F5E=>?>7<G5E>>5 
>5>DG4>64=<5. '65EF>G5= ?D>D5EE<>=4?L=O= >F5>D ?D< ?D<T<>5 =4 D45>FG < 
E6>56D5<5==O= 6O6>4 D45>G<E <7 6D54=OE < GE?>6<= FDG44, E F5?LN =5 
4>?GEF<FL 6>7=<>=>65=<O ?D54?>EO?>> > ?D>D5EE<>=4?L=><G 745>?564=<N, 
GE>65DL5=EF6>64=O <5F>4O 4<47=>EF<>< ?D< >EGM5EF6?5=<< ?5D<>4<G5E><E 
<54<F<=E><E >E<>FD>6 6 ?>?<>?<=<>4E '� «%>?<7>DE>4O &$�. �4>G??5=O 
E>6D5<5==O5 E5DF<D<F<D>64==O5 ED54EF64 <=4<6<4G4?L=>= 74M<FO >D74=>6 
4OE4=<O E 6OE>>>= EF5?5=LN 74M<FO < >D74=>6 E?GE4, GE<?5= >>=FD>?L 74 <E 
<E?>?L7>64=<5<. &4><< >5D47><, 5?47>44DO ?D>6>4<<O< <5D>?D<OF<O< ?> 
G?GGL5=<N GE?>6<= FDG44 =4 D45>G<E <5EF4E 74 ?5D<>4 E 2018 ?> 2022 7>44 
>F<5G45FEO GEF>=G<6>EFL GD>6=O ?D>D5EE<>=4?L=>= 745>?5645<>EF<, >>F>D4O 
E4D4>F5D<7G5FEO E=<65=<5< >>?<G5EF64 E?GG456 74D57<EFD<D>64==OE 
?D>D5EE<>=4?L=OE 745>?564=<= (E 12 4> 6). 

�4 55D57G %>?<7>DE>>7> 6>4>ED4=<?<M4, 74?44=55 7. %>?<7>DE>4, 
D4E?>?>65=O E4=4F>D<= «�5D57>4» ��� «�5?4DGEL>4?<=» < E4=4F>D<=-

?D>D<?4>F>D<= «�5<GG6<=4» ��� «�G?4?<=>4». �?O >F4OE4 < >74>D>6?5=<O 
45F5= ?>EFD>5=O 45FE><= E4=4F>D=>->74>D>6<F5?L=O= >><??5>E «�5?5=O= 5>D» 
< ?475DL >F4OE4 «�G5D464». � L4EF4E 1-7> DG4>G?D46?5=<O >5>DG4>64=4 
G=<>4?L=4O E?5?5>?5G55=<F4, 745 ?>?GG4NF MDD5>F<6=>5 ?5G5=<5 5>?L=O5 
5D>=E<4?L=>= 4EF<>= < 4??5D7<G5E><<< 745>?564=<O<<. 

�>EG44DEF65==>5 GGD5645=<5 «$5E?G5?<>4=E>4O 5>?L=<F4 E?5?5>?5G5=<O» 
O6?O5FEO >D74=<74F<5= 74D46>>ED4=5=<O, ?>4G<=5==>= �<=<EF5DEF6G 
74D46>>ED4=5=<O $5E?G5?<>< �5?4DGEL. 
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$5E?G5?<>4=E>4O 5>?L=<F4 E?5?5>?5G5=<O 3 MF> G=<>4?L=4O 74D46=<F4, 
>5?444NM4O >5M5>74>D>6<F5?L=O< ?>F5=F<4?><, ?D56>EE>4OM<< 6>7<>6=>EF< 
>?<<4F<G5E><E >GD>DF>6. 

�4 ?D>FO65=<< 5>?55 30 ?5F GGD5645=<5 >>47O645F E?5F<4?<7<D>64==GN 
<54<F<=E>GN ?><>ML E ?D<<5=5=<5< <5F>44 E?5?5>F5D4?<< 6 GE?>6<OE E>?O=OE 
L4EF ?4F<5=F4< E 745>?564=<O<< >D74=>6 4OE4=<O (5D>=E<4?L=4O 4EF<4, 
ED>=<G5E><= 5D>=E<F, %���, 4??5D7<G5E><5 < ED>=<G5E><5 6>E?4?<F5?L=O5 
?D>F5EEO: D<=<FO, ?>??<=>7O, ?>?<?>7=O5 E<=GE<FO), �>?L=<F4 6>?NG45F 
=475<=O= EF4F<>=4D=O= >><??5>E, D4E?>?>65==O= 6 E>E=>6>< ?5EG =4 55D57G 
%>?<7>DE>>7> 6>4>ED4=<?<M4 < ?>475<=O= E?5?5>>><??5>E D47<5M5==O= =4 
??>M44>5 �5D6>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 6 7 >< >F =475<=OE >>D?GE>6 
5>?L=<FO. 

�>M=>EFL GGD5645=<O E>EF46?O5F 230 >>5>. 
� EFDG>FGD5 5>?L=<FO: 464 ?G?L<>=>?>7<G5E><E >F45?5=<O =4 130 < 100 

>>5>, 464 ?>475<=OE >F45?5=<O E?5?5>?5G5=<O, D<7<>F5D4?56F<G5E>>5 
>F45?5=<5, >?<=<>>-4<47=>EF<G5E>4O ?45>D4F>D<O, >45<=5F DG=>F<>=4?L=>= 
4<47=>EF<><, EF>?>64O, 44<<=<EFD4F<O, 5GE74?F5D<O, >F45? >44D>6, ??4=>6> -

M>>=><<G5E><= >F45? E 7DG??>= ?> 6=55N465F=>= 45OF5?L=>EF<, E>7O=EF65==4O 
E?G654. 

�>475<=O= E?5?5>>><??5>E 4 MF> G=<>4?L=>5 ?> E6>5= >>=EFDG>F<< 
E>>DG65=<5 E >5>E>5?5==>= E<EF5<>= ?D>65FD<64=<O < E>5EF65==>= 
<<>D><=DD4EFDG>FGD>=. � E6O7< E MF<< ?>475<=O= ?5G55=>->74>D>6<F5?L=O= 
>><??5>E ?D<=F<?<4?L=> >F?<G45FEO >F 6E5E 45=EF6GNM<E 6 =4EF>OM55 6D5<O 
E?5?5>>5N5>F>6. �>475<=O= E?5?5>>><??5>E E>EF><F <7 2-E >F45?5=<=. �5D6>5 3 

DG=>F<>=<DG5F E 1990 7>44. �F>D>5 ?>475<=>5 >F45?5=<5 66545=> 6 
M>E??G4F4F<N E <N?O 2012 7>44. 

�>?L=<F4 >>47O645F ??4F=O5 <54<F<=E><5 GE?G7< ?GF5< 74>?NG5=<O 
4>7>6>D>6 6 GEF4=>6?5==>< ?>DO4>5 E D<7<G5E><<< < ND<4<G5E><<< ?<F4<< 
=5746<E<<> >F D>D< E>5EF65==>EF< < ?>4G<=5==>EF< $5E?G5?<>< �5?4DGEL, 
<=>EFD4==O<< 7D4644=4<< < <=>EFD4==O<< >D74=<74F<O<<. 

�>?>6<F5?L=O= F5D4?56F<G5E><= MDD5>F 4>EF<745FEO G 97% ?D>?5G5==OE 
?4F<5=F>6. 

�5D47>64=<5. � >5D47>64F5?L=>< ?D>EFD4=EF65 %>?<7>DE>>7> D4=>=4 83 
GGD5645=<= >5D47>64=<O, 6 F>< G<E?5 29 3 >5M57> ED54=57> >5D47>64=<O (<7 =<E 
3 7<<=47<<); 44 GGD5645=<= 4>L>>?L=>7> >5D47>64=<O; 4 GGD5645=<O 
4>?>?=<F5?L=>7> >5D47>64=<O; F5=FD >>DD5>F<>==>-D476<64NM57> >5GG5=<O < 
D545<?<F4F<<, E>F<4?L=>-?5447>7<G5E><= F5=FD; %>?<7>DE><= 7>EG44DEF65==O= 
>>??546, 2 D<?<4?4 ��&', ��� «�GD46GL>4». 

�>L>>?L=>5 >5D47>64=<5 >55E?5G<64NF 55 GGD5645=<=, <7 =<E 12 
GGD5645=<= 654><EF65==>7> ?>4G<=5=<O (��� «�5?4DGEL>4?<=»), 43 
GGD5645=<O, =4E>4OM<EEO 6 654><EF65 G?D46?5=<O ?> >5D47>64=<N, 6 F.G. 
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4>L>>?L=O= F5=FD D476<F<O D555=>4, < 11 GG55=>-?5447>7<G5E><E >><??5>E>6 
«45FE><= E44-L>>?4». 

�4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 DG=>F<>=<DGNF 2 45FE><E 4><4 
E5<5==>7> F<?4. 

�G?LFGD4. �G?LFGD=GN 6<7=L 6 D4=>=5 >EGM5EF6?O5F 61 GGD5645=<5: �'� 
«%>?<7>DE>4O D4=>==4O F5=FD4?L=4O 5<5?<>F5>4» < 26 5<5?<>F5>-D<?<4?>6, 
�'� «%>?<7>DE>4O 45FE>4O L>>?4 <E>GEEF6», �'� «%F4D>5<=E>4O 45FE>4O L>>?4 
<E>GEEF6», �'� «�D4E=>E?>5>4E>4O 45FE>4O L>>?4 <E>GEEF6», �'� 
«%>?<7>DE>4O 45FE>4O <G7O>4?L=4O L>>?4 <E>GEEF6», �'� «%>?<7>DE>4O 45FE>4O 
EG4>65EF65==4O L>>?4 <E>GEEF6», �'� «%>?<7>DE><= >D45654G5E><= <G75=», �' 
«�6>D5F >G?LFGDO 7.%>?<7>DE>4», �'� «�G?LFGD=>-4>EG7>6O= F5=FD 
%>?<7>DE>>7> D4=>=4» < 29 3 GGD5645=<= >?G5=>7> F<?4 3 D<?<4?O �'� «��& 
%>?<7>DE>>7> D4=>=4». 

%D54EF64 <4EE>6>= <=D>D<4F<< %>?<7>DE>>7> D4=>=4 ?D54EF46?5=O 
7475F4<< «,4EF5D» (F<D46 8000 M>7), «�4?<=M<> %>?<7>DE>4» (F<D46 2933 M>7.), 
«%FD><F5?L %>?<7>DE>4» (F<D46 3131 M>7.). �4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 
654UF 65M4=<5 D44<>?D>7D4<<4 «�4L5 D44<>», >>F>D4O 6E>4<F 6 E>EF46 
%>?<7>DE>>7> F5?56<7<>==>7> >4=4?4. 
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4. �D<D>4>>ED4==O5 < <=O5 >7D4=<G5=<O =4 GG4EF>5 D54?<74F<< 
??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 

'G4EF>> D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< =4E>4<FEO 
6=5 6>4>>ED4=>= 7>=O ?>65DE=>EF=OE 6>4=OE >5N5>F>6 3 %>?<7>DE>>7> 
6>4>ED4=<?<M4, D. %<65?L74 < D. %?GGL, 4 F4> 65 =4E>4<FEO < 74 ?D545?4<< 7>= 
E4=<F4D=>= >ED4=O 7DG??>6OE 6>4>745>D>6 «�5?56<G<», «�5D57><» < 
6>4>745>D>6 72 3$', 73 2$' ��� «�5?4DGEL>4?<=» (D<E. 4.1). 

$<EG=>> 4.1 3 �4DF4-EE5<4 5?<64=L<E > GG4EF>G D54?<74F<< ??4=<DG5<>= 
E>7O=EF65==>= 45OF5?L=>EF< ?D<D>4=OE F5DD<F>D<= ?>4?564M<E E?5F<4?L=>= 
>ED4=5 (6O>>?<D>6>4 <7 >4DFO �5>?>DF4?4 ��%). 

 

&5DD<F>D<O, 745 ??4=<DG5FEO >EGM5EF6?OFL D5>>=EFDG>F<N, =4E>4<FEO =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=». 

$47<5D E4=<F4D=>-74M<F=>= 7>=O ??>M44>< ?D54?D<OF<O GEF4=>6?5= 
E>7?4E=> �D>5>FG 5212-19 - %�� (>>DD5>F<D>6>4), D47D45>F4==><G �%' 
«&5??>M=5D7>=4?44>4» 6 2019 7>4G, < E>EF46?O5F >F >D74=<7>64==OE 
EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 ?> 6>EL<< DG<54< >F 470 4> 500 < (E565D 3 

500 <, 74?44 3 470 <, 6>EF>> 3 475 <, N7 3 500 <, E565D>-74?44 3 500 <, N7>-74?44 
3 500 <, N7>-6>EF>> 3 500 <, E565D>-6>EF>> 3 470 <). 

�7<5=5=<5 7D4=<F EGM5EF6GNM57> D47<5D4 E4=<F4D=>-74M<F=>= 7>=O 
?D>5>F>< =5 ?D54GE<4FD<645FEO. 

�?<64=L4O 6<?4O 7>=4 - 4. �>EO=<G< - =4E>4<FEO =4 D4EEF>O=<< 745 < =4 
N7>-6>EF>> >F DG4=<>4. 

�5N5>FO, 74?D5M5==O5 > D47<5M5=<N 6 E4=<F4D=>-74M<F=>= 7>=5 >5N5>F4, 
>FEGFEF6GNF. 
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5 �E=>6=O5 <EF>G=<>< < >E=>6=O5 6<4O 6>745=EF6<O ??4=<DG5<>= 
E>7O=EF65==>= 45OF5?L=>EF< =4 >>DG64NMGN ED54G 

5.1 �>745=EF6<5 =4 4F<>ED5D=O= 6>74GE 

5.1.1 �E=>6=O5 6<4O 6>745=EF6<O =4 4F<>ED5D=O= 6>74GE 

� ?D>F5EE5 EFD><F5?LEF64  
�>745=EF6<5 ?D>5>F<DG5<>7> >5N5>F4 =4 4F<>ED5DG 5G45F ?D><EE>4<FL =4 

EF44<< D45>F ?> D5>>=EFDG>F<< (6>?NG4NM<E EFD><F5?L=O5 D45>FO) < 6 
?D>F5EE5 44?L=5=L5= 57> M>E??G4F4F<<.  

� ?D>F5EE5 ?D>6545=<O D45>F ?> D5>>=EFDG>F<< <EF>G=<>4<< 6>745=EF6<O 
=4 4F<>ED5D=O= 6>74GE 5G4GF O6?OFLEO:  

- 46F><>5<?L=O= FD4=E?>DF < EFD><F5?L=4O F5E=<>4, <E?>?L7G5<O5 ?D< 
?>47>F>6>5 EFD><F5?L=>= ??>M44><), ?>7DG7>G=>-D477DG7>G=OE D45>F (4>EF46>4 
<4F5D<4?>6, >>=EFDG>F<=, >5>DG4>64=<O, <=65=F4DO, <=EFDG<5=F>6  < 4D.);  

- =5?>ED54EF65==> D5>>=EFDG>F<O, 45<>=F46=O5 < D475>D=O5 D45>FO, 
EFD><F5?L=>-<>=F46=O5 D45>FO (?D<7>F>6?5=<5 EFD><F5?L=OE D4EF6>D>6 < F. ?., 
E64D>4, D57>4, >D>65?L=O5, LFG>4FGD=O5 < 4DG7<5 D45>FO, < 4D.).  

� E>45 6O?>?=5=<O 45<>=F464 >F45?L=OE M?5<5=F>6 >>=EFDG>F<=, 
EFD><F5?L=>-<>=F46=OE D45>F 6 4F<>ED5D=O= 6>74GE 6O45?ONFEO E?54GNM<5 
747DO7=ONM<5 65M5EF64: ?O?L =5>D74=<G5E>4O, E64D>G=O5 4MD>7>?<, ?5FGG<5 
>D74=<G5E><5 E>54<=5=<O, >>D4E>G=O= 4MD>7>?L, F65D4O5 G4EF<FO EG<<4D=>, 
G7?5D>4 >>E<4, 47>F4 4<>>E<4, E464, E5D4 >>E<4, G7?56>4>D>4O ?D545?L=O5 %1-

%10, G7?56>4>D>4O ?D545?L=O5 %11-%19. 
�>745=EF6<5 >F G>474==OE 6OL5 <EF>G=<>>6 =4 4F<>ED5DG 5G45F O6?OFLEO 

=57=4G<F5?L=O<, =>E<F ?>>4?L=O= < 6D5<5==O= E4D4>F5D. 

 

� ?5D<>4 M>E??G4F4F<<  
� ?5D<>4 M>E??G4F4F<< >5N5>F4 6>745=EF6<5 =4 4F<>ED5D=O= 6>74GE 

E6O74=> E F5E=>?>7<G5E><<< ?D>F5EE4<< 4D>5?5=<O. 

%GM5EF6GNM55 ?D><76>4EF6> 

�D4E=>E?>5>4E><= DG4=<> 2 $' ?D54EF46?O5F E>5>= >><??5>E ?>475<=OE 
< =475<=OE E>>DG65=<=, E6O74==OE <564G E>5>= DG=>F<>=4?L=> < F5E=>?>7<-

G5E><, E> E?>6<6L5=EO 74EFD>=>>=, <=65=5D=O<< >><<G=<>4F<O<< (>E65M5=<5, 
6>4>?D>6>4, >4=4?<74F<O) < 5?47>GEFD>=EF6>< F5DD<F>D<<. �D>574O < ??>M44-

>< <<5NF 4ED4?LF>6>5 < 4ED4?LF>55F>==>5   ?>>DOF<5.  
�4 F5DD<F>D<< �D4E=>E?>5>4E>>7> DG4=<>4 D4E?>?>65=O ?>4D4745?5=<O, 

F5E4 < GG4EF>< ?D><76>4EF6 DG4>G?D46?5=<O 7 2 ��� «�5?4DGEL>4?<=», 6 F>< 
G<E?5: 

1.   $G4=<> 6 E>EF46, >>F>D>7>, 6E>4OF: 
3 'G4EF>> ?>4N5<4; 
3 'G4EF>> 4D>5?5=<O; 



 58 

3 �>475<=O5 7>D=O5 GG4EF><. 
2.   �E?><>74F5?L=O5 E?G65O < E>>DG65=<O: 

3 'G4EF>> F5??>6>4>747>E=4565=<O < >4=4?<74F<<, 6>?NG4O 
>>F5?L=GN E> E>?44>< 4<7F>??<64 (D575D6=>5 F>??<6>); 

3 %>?44 6D5<5==>7> ED4=5=<O E<?L6<=<F>6>= DG4O; 
3 �4D46 4?O ED4=5=<O < F5E=<G5E>>7> >5E?G6<64=<O FD4=E?>DF4; 
3 �4<<=<EFD4F<6=>-5OF>6>= >>D?GE. 

�=65=F4D<74F<O 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG ?D>6545=4 
4?O �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� «�5?4DGEL>4?<=» E>7?4E=> 4>7>6>DG 
7 305-18-2 >F 29 45>45DO 2018 7>44.  

�O5D>EO 747DO7=ONM<E 65M5EF6 >F EF4F<>=4D=OE <EF>G=<>>6 >?D545?5=O 
<=EFDG<5=F4?L=O<< < D4EG5F=O<< <5F>44<< ?> GF65D645==O< <5F>4<>4<. 

%G<<4D=O= 64?>6O= 6O5D>E ?D54?D<OF<O E GG5F>< EGM5EF6GNM57> 
?>?>65=<O (E>7?4E=> �>F4 <=65=F4D<74F<< <EF>G=<>>6 6O5D>E>6 747DO7=ONM<E 
65M5EF6 6 4F<>ED5D=O= 6>74GE 4?O �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=» < 6=5E5==OE 6 =57> >>DD5>F<D>6>> (?>E?54=5= 6 45>45D5 2023 
7.) E>EF46?O5F 9,305191 F/7>4. 

�D>5>F<DG5<>5 ?D><76>4EF6> (E GG5F>< >>DD5>F<D>6>< D47D45>F4==>7> 
D4=55 ?D>5>F4 2020 7.) 

$4=55 D47D45>F4==O< EFD><F5?L=O< ?D>5>F>< 6 744=<< 4D>5?5=<O ?> 
7444=<N =4 ?D>5>F<D>64=<5 ?D54GE<4FD<64?4EL D5>>=EFDG>F<O EGM5EF6GNM<E 
4E?<D4F<>==OE E<EF5< �1-�8, D47D45>F4==OE ?> ?D>5>FG ��%� 668-108-

/25.1.2.5-01-214�-��-01. %GM5EF6GNM<5 >55E?O?<64NM<5 GEF4=>6>< F<?4 
HKAF 36/100-K, GEF4=>6?5==O5 =5?>ED54EF65==> =44 >5>DG4>64=<5<, 
45<>=F<DGNFEO < 74<5=ONFEO =4 >F45?L=> EF>OM<5 EGE<5 DG>46=O5 D<?LFDO �1, 
�2 E 46F><4F<G5E>>= E<EF5<>= <<?G?LE=>= >G<EF>< E64FO< 6>74GE><.  

'?>6?5==4O ?O?L ?>E?5 D<?LFD>6 6>76D4M45FEO 6 F5E=>?>7<G5E><= 
?D>F5EE. %F5?5=L >G<EF>< E>EF46?O5F 98%. 

�4EF>OM<< ?D>5>F>< 4>FG4?<74F<< ?D54GE<4FD<645FEO 674<5= 
74?D>5>F<D>64==OE D4=55 6 ?D>5>F5 4E?<D4F<>==OE D<?LFD>6 $��% �/�$ 
20000-��-12-21-30 E 65=F<?OF>D4<< <>M=>EFLN 45 >�F  (E<EF5<O �1 < �2) 

?D<<5=5=<5 <<5NM<EEO 6 =4?<G<< G 74>47G<>4 4=4?>7<G=OE D<?LFD>6 $��% 
�/�$ 20000 E 65=F<?OF>D4<< <>M=>EFLN 75 >�F. �G<M5==O= 6>74GE 
?D54?>?4745FEO =5 6>76D4M4FL 6 F5E>6>5 ?D>EFD4=EF6>, 4 6O5D4EO64FL =4DG6G 6 
4F<>ED5D=O= 6>74GE.  

5.1.2 $4EG5F 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG 

� E>>F65FEF6<< E ?D>5>F=O<< D5L5=<O<< ?D54GE<4FD<64NFEO E?54GNM<5 

<EF>G=<>< 6O5D>E>6  6 4F<>ED5D=O= 6>74GE:  
3 6 744=<< 4D>5?5=<O 3 >D74=<7>64==O5 <EF>G=<>< 6O5D>E4 77 0001, 

0002; 

3 6 >><?D5EE>D=>=  3 =5>D74=<7>64==O= <EF>G=<> 6O5D>E4 7 6001. 

$4EG5FO 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE >F 
F5E=>?>7<G5E><E ?D>F5EE>6 < >5>DG4>64=<O  
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�D>F5EE ?5D5EO?4 DG4O E>?D>6>6445FEO ?O?56O45?5=<5<. '44?5=<5 
74?O?5==>7> 6>74GE4 6 4F<>ED5DG >F F5E=>?>7<G5E>>7> >5>DG4>64=<O 
?D54GE<4FD<645FEO 46G<O 4E?<D4F<>==O<< E<EF5<4<< �1, �2 (<EF>G=<>< 
6O5D>E4 77 0001, 0002), >4644O <7 >>F>DOE >E=4M5=4 ?O?5G?46?<64NM<< 
GEFD>=EF6>< 3 DG>46=O< D<?LFD>< E <<?G?LE=>= D575=5D4F<5= DG>46>6.  %5D>E 
?O?< E DG>46=>7> D<?LFD4 >EGM5EF6?O5FEO E 6>76D4F>< 6 F5E=>?>7<G5E><= 
?D>F5EE. 

�> 44==O< F5E=>?>7<G5E>>= G4EF< ?D>5>F4 >>=F5=FD4F<O F65D4OE G4EF<F 
(=54<DD5D5=F<D>64==4O ?> E>EF46G ?O?L/4MD>7>?L) =4 6E>45 6 4E?<D4F<>==GN 
E<EF5<G E>EF46?O5F 10 7/<3; 6 >G<M5==>< 6>74GE5 =4 6OE>45 <7 DG>46=>7> 
D<?LFD4 =5 ?D56OL45F 30 <7/<3. %F5?5=L >G<EF>< E>EF46?O5F 98%. 

�D5<O D45>FO F5E=>?>7<G5E>>7> >5>DG4>64=<O >F45?5=<O >?4EE<D<>4F<< 
3 8160 G/7>4 (340 4=5=, 2 E<5=O ?> 12 G4E>6). 

 

�4>E<<4?L=>-D47>6O= 6O5D>E 747DO7=ONM57> 65M5EF64 6 4F<>ED5D=O= 
6>74GE, , 7/E >?D545?O5FEO ?> D>D<G?5 

 

                                                   �E= % .V/103                                                      (5.1) 

745 % 3 

 

V 3 

103 -  

<4>E<<4?L=4O >>=F5=FD4F<O 747DO7=ONM57> 65M5EF64, 
<7/<3; 

>5N5< ?O?56>74GL=>= E<5E<, <3/E; 
?5D56>4=>= >>MDD<F<5=F <7 <7 6 7; 

�4?>6>= 6O5D>E 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE, , F/7>4 
>?D545?O5FEO ?> D>D<G?5 

,                                                (5.2) 

 

745 & 3 

106 - 

7>4>6>= D>=4 D45>FO >5>DG4>64=<O, G/7>4; 
?5D56>4=>= >>MDD<F<5=F <7 7 6 F. 

 

$4EG5F 6O5D>E>6 747DO7=ONM<E 65M5EF6, 6O45?ONM<EEO 6 4F<>ED5D=O= 
6>74GE >F F5E=>?>7<G5E>>7> >5>DG4>64=<O G7?4 >>=FD>?L=>= >?4EE<D<>4F<< 
7D4=G?OF4 ?D54EF46?5= 6 F45?<F5 5.1. 

 

$4EG5FO 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE >F 
F5E=>?>7<G5E>>7> >5>DG4>64=<O >><?D5EE>D=OE 

�EF>G=<>>< 6O5D>E>6 747DO7=ONM<E 65M5EF6 (?4D>6 <4E?4 <<=5D4?L=>7>) 
?D< D45>F5 >><?D5EE>D=>= GEF4=>6>< E?G64F ?>46<6=O5 G??>F=5=<O 
>><?D5EE>D=OE (<EF>G=<> 6O5D>E4 76001).  

�4?>6O= 6O5D>E �>, F/7>4, D4EEG<FO645FEO ?> D>D<G?5: 
 

                                             �>= �> * t * 10-6                                                (5.3) 
 

745 �> 3 <4EE>6O= 6O5D>E =5DF5?D>4G>F4, 7/E; 

cM

7M

610

3600÷÷
=

&M
M

c
7
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 t - ?D>4>?6<F5?L=>EFL M>E??G4F4F<< >><?D5EE>D>6, E ?>F5DO6L<<< 
75D<5F<G=>EFL G??>F=5=<O<<, E5>; 

10-6 3 ?5D56>4=>= >>MDD<F<5=F <7 7 6 F. 
 

&45?<F4 5.1 3 $4EG5F 6O5D>E>6 747DO7=ONM<E 65M5EF6, 6O45?ONM<EEO 6 
4F<>ED5D=O= 6>74GE ?D< ?5D57DG7>5 >>=F5=FD4F4 6 M?564F>D < =4 >>=65=5D < 
747DG7>5 6 ?D>E5<64NM<5 <4L<=O 6 744=<< ?>7DG7>< 

�
><

5D
 <

EF
>G

=<
>4

 
/4

E?
<D

4F
<>

==
4O

 E
<E

F5
<4

 

�
4<

<5
=>

64
=<

5 <
EF

>G
=<

>4
 

6O
45

?5
=<

O 
��

 

�
4<

<5
=>

64
=<

5 6
O

45
?5

=<
O 

��
 

�D
5<

O 
D4

5>
FO

, G
/7

>4
 

�
5N

5<
 G

44
?O

5<
>=

 
74

7>
6>

74
GL

=>
= 

E<
5E

<,
 <

3
/E

 

�
4<

<5
=>

64
=<

5 �
�

'
 

�O5D>E �� 

4> >G<EF>< ?>E?5 >G<EF>< 

<7/<3 7/E F/7>4 <7/<3 7/E F/7>4 

0001/�1 �5D57DG7>4 
E 7D>E>F>6 
=4 
>>=65=5D, 
6O7DG7>4 
4D>5<?>> 

&65D4O5 G4EF<FO 
(=54<DD5D5=F<D>64==4O 
?> E>EF46G 
?O?L/4MD>7>?L) 

8160 5,3 

$G
>4

6=
O

= 
D<

?L
FD

 

10000* 53 1556,9 50** 0,265 7,785 

0002/�2 �5D57DG7>4 
E 7D>E>F>6 
=4 
>>=65=5D, 
6O7DG7>4 
4D>5<?>> 

&65D4O5 G4EF<FO 
(=54<DD5D5=F<D>64==4O 
?> E>EF46G 
?O?L/4MD>7>?L) 

8160 5,3 

$G
>4

6=
O

= 
D<

?L
FD

 
10000* 53 1556,9 50** 0,265 7,785 

* - �>=F5=FD4F<O 747DO7=ONM57> 65M5EF64, ?D<=OF4O ?> 44==O< F5E=>?>7<G5E>>= G4EF< ?D>5>F4; 
** - �4>E<<4?L=4O >>=F5=FD4F<O 747DO7=ONM57> 65M5EF64, 74D4=F<D>64==4O 746>4>< <77>F>6<F5?5< 747>>G<EF=>7> 
>5>DG4>64=<O 

 

�4EE>6O= 6O5D>E =5DF5?D>4G>F4 �>, 7/E5>, D4EEG<FO645FEO ?> D>D<G?5: 
 

                                      �> = �*%*4*n*N*10-3                                       (5.4) 

 

� - D4EG5F=4O 65?<G<=4 6O5D>E4 =4 >4=> G??>F=5=<5, <7/E, ?D<=<<4NFEO ?> 
EF4F<EF<G5E><< 44==O<; 

% 3 E>45D64=<5 =5DF5?D>4G>F>6; 
4 - D4EG5F=4O 4>?O G??>F=5=<= ?>F5DO6L<E E6>N 75D<5F<G=>EFL, 

?D<=<<4NFEO ?> EF4F<EF<G5E><< 44==O<; 
n - >>?<G5EF6> >4=>6D5<5==> D45>F4NM<E >><?D5EE>D>6 >4=>7> F<?4, LF; 
N - >>?<G5EF6> G??>F=5=<= ?>46<6=OE E>54<=5=<= >><?D5EE>D4, LF. 
 

�> =31,95*1*0,7*1*1*10-3=0,022 7/E5> 

 

�>= 0,022 * 29376000 * 10-6 = 0,646 F/7>4 
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�4D4<5FDO 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE >F 
?D>5>F<DG5<OE <EF>G=<>>6 6O5D>E>6 ?D54EF46?5=O 6 &45?<F5 5.2. 
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65M5EF64 

�>?<G5EF6> 747DO7=ONM<E  
65M5EF6, 6O5D4EO645<OE 6  

4F<>ED5D=O= 6>74GE 

X1 Y1 X2 Y2 7/E F/7>4 

�4
4=

<5
 4

D>
5?

5=
<O

 

�1: 
�D>E>F4 1 < 2, 
G>DOF<5 >>=65=5D4 

 

2 

1 

FDG54 1 0001 30,5 0,8 10,54 5,3 18 -69,5 47 - - - 
$G>46=O= 

D<?LFD  
$��% 

&65D4O5 
G4EF<FO 
(=54<DD5D5
=F<D>64==4
O ?> E>EF46G 
?O?L/4MD>7>
?L) 

98 

&65D4O5 G4EF<FO 
(=54<DD5D5=F<D>64==4
O ?> E>EF46G 
?O?L/4MD>7>?L) 0,265 7,785 

�2: 
�D>E>F4 3 < 4, 
G>DOF<5 >>=65=5D4 

 

2 

1 

FDG54 1 0002 30,5 0,8 10,54 5,3 18 -73 37,5 - - - 
$G>46=O= 

D<?LFD  
$��% 

&65D4O5 
G4EF<FO 
(=54<DD5D5
=F<D>64==4
O ?> E>EF46G 
?O?L/4MD>7>
?L) 

98 

&65D4O5 G4EF<FO 
(=54<DD5D5=F<D>64==4
O ?> E>EF46G 
?O?L/4MD>7>?L) 0,265 7,785 

�>
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D5
EE

>D
=4

O 

�>46<6=O5  
G??>F=5=<O 
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=5>D74=<7>64==O
= 

1 6001 2 - - - - -46 -2,5 - - - - - - �4E?> <<=5D4?L=>5 0,022 0,646 
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�>D<4F<6O 4>?GEF<<OE 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE >F ?D>5>F<DG5<OE <EF>G=<>>6 

�D>5>F ��� D47D454FO645FEO E F5?LN >?D545?5=<O < =>D<<D>64=<O 
65?<G<= 6O5D>E>6 747DO7=ONM<E 65M5EF6 >F EF4F<>=4D=OE <EF>G=<>>6 
?D<D>4>?>?L7>64F5?O, 4?O >55E?5G5=<O E>5?N45=<O =>D<4F<6>6 >4G5EF64 
4F<>ED5D=>7> 6>74GE4 =4 7D4=<F5 5?<7?564M5= 6<?>= 74EFD>=><.  

%>7?4E=> ?.4 �D<?>65=<O 3 > �>EF4=>6?5=<N �<=<EF5DEF64 ?D<D>4=OE 
D5EGDE>6 < >ED4=O >>DG64NM5= ED54O $5E?G5?<>< �5?4DGEL >F 27 45>45DO 2023 
7>44 733 «� 45OF5?L=>EF<, E6O74==>= E 6O5D>E4<< 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE» =>D<4F<6O 6O5D>E>6 =5 GEF4=46?<64NFEO 4?O 
<=EFDG<5=F>6 < >5>DG4>64=<O, <E?>?L7GNM<E F>??<6> (55=7>?<?O, 55=7>D57O, 
>GEF>D57O, 747>=>>>E<?><, =4E>EO < EF4=F<< =4E>E=O5, >><?D5EE>DO < 
>><?D5EE>D=O5 EF4=F<< < GEF4=>6>< E?5F<4?L=O5, 47D574FO E64D>G=O5, <>5G=O5 
<4L<=O < 4DG7>5) (<EF.7 6001). 

�D54?>65=<O ?> =>D<4F<64< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE ?D54EF46?5=O 6 F45?<F5 5.3. 

 

&45?<F4 5.3 3 �>D<4F<6O 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG 

7  
?/
?  

�4<<5=>64=<5  

65M5EF64  

�O5D>E 747DO7=ONM57> 65M5EF64  

EGM5EF6GNM55 

?>?>65=<5  
E>7?4E=> ��$ 

?D>5>F<DG5<>5 

?>?>65=<5 

6E57>,  
?>E?5 D54?<74F<< 

?D>5>F=OE D5L5=<=  
7/E F/7>4 7/E F/7>4 7/E F/7>4 

1 

&65D4O5 G4EF<FO 
(=54<DD5D5=F<D>64==4O 
?> E>EF46G 
?O?L/4MD>7>?L) 

- - 

0,53 15,57 0,53 15,57 

 �E57>:   0,53 15,57 1121,2054 24,8752 

 

5.2 �>745=EF6<5 =4 ?>65DE=>EF=O5 < ?>475<=O5 6>4O 

�EF>G=<>< 6>745=EF6<O =4 ?>65DE=>EF=O5 6>4=O5 >5N5>FO >FEGFEF6GNF. 

�>745=EF6<O 6 >>?<G5EF65==>< < >4G5EF65==>< 4E?5>F5 =5 ?D>7=>7<DG5FEO. 

�D>5>F>< =5 ?D54GE<4FD<64NFEO 6O?GE>< EF>G=OE 6>4, 745>D 6>4O <7 
?>65DE=>EF=OE 6>4=OE >5N5>F>6. �?<64=L<= 6>4=O= >5N5>F 3 D. %<65?L74, 

=4E>4<FEO 6>EF>G=55, =4 D4EEF>O=<< 5>?55 2,0 ><. 
 

5.3 �>745=EF6<5 =4 =54D4  
�D>5>F<DG5<O= GG4EF>> =4E>4<FEO 6 ?D545?4E 7>D=>7> >F6>44 L4EF=>7> 

?>?O �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� «�5?4DGEL>4?<=». 
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�>4 GG4EF>>< D5>>=EFDG>F<< D476<F<5 7>D=OE D45>F =5 ??4=<DG5FEO. 
'G4EF>> =4E>4<FEO 6=5 7>=O 6?<O=<O 7>D=OE D45>F. 

�?4=<DG5<4O E>7O=EF65==4O 45OF5?L=>EFL =5 E6O74=4 E 6>745=EF6<5< =4 
=54D4.  

5.4 �>745=EF6<5 =4 75<5?L=O5 D5EGDEO 

�D>5>F<DG5<O= >5N5>F ??>M44LN 0,2820574 D4E?>?>65= 6 F5=FD4?L=>= 
G4EF< F5DD<F>D<< ?D><??>M44>< �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=». 

�>745=EF6<5 =4 75<5?L=O5 D5EGDEO E ?>7<F<< <7<5=5=<O >4F57>D<= 
75<?5?>?L7>64=<O =5 ?D><7>=45F, F.>. ??4=<DG5<4O D5>>=EFDG>F<O =5 6?5G5F 

?5D56>44 75<5?L 6 4DG7GN >4F57>D<N. �4 F5>GM<= <><5=F 75<?< O6?ONFEO 
>4F57>D<5= 75<5?L ?D><OL?5==>EF<, FD4=E?>DF4, E6O7<, M=5D75F<><, >5>D>=O < 
<=>7> =47=4G5=<O. $G=>F<>=4?L=>5 <E?>?L7>64=<5 75<5?L=>7> GG4EF>4 3 

?D><76>4EF65==4O 7>=4. 

�>745=EF6<5 =4 75<?<, 6>?NG4O ?>G6O, ?D< EFD><F5?LEF65 

(D5>>=EFDG>F<<), >4> ?D46<?>, E6O74=> 6 ?5D6GN >G5D54L E <5E4=<G5E><< 
6>745=EF6<5< ?D< E=OF<< 65DE=57> E?>O. 

�DO<O5 =4DGL5=<O 75<5?L (?>G6) =4 MF4?5 EFD><F5?LEF64 5G4GF E6O74=O 
?D5<<GM5EF65==> E <5E4=<G5E><<< 6>745=EF6<O<< ?D< 45<>=F465 < ?D>>?44>5 
=>6OE <=65=5D=OE >><<G=<>4F<=. � EFD><F5?L=O= ?5D<>4 (1-4O >G5D54L 
EFD><F5?L=>7> ?D>5>F4) E=<<45FEO D4EF<F5?L=>7> 7DG=F4 E ??>M44< 829<2 < 
F>?M<=>= 0,1<, 6 >5N5<5 83 <3. �F>D>= >G5D54LN EFD><F5?L=>7> ?D>5>F4 
?D54GE<4FD<645FEO E=OF<5 D4EF<F5?L=>7> 7DG=F4 ??>M44LN 486<2 < F>?M<=>= 
0,1<, 6 >5N5<5 48,6 <3. 

$45>F4 F5E=<>< E>?DO65=4 E 6>7<>6=O<< GF5G>4<< �%� < ?D< 46<65=<< 
55 =5 ?> ?D54=47=4G5==O< 4?O MF>7> ?D>5744<< < ??>M44>4<<, ?> =5 
M>D4=<D>64==O< GG4EF>4< F5DD<F>D<< 6>7<>6=> 747DO7=5=<5 65DE=<E E?>56 
?>G6 =5DF5?D>4G>F4<<.  

�?>ED54>64==>5 6>745=EF6<5 <>65F =45?N44FLEO < 6 E?GG45 ?D>6545=<O 
D5<>=F=OE D45>F FD4=E?>DF=OE ED54EF6 6 ?>?56OE GE?>6<OE 557 ?D<<5=5=<O 
GEFD>=EF6 (?>44>=O < 4D.), ?D54>F6D4M4NM<E ?>?444=<5 =4 ?>G6O, 4 F4> 65 
74?D46>4 F>??<6>< 6 =5GEF4=>6?5==OE <5EF4E. 

�5E>5?N45=<5 FD55>64=<= ?> E5>DG < D47<5M5=<N EFD><F5?L=OE >FE>4>6 
=4 MF4?5 45<>=F464, EFD><F5?L=>-<>=F46=OE D45>F <>65F F4> 65 5OFL 
<EF>G=<>>< 74E>D5=<O < 747DO7=5=<O 75<5?L. 

 

5.5 �>745=EF6<5 =4 D4EF<F5?L=O= < 6<6>F=O= <<D, ?D<D>4=O5 
>><??5>EO < ?D<D>4=O5 >5N5>FO 

�>745=EF6<5 =4 D4EF<F5?L=O= <<D ??4=<DG5<>= E>7O=EF65==>= 
45OF5?L=>EF< =5 ?D>7=>7<DG5FEO, F.>. >EGM5EF6?O5FEO >=4 6 7D4=<F4E 
EGM5EF6GNM5= ?D><??>M44><. '44?5=<5 4D565E=>->GEF4D=<>>6>= 
D4EF<F5?L=>EF< ?D>5>F=O<< D5L5=<O<< =5 ?D54GE<>FD5=>. 
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%4D4>F5D 5<>F>?4 ?D54>?D545?<? =<7>>5 6<4>6>5 D47=>>5D47<5 
?>76>=>G=OE 6<6>F=OE. �=4?<7 ?>?GG5==OE 6 E>45 <EE?54>64=<= 44==OE, 
E6<45F5?LEF6G5F > F><, GF> ?D54?>?4745<O5 D45>FO =5 >>46GF EGM5EF65==>7> 
6?<O=<O =4 6<6>F=O= <<D D4=>=4 <EE?54>64=<=, F4> >4> <7O<45<O5 GG4EF>< =5 
O6?ONFEO >E>5> F5==O<< 4?O >5<F4=<O < D47<=>65=<O. 

�4 ?D>5>F<DG5<>< >5N5>F5 <EF>G=<>< 6>745=EF6<O, >>F>DO5 <>7?< 5O 
>>474FL 6>745=EF6<5 =4 ?D<D>4=O5 >><??5>EO < ?D<D>4=O5 >5N5>FO 3 

>FEGFEF6GNF. 

5.6 �>745=EF6<O, E6O74==O5 E D<7<G5E><<< D4>F>D4<<. 

�E=>6=O<< <EF>G=<>4<< LG<4 ?D>5>F<DG5<>7> >5N5>F4 O6?ONFEO D45>F4 
F5E=>?>7<G5E>>7> >5>DG4>64=<O 6 ?5D<>4 ?D>6545=<O 45<>=F464 < EFD><F5?L=>-

<>=F46=OE D45>F, 46<65=<5 46F><>5<?L=>7> FD4=E?>DF4 ?> F5DD<F>D<<. 
,G<>6>5 6>745=EF6<5 G>474==OE 6OL5 <EF>G=<>>6 =>E<F ?>>4?L=O= < 

6D5<5==O= E4D4>F5D < 5G45F O6?OFLEO =57=4G<F5?L=O<. 
 

5.7 �>745=EF6<5 =4 >>DG64NMGN ED54G ?D< >5D4M5=<< E >FE>44<< 

�D< D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 5G4GF >5D47>6O64FLEO >FE>4O 
=4 MF4?5 D5>>=EFDG>F<<, E6O74==O5 E 45<>=F465<, D475>D>>= >F45?L=OE 
>>=EFDG>F<= < E>>DG65=<=, F4> 65 >FE>4O ?D< EFD><F5?LEF65. 

� ?D>F5EE5 DG=>F<>=<D>64=<O ?D>5>F<DG5<>7> >5N5>F4 >5D47>64=<5 
=>6OE 6<4>6 >FE>4>6 =5 ?D54GE<4FD<645FEO. 

�>E>>?L>G 5>?LL<=EF6> 6<4>6 >FE>4>6, >5D47GNM<EEO 6 ?5D<>4 
EFD><F5?LEF64, O6?ONFEO <=5DF=O<< ?> >F=>L5=<N > >><?>=5=F4< >>DG64NM5= 
ED54O, <E =574F<6=>5 6?<O=<5 5G45F ?D>O6?OFLEO 6 >E=>6=>< 6 =4>>??5=<< =4 
F5DD<F>D<<.  

�>MF><G 6 MF>F ?5D<>4 >E=>6=>5 6=<<4=<5 E?54G5F G45?OFL 
E6>56D5<5==><G <E 6O6>7G < GF<?<74F<<. 'G<FO64O, GF> EFD><F5?L=O5 D45>FO 
?D>6>4OFEO ?>E?54>64F5?L=>, F> >5M55 >>?<G5EF6> >4=>6D5<5==> ED4=OM<EEO 
>FE>4>6 5G45F =565?<>> (6 ?D545?4E GEF4=>6?5==OE ?<<<F>6). 

�D5<5==> =4>4??<645<O5 =4 F5DD<F>D<< ?D><??>M44>< ?D54?D<OF<O 
>FE>4O ?D< ?D<=OFOE GE?>6<OE <E ED4=5=<O =5 <<5NF 6O45?5=<= 747DO7=ONM<E 
65M5EF6 6 4F<>ED5D=O= 6>74GE < =5 >>47O64NF =4 =57> 6D54=>7> 6>745=EF6<O. 

�D>5>F>< ?D54GE<>FD5= D4745?L=O= E5>D >5D47GNM<EEO EFD><F5?L=OE 
>FE>4>6, 6D5<5==>5 E>?44<D>64=<5 4> FD4=E?>DF=>= 54<=<FO 6 7D4=<F4E 
EFD><F5?L=>= ??>M44>< < 6O6>7 =4 >5N5>FO ?> <E?>?L7>64=<N >FE>4>6. 

�5D5G5=L >5D47GNM<EEO EFD><F5?L=OE >FE>4>6 <E >5N5<O < 6<4O 
?D<6545=O 6 F45?. 5.4. 

&45?<F4 5.4 3 �<4O EFD><F5?L=OE >FE>4>6, <E >>?<G5EF6> < <5D>?D<OF<O 
?> >5D4M5=<N E =<<< 
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�>4 �4<<5=>64=<5 
�?4EE 

>?4E=>EF< 

�>?<G5EF6>, 
F/7>4 

%?>E>5 
>5D4M5=<O E 

>FE>4>< 

1 2 3 4 5 

3144206 �>= ><D?<G4 E<?<>4F=>7>  4 148,3 %44NFEO =4 
<E?>?L7>64=<5 
E?5F<4?<7<D>6

4==O< 
>D74=<74F<O< 

E>7?4E=> 
$55EFDG 

>5N5>F>6 ?> 
<E?>?L7>64=<N 

>FE>4>6* 

3140702 �>= >5D4<<G5E>>= ??<F>< =5>?4E=O5 4,05 

3142707 �>= 55F>==OE <745?<=  =5>?4E=O5 275,98 

3141004 �ED4?LF>55F>= >F D475>D>< 
4ED4?LF>6OE ?>>DOF<=  

=5>?4E=O5 218,76 

1720200 �D565E=O5 >FE>4O EFD><F5?LEF64 4 11,99 

3142708 �>= 65?57>55F>==OE <745?<=  =5>?4E=O5 206,8 

3140804 %F5>?>5>= ?>?G55?O= ?<EF>6>= =5>?4E=O5 0,77 

3991300 %<5L4==O5 >FE>4O EFD><F5?LEF64 4 425,68 

3510900 �5?57=O= ?>< 4 96,50 

3511008 �>< EF4?L=>= =5E>DF<D>64==O=  =5>?4E=O5 47,92 

3141203 �>= 4E5>F5<5=F=OE <745?<= 
(?<EF>6, FDG5) 

4 14,4 

3142702 �FE>4O >5D4<7<F>55F>=4 4 5,55 

5711601 �>?<6<=<?E?>D<4 3 1,281 

3531400 �FE>4O >455?5= 4 7,3127 �5D544NFEO =4 
<E?>?L7>64=<5 

6 ��� 
«�5?6F>DG5D<5

F» 6 
E>>F65FEF6<< E  
74>?NG5==O<<  

4>7>6>D4<< 

*- %6545=<O > ?D54?D<OF<OE $5E?G5?<>< �5?4DGEL, ?D<=<<4NM<E >FE>4O ?D><76>4EF64 =4 
6F>D<G=>5 <E?>?L7>64=<5 ?D54EF46?5=O 6 ?>EF>O==> ?>?>?=O5<>< 7>EG44DEF65==>< D55EFD5 
(<>6=> ?>?GG<FL ?> 74?D>EG 6 $'� «�5?��&->>?>7<O», 7.�<=E>, 4 F4>65 =4 E4=F5 
minpriroda.gov.by). 
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6. �D>7=>7 < >F5=>4 6>7<>6=>7> <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O < 
E>F<4?L=>-M>>=><<G5E><5 GE?>6<O D4=>=4 <EE?54>64=<= 

6.1. �D>7=>7 < >F5=>4 6>7<>6=>7> 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 

$4EG5F ?D<75<=OE >>=F5=FD4F<= 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 
6>74GE5 6O?>?=5= ?> G=<D<F<D>64==>= ?D>7D4<<5 D4EG5F4 747DO7=5=<O 
4F<>ED5DO «->>?>7» (65DE<O 4.7) D<D<O ��� «�=F57D4?» (7. %4=>F-�5F5D5GD7) 
< E>7?4E>64==>= ��� <<. �>5=>>64. �D>7D4<<4 D4EG5F4 D54?<7G5F >E=>6=O5 
746<E<<>EF< < ?>?>65=<O E>7?4E=> �D<>47G �<=?D<D>4O $$ >F 06.06.20177. 
7273 «�5 GF65D645=<< <5F>4>6 D4EG5F>6 D4EE5<64=<O 6O5D>E>6 6D54=OE 
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E>?D>6>644FLEO D>EF>< ?D<5O?<, =4?>7>6 < ??4F565= 6 5N465F, < E>744EF GE?>6<O 
4?O GEF>=G<6>7> D476<F<O D57<>=4, ?>6OL5=<O GD>6=O 5?47>E>EF>O=<O, 
G>D5??5=<O 74>D>6LO 7D4644=, ?>6OL5=<O >4G5EF64 >5D47>64=<O < 4D. 
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o ?D>6545==4O D5>>=EFDG>F<O EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< 
6 744=<< 4D>5?5=<O E >D74=<74F<5= >D74=<7>64==>7> 6O5D>E4 >G<M5==>7> 
6>74GE4 6 4F<>ED5DG (<E>?NG4NM4O 57> 6>76D4M5=<5 6 F5E>6>5 ?D>EFD4=EF6>) 
?>?>6<F5?L=> E>465FEO =4 G?GGL5=<< GE?>6<= FDG44 =4 D45>G<E <5EF4E, 5G45F 
E?>E>5EF6>64FL F5=45=F<< > E=<65=<N ?D>D5EE<>=4?L=>= 745>?5645<>EF< =4 
?D54?D<OF<<. 

6.9 �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E 65D>OF=O<< GD576OG4==O<< < 74?D>5>F=O<< 464D<==O<< 
E<FG4F<O<< 

�64D<==>= EG<F45FEO E<FG4F<O, >>F>D4O 6 E?GG45 =5?D<=OF<O ED>G=OE <5D 
<>65F ?D<65EF< > 464D<<. 

�E=>6=O<< ?D<G<=4<< 464D<=, >4> ?D46<?>, O6?ONFEO D4775D<5F<74F<O 
F5E=>?>7<G5E>>7> >5>DG4>64=<O, =4DGL5=<5 D57?4<5=F4 < ?D46<? M>E??G4F4F<< 
>5>DG4>64=<O >5E?G6<64NM<< ?5DE>=4?><, E =4DGL5=<5< F5E=<G5E>>= < 
?D>F<6>?>64D=>= 557>?4E=>EF<. 

� E>>F65FEF6<< E FD55>64=<O<< ?>EF4=>6?5=<O %>65F4 �<=<EFD>6 
$5E?G5?<>< �5?4DGEL «� �>EG44DEF65==>= E<EF5<5 ?D54G?D5645=<O < 
?<>6<44F<< GD576OG4==OE E<FG4F<=» >F 10 4?D5?O 2001 7. N 495, E <7<5=5=<O<< 
< 4>?>?=5=<O<< >F 09.01.2023 7. 713, 4 F4>65 «�D46<? ?D><OL?5==>= 
557>?4E=>EF< ?D< ?5D5D45>F>5 E>?O=OE DG4», GF6. �>EF4=>6?5=<5< 
�<=<EF5DEF64 ?> GD576OG4==O< E<FG4F<O< $5E?G5?<>< �5?4DGEL >F 30.06.2014 

N 20, 6 F5?OE <4>E<<4?L=> 6>7<>6=>7> G<5=LL5=<O D<E>4 6>7=<>=>65=<O 
GD576OG4==OE E<FG4F<= ?D< M>E??G4F4F<< ?5D57DG7>G=>7> G7?4, =5>5E>4<<>: 

7 >EGM5EF6?OFL ?D><76>4EF65==O= >>=FD>?L 74 E>5?N45=<5< 
FD55>64=<= ?D><OL?5==>= 557>?4E=>EF< 6 E>>F65FEF6<< E �D46<?4<< 

>D74=<74F<< < >EGM5EF6?5=<O ?D><76>4EF65==>7> >>=FD>?O 74 E>5?N45=<5< 
FD55>64=<= ?D><OL?5==>= 557>?4E=>EF< =4 >?4E=OE ?D><76>4EF65==OE 
>5N5>F4E; 

7 6 >>=65=5D=OE 74?5D5OE, 745 >EGM5EF6?O5FEO FD4=E?>DF<D>64=<5 
<4F5D<4?4 E ?O?56O45?5=<5<, 6 <5EF4E ?D<<O>4=<O <E > 744=<N ?5D57DG7>G=>7> 
G7?4, E?54G5F GEFD4<64FL ?5D57>D>4>< E E4<>74>DO64NM<<<EO 465DO<<; 

7 65EF< M>E??G4F4F<N >5>DG4>64=<O E E>5?N45=<5< F5E=<G5E><E 
D56<<>6, GEF4=>6?5==OE ?4E?>DF>< F5E=>?>7<G5E>>7> >5>DG4>64=<O, 
F5E=>?>7<G5E><< D57?4<5=F>< ?D>F5EE4; 

7 D57G?OD=> ?D>6>4<FL ?D>D<?4>F<G5E><5 >E<>FDO < D5<>=F 
>5>DG4>64=<O 6 E>>F65FEF6<< E ����, D57?4<5=F<DGNM<< F5E=<G5E>>5 
>5E?G6<64=<5 < D5<>=F >E=>6=>7>, F5E=>?>7<G5E>>7> < >5>DG4>64=<O 
>5M5?D><OL?5==>7> =47=4G5=<O; 

7 6O?>?=OFL D5<>=F >5>DG4>64=<O, 4 F4>65 DGG=GN E<47>G M?5<5=F>6 
>5>DG4>64=<O ?D< >EF4=>6?5==>< >5>DG4>64=<< < D47>5D4==>= M?5>FD<G5E>>= 
EE5<5. 

consultantplus://offline/ref=C007C7CD37CBDC74C9441F8756309F8217C3307F264888F45C540C82A92068FD0E0FQ7KDN
consultantplus://offline/ref=C007C7CD37CBDC74C9441F8756309F8217C3307F26408AFC5F5B04DFA32831F10C0872143FB7DA0793671731QFK9N


 73 

�>E?5 66>44 ?D>5>F<DG5<>7> >5N5>F4 6 M>E??G4F4F<N D<E> 6>7=<>=>65=<O 
=4 ?D><76>4EF65 464D<==OE E<FG4F<=, 4 F4>65 <E ?>E?54EF6<O 5G4GF 
<<=<<4?L=O<< ?D< GE?>6<< =5G>>E=<F5?L=>7> < EFD>7>7> E>5?N45=<O 6 
?D>F5EE5 ?D><76>4EF64 D45>F ?D46<? ?D><OL?5==>= 557>?4E=>EF<. 
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7 �5D>?D<OF<O ?> ?D54>F6D4M5=<N < <<=<<<74F<< 6D54=>7> 6>745=EF6<O 

 

�F<>ED5D=O= 6>74GE 

�55E?5G<FL 6O5D>E 747DO7=ONM<E 65M5EF6, <<5NM<E F65D4>5 47D574F=>5 
E>EF>O=<5, E >>=F5=FD4F<5= =5 5>?55 50 <7/<3 (�5>D5F �D57<45=F4 $5E?G5?<>< 
�5?4DGEL >F 23.11.2017  7 7); 

�55E?5G<FL <E?D46=>5 DG=>F<>=<D>64=<5 747>>G<EF=OE GEF4=>6>> (��') 
3 ?O?5G?46?<64NM57> >5>DG4>64=<O, 6 E>>F65FEF6<< E 74>>=>< $5E?G5?<>< 
�5?4DGEL >F 16.12.2008 7. 7 2-3, E <7<5=5=<O<< < 4>?>?=5=<O<< >F 17.07.2023 7. 
7 295; 

�47>>G<EF=O5 GEF4=>6>< <>7GF M>E??G4F<D>64FLEO F>?L>> 6 F5E=<G5E>< 
<E?D46=>< E>EF>O=<<. 

�D< M>E??G4F4F<< ?O?5G?46?<64NM57> >5>DG4>64=<O) =5 4>?GE>45FEO: 
" >F>?NG5=<5 747>>G<EF=OE GEF4=>6>> ?D< D45>F4NM5< 

F5E=>?>7<G5E>>< >5>DG4>64=<<; 
" G65?<G5=<5 ?D><76>4<F5?L=>EF< F5E=>?>7<G5E>>7> >5>DG4>64=<O, 

E>?D>6>644NM55EO <7<5=5=<5< >4G5EF65==>7> < (<?<) >>?<G5EF65==>7> E>EF464 
>FE>4OM<E 747>6 E ?D56OL5=<5< 7=4G5=<=, GEF4=>6?5==OE 6 ?D>5>F=OE 
D5L5=<OE =4 >E=4M5=<5 >D74=<7>64==OE EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 
747>>G<EF=O<< GEF4=>6>4<<, 557 >?5D564NM57> ?<5> >4=>6D5<5==>7> 
=4D4M<64=<O <>M=>EF< 45=EF6GNM<E 747>>G<EF=OE GEF4=>6>>. 

�EGM5EF6?OFL ?D><76>4EF65==O= >>=FD>?L 6O5D>E>6 747DO7=ONM<E 
65M5EF6 6 4F<>ED5D=O= 6>74GE. 

 

�>65DE=>EF=O5 6>4O 

$47D45>F>4 E?5F<4?L=OE <5D>?D<OF<= ?> ?D54>F6D4M5=<N <?< E=<65=<N 
?>F5=F<4?L=OE =55?47>?D<OF=OE 6>745=EF6<= =4 ?>65DE=>EF=O5 6>4O =5 
FD55G5FEO. 

�D>5>F=O<< D5L5=<O<< =5 ?D54GE<4FD<645FEO >D74=<74F<< E5D>E>6 
EF>G=OE 6>4 6 ?>65DE=>EF=O5 6>4=O5 >5N5>FO. 

 

�5<5?L=O5 D5EGDEO 

� F5?OE <<=<<<74F<< =574F<6=>7> 6?<O=<O ?D< D54?<74F<< ??4=<DG5<>= 
45OF5?L=>EF< 4>?6=O 5OFL ?D<=OFO E?54GNM<5 <5DO: 

" <E>?NG<FL ?5D5<5L<64=<5 E ?>4EF<?4NM<<< ?>D>44<<, 
747DO7=5=<5 =5DF5?D>4G>F4<<, ?D>G<<< 747DO7=ONM<<< 65M5EF64<<, >FE>44<< 
< F.?.; 

" EFD><F5?L=4O F5E=<>4 =5 4>?6=4 <<5FL ?D>F5G5> <4E?4 < F>??<64 < 
4>?6=4 5OFL E=4565=4 >><??5>F>< 45E>D55=F4 4?O GEFD4=5=<O GF5G5> <4E?4; 

" GEFD>=EF6> E?5F<4?L=> ?D54=47=4G5==OE <5EF 4?O E5>D4 < ED4=5=<O 
>FE>4>6; 
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" ?> >>>=G4=<N EFD><F5?LEF64 F5DD<F>D<= EFD>=??>M44>> 
=5>5E>4<<> 5?47>GEFD4<64FL. 

 

�FE>4O 

�?O <E>?NG5=<O =574F<6=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G >FE>4>6, 
>5D47GNM<EEO ?D< D5>>=EFDG>F<<, ?D54GE<4FD<645FEO <E >D74=<7>64==O= E5>D, 
ED4=5=<5 =4 6D5<5==OE ??>M44>4E 4?O =4>>??5=<O =5 5>?55 >4=>= FD4=E?>DF=>= 
54<=<FO E ?>E?54GNM5= E44G5= E?5F<4?<7<D>64==O< ?D54?D<OF<O< =4 
?5D5D45>F>G <?< <E?>?L7>64=<5< 4?O E>5EF65==OE =G64 ?D54?D<OF<O. 

�57>?4E=>5 >5D4M5=<5 E >FE>44<< =4 ?D54?D<OF<< 4>?6=> >EGM5EF6?OFLEO 
6 E>>F65FEF6<< E D47D45>F4==>= «�=EFDG>F<5= ?> >5D4M5=<N E >FE>44- << 
?D><76>4EF64». 

�5D>?D<OF<O ?> <<=<<<74F<< =574F<6=>7> 6?<O=<O >FE>4>6 ?D><76>4EF64 
< EFD><F5?L=OE >FE>4>6 =4 >>DG64NMGN ED54G 6>?NG4NF 6 E55O: 

3  D4745?L=O= E5>D >FE>4>6; 
3  >D74=<74F<N <5EF ED4=5=<O >FE>4>6; 
3 ?>?GG5=<5 E>7?4E>64=<O > D47<5M5=<< >FE>4>6 ?D><76>4EF64 < 

74>?NG5=<5 4>7>6>D>6 E> E?5F<4?<7<D>64==O<< >D74=<74F<O<< ?> ?D<5<G < 
GF<?<74F<< >FE>4>6; 

3  FD4=E?>DF<D>6>G >FE>4>6 > <5EF4< ?5D5D45>F><; 
3  ?D>6545=<5 <=EFDG>F464 > E5>D5, ED4=5=<<, FD4=E?>DF<D>6>5 >FE>4>6 < 

?D><E4=<F4D<< ?5DE>=4?4 6 E>>F65FEF6<< E FD55>64=<O<< >D74=>6 

M>>?>7<G5E>>7> >>=FD>?O, 7>EG44DEF65==>7> E4=<F4D=>-M?<45<<>?>7<G5E>>7> 
=447>D4. 

�D74=<74F<O <5EF 6D5<5==>7> ED4=5=<O >FE>4>6 6>?NG45F E?54GNM55: 

3 =4?<G<5 ?>>DOF<O, ?D54>F6D4M4NM57> ?D>=<>=>65=<5 F>>E<G=OE 
65M5EF6 6 ?>G6G < 7DG=F>6O5 6>4O; 

3 74M<FG ED4=OM<EEO >FE>4>6 >F 6>745=EF6<O 4F<>ED5D=OE >E44>>6 < 

65FD4; 
3 =4?<G<5 EF4F<>=4D=OE <?< ?5D546<6=OE <5E4=<7<>6 4?O 

?>7DG7><D477DG7>< >FE>4>6 ?D< <E ?5D5<5M5=<<; 
3 E>>F65FEF6<5 E>EF>O=<O 5<>>EF5=, 6 >>F>DOE =4>4??<64NFEO >FE>4O, 

FD55>64=<O< FD4=E?>DF<D>6>< 46F>FD4=E?>DF><. 
 

8 �F5=>4 6>7<>6=>7> FD4=E7D4=<G=>7> 6>745=EF6<O  
�?4=<DG5<4O 45OF5?L=>EFL =5 ?5D5G<E?5=4 6 �>546?5=<< I > �>=65=F<< >5 

>F5=>5 6>745=EF6<O =4 >>DG64NMGN ED54G 6 FD4=E7D4=<G=>< >>=F5>EF5 (7.->E?>, 
25.02.1991).  

'G<FO64O ?>>4?L=O= E4D4>F5D  6>745=EF6<O <  G44?5==>EFL >5N5>F4 >F 
7>EG44DEF65==>= 7D4=<FO (%>?<7>DE><= D4=>= �<=E>>= >5?4EF<), >FEGFEF6<5 
FD4=E7D4=<G=OE 6>4>F>>>6, ?D< D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 

45OF5?L=>EF< FD4=E7D4=<G=>5 6>745=EF6<5 =5 ?D>7=>7<DG5FEO. 
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9 �D54?>65=<O ?> ?D>7D4<<5 ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= ED54O 
< =5>5E>4<<>EF< ?D>6545=<O ?>E?5?D>5>F=>7> 4=4?<74 

�D>6545=<5 ?>>4?L=>7> <>=<F>D<=74 >EGM5EF6?O5FEO 6 E>>F65FEF6<< E 
�>?>65=<5< > ?>DO4>5 ?D>6545=<O 6 E>EF465 �4F<>=4?L=>= E<EF5<O 
<>=<F>D<=74 >>DG64NM5= ED54O 6 $5E?G5?<>5 �5?4DGEL ?>>4?L=>7> 
<>=<F>D<=74 >>DG64NM5= ED54O < <E?>?L7>64=<O 57> 44==OE, GF65D645==O< 
?>EF4=>6?5=<5< %>65F4 �<=<EFD>6 $5E?G5?<>< �5?4DGEL >F 28 4?D5?O 2004 7. 7 
482 . 

�>>4?L=O= <>=<F>D<=7 ?D>6>4<FEO 6 F5?OE =45?N45=<O 74 E>EF>O=<5< 
>>DG64NM5= ED54O < 6>745=EF6<5< 45OF5?L=>EF< =4 >>DG64NMGN ED54G 6 
D4=>=5 >EGM5EF6?5=<O E>7O=EF65==>= < <=>= 45OF5?L=>EF<, >>F>D4O >>47O645F 
6D54=>5 6>745=EF6<5 =4 >>DG64NMGN ED54G, 6 F>< G<E?5 M>>?>7<G5E>< >?4E=>= 
45OF5?L=>EF<. 

�5D5G5=L ?4D4<5FD>6 < ?5D<>4<G=>EFL =45?N45=<=, 4 F4>65 ?5D5G5=L 
?D<D>4>?>?L7>64F5?5=, >EGM5EF6?ONM<E ?D>6545=<5 ?>>4?L=>7> <>=<F>D<=74 
>>DG64NM5= ED54O, >?D545?ONFEO �<=<EF5DEF6>< ?D<D>4=OE D5EGDE>6 < 
>ED4=O >>DG64NM5= ED54O. 

�=EFDG>F<5= > ?>DO4>5 ?D>6545=<O ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= 
ED54O [24] >?D545?5=O >5N5>FO =45?N45=<= ?D< ?D>6545=<< ?>>4?L=>7> 
<>=<F>D<=74, 4 F4>65 FD55>64=<O >?D545?ONM<5, >4><5 >5N5>FO > =<< 
>F=>EOFEO.   

�5N5>F4<< =45?N45=<= ?D< ?D>6545=<< ?>>4?L=>7> <>=<F>D<=74 
O6?ONFEO: 

" 6O5D>EO 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE >F 
F5E=>?>7<G5E>>7> < <=>7> >5>DG4>64=<O, F5E=>?>7<G5E><E ?D>F5EE>6, <4L<= < 
<5E4=<7<>6 (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - 6O5D>EO 747DO7=ONM<E 65M5EF6 
6 4F<>ED5D=O= 6>74GE); 

" EF>G=O5 6>4O, E5D4EO645<O5 6 ?>65DE=>EF=O5 6>4=O5 >5N5>FO, 6 
F>< G<E?5 G5D57 E<EF5<G 4>6456>= >4=4?<74F<< (44?55, 5E?< =5 GEF4=>6?5=> 
<=>5, - EF>G=O5 6>4O); 

" ?>65DE=>EF=O5 6>4O 6 D4=>=5 D4E?>?>65=<O <EF>G=<>>6 E5D>E>6 
EF>G=OE 6>4 (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - ?>65DE=>EF=O5 6>4O); 

" ?>475<=O5 6>4O 6 <5EF4E D4E?>?>65=<O 6OO6?5==OE <?< 
?>F5=F<4?L=OE <EF>G=<>>6 <E 747DO7=5=<O (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - 
?>475<=O5 6>4O); 

" ?>G6O (7DG=FO) 6 <5EF4E D4E?>?>65=<O 6OO6?5==OE <?< 
?>F5=F<4?L=OE <EF>G=<>>6 <E 747DO7=5=<O (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - 
?>G6O (7DG=FO); 

" 4DG7<5 >5N5>FO =45?N45=<=, >?D545?O5<O5 �<=<EF5DEF6>< 
?D<D>4=OE D5EGDE>6 < >ED4=O >>DG64NM5= ED54O (44?55 - �<=?D<D>4O). 
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'G<FO64O E4D4>F5D ?D>5>F<DG5<OE <EF>G=<>>6 < FD55>64=<O ?G=>F4 3 
�=EFDG>F<<, >>F>DO< >?D545?5=O >D<F5D<<  >F=5E5=<O  <EF>G=<>>6 6O5D>E>6, > 
F5<, >>F>DO5 FD55GNF ?D>6545=<O ?>>4?L=>7> <>=<F>D<=74,  E?54G5F >F<5F<FL, 
GF>  ?D>6545=<5 ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= ED54O =5 FD55G5FEO. 

 �4=4>>, E>7?4E=> EF4FL5 101 �4>>=4 $5E?G5?<>< �5?4DGEL «�5 >ED4=5 
>>DG64NM5= ED54O» ND<4<G5E><5 ?<F4 < <=4<6<4G4?L=O5 ?D54?D<=<<4F5?< 
?D< >EGM5EF6?5=<< E>7O=EF65==>= < <=>= 45OF5?L=>EF<, >>47O64NM5= 6D54=>5 
6>745=EF6<5 =4 >>DG64NMGN ED54G, >5O74=O >55E?5G<64FL >EGM5EF6?5=<5 
?D><76>4EF65==>7> >>=FD>?O 6 >5?4EF< >ED4=O >>DG64NM5= ED54O.   

% GG5F>< =4?<G<O EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 =5>5E>4<<> 
>EGM5EF6?OFL ?D><76>4EF65==O= >>=FD>?L E>EF>O=<O 4F<>ED5D=>7> 6>74GE4, 6 
F>< G<E?5 =4 7D4=<F5 GEF4=>6?5==>= %��.  

�D< ?D>6545=<< >>=FD>?O 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE >F EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 >F5>D ?D>5 < 
?D>6545=<5 <7<5D5=<= 6 >5?4EF< >ED4=O >>DG64NM5= ED54O >EGM5EF6?O5FEO ?> 
?5D5G=O< ?>>474F5?5=, GEF4=>6?5==O< 4?O 44==>7> <EF>G=<>4 6O5D>E>6 6 
D47D5L5=<< =4 6O5D>EO 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE <?< 
>><??5>E=>< ?D<D>4>>ED4==>< D47D5L5=<<. 

�5D<>4<G=>EFL ?D>6545=<O >>=FD>?O - =5 D565 >4=>7> D474 6 >64DF4? 
(?G=>F 13.1.3 ->>�<�  17.01.06-001-2017). 

�4 ?D>5>F<DG5<OE <EF>G=<>4E 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE 4>?6=4 5OFL >D74=<7>64=4 >>=EFDG>F<O <5EF >F5>D4 ?D>5 < 
?D>6545=<O <7<5D5=<= 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE. 
�7<5D<F5?L=O= GG4EF>> 4>?65= >55E?5G<64FL >F5>D ?D54EF46<F5?L=OE ?D>5 
747DO7=ONM<E 65M5EF6 6 <7<5D<F5?L=>< E5G5=<< 4?O >?D545?5=<O >5N5<=>7> 
D4EE>44 7474 6 747>E>45 < <4EE>6>= >>=F5=FD4F<< 747DO7=ONM<E 65M5EF6. 
&D55>64=<O > >D74=<74F<< <7?>65=O 6 ->>�<�  17.01.06-001-2017. 

�D>6545=<5 ?>E?5?D>5>F=>7> 4=4?<74 4>?6=> 6>?NG4FL E?54GNM<5 
<5D>?D<OF<O: 

4) >>=FD>?L E>5?N45=<= ?D>5>F=OE D5L5=<= 6 >5?4EF< >ED4=O 
>>DG64NM5= ED54O < 4DG7<E GE?>6<=, 74?>65==OE 6 >FG5F5 ?> ���%; 

5) ?>445D64=<5 =44?564M57> E4=<F4D=>7> E>EF>O=<O =4 >F6545==OE ?>4 
?D>5>F<DG5<O5 D45>FO F5DD<F>D<OE; 

6) ?D>6545=<5 D57G?OD=OE F5E=<G5E><E >E<>FD>6 < D5<>=F=OE D45>F. 
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10 �O6>4O ?> D57G?LF4F4< ?D>6545=<O ���% 

�?4=<DG5<4O E>7O=EF65==4O 45OF5?L=>EFL ?D54EF46?O5F E>5>= 
D5>>=EFDG>F<N GG4EF>4 4D>5?5=<O, 6>?NG4NMGN D5>>=EFDG>F<N 
EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< �1-�8, D47D45>F4==OE ?> ?D>5>FG ��%� 
668-108-/25.1.2.5-01-214�-��-01; 45<>=F46 EGM5EF6GNM<E >55E?O?<64NM<E 

GEF4=>6>> F<?4 HKAF 36/100-K; <E 74<5=G =4 >F45?L=> EF>OM<5 EGE<5 DG>46=O5 
D<?LFDO �1, �2 E 46F><4F<G5E>>= E<EF5<>= <<?G?LE=>= >G<EF><  E64FO< 
6>74GE><.  

�D>5>F<DG5<O= >5N5>F ??>M44LN 0,2820574 D4E?>?>65= 6 F5=FD4?L=>= 
G4EF< F5DD<F>D<< ?D><??>M44>< �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=». 'G4EF>> >7D4=<G5= EGM5EF6GNM<<< 46F><>5<?L=O<< 
4>D>74<<, 74?5D5O<<.  

�D4E=>E?>5>4E><= DG4=<> 2$' D4E?>?>65= 6 D4=>=5 45D565=L �>?>FG<FO 
< �>EO=<G<, %>?<7>DE>>7> D4=>=4 �<=E>>= >5?4EF<. %> 6E5E EF>D>= F5DD<F>D<O 
DG4=<>4 >>DG65=4 E5?LE>7G7>4LO<<. �?<64=L4O 6<?4O 7>=4 3 4. �>EO=<G< 3 

=4E>4<FEO =4 D4EEF>O=<< 745 < =4 N7>-6>EF>> >F DG4=<>4. 
�?<64=L<= ?>65DE=>EF=O= 6>4=O= >5N5>F 3 D. %<65?L74 ?D>F5>45F =4 

D4EEF>O=<< 5>?55 2 >< 6>EF>G=55 ?D>5>F<DG5<>7> >5N5>F4. 
$47<5D E4=<F4D=>-74M<F=>= 7>=O ??>M44>< ?D54?D<OF<O GEF4=>6?5= 

E>7?4E=> �D>5>FG 5212-19 - %�� (>>DD5>F<D>6>4), D47D45>F4==><G �%' 
«&5??>M=5D7>=4?44>4» 6 2019 7>4G, < E>EF46?O5F >F >D74=<7>64==OE 
EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 ?> 6>EL<< DG<54< >F 470 4> 500 < (E565D 3 

500 <, 74?44 3 470 <, 6>EF>> 3 475 <, N7 3 500 <, E565D>-74?44 3 500 <, N7>-74?44 
3 500 <, N7>-6>EF>> 3 500 <, E565D>-6>EF>> 3 470 <). 

�7<5=5=<5 7D4=<F EGM5EF6GNM57> D47<5D4 E4=<F4D=>-74M<F=>= 7>=O 
?D>5>F>< =5 ?D54GE<4FD<645FEO. 

�> D57G?LF4F4< ?D>6545=<O >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G 
??4=<DG5<>= 45OF5?L=>EF< E45?4=O E?54GNM<5 6O6>4O.  

%>EF>O=<5 >>DG64NM5= ED54O 6 D4=>=5 ?D54?>?4745<>7> D47<5M5=<O 
?D><76>4EF64 6 F5?>< 5?47>?D<OF=>5. 

&5DD<F>D<O D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< =5 
>5D5<5=5=4 ?D<D>4>>ED4==O<< >7D4=<G5=<O<<.  

�> D57G?LF4F4< ?D>6545=<O ���% GEF4=>6?5=>, GF> ?D< D54?<74F<< 
??4=<DG5<>= 45OF5?L=>EF< >E=>6=>5 6>745=EF6<5 5G45F >>474=> =4 4F<>ED5D=O= 
6>74GE. �EF>G=<>4<< 6O45?5=<O 747DO7=ONM<E 65M5EF6 3 F5E=>?>7<G5E>>5 
>5>DG4>64=<5, 747DO7=ONM<5 65M5EF64 3 F65D4O5 G4EF<FO 
(=54<DD5D5=F<D>64==4O ?> E>EF46G ?O?L/4MD>7>?L), <4E?> <<=5D4?L=>5. 

%G<<4D=O= 64?>6O= 6O5D>E 747DO7=ONM<E 65M5EF6 E>7?4E=> 4>FG 
<=65=F4D<74F<< 6 2020 7. c GG5F>< ?D>5>F<DG5<OE <EF>G=<>>6 E>EF46?O? 
14,837188F/7>4. � E6O7< E G65?<G5=<5< 6O5D>E>6 747DO7=ONM<E 65M5EF6 >F 
?D>5>F<DG5<OE <EF>G=<>>6 E 20 <7/<3 4> 50 <7/<3 (>>?<G5EF6> <EF>G=<>>6 
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>EF45FEO 557 <7<5=5=<=) EG<<4D=O= 64?>6O= 6O5D>E 747DO7=ONM<E 65M5EF6 
E>EF46?O5F 25,5212 F/7>4.  

�=4?<7 D57G?LF4F>6 D4EG5F>6 D4EE5<64=<O ?>>474?, GF> <4>E<<4?L=> 
D47>6O5 >>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 ?> >F45?L=O< <=7D54<5=F4< =4 
D4EE<4FD<645<>= F5DD<F>D<< 6 D4EG5F=OE F>G>4E =4 7D4=<F5 E4=<F4D=>-

74M<F=>= 7>=O, 7D4=<FO 6<?>= 74EFD>=>< =5 ?D56OL4NF GEF4=>6?5==OE 
?>>474F5?< 557>?4E=>EF< < 5576D54=>EF< 4F<>ED5D=>7> 6>74GE4.  

�E=>6O64OEL =4 D57G?LF4F4E D4EG5F>6 D4EE5<64=<O 747DO7=ONM<E 
65M5EF6 6 4F<>ED5D=>< 6>74GE5 E GG5F>< D>=>6OE >>=F5=FD4F<= 
747DO7=ONM<E 65M5EF6 F5DD<F>D<O 6<?>= 74EFD>=>< =5 ?>?4445F 6 7D4=<FO 
7>=O 6>745=EF6<O ?D>5>F<DG5<>7> >5N5>F4 < 7>=G 6>7<>6=>7> 7=4G<F5?L=>7> 
6D54=>7> 6>745=EF6<O (7>=4, 74 ?D545?4<< >>F>D>= <4>E<<4?L=O5 ?D<75<=O5 
>>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 6>74GE5 =5 ?D56OEOF 
=>D<4F<6O >4G5EF64 4F<>ED5D=>7> 6>74GE4). 

�>745=EF6<5 =4 6<6>F=O=, D4EF<F5?L=O= <<D, ?D<D>4=O= >><??5>EO < 
>5N5>FO, ?>65DE=>EF=O5 6>4=O5 >5N5>FO =5 ?D>7=>7<DG5FEO. 

�>745=EF6<5 =4 75<5?L=O5 D5EGDEO =57=4G<F5?L=> < E6O74=> E 6>7<>6=O< 
747DO7=5=<5< 75<5?L 6> 6D5<O ?D>6545=<O EFD><F5?L=OE D45>F (GF5G>< �%�). 

�>745=EF6<5 =4 ?>65DE=>EF=O5 6>4O =5 ?D>7=>7<DG5FEO. 
�D< 6O?>?=5=<< 74>>=>44F5?L=>-=>D<4F<6=OE FD55>64=<= ?> >5D4M5=<N 

E >FE>44<<, 4 F4>65 ?D>6545=<< ?D><76>4EF65==>7> M>>?>7<G5E>>7> >>=FD>?O < 
E>5?N45=<< ?D>5>F=OE D5L5=<= ?> ED4=5=<N >FE>4>6 6 ?D54GE<>FD5==OE 
<5EF4E, =574F<6=>5 6>745=EF6<5 >FE>4>6 =4 >E=>6=O5 >><?>=5=FO ?D<D>4=>= 
ED54O =5 ?D>7=>7<DG5FEO. 

� ?D>7=>75 <7<5=5=<= E>F<4?L=>-M>>=><<G5E><E GE?>6<= =45?N44NFEO 
?>?>6<F5?L=O5 F5=45=F<<: 

§ ?D>6545==4O D5>>=EFDG>F<O ?D><76>4EF65==OE 744=<= < E>>DG65=<= 
GG4EF>4 4D>5?5=<O 6 E>>F65FEF6<< E =>6>=, 5>?55 E>6D5<5==>= F5E=>?>7<5=, 
=4?D46?5==4O =4 E>>F65FEF6<5 ?>6OL5==O< F5E=>?>7<G5E><<, F5E=<G5E><< < 
M>E??G4F4F<>==O<  FD55>64=<O< <>65F >55E?5G<FL GE?>6<O EF45<?L=>= D45>FO 
?D><??>M44>< 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» < 
?D54?D<OF<O ��� «�5?4DGEL>4?<=» 6 F5?><, GF>, >4> E?54EF6<5, 5G45F 
E>?D>6>644FLEO D>EF>< ?D<5O?<, =4?>7>6 < ??4F565= 6 5N465F, < E>744EF 
GE?>6<O 4?O GEF>=G<6>7> D476<F<O D57<>=4, ?>6OL5=<O GD>6=O 5?47>E>EF>O=<O, 
G>D5??5=<O 74>D>6LO 7D4644=, ?>6OL5=<O >4G5EF64 >5D47>64=<O < 4D. 

§ ?D>6545==4O D5>>=EFDG>F<O EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< 
6 744=<< 4D>5?5=<O E >D74=<74F<5= >D74=<7>64==>7> 6O5D>E4 >G<M5==>7> 
6>74GE4 6 4F<>ED5DG (<E>?NG4NM4O 57> 6>76D4M5=<5 6 F5E>6>5 ?D>EFD4=EF6>) 
?>?>6<F5?L=> E>465FEO =4 G?GGL5=<< GE?>6<= FDG44 =4 D45>G<E <5EF4E, 5G45F 
E?>E>5EF6>64FL F5=45=F<< > E=<65=<N ?D>D5EE<>=4?L=>= 745>?5645<>EF< =4 
?D54?D<OF<<. 
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$54?<74F<O ?D>5>F=OE D5L5=<= =5 ?>6?5G5F 74 E>5>= GEG4L5=<O 
E>EF>O=<O >>DG64NM5= ED54O 6 D4=>=5 <EE?54>64=<=.  
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11 'E?>6<O =4 ?D>5>F<D>64=<5 

&5?L D47D45>F>< GE?>6<= 4?O ?D>5>F<D>64=<O >5N5>F4 - >55E?5G5=<O 
M>>?>7<G5E>>= 557>?4E=>EF< ??4=<DG5<>= 45OF5?L=>EF< E GG5F>< 6>7<>6=OE 
?>E?54EF6<= 6 >5?4EF< >ED4=O >>DG64NM5= ED54O < D4F<>=4?L=>7> 
<E?>?L7>64=<O ?D<D>4=OE D5EGDE>6 < E6O74==OE E =<<< E>F<4?L=>-

M>>=><<G5E><E ?>E?54EF6<=, <=OE ?>E?54EF6<= ??4=<DG5<>= 45OF5?L=>EF< 4?O 
>>DG64NM5= ED54O, 6>?NG4O 74>D>6L5 < 557>?4E=>EFL ?N45=, 6<6>F=O= <<D, 
D4EF<F5?L=O= <<D, 75<?< (6>?NG4O ?>G6O), =54D4, 4F<>ED5D=O= 6>74GE, 6>4=O5 
D5EGDEO, >?<<4F, ?4=4L4DF, ?D<D>4=O5 F5DD<F>D<<, ?>4?564M<5 >E>5>= < (<?<) 
E?5F<4?L=>= >ED4=5, 4 F4>65 4?O >5N5>F>6 <EF>D<>>->G?LFGD=OE F5==>EF5= < 
(?D< =4?<G<<) 674<<>E6O75= <564G MF<<< ?>E?54EF6<O<<. 

 

�D54?>65=O E?54GNM<5 GE?>6<O =4 ?D>5>F<D>64=<5: 

" E>5?N45=<5 FD55>64=<O ->>�<� 17.01.06-001-2017 6 G4EF< =>D<O 
6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE;  

" E>5?N45=<5 FD55>64=<= %F. 101 «�D><76>4EF65==O5 =45?N45=<O 
6 >5?4EF< >ED4=O >>DG64NM5= ED54O, D4F<>=4?L=>7> (GEF>=G<6>7>) 
<E?>?L7>64=<O ?D<D>4=OE D5EGDE>6» �4>>=4 $5E?G5?<>< �5?4DGEL «�5 >ED4=5 
>>DG64NM5= ED54O», ->>�<� 17.01.06-001-2017 6 G4EF< >EGM5EF6?5=<O 
?D><76>4EF65==>7> >>=FD>?O 74 6O5D>E4<< 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG; 

" � E>>F65FEF6<< E FD55>64=<O<< 74>>=>44F5?LEF64 $5E?G5?<>< 
�5?4DGEL 6 G4EF< >5D4M5=<O E >FE>44<<:  

- ?D>5>F>< ?D54GE<>FD5FL <5EF4 6D5<5==>7> ED4=5=<O >FE>4>6 =4 
EFD><F5?L=>= ??>M44>5. 

- >55E?5G<64FL E5>D >FE>4>6 < <E D4745?5=<5 ?> 6<44<; 
- >55E?5G<64FL >5576D56<64=<5 < (<?<) <E?>?L7>64=<5 >FE>4>6 ?<5> <E 

?5D56>7>G =4 >5N5>FO >5576D56<64=<O >FE>4>6 < (<?<) =4 >5N5>FO ?> 
<E?>?L7>64=<N >FE>4>6, 4 F4>65 <E ED4=5=<5 6 E4=>F<>=<D>64==OE <5EF4E 
ED4=5=<O >FE>4>6 <?< 74E>D>=5=<5 6 E4=>F<>=<D>64==OE <5EF4E 
74E>D>=5=<O >FE>4>6; 

- 65EF< GG5F >FE>4>6 < ?D>6>4<FL <E <=65=F4D<74F<N 6 ?>DO4>5, 
GEF4=>6?5==>< 74>>=>44F5?LEF6>< >5 >5D4M5=<< E >FE>44<<; 

- D47D454FO64FL < ?D<=<<4FL <5DO ?> G<5=LL5=<N >5N5<>6 
(?D54>F6D4M5=<N) >5D47>64=<O >FE>4>6. 
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>F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G, GF65D645==>5 ?>EF4=>6?5=<5< 
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�$�������� � 3 $>=>6O5 >>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 6>74GE5 
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�$�������� � 3 �4DF4-EE5<4 <EF>G=<>>6 6O5D>E>6 
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�$�������� � 3 $4EG5F D4EE5<64=<O 747DO7=ONM<E 65M5EF6 6 4F<>ED5D5 

'�$�� «-�����» 
Copyright © 1990-2024 $�$�� «��&��$��» 

�D>7D4<<4 74D57<EFD<D>64=4 =4: '� "�4?<=?D>5>F" 
$57<EFD4F<>==O= =><5D: 01180046 

�D54?D<OF<5: 8, %>?<7>DE> ��� "�5?4DGEL>4?<=" 5 $' 

�>D>4: 944, 7.%>?<7>DE> ���"�5?4DGEL>4?<=" 2$' (20157.) 
$4=>=: 0, �57 D4=>=4 

�4D5E ?D54?D<OF<O: 
$47D45>FG<>: '=<F4D=>5 ?D54?D<OF<5 "�4?<=?D>5>F" 

���: 
����: 
�FD4E?L: 19700  �DG7<5 ?D><OL?5==O ?D><76>4EF64 

�5?<G<=4 =>D<4F<6=>= E4=7>=O: 500 < 

���: 2, �4==O5 2019 

�$: 1, 5�7.13 EF.% 

$4EG5F=O5 >>=EF4=FO:  S=999999,99 

$4EG5F: «$4EG5F D4EE5<64=<O ?> �$$-2017» (7<<4) 
$4EG5F 7465DL5= GE?5L=>.   $4EEG<F4=> 2 65M5EF6/7DG?? EG<<4F<<. 

�5F5>D>?>7<G5E><5 ?4D4<5FDO 

$4EG5F=4O F5<?5D4FGD4 =4<5>?55 E>?>4=>7> <5EOF4, °C: -4,2 

$4EG5F=4O F5<?5D4FGD4 =4<5>?55 F5??>7> <5EOF4, °%: 21,3 

�>MDD<F<5=F �, 746<EOM<= >F F5<?5D4FGD=>= EFD4F<D<>4F<< 4F<>ED5DO:  160 

U* 3 E>>D>EFL 65FD4, =45?N445<4O =4 44==>= <5EF=>EF<, ?>6F>DO5<>EFL ?D56OL5=<O 
>>F>D>= =4E>4<FEO 6 ?D545?4E 5%, </E: 6 

�?>F=>EFL 4F<>ED5D=>7> 6>74GE4, >7/<3: 1,29 

%>>D>EFL 76G>4, </E: 331 
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�4D4<5FDO <EF>G=<>>6 6O5D>E>6 

'G5F: 
"%"  - <EF>G=<> GG<FO645FEO E <E>?NG5=<5< <7 D>=4; 
"+"  - <EF>G=<> GG<FO645FEO 557 <E>?NG5=<O <7 D>=4; 
"-"  - <EF>G=<> =5 GG<FO645FEO < 57> 6>?44 <E>?NG45FEO <7 D>=4. 

&<?O <EF>G=<>>6: 
1 - &>G5G=O=; 
2 - �<=5==O=; 
3 - �5>D74=<7>64==O=; 
4 - %>6>>G?=>EFL F>G5G=OE <EF>G=<>>6; 
5 - % 746<E<<>EFLN <4EEO 6O5D>E4 >F E>>D>EF< 65FD4; 
6 - &>G5G=O=, E 7>=F>< <?< 6O5D>E>< 7>D<7>=F4?L=>; 
7 - %>6>>G?=>EFL F>G5G=OE (7>=F <?< 6O5D>E 65>>); 
8 - �6F><47<EFD4?L (=5>D74=<7>64==O= ?<=5==O=); 
9 - &>G5G=O=, E 6O5D>E>< 65>>; 
10 - %65G4; 
11- �5>D74=<7>64==O= (?>?<7>=); 
12 - �5D546<6=>=; 
13 - �5D546<6=>= (=5>D74=<7>64==O=). 

'G5F 
?D< 

D4EG. 
7 

<EF. �4<<5=>64=<5 <EF>G=<>4 �4D. &<? 
�OE>F4 

<EF. 
(<) 

�<4<5FD 
GEFLO 

(<) 

�5N5< 
��% 

(>G5.</E) 

%>>D>EFL 
��% 
(</E) 

�?>F=>EF
L 

��%, 
(>7/>G5.<) 

&5<?. 
��% 
(°%) 

,<D<=4 
<EF>G. 

(<) 

�F>?>=5=<5 
6O5D>E4, 7D44 

�>MD
. 

D5?. 

�>>D4<=4FO 

X1 
(<) 

Y1 
(<) 

X2 
(<) 

Y2 
(<) '7>? �4?D46?. 

7 ??.: 0, 7 F5E4: 1 

% 2257 &DG54 1 1 24,00 0,33 2,00 24,05 1,29 140,00 0,00 - - 1 115,00 59,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0124 �44<<= < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 >44<<=) 0,0000020 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

0140 �54L < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 <54L) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

0164 �<>5?L >>E<4 0,0020000 0,000000 3 0,00 0,00 0,00 0,02 120,85 1,49 

0183 $FGFL < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 DFGFL) 0,0000020 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

0184 %6<=5F < 57> E>54<=5=<O 0,0000520 0,000013 3 0,00 0,00 0,00 0,01 120,85 1,49 

0228 %D><4 FD5E64?5=F=O5 E>54<=5=<O (6 ?5D5EG5F5 =4 Cr(3+)) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

0229 &<=> < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 F<=>) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,2280000 0,819000 1 0,00 0,00 0,00 0,03 241,70 1,49 

0304 �7>F (II) >>E<4 (�7>F <>=>>>E<4) 0,0000000 0,133000 1 0,00 0,00 0,00 0,00 241,70 1,49 

0325 �OLLO> < 57> E>54<=5=<O 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

0328 '7?5D>4 G5D=O=  (%464) 0,0110000 0,003000 3 0,00 0,00 0,00 0,01 120,85 1,49 

0330 %5D4 4<>>E<4 0,3210000 0,078000 1 0,00 0,00 0,00 0,02 241,70 1,49 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,2410000 0,540000 1 0,00 0,00 0,00 0,00 241,70 1,49 

0703 �5=7/4/?<D5= 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 
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0830 �5>E4E?>D55=7>? 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

3620 �<>>E<=O 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 241,70 1,49 

3920 �>?<E?>D<D>64==O5 5<D5=<?O (?> EG<<5 �%�) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 120,85 1,49 

% 2258 &DG54 1 1 25,00 1,00 6,80 8,66 1,29 150,00 0,00 - - 1 112,00 52,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0124 �44<<= < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 >44<<=) 0,0000140 0,000002 3 0,00 0,00 0,00 0,00 165,37 2,50 

0140 �54L < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 <54L) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0164 �<>5?L >>E<4 0,0130000 0,002000 3 0,00 0,00 0,00 0,09 165,37 2,50 

0183 $FGFL < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 DFGFL) 0,0000140 0,000002 3 0,00 0,00 0,00 0,00 165,37 2,50 

0184 %6<=5F < 57> E>54<=5=<O 0,0003550 0,000044 3 0,00 0,00 0,00 0,03 165,37 2,50 

0228 %D><4 FD5E64?5=F=O5 E>54<=5=<O (6 ?5D5EG5F5 =4 Cr(3+)) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0229 &<=> < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 F<=>) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,5280000 1,128000 1 0,00 0,00 0,00 0,05 330,73 2,50 

0304 �7>F (II) >>E<4 (�7>F <>=>>>E<4) 0,0000000 0,183000 1 0,00 0,00 0,00 0,00 330,73 2,50 

0325 �OLLO> < 57> E>54<=5=<O 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0328 '7?5D>4 G5D=O=  (%464) 0,0730000 0,009000 3 0,00 0,00 0,00 0,03 165,37 2,50 

0330 %5D4 4<>>E<4 2,2110000 0,274000 1 0,00 0,00 0,00 0,10 330,73 2,50 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,4400000 1,175000 1 0,00 0,00 0,00 0,00 330,73 2,50 

0703 �5=7/4/?<D5= 0,0000020 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0830 �5>E4E?>D55=7>? 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

3620 �<>>E<=O 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 330,73 2,50 

3920 �>?<E?>D<D>64==O5 5<D5=<?O (?> EG<<5 �%�) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

% 2259 &DG54 1 1 25,00 1,00 6,80 8,66 1,29 150,00 0,00 - - 1 110,00 49,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0124 �44<<= < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 >44<<=) 0,0000140 0,000002 3 0,00 0,00 0,00 0,00 165,37 2,50 

0140 �54L < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 <54L) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0164 �<>5?L >>E<4 0,0130000 0,002000 3 0,00 0,00 0,00 0,09 165,37 2,50 

0183 $FGFL < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 DFGFL) 0,0000140 0,000002 3 0,00 0,00 0,00 0,00 165,37 2,50 

0184 %6<=5F < 57> E>54<=5=<O 0,0003550 0,000044 3 0,00 0,00 0,00 0,03 165,37 2,50 

0228 %D><4 FD5E64?5=F=O5 E>54<=5=<O (6 ?5D5EG5F5 =4 Cr(3+)) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 
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0229 &<=> < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 F<=>) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,5280000 1,128000 1 0,00 0,00 0,00 0,05 330,73 2,50 

0304 �7>F (II) >>E<4 (�7>F <>=>>>E<4) 0,0000000 0,183000 1 0,00 0,00 0,00 0,00 330,73 2,50 

0325 �OLLO> < 57> E>54<=5=<O 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0328 '7?5D>4 G5D=O=  (%464) 0,0730000 0,009000 3 0,00 0,00 0,00 0,03 165,37 2,50 

0330 %5D4 4<>>E<4 2,2110000 0,274000 1 0,00 0,00 0,00 0,10 330,73 2,50 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,4400000 1,175000 1 0,00 0,00 0,00 0,00 330,73 2,50 

0703 �5=7/4/?<D5= 0,0000020 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

0830 �5>E4E?>D55=7>? 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

3620 �<>>E<=O 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 330,73 2,50 

3920 �>?<E?>D<D>64==O5 5<D5=<?O (?> EG<<5 �%�) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 165,37 2,50 

% 2308 &DG54. 4<75?L75=5D4F>D 1 1 4,00 0,02 0,01 22,60 1,29 177,00 0,00 - - 1 141,00 99,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0124 �44<<= < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 >44<<=) 0,0000030 0,000000 3 0,00 0,00 0,00 0,42 6,85 0,50 

0140 �54L < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 <54L) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

0164 �<>5?L >>E<4 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

0183 $FGFL < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 DFGFL) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

0184 %6<=5F < 57> E>54<=5=<O 0,0000060 0,000000 3 0,00 0,00 0,00 0,25 6,85 0,50 

0228 %D><4 FD5E64?5=F=O5 E>54<=5=<O (6 ?5D5EG5F5 =4 Cr(3+)) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

0229 &<=> < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 F<=>) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0690000 0,003000 1 0,00 0,00 0,00 3,85 13,71 0,50 

0325 �OLLO> < 57> E>54<=5=<O 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

0328 '7?5D>4 G5D=O=  (%464) 0,0050000 0,000000 3 0,00 0,00 0,00 1,39 6,85 0,50 

0330 %5D4 4<>>E<4 0,0070000 0,000000 1 0,00 0,00 0,00 0,20 13,71 0,50 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,0480000 0,002000 1 0,00 0,00 0,00 0,13 13,71 0,50 

0830 �5>E4E?>D55=7>? 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 

1325 
$>D<4?L457<4 (�GD46L<=O= 4?L457<4, >>E><5F4=, 

<5F<?5=>>E<4) 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 13,71 0,50 

2754 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %11-%19 0,0240000 0,001000 1 0,00 0,00 0,00 0,33 13,71 0,50 

3620 �<>>E<=O 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 13,71 0,50 

3920 �>?<E?>D<D>64==O5 5<D5=<?O (?> EG<<5 �%�) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 6,85 0,50 
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7 ??.: 0, 7 F5E4: 2 

% 2265 &DG54 1 1 3,00 0,15 0,06 3,40 1,29 18,00 0,00 - - 1 -173,00 -157,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

2908 �O?L =5>D74=<G5E>4O: 70-20% SiO2 0,0050000 0,010000 3 0,00 0,00 0,00 1,06 5,86 0,50 

7 ??.: 0, 7 F5E4: 3 

% 2300 �OE. >?4?4= 1 1 3,00 0,05 0,00 1,70 1,29 18,00 0,00 - - 1 94,00 68,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0401 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %1-%10 0,0040000 0,000000 1 0,00 0,00 0,00 0,01 8,15 0,50 

0551 '7?56>4>D>4O 4F<>?<G5E><5 0,0050000 0,000000 1 0,00 0,00 0,00 0,16 8,15 0,50 

0655 '7?56>4>D>4O 4D><4F<G5E><5 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 8,15 0,50 

2754 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %11-%19 0,0110000 0,001000 1 0,00 0,00 0,00 0,48 8,15 0,50 

7 ??.: 0, 7 F5E4: 4 

% 2301 �5D?5>F>D (��%) 1 1 7,00 0,40 0,15 1,20 1,29 18,00 0,00 - - 1 52,00 -74,50 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 21,60 0,51 

0328 '7?5D>4 G5D=O=  (%464) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 10,80 0,51 

0330 %5D4 4<>>E<4 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 21,60 0,51 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,0020000 0,000000 1 0,00 0,00 0,00 0,00 21,60 0,51 

2754 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %11-%19 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 21,60 0,51 

7 ??.: 0, 7 F5E4: 5 

% 2302 &DG54. %F<D. <4L., 7?44<?>4 1 1 15,00 0,25 0,38 7,84 1,29 22,00 0,00 - - 1 82,50 -177,50 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0150 �4FD<= 7<4D>>E<4 (�4FD 54><=) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 29,28 0,57 

7 ??.: 0, 7 F5E4: 6 

% 2303 &DG54. �4DO4>4 4>>G<. 1 1 6,00 0,30 0,57 8,10 1,29 16,00 0,00 - - 1 2,00 -63,50 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0322 %5D=4O ><E?>F4 (?> <>?5>G?5 H2SO4) 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 44,22 0,81 

% 2304 �5D?5>F>D. �4DO4>4 4>>G<. 1 1 6,00 0,40 0,15 1,20 1,29 16,00 0,00 - - 1 4,00 -58,00 0,00 0,00 
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�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0342 $F>D<4O 747>>5D47=O5 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 19,39 0,52 

7 ??.: 0, 7 F5E4: 7 

% 2307 &DG54 1 1 5,00 5,00 353,43 18,00 1,29 16,00 0,00 - - 1 -213,50 -112,50 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

2902 &65D4O5 G4EF<FO EG<<4D=> 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 193,49 51,48 

7 ??.: 0, 7 F5E4: 8 

% 2309 �D>4G6>G=4O E65G4 1 1 10,50 0,03 0,02 32,60 1,29 16,00 0,00 - - 1 125,00 77,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0410 �5F4= 0,0920000 0,000000 1 0,00 0,00 0,00 0,00 32,87 0,50 

1728 -F<?<5D>4?F4= 0,0000000 0,000000 1 0,00 0,00 0,00 0,00 32,87 0,50 

7 ??.: 0, 7 F5E4: 9 

+ 1 &DG54 1 1 30,50 0,80 5,30 10,54 1,29 18,00 0,00 - - 1 -69,50 47,00 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

2902 &65D4O5 G4EF<FO EG<<4D=> 0,2650000 7,785000 3 0,00 0,00 0,00 0,10 111,99 1,02 

+ 2 &DG54 1 1 30,50 0,80 5,30 10,54 1,29 18,00 0,00 - - 1 -73,00 37,50 0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

2902 &65D4O5 G4EF<FO EG<<4D=> 0,2650000 7,785000 3 0,00 0,00 0,00 0,10 111,99 1,02 

% 6240 %64D>4, D57>4 1 3 5,00 0,00 0,00 0,00 1,29 - 0,50 - - 1 -97,00 49,50 -98,00 50,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0130 �5F 6 E?D46>G=<>5 65M5EF6 0,0100000 0,021000 1 0,00 0,00 0,00 0,00 28,50 0,50 

0140 �54L < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 <54L) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 14,25 0,50 

0143 
�4D74=5F < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 <4D74=5F (IV) 

>>E<4) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 14,25 0,50 

0203 %D>< (6 ?5D5EG5F5 =4 ED><4 (VI) >>E<4) 0,0003080 0,000023 3 0,00 0,00 0,00 1,56 14,25 0,50 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0050000 0,011000 1 0,00 0,00 0,00 0,07 28,50 0,50 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,0070000 0,014000 1 0,00 0,00 0,00 0,00 28,50 0,50 
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0342 $F>D<4O 747>>5D47=O5 0,0010000 0,000000 1 0,00 0,00 0,00 0,17 28,50 0,50 

2908 �O?L =5>D74=<G5E>4O: 70-20% SiO2 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 14,25 0,50 

7 ??.: 0, 7 F5E4: 10 

% 6241 %5?4D4F>D 1 3 2,00 0,00 0,00 0,00 1,29 - 0,50 - - 1 64,50 39,50 65,00 40,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

2754 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %11-%19 0,0060000 0,083000 1 0,00 0,00 0,00 0,17 11,40 0,50 

7 ??.: 0, 7 F5E4: 11 

% 6242 ��% 1 3 2,00 0,00 0,00 0,00 1,29 - 0,50 - - 1 162,00 -157,00 121,00 -272,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0600000 0,000000 1 0,00 0,00 0,00 6,86 11,40 0,50 

0328 '7?5D>4 G5D=O=  (%464) 0,0020000 0,000000 3 0,00 0,00 0,00 1,14 5,70 0,50 

0330 %5D4 4<>>E<4 0,0090000 0,000000 1 0,00 0,00 0,00 0,51 11,40 0,50 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 1,2720000 0,000000 1 0,00 0,00 0,00 7,27 11,40 0,50 

0401 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %1-%10 0,0900000 0,000000 1 0,00 0,00 0,00 0,10 11,40 0,50 

2754 '7?56>4>D>4O ?D545?L=O5 4?<D4F<G5E>>7> DO44 %11-%19 0,1010000 0,000000 1 0,00 0,00 0,00 2,89 11,40 0,50 

7 ??.: 0, 7 F5E4: 12 

% 6250 %64D>4, D57>4 1 3 5,00 0,00 0,00 0,00 1,29 - 0,50 - - 1 -84,50 106,00 -85,00 107,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0123 �5?57> < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 65?57>) 0,0100000 0,037000 3 0,00 0,00 0,00 0,51 14,25 0,50 

0140 �54L < 55 E>54<=5=<O (6 ?5D5EG5F5 =4 <54L) 0,0010000 0,000000 3 0,00 0,00 0,00 3,37 14,25 0,50 

0143 
�4D74=5F < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 <4D74=5F (IV) 

>>E<4) 0,0000000 0,001000 3 0,00 0,00 0,00 0,00 14,25 0,50 

0203 %D>< (6 ?5D5EG5F5 =4 ED><4 (VI) >>E<4) 0,0003080 0,000053 3 0,00 0,00 0,00 1,56 14,25 0,50 

0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0050000 0,019000 1 0,00 0,00 0,00 0,07 28,50 0,50 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 0,0070000 0,025000 1 0,00 0,00 0,00 0,00 28,50 0,50 

0342 $F>D<4O 747>>5D47=O5 0,0010000 0,000000 1 0,00 0,00 0,00 0,17 28,50 0,50 

2908 �O?L =5>D74=<G5E>4O: 70-20% SiO2 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 14,25 0,50 

7 ??.: 0, 7 F5E4: 13 

% 6252 %64D>4 1 3 5,00 0,00 0,00 0,00 1,29 - 0,50 - - 1 114,00 22,50 115,00 23,00 
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�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0123 �5?57> < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 65?57>) 0,0030000 0,001000 3 0,00 0,00 0,00 0,15 14,25 0,50 

0143 
�4D74=5F < 57> E>54<=5=<O (6 ?5D5EG5F5 =4 <4D74=5F (IV) 

>>E<4) 0,0000000 0,000000 3 0,00 0,00 0,00 0,00 14,25 0,50 

0342 $F>D<4O 747>>5D47=O5 0,0010000 0,000000 1 0,00 0,00 0,00 0,17 28,50 0,50 

7 ??.: 0, 7 F5E4: 14 

+ 6001 �>46<6=O5 G??>F=5=<O 1 3 2,00 0,00 0,00 0,00 1,29 - 0,50 - - 1 -46,00 -2,50 -47,00 -2,50 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�O5D>E, 

(7/E) �O5D>E, (F/7) F 
�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

2735 �4E?> <<=5D4?L=>5 =5DFO=>5 0,0220000 0,646000 1 0,00 0,00 0,00 12,57 11,40 0,50 
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�O5D>EO <EF>G=<>>6 ?> 65M5EF64< 

&<?O <EF>G=<>>6: 
1 - &>G5G=O=; 
2 - �<=5==O=; 
3 - �5>D74=<7>64==O=; 
4 - %>6>>G?=>EFL F>G5G=OE <EF>G=<>>6; 
5 - % 746<E<<>EFLN <4EEO 6O5D>E4 >F E>>D>EF< 65FD4; 
6 - &>G5G=O=, E 7>=F>< <?< 6O5D>E>< 7>D<7>=F4?L=>; 
7 - %>6>>G?=>EFL F>G5G=OE (7>=F <?< 6O5D>E 65>>); 
8 - �6F><47<EFD4?L (=5>D74=<7>64==O= ?<=5==O=); 
9 - &>G5G=O=, E 6O5D>E>< 6 5>>; 
10 - %65G4; 
11- �5>D74=<7>64==O= (?>?<7>=); 
12 - �5D546<6=>=; 
13 - �5D546<6=>= (=5>D74=<7>64==O=). 

�5M5EF6>: 2735 
�4E?> <<=5D4?L=>5 =5DFO=>5 

7 
??. 

7 
F5E. 

7 
<EF. &<? 

�O5D>E 
(7/E) F 

�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0 14 6001 3 0,0220000 1 0,00 0,00 0,00 12,57 11,40 0,50 

�F>7>: 0,0220000  0,00  12,57  

�5M5EF6>: 2902 
&65D4O5 G4EF<FO EG<<4D=> 

7 
??. 

7 
F5E. 

7 
<EF. &<? 

�O5D>E 
(7/E) F 

�5F> �<<4 

Cm/��� Xm Um Cm/��� Xm Um 

0 7 2307 1 0,0000000 3 0,00 0,00 0,00 0,00 193,49 51,48 

0 9 1 1 0,2650000 3 0,00 0,00 0,00 0,10 111,99 1,02 

0 9 2 1 0,2650000 3 0,00 0,00 0,00 0,10 111,99 1,02 

�F>7>: 0,5300000  0,00  0,20  
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$4EG5F ?D>6>4<?EO ?> 65M5EF64< (7DG??4< EG<<4F<<) 

�>4 �4<<5=>64=<5 65M5EF64 

�D545?L=> 4>?GEF<<4O >>=F5=FD4F<O 
$>=>64O 
>>=F5=FD. 

 

$4EG5F <4>E<<4?L=OE 
>>=F5=FD4F<= 

$4EG5F 
ED54=57>4>6OE 
>>=F5=FD4F<= 

$4EG5F 
ED54=5EGF>G=OE 

>>=F5=FD4F<= 

 

&<? �=4G5=<5 &<? �=4G5=<5 &<? �=4G5=<5 'G5F �=F5D?.  

2735 �4E?> <<=5D4?L=>5 =5DFO=>5 ��� </D 0,05 ��� E/7 0,005 ��� E/E 0,02 �5F �5F  

2902 &65D4O5 G4EF<FO EG<<4D=> ��� </D 0,3 ��� E/7 0,1 - - �4 �5F  
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�>EFO <7<5D5=<O D>=>6OE >>=F5=FD4F<= 

7 ?>EF4 �4<<5=>64=<5 
�>>D4<=4FO (<) 

X Y 

2  0,00 0,00 

�>4 6-64 �4<<5=>64=<5 65M5EF64 
�4>E<<4?L=4O >>=F5=FD4F<O *  %D54=OO 

>>=F5=FD4F<O * ,F<?L %565D �>EF>> .7 �4?44 

0301 
�7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 

47>F4) 0,034 0,034 0,034 0,034 0,034 0,000 

0303 �<<<4> (�7>F4 7<4D<4) 0,053 0,053 0,053 0,053 0,053 0,000 

0330 %5D4 4<>>E<4 0,046 0,046 0,046 0,046 0,046 0,000 

0337 
'7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 

<>=>>><EL; G74D=O= 747) 0,575 0,575 0,575 0,575 0,575 0,000 

1071 $5=>? (7<4D>>E<55=7>?) 0,002 0,002 0,002 0,002 0,002 0,000 

1325 
$>D<4?L457<4 (�GD46L<=O= 4?L457<4, 

>>E><5F4=, <5F<?5=>>E<4) 0,020 0,020 0,020 0,020 0,020 0,000 

2902 &65D4O5 G4EF<FO EG<<4D=> 0,042 0,042 0,042 0,042 0,042 0,000 

* $>=>6O5 >>=F5=FD4F<< <7<5DONFEO 6 <7/<3 4?O 65M5EF6 < 4>?OE ?D<6545==>= ��� 4?O 7DG?? EG<<4F<<  
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�5D55>D <5F5>?4D4<5FD>6 ?D< D4EG5F5 

'F>G=5==O= ?5D55>D 

 

   

 

�5D55>D E>>D>EF5= 65FD4 >EGM5EF6?O5FEO 46F><4F<G5E>< 
 

 �4?D46?5=<5 65FD4  

 �4G4?> E5>F>D4 �>=5F E5>F>D4 ,47 ?5D55>D4 65FD4 
 

 
0 360 1 
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$4EG5F=O5 >5?4EF< 

$4EG5F=O5 F>G>< 

�>4 

�>>D4<=4FO (<) 
�OE>F4 (<) &<? F>G>< �><<5=F4D<= 

X Y 

1 -18,00 666,00 2,00 =4 7D4=<F5 %��  

2 450,00 439,00 2,00 =4 7D4=<F5 %��  

3 615,00 59,00 2,00 =4 7D4=<F5 %��  

4 99,00 -600,00 2,00 =4 7D4=<F5 %��  

5 -592,00 -102,00 2,00 =4 7D4=<F5 %��  

6 -518,00 160,00 2,00 =4 7D4=<F5 %��  

7 570,00 -842,50 2,00 =4 7D4=<F5 6<?>= 7>=O  
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$57G?LF4FO D4EG5F4 ?> 65M5EF64< 
(D4EG5F=O5 ??>M44><) 

 

�5M5EF6>: 2735 
�4E?> <<=5D4?L=>5 =5DFO=>5 

�?>M44>4: 1 

 

�4D4<5FDO D4EG5F=>= ??>M44><: 

&<? 

�>?=>5 >?<E4=<5 ??>M44>< 

,<D<=4, 
(<) 

,47, 
(<) �OE>F4, 

(<) 
�>>D4<=4FO E5D54<=O 

1-= EF>D>=O (<) 
�>>D4<=4FO E5D54<=O 

2-= EF>D>=O (<) 

X Y X Y X Y 

�>?=>5 >?<E4=<5 -713,00 -82,00 662,25 -82,00 1380,00 100,00 100,00 2 

�>?5 <4>E<<4?L=OE >>=F5=FD4F<= 

�>>D4 
X(<) 

�>>D4 
Y(<) 

�>=F5=FD
. 

(4. ���) 
�>=F5=FD. 
(<7/>G5.<) 

�4?D. 
65FD4 

%>>D. 
65FD4 

$>= $>= 4> <E>?NG5=<O 

4>?< ��� <7/>G5.< 4>?< ��� <7/>G5.< 

-13,00 8,00 6,70 0,335 253 0,70 - - - - 

-113,00 8,00 2,96 0,148 99 0,90 - - - - 

-13,00 -92,00 1,72 0,086 339 1,20 - - - - 

-113,00 -92,00 1,34 0,067 37 2,00 - - - - 

-13,00 108,00 1,27 0,064 197 2,30 - - - - 

-113,00 108,00 1,09 0,054 149 3,30 - - - - 

87,00 8,00 1,03 0,052 266 3,60 - - - - 

87,00 -92,00 0,82 0,041 304 5,10 - - - - 

-213,00 8,00 0,78 0,039 94 5,50 - - - - 

87,00 108,00 0,74 0,037 230 5,80 - - - - 

-213,00 -92,00 0,67 0,033 62 6,00 - - - - 

-13,00 -192,00 0,65 0,033 350 6,00 - - - - 

-213,00 108,00 0,62 0,031 124 6,00 - - - - 

-113,00 -192,00 0,62 0,031 19 6,00 - - - - 

-13,00 208,00 0,57 0,029 189 6,00 - - - - 

-113,00 208,00 0,54 0,027 162 6,00 - - - - 

87,00 -192,00 0,51 0,025 325 6,00 - - - - 

187,00 8,00 0,50 0,025 267 6,00 - - - - 

87,00 208,00 0,45 0,023 212 6,00 - - - - 

187,00 -92,00 0,45 0,023 291 6,00 - - - - 

-213,00 -192,00 0,45 0,022 41 6,00 - - - - 

187,00 108,00 0,43 0,022 245 6,00 - - - - 

-313,00 8,00 0,41 0,020 92 6,00 - - - - 

-213,00 208,00 0,41 0,020 142 6,00 - - - - 

-313,00 -92,00 0,38 0,019 71 6,00 - - - - 

-313,00 108,00 0,36 0,018 113 6,00 - - - - 

-13,00 -292,00 0,36 0,018 353 6,00 - - - - 

-113,00 -292,00 0,35 0,017 13 6,00 - - - - 

187,00 -192,00 0,34 0,017 309 6,00 - - - - 

-13,00 308,00 0,32 0,016 186 6,00 - - - - 

187,00 208,00 0,32 0,016 228 6,00 - - - - 

-113,00 308,00 0,31 0,015 168 6,00 - - - - 
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87,00 -292,00 0,31 0,015 335 6,00 - - - - 

-313,00 -192,00 0,29 0,015 55 6,00 - - - - 

287,00 8,00 0,29 0,014 268 6,00 - - - - 

-213,00 -292,00 0,28 0,014 30 6,00 - - - - 

87,00 308,00 0,28 0,014 203 6,00 - - - - 

-313,00 208,00 0,28 0,014 128 6,00 - - - - 

287,00 -92,00 0,27 0,013 285 6,00 - - - - 

287,00 108,00 0,26 0,013 252 6,00 - - - - 

-213,00 308,00 0,26 0,013 152 6,00 - - - - 

-413,00 8,00 0,24 0,012 92 6,00 - - - - 

187,00 -292,00 0,24 0,012 321 6,00 - - - - 

-413,00 -92,00 0,23 0,012 76 6,00 - - - - 

-413,00 108,00 0,22 0,011 107 6,00 - - - - 

287,00 -192,00 0,22 0,011 300 6,00 - - - - 

187,00 308,00 0,22 0,011 217 6,00 - - - - 

-13,00 -392,00 0,22 0,011 355 6,00 - - - - 

-313,00 -292,00 0,21 0,011 43 6,00 - - - - 

287,00 208,00 0,21 0,011 238 6,00 - - - - 

-113,00 -392,00 0,21 0,011 10 6,00 - - - - 

-313,00 308,00 0,20 0,010 139 6,00 - - - - 

87,00 -392,00 0,20 0,010 341 6,00 - - - - 

-13,00 408,00 0,20 0,010 185 6,00 - - - - 

-413,00 -192,00 0,20 0,010 63 6,00 - - - - 

-113,00 408,00 0,19 0,010 171 6,00 - - - - 

-413,00 208,00 0,19 0,009 120 6,00 - - - - 

-213,00 -392,00 0,19 0,009 23 6,00 - - - - 

87,00 408,00 0,18 0,009 198 6,00 - - - - 

387,00 8,00 0,18 0,009 269 6,00 - - - - 

287,00 -292,00 0,18 0,009 311 6,00 - - - - 

-213,00 408,00 0,17 0,009 158 6,00 - - - - 

387,00 -92,00 0,17 0,009 282 6,00 - - - - 

387,00 108,00 0,17 0,009 256 6,00 - - - - 

187,00 -392,00 0,17 0,008 329 6,00 - - - - 

287,00 308,00 0,17 0,008 227 6,00 - - - - 

-513,00 8,00 0,16 0,008 91 6,00 - - - - 

-413,00 -292,00 0,16 0,008 52 6,00 - - - - 

-313,00 -392,00 0,16 0,008 34 6,00 - - - - 

187,00 408,00 0,15 0,008 210 6,00 - - - - 

387,00 -192,00 0,15 0,008 294 6,00 - - - - 

-513,00 -92,00 0,15 0,008 79 6,00 - - - - 

-513,00 108,00 0,15 0,008 103 6,00 - - - - 

-413,00 308,00 0,15 0,008 130 6,00 - - - - 

387,00 208,00 0,15 0,007 244 6,00 - - - - 

-313,00 408,00 0,15 0,007 147 6,00 - - - - 

-13,00 -492,00 0,14 0,007 356 6,00 - - - - 

-113,00 -492,00 0,14 0,007 8 6,00 - - - - 

-513,00 -192,00 0,14 0,007 68 6,00 - - - - 

87,00 -492,00 0,14 0,007 345 6,00 - - - - 

-13,00 508,00 0,13 0,007 184 6,00 - - - - 

-513,00 208,00 0,13 0,007 114 6,00 - - - - 
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287,00 -392,00 0,13 0,007 319 6,00 - - - - 

-113,00 508,00 0,13 0,007 173 6,00 - - - - 

-213,00 -492,00 0,13 0,007 19 6,00 - - - - 

387,00 -292,00 0,13 0,006 304 6,00 - - - - 

87,00 508,00 0,13 0,006 195 6,00 - - - - 

287,00 408,00 0,13 0,006 219 6,00 - - - - 

487,00 8,00 0,12 0,006 269 6,00 - - - - 

387,00 308,00 0,12 0,006 234 6,00 - - - - 

-413,00 -392,00 0,12 0,006 43 6,00 - - - - 

-213,00 508,00 0,12 0,006 162 6,00 - - - - 

487,00 -92,00 0,12 0,006 280 6,00 - - - - 

187,00 -492,00 0,12 0,006 334 6,00 - - - - 

487,00 108,00 0,12 0,006 258 6,00 - - - - 

-513,00 -292,00 0,12 0,006 58 6,00 - - - - 

-413,00 408,00 0,12 0,006 138 6,00 - - - - 

-313,00 -492,00 0,11 0,006 29 6,00 - - - - 

-513,00 308,00 0,11 0,006 124 6,00 - - - - 

187,00 508,00 0,11 0,006 205 6,00 - - - - 

-613,00 8,00 0,11 0,005 91 6,00 - - - - 

487,00 -192,00 0,11 0,005 290 6,00 - - - - 

-613,00 -92,00 0,11 0,005 81 6,00 - - - - 

487,00 208,00 0,11 0,005 248 6,00 - - - - 

-313,00 508,00 0,11 0,005 152 6,00 - - - - 

-613,00 108,00 0,11 0,005 101 6,00 - - - - 

387,00 -392,00 0,10 0,005 312 6,00 - - - - 

-13,00 -592,00 0,10 0,005 357 6,00 - - - - 

287,00 -492,00 0,10 0,005 326 6,00 - - - - 

-113,00 -592,00 0,10 0,005 6 6,00 - - - - 

387,00 408,00 0,10 0,005 227 6,00 - - - - 

-613,00 -192,00 0,10 0,005 72 6,00 - - - - 

87,00 -592,00 0,10 0,005 347 6,00 - - - - 

-613,00 208,00 0,10 0,005 110 6,00 - - - - 

-513,00 -392,00 0,10 0,005 50 6,00 - - - - 

487,00 -292,00 0,10 0,005 298 6,00 - - - - 

287,00 508,00 0,10 0,005 213 6,00 - - - - 

-13,00 608,00 0,10 0,005 183 6,00 - - - - 

-413,00 -492,00 0,10 0,005 37 6,00 - - - - 

-213,00 -592,00 0,09 0,005 16 6,00 - - - - 

-113,00 608,00 0,09 0,005 174 6,00 - - - - 

487,00 308,00 0,09 0,005 240 6,00 - - - - 

-513,00 408,00 0,09 0,005 131 6,00 - - - - 

87,00 608,00 0,09 0,005 192 6,00 - - - - 

-413,00 508,00 0,09 0,005 144 6,00 - - - - 

-213,00 608,00 0,09 0,004 165 6,00 - - - - 

587,00 8,00 0,09 0,004 269 6,00 - - - - 

187,00 -592,00 0,09 0,004 338 6,00 - - - - 

-613,00 -292,00 0,09 0,004 63 6,00 - - - - 

587,00 -92,00 0,09 0,004 278 6,00 - - - - 

587,00 108,00 0,09 0,004 260 6,00 - - - - 

-613,00 308,00 0,09 0,004 119 6,00 - - - - 
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-313,00 -592,00 0,09 0,004 24 6,00 - - - - 

187,00 608,00 0,08 0,004 201 6,00 - - - - 

387,00 -492,00 0,08 0,004 318 6,00 - - - - 

487,00 -392,00 0,08 0,004 306 6,00 - - - - 

587,00 -192,00 0,08 0,004 287 6,00 - - - - 

-713,00 8,00 0,08 0,004 91 6,00 - - - - 

-313,00 608,00 0,08 0,004 156 6,00 - - - - 

587,00 208,00 0,08 0,004 252 6,00 - - - - 

387,00 508,00 0,08 0,004 220 6,00 - - - - 

-713,00 -92,00 0,08 0,004 82 6,00 - - - - 

487,00 408,00 0,08 0,004 232 6,00 - - - - 

-713,00 108,00 0,08 0,004 99 6,00 - - - - 

-513,00 -492,00 0,08 0,004 44 6,00 - - - - 

287,00 -592,00 0,08 0,004 331 6,00 - - - - 

-613,00 -392,00 0,08 0,004 55 6,00 - - - - 

-13,00 -692,00 0,08 0,004 357 6,00 - - - - 

-513,00 508,00 0,08 0,004 138 6,00 - - - - 

-713,00 -192,00 0,08 0,004 74 6,00 - - - - 

-113,00 -692,00 0,08 0,004 6 6,00 - - - - 

-413,00 -592,00 0,08 0,004 32 6,00 - - - - 

287,00 608,00 0,07 0,004 209 6,00 - - - - 

587,00 -292,00 0,07 0,004 295 6,00 - - - - 

-613,00 408,00 0,07 0,004 126 6,00 - - - - 

-713,00 208,00 0,07 0,004 108 6,00 - - - - 

87,00 -692,00 0,07 0,004 349 6,00 - - - - 

587,00 308,00 0,07 0,004 244 6,00 - - - - 

-213,00 -692,00 0,07 0,004 14 6,00 - - - - 

-413,00 608,00 0,07 0,004 149 6,00 - - - - 

487,00 -492,00 0,07 0,003 313 0,70 - - - - 

-713,00 -292,00 0,07 0,003 67 0,70 - - - - 

187,00 -692,00 0,07 0,003 341 0,70 - - - - 

387,00 -592,00 0,07 0,003 324 0,70 - - - - 

-713,00 308,00 0,07 0,003 115 0,70 - - - - 

487,00 508,00 0,07 0,003 226 0,70 - - - - 

-313,00 -692,00 0,07 0,003 21 0,70 - - - - 

587,00 -392,00 0,07 0,003 302 0,70 - - - - 

-613,00 -492,00 0,07 0,003 49 0,70 - - - - 

387,00 608,00 0,07 0,003 215 0,70 - - - - 

-513,00 -592,00 0,07 0,003 38 0,70 - - - - 

587,00 408,00 0,07 0,003 237 0,70 - - - - 

-613,00 508,00 0,07 0,003 132 0,70 - - - - 

287,00 -692,00 0,07 0,003 334 0,70 - - - - 

-513,00 608,00 0,07 0,003 143 0,70 - - - - 

-713,00 -392,00 0,06 0,003 60 0,70 - - - - 

-413,00 -692,00 0,06 0,003 28 0,70 - - - - 

-713,00 408,00 0,06 0,003 122 0,70 - - - - 

487,00 -592,00 0,06 0,003 318 0,70 - - - - 

587,00 -492,00 0,06 0,003 308 0,70 - - - - 

487,00 608,00 0,06 0,003 221 0,70 - - - - 

587,00 508,00 0,06 0,003 231 0,70 - - - - 
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387,00 -692,00 0,06 0,003 328 0,70 - - - - 

-613,00 -592,00 0,06 0,003 44 0,70 - - - - 

-713,00 -492,00 0,06 0,003 54 0,70 - - - - 

-513,00 -692,00 0,06 0,003 34 0,70 - - - - 

-613,00 608,00 0,06 0,003 137 0,70 - - - - 

-713,00 508,00 0,06 0,003 127 0,70 - - - - 

587,00 -592,00 0,06 0,003 313 0,70 - - - - 

487,00 -692,00 0,06 0,003 322 0,70 - - - - 

587,00 608,00 0,06 0,003 226 0,70 - - - - 

-713,00 -592,00 0,05 0,003 49 0,70 - - - - 

-613,00 -692,00 0,05 0,003 39 0,70 - - - - 

-713,00 608,00 0,05 0,003 132 0,70 - - - - 

587,00 -692,00 0,05 0,003 317 0,70 - - - - 

-713,00 -692,00 0,05 0,003 44 0,70 - - - - 
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-13,00 108,00 0,33 0,099 222 1,00 0,14 0,042 0,14 0,042 

-113,00 -92,00 0,33 0,098 17 1,10 0,14 0,042 0,14 0,042 

-13,00 -92,00 0,32 0,096 336 1,10 0,14 0,042 0,14 0,042 

-213,00 8,00 0,32 0,096 76 1,10 0,14 0,042 0,14 0,042 

-213,00 108,00 0,32 0,095 115 1,10 0,14 0,042 0,14 0,042 

-113,00 108,00 0,31 0,094 148 1,00 0,14 0,042 0,14 0,042 

87,00 8,00 0,31 0,094 282 1,10 0,14 0,042 0,14 0,042 

-113,00 208,00 0,31 0,093 166 1,10 0,14 0,042 0,14 0,042 

87,00 108,00 0,31 0,093 247 1,10 0,14 0,042 0,14 0,042 

-13,00 208,00 0,31 0,093 199 1,10 0,14 0,042 0,14 0,042 

-213,00 -92,00 0,30 0,090 47 1,20 0,14 0,042 0,14 0,042 

87,00 -92,00 0,29 0,088 310 1,20 0,14 0,042 0,14 0,042 

-13,00 8,00 0,29 0,088 300 1,00 0,14 0,042 0,14 0,042 

-213,00 208,00 0,29 0,087 139 1,20 0,14 0,042 0,14 0,042 

87,00 208,00 0,29 0,086 224 1,20 0,14 0,042 0,14 0,042 

-113,00 -192,00 0,28 0,085 10 1,20 0,14 0,042 0,14 0,042 

-13,00 -192,00 0,28 0,084 346 1,20 0,14 0,042 0,14 0,042 

-313,00 8,00 0,28 0,084 82 1,20 0,14 0,042 0,14 0,042 

-313,00 108,00 0,28 0,083 105 1,20 0,14 0,042 0,14 0,042 

187,00 8,00 0,27 0,082 278 1,30 0,14 0,042 0,14 0,042 
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187,00 108,00 0,27 0,081 256 1,30 0,14 0,042 0,14 0,042 

-113,00 308,00 0,27 0,081 171 1,30 0,14 0,042 0,14 0,042 

-13,00 308,00 0,27 0,081 192 1,30 0,14 0,042 0,14 0,042 

-213,00 -192,00 0,27 0,081 31 1,30 0,14 0,042 0,14 0,042 

-313,00 -92,00 0,27 0,080 61 1,30 0,14 0,042 0,14 0,042 

-113,00 8,00 0,27 0,080 51 1,00 0,14 0,042 0,14 0,042 

87,00 -192,00 0,27 0,080 326 1,30 0,14 0,042 0,14 0,042 

187,00 -92,00 0,26 0,079 297 1,30 0,14 0,042 0,14 0,042 

-313,00 208,00 0,26 0,078 124 1,30 0,14 0,042 0,14 0,042 

-213,00 308,00 0,26 0,078 152 1,30 0,14 0,042 0,14 0,042 

187,00 208,00 0,26 0,077 237 1,30 0,14 0,042 0,14 0,042 

87,00 308,00 0,26 0,077 211 1,30 0,14 0,042 0,14 0,042 

-313,00 -192,00 0,25 0,074 46 1,40 0,14 0,042 0,14 0,042 

-113,00 -292,00 0,25 0,074 7 1,40 0,14 0,042 0,14 0,042 

-13,00 -292,00 0,25 0,074 350 1,40 0,14 0,042 0,14 0,042 

-413,00 8,00 0,25 0,074 84 1,40 0,14 0,042 0,14 0,042 

-413,00 108,00 0,24 0,073 101 1,40 0,14 0,042 0,14 0,042 

187,00 -192,00 0,24 0,073 312 1,40 0,14 0,042 0,14 0,042 

-313,00 308,00 0,24 0,072 138 1,40 0,14 0,042 0,14 0,042 

287,00 8,00 0,24 0,072 275 1,40 0,14 0,042 0,14 0,042 

-213,00 -292,00 0,24 0,072 23 1,40 0,14 0,042 0,14 0,042 

287,00 108,00 0,24 0,072 260 1,40 0,14 0,042 0,14 0,042 

-413,00 -92,00 0,24 0,071 69 1,40 0,14 0,042 0,14 0,042 

-113,00 408,00 0,24 0,071 173 1,40 0,14 0,042 0,14 0,042 

-13,00 408,00 0,24 0,071 189 1,40 0,14 0,042 0,14 0,042 

87,00 -292,00 0,24 0,071 335 1,40 0,14 0,042 0,14 0,042 

187,00 308,00 0,24 0,071 224 1,40 0,14 0,042 0,14 0,042 

-413,00 208,00 0,23 0,070 116 1,40 0,14 0,042 0,14 0,042 

287,00 -92,00 0,23 0,070 291 1,40 0,14 0,042 0,14 0,042 

-213,00 408,00 0,23 0,069 159 1,40 0,14 0,042 0,14 0,042 

287,00 208,00 0,23 0,069 245 1,50 0,14 0,042 0,14 0,042 

87,00 408,00 0,23 0,069 203 1,50 0,14 0,042 0,14 0,042 

-313,00 -292,00 0,23 0,068 36 1,50 0,14 0,042 0,14 0,042 

-413,00 -192,00 0,23 0,068 56 1,50 0,14 0,042 0,14 0,042 

187,00 -292,00 0,22 0,067 322 1,50 0,14 0,042 0,14 0,042 

287,00 -192,00 0,22 0,067 303 1,50 0,14 0,042 0,14 0,042 

-413,00 308,00 0,22 0,067 128 1,50 0,14 0,042 0,14 0,042 

-113,00 -392,00 0,22 0,066 5 1,50 0,14 0,042 0,14 0,042 

-13,00 -392,00 0,22 0,066 352 1,50 0,14 0,042 0,14 0,042 

-313,00 408,00 0,22 0,066 147 1,50 0,14 0,042 0,14 0,042 

-513,00 8,00 0,22 0,066 86 1,50 0,14 0,042 0,14 0,042 

287,00 308,00 0,22 0,066 233 1,50 0,14 0,042 0,14 0,042 

-513,00 108,00 0,22 0,066 98 1,50 0,14 0,042 0,14 0,042 

187,00 408,00 0,22 0,066 215 1,50 0,14 0,042 0,14 0,042 

-213,00 -392,00 0,22 0,065 18 1,50 0,14 0,042 0,14 0,042 

387,00 8,00 0,22 0,065 274 1,60 0,14 0,042 0,14 0,042 

-513,00 -92,00 0,22 0,065 73 1,60 0,14 0,042 0,14 0,042 

87,00 -392,00 0,22 0,065 340 1,60 0,14 0,042 0,14 0,042 

387,00 108,00 0,22 0,065 262 1,60 0,14 0,042 0,14 0,042 

-113,00 508,00 0,21 0,064 175 1,60 0,14 0,042 0,14 0,042 



 109 

-13,00 508,00 0,21 0,064 187 1,60 0,14 0,042 0,14 0,042 

-513,00 208,00 0,21 0,064 111 1,60 0,14 0,042 0,14 0,042 

-413,00 -292,00 0,21 0,064 46 1,60 0,14 0,042 0,14 0,042 

387,00 -92,00 0,21 0,064 286 1,60 0,14 0,042 0,14 0,042 

-213,00 508,00 0,21 0,063 163 1,60 0,14 0,042 0,14 0,042 

387,00 208,00 0,21 0,063 250 1,60 0,14 0,042 0,14 0,042 

287,00 -292,00 0,21 0,063 313 1,60 0,14 0,042 0,14 0,042 

87,00 508,00 0,21 0,063 199 1,60 0,14 0,042 0,14 0,042 

-313,00 -392,00 0,21 0,063 29 1,60 0,14 0,042 0,14 0,042 

-513,00 -192,00 0,21 0,063 62 1,60 0,14 0,042 0,14 0,042 

-413,00 408,00 0,21 0,062 137 1,60 0,14 0,042 0,14 0,042 

187,00 -392,00 0,21 0,062 329 1,60 0,14 0,042 0,14 0,042 

287,00 408,00 0,21 0,062 224 1,60 0,14 0,042 0,14 0,042 

387,00 -192,00 0,21 0,062 297 1,60 0,14 0,042 0,14 0,042 

-513,00 308,00 0,21 0,062 121 1,60 0,14 0,042 0,14 0,042 

-313,00 508,00 0,20 0,061 153 1,60 0,14 0,042 0,14 0,042 

387,00 308,00 0,20 0,061 240 1,70 0,14 0,042 0,14 0,042 

187,00 508,00 0,20 0,061 209 1,70 0,14 0,042 0,14 0,042 

-113,00 -492,00 0,20 0,061 4 1,70 0,14 0,042 0,14 0,042 

-13,00 -492,00 0,20 0,061 354 1,70 0,14 0,042 0,14 0,042 

-613,00 8,00 0,20 0,060 86 1,70 0,14 0,042 0,14 0,042 

-613,00 108,00 0,20 0,060 97 1,70 0,14 0,042 0,14 0,042 

-413,00 -392,00 0,20 0,060 38 1,70 0,14 0,042 0,14 0,042 

-213,00 -492,00 0,20 0,060 15 1,70 0,14 0,042 0,14 0,042 

-513,00 -292,00 0,20 0,060 53 1,70 0,14 0,042 0,14 0,042 

87,00 -492,00 0,20 0,060 343 1,70 0,14 0,042 0,14 0,042 

-613,00 -92,00 0,20 0,060 76 1,70 0,14 0,042 0,14 0,042 

487,00 8,00 0,20 0,060 274 1,70 0,14 0,042 0,14 0,042 

487,00 108,00 0,20 0,060 263 1,70 0,14 0,042 0,14 0,042 

287,00 -392,00 0,20 0,059 320 1,70 0,14 0,042 0,14 0,042 

-613,00 208,00 0,20 0,059 107 1,70 0,14 0,042 0,14 0,042 

-113,00 608,00 0,20 0,059 176 1,70 0,14 0,042 0,14 0,042 

387,00 -292,00 0,20 0,059 306 1,70 0,14 0,042 0,14 0,042 

-13,00 608,00 0,20 0,059 186 1,70 0,14 0,042 0,14 0,042 

-513,00 408,00 0,20 0,059 130 1,70 0,14 0,042 0,14 0,042 

487,00 -92,00 0,20 0,059 284 1,70 0,14 0,042 0,14 0,042 

-413,00 508,00 0,20 0,059 144 1,70 0,14 0,042 0,14 0,042 

487,00 208,00 0,20 0,059 253 1,70 0,14 0,042 0,14 0,042 

-213,00 608,00 0,20 0,059 166 1,70 0,14 0,042 0,14 0,042 

-313,00 -492,00 0,20 0,059 24 1,70 0,14 0,042 0,14 0,042 

387,00 408,00 0,20 0,059 231 1,70 0,14 0,042 0,14 0,042 

87,00 608,00 0,19 0,058 196 1,70 0,14 0,042 0,14 0,042 

287,00 508,00 0,19 0,058 218 1,70 0,14 0,042 0,14 0,042 

-613,00 -192,00 0,19 0,058 67 1,70 0,14 0,042 0,14 0,042 

187,00 -492,00 0,19 0,058 334 1,80 0,14 0,042 0,14 0,042 

-613,00 308,00 0,19 0,058 116 1,80 0,14 0,042 0,14 0,042 

487,00 -192,00 0,19 0,058 293 1,80 0,14 0,042 0,14 0,042 

-313,00 608,00 0,19 0,057 157 1,80 0,14 0,042 0,14 0,042 

487,00 308,00 0,19 0,057 245 1,80 0,14 0,042 0,14 0,042 

-513,00 -392,00 0,19 0,057 45 1,80 0,14 0,042 0,14 0,042 
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187,00 608,00 0,19 0,057 205 1,80 0,14 0,042 0,14 0,042 

387,00 -392,00 0,19 0,057 313 1,80 0,14 0,042 0,14 0,042 

-413,00 -492,00 0,19 0,057 33 1,80 0,14 0,042 0,14 0,042 

-113,00 -592,00 0,19 0,057 4 1,80 0,14 0,042 0,14 0,042 

-613,00 -292,00 0,19 0,057 58 1,80 0,14 0,042 0,14 0,042 

-13,00 -592,00 0,19 0,057 355 1,80 0,14 0,042 0,14 0,042 

-513,00 508,00 0,19 0,056 137 1,80 0,14 0,042 0,14 0,042 

-713,00 8,00 0,19 0,056 87 1,80 0,14 0,042 0,14 0,042 

287,00 -492,00 0,19 0,056 326 1,80 0,14 0,042 0,14 0,042 

-713,00 108,00 0,19 0,056 96 1,80 0,14 0,042 0,14 0,042 

-213,00 -592,00 0,19 0,056 13 1,80 0,14 0,042 0,14 0,042 

487,00 -292,00 0,19 0,056 301 1,80 0,14 0,042 0,14 0,042 

87,00 -592,00 0,19 0,056 346 1,90 0,14 0,042 0,14 0,042 

387,00 508,00 0,19 0,056 225 1,90 0,14 0,042 0,14 0,042 

-613,00 408,00 0,19 0,056 124 1,90 0,14 0,042 0,14 0,042 

-713,00 -92,00 0,19 0,056 78 1,90 0,14 0,042 0,14 0,042 

587,00 8,00 0,19 0,056 273 1,90 0,14 0,042 0,14 0,042 

-413,00 608,00 0,19 0,056 149 1,90 0,14 0,042 0,14 0,042 

587,00 108,00 0,19 0,056 264 1,90 0,14 0,042 0,14 0,042 

-713,00 208,00 0,19 0,056 104 1,90 0,14 0,042 0,14 0,042 

487,00 408,00 0,19 0,056 237 1,90 0,14 0,042 0,14 0,042 

287,00 608,00 0,19 0,056 212 1,90 0,14 0,042 0,14 0,042 

587,00 -92,00 0,19 0,056 282 1,90 0,14 0,042 0,14 0,042 

-313,00 -592,00 0,18 0,055 21 1,90 0,14 0,042 0,14 0,042 

587,00 208,00 0,18 0,055 256 1,90 0,14 0,042 0,14 0,042 

-713,00 -192,00 0,18 0,055 70 1,90 0,14 0,042 0,14 0,042 

187,00 -592,00 0,18 0,055 338 1,90 0,14 0,042 0,14 0,042 

-513,00 -492,00 0,18 0,055 40 1,90 0,14 0,042 0,14 0,042 

-613,00 -392,00 0,18 0,055 51 1,90 0,14 0,042 0,14 0,042 

-713,00 308,00 0,18 0,055 112 1,90 0,14 0,042 0,14 0,042 

587,00 -192,00 0,18 0,055 290 1,90 0,14 0,042 0,14 0,042 

387,00 -492,00 0,18 0,055 319 1,90 0,14 0,042 0,14 0,042 

487,00 -392,00 0,18 0,055 308 1,90 0,14 0,042 0,14 0,042 

587,00 308,00 0,18 0,055 248 2,00 0,14 0,042 0,14 0,042 

-613,00 508,00 0,18 0,054 131 1,90 0,14 0,042 0,14 0,042 

-513,00 608,00 0,18 0,054 142 2,00 0,14 0,042 0,14 0,042 

-413,00 -592,00 0,18 0,054 28 2,00 0,14 0,042 0,14 0,042 

-713,00 -292,00 0,18 0,054 62 2,00 0,14 0,042 0,14 0,042 

487,00 508,00 0,18 0,054 230 2,00 0,14 0,042 0,14 0,042 

387,00 608,00 0,18 0,054 219 2,00 0,14 0,042 0,14 0,042 

287,00 -592,00 0,18 0,054 331 2,00 0,14 0,042 0,14 0,042 

-113,00 -692,00 0,18 0,054 3 2,00 0,14 0,042 0,14 0,042 

-13,00 -692,00 0,18 0,054 355 2,00 0,14 0,042 0,14 0,042 

587,00 -292,00 0,18 0,054 297 2,00 0,14 0,042 0,14 0,042 

-713,00 408,00 0,18 0,054 120 2,00 0,14 0,042 0,14 0,042 

-213,00 -692,00 0,18 0,054 11 2,00 0,14 0,042 0,14 0,042 

87,00 -692,00 0,18 0,053 348 2,00 0,14 0,042 0,14 0,042 

587,00 408,00 0,18 0,053 241 2,00 0,14 0,042 0,14 0,042 

-613,00 -492,00 0,18 0,053 45 2,00 0,14 0,042 0,14 0,042 

-513,00 -592,00 0,18 0,053 35 2,10 0,14 0,042 0,14 0,042 
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-313,00 -692,00 0,18 0,053 18 2,10 0,14 0,042 0,14 0,042 

487,00 -492,00 0,18 0,053 314 2,10 0,14 0,042 0,14 0,042 

-713,00 -392,00 0,18 0,053 56 2,10 0,14 0,042 0,14 0,042 

187,00 -692,00 0,18 0,053 341 2,10 0,14 0,042 0,14 0,042 

387,00 -592,00 0,18 0,053 324 2,10 0,14 0,042 0,14 0,042 

-613,00 608,00 0,18 0,053 136 2,10 0,14 0,042 0,14 0,042 

587,00 -392,00 0,18 0,053 303 2,10 0,14 0,042 0,14 0,042 

-713,00 508,00 0,18 0,053 126 2,10 0,14 0,042 0,14 0,042 

487,00 608,00 0,17 0,052 225 2,10 0,14 0,042 0,14 0,042 

587,00 508,00 0,17 0,052 235 2,10 0,14 0,042 0,14 0,042 

-413,00 -692,00 0,17 0,052 25 2,10 0,14 0,042 0,14 0,042 

287,00 -692,00 0,17 0,052 334 2,20 0,14 0,042 0,14 0,042 

-613,00 -592,00 0,17 0,052 41 2,20 0,14 0,042 0,14 0,042 

-713,00 -492,00 0,17 0,052 50 2,20 0,14 0,042 0,14 0,042 

487,00 -592,00 0,17 0,052 319 2,20 0,14 0,042 0,14 0,042 

587,00 -492,00 0,17 0,051 309 2,20 0,14 0,042 0,14 0,042 

-713,00 608,00 0,17 0,051 131 2,30 0,14 0,042 0,14 0,042 

-513,00 -692,00 0,17 0,051 31 2,20 0,14 0,042 0,14 0,042 

387,00 -692,00 0,17 0,051 328 2,30 0,14 0,042 0,14 0,042 

587,00 608,00 0,17 0,051 229 2,30 0,14 0,042 0,14 0,042 

-713,00 -592,00 0,17 0,051 45 2,40 0,14 0,042 0,14 0,042 

-613,00 -692,00 0,17 0,050 36 2,40 0,14 0,042 0,14 0,042 

587,00 -592,00 0,17 0,050 314 2,40 0,14 0,042 0,14 0,042 

487,00 -692,00 0,17 0,050 323 2,40 0,14 0,042 0,14 0,042 

-713,00 -692,00 0,17 0,050 41 2,70 0,14 0,042 0,14 0,042 

587,00 -692,00 0,16 0,049 318 2,70 0,14 0,042 0,14 0,042 
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�4>E<<4?L=O5 >>=F5=FD4F<< ?> 65M5EF64< 
(D4EG5F=O5 ??>M44><) 

 

�5M5EF6>: 2735 
�4E?> <<=5D4?L=>5 =5DFO=>5 

�?>M44>4: 1 

 

�>?5 <4>E<<4?L=OE >>=F5=FD4F<= 

 
�>>D4 
X(<) 

�>>D4 
Y(<) 

�>=F5=FD
. 

(4. ���) 
�>=F5=FD. 
(<7/>G5.<) 

�4?D. 
65FD4 

%>>D. 
65FD4 

$>= $>= 4> <E>?NG5=<O 

4>?< ��� <7/>G5.< 4>?< ��� <7/>G5.< 

-13,00 8,00 6,70 0,335 253 0,70 - - - - 

 

�5M5EF6>: 2902 
&65D4O5 G4EF<FO EG<<4D=> 

�?>M44>4: 1 

 

�>?5 <4>E<<4?L=OE >>=F5=FD4F<= 

 
�>>D4 
X(<) 

�>>D4 
Y(<) 

�>=F5=FD
. 

(4. ���) 
�>=F5=FD. 
(<7/>G5.<) 

�4?D. 
65FD4 

%>>D. 
65FD4 

$>= $>= 4> <E>?NG5=<O 

4>?< ��� <7/>G5.< 4>?< ��� <7/>G5.< 

-13,00 108,00 0,33 0,099 222 1,00 0,14 0,042 0,14 0,042 
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$57G?LF4FO D4EG5F4 ?> 65M5EF64< 
(D4EG5F=O5 F>G><) 

&<?O F>G5>: 
0 - D4EG5F=4O F>G>4 ?>?L7>64F5?O 
1 - F>G>4 =4 7D4=<F5 >ED4==>= 7>=O 
2 - F>G>4 =4 7D4=<F5 ?D><76>4EF65==>= 7>=O 
3 - F>G>4 =4 7D4=<F5 %�� 
4 - =4 7D4=<F5 6<?>= 7>=O 
5 - =4 7D4=<F5 74EFD>=>< 
6 - >>=FD>?L=O5 F>G>< 
7 - F>G>< D>=4 

�5M5EF6>: 2735 
�4E?> <<=5D4?L=>5 =5DFO=>5 

 

7 
�>>D4 
X(<) 

�>>D4 
Y(<) 

�
O

E>
F4

 
(<

) �>=F5=FD
. 

(4. ���) 
�>=F5=FD. 
(<7/>G5.<) 

�4?D
. 

65FD
4 

%>>D
. 

65FD
4 

$>= $>= 4> <E>?NG5=<O 

&<
? 

F>
G>

< 

4>?< 
��� 

<7/>G5.< 
4>?< 
��� 

<7/>G5.< 

6 -518,00 160,00 2,00 0,14 0,007 109 6,00 - - - - 3 

5 -592,00 -102,00 2,00 0,11 0,006 80 6,00 - - - - 3 

4 99,00 -600,00 2,00 0,09 0,005 346 6,00 - - - - 3 

3 615,00 59,00 2,00 0,08 0,004 265 6,00 - - - - 3 

2 450,00 439,00 2,00 0,08 0,004 228 6,00 - - - - 3 

1 -18,00 666,00 2,00 0,08 0,004 182 6,00 - - - - 3 

7 570,00 -842,50 2,00 0,05 0,002 324 0,70 - - - - 4 

�5M5EF6>: 2902 
&65D4O5 G4EF<FO EG<<4D=> 

 

7 
�>>D4 
X(<) 

�>>D4 
Y(<) 

�
O

E>
F4

 
(<

) �>=F5=FD
. 

(4. ���) 
�>=F5=FD. 
(<7/>G5.<) 

�4?D
. 

65FD
4 

%>>D
. 

65FD
4 

$>= $>= 4> <E>?NG5=<O 

&<
? 

F>
G>

< 

4>?< 
��� 

<7/>G5.< 
4>?< 
��� 

<7/>G5.< 

6 -518,00 160,00 2,00 0,22 0,065 105 1,60 0,14 0,042 0,14 0,042 3 

5 -592,00 -102,00 2,00 0,20 0,060 75 1,70 0,14 0,042 0,14 0,042 3 

1 -18,00 666,00 2,00 0,19 0,057 185 1,80 0,14 0,042 0,14 0,042 3 

2 450,00 439,00 2,00 0,19 0,056 233 1,90 0,14 0,042 0,14 0,042 3 

4 99,00 -600,00 2,00 0,19 0,056 345 1,90 0,14 0,042 0,14 0,042 3 

3 615,00 59,00 2,00 0,18 0,055 269 1,90 0,14 0,042 0,14 0,042 3 

7 570,00 -842,50 2,00 0,16 0,048 324 3,90 0,14 0,042 0,14 0,042 4 
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�$�������� � 3 �>=4 7=4G<F5?L=>7> 6>745=EF6<O 6 F5?>< ?D><76>4EF65==>= ??>M44><   
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$��.�� ��&�%��'�%���� %�$��&�$� 
 

1 %6545=<O > 74>47G<>5 ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF<, 
E6545=<O > F5?OE < =5>5E>4<<>EF< D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 

 

�4>47G<>>< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 6OEFG?45F ��� 
«�5?4DGEL>4?<=», 223710, �<=E>4O >5?4EFL, 7. %>?<7>DE>, G?. �>D64, 5. E-mail: 

belaruskali.office@kali.by; http://www.kali.by/; F5?.: (0174) 298608; D4>E: 
(0174)263765.  

&5?LN ??4=<DG5<>= 45OF5?L=>EF< O6?O5FEO D5>>=EFDG>F<O GG4EF>4 
4D>5?5=<O, 6>?NG4O D5>>=EFDG>F<N EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< �1-

�8, D47D45>F4==OE ?> ?D>5>FG ��%� 668-108-/25.1.2.5-01-214�-��-01; 

45<>=F46 EGM5EF6GNM<E >55E?O?<64NM<E GEF4=>6>> F<?4 HKAF 36/100-K; <E 
74<5=G =4 >F45?L=> EF>OM<5 EGE<5 DG>46=O5 D<?LFDO �1, �2 E 46F><4F<G5E>>= 
E<EF5<>= <<?G?LE=>= >G<EF>< E64FO< 6>74GE><. 

�5>5E>4<<>EFL ?D>6545=<O D5>>=EFDG>F<< >F45?L=OE 744=<= < 
E>>DG65=<= GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 ?D><??>M44>5 2$' 
�D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=», 6O764=4 
=5G4>6?5F6>D<F5?L=O< F5E=<G5E><< E>EF>O=<5< DO44 EFD><F5?L=OE 
>>=EFDG>F<= ?> D57G?LF4F4< <E F5E=<G5E>>7> >5E?54>64=<O. � F4>65 
FD55>64=<O<< >55E?5G5=<O MDD5>F<6=>= >G<EF>< 6O5D>E>6 6 4F<>ED5D=O= 
6>74GE >F >5>DG4>64=<O GG4EF>4 4D>5?5=<O >F ?O?<. 

2 �?LF5D=4F<6=O5 64D<4=FO D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 

�D< 4=4?<75 6>7<>6=>EF< ?D54EF46?5=<O 4?LF5D=4F<6=OE 64D<4=F>6 
D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 5O?< D4EE<>FD5=O 64D<4=FO 
F5DD<F>D<4?L=>7> D47<5M5=<O ?D><76>4EF65==>= ??>M44><, 4 F4>65 
F5E=>?>7<G5E><E D5L5=<=.  

�?LF5D=4F<6=O5 64D<4=FO ?> F5DD<F>D<4?L=><G D47<5M5=<N 
?D><76>4EF65==>= ??>M44>< =5 5O?< ?D<=OFO > D4EE<>FD5=<N, 6E?54EF6<5 
=4?<G<O =5>5E>4<<>EF< ?D>6545=<O D5>>=EFDG>F<< GG4EF>4 4D>5?5=<O, 
D4E?>?>65==>7> =4 ?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� 
«�5?4DGEL>4?<=», >5GE?>6?5==>= E5DL57=O< GEG4L5=<5< F5E=<G5E>>7> 
E>EF>O=<O EFD><F5?L=OE >>=EFDG>F<= 744=<= < E>>DG65=<= ?> D57G?LF4F4< 
>5E?54>64=<O < 4<47=>EF<>< <E F5E=<G5E>>7> E>EF>O=<O. %>>F65FEF65==> 
EGM5EF6G5F 65EF>4O ?D<6O7>4 ?D>6545=<O D45>F ?> D5>>=EFDG>F<< > >>=>D5F=>= 
?D><??>M44>5. 

�?LF5D=4F<6=O5 64D<4=FO 6 G4EF< F5E=>?>7<G5E><E D5L5=<= =5 
D4EE<4FD<64?<EL, 6 6<4G >E>55==>EF5= >><??5>E4 F5E=<G5E><E <5D>?D<OF<=, 
?D><76>4EF64 D45>F ?D< D5>>=EFDG>F<<:  

o D47=>D>4=>EFL, D4EED54>F>G5==>EFL < <5?>>>5N5<=>EFL 6O?>?=O5<OE 
D45>F; 

o 6O?>?=5=<5 >><??5>E4 D45>F, =5 ?D<EGM<E =>6><G EFD><F5?LEF6G 
(GE<?5=<5 >>=EFDG>F<=, 74<5=4 >F45?L=OE >>=EFDG>F<6=OE M?5<5=F>6, <E 
<>=F46 < F. ?.);  

mailto:belaruskali.office@kali.by
http://www.kali.by/
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o EF5E=5==O5 GE?>6<O EFD><F5?L=>= ??>M44><, ?D<G5< D4>F>D 
EF5E=5==>EF< >>47O645F D5L4NM55 6>745=EF6<5 =4 >5MGN EE5<G >D74=<74F<< 
D45>F. 

�5>5M4O 6OL5E>474==>5, 6 >4G5EF65 4?LF5D=4F<6=OE 64D<4=F>6 
D4EE<>FD5=O E?54GNM<5 64D<4=FO: 

I 64D<4=F - $5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 

II 64D<4=F - «=G?564O» 4?LF5D=4F<64 3 >F>47 >F ??4=<DG5<>= 
E>7O=EF65==>= 45OF5?L=>EF<. 

 

&4><< >5D47><, ?D< ED46=5=<< 46GE 64D<4=F>6 ?D54?>GF5=<5 5O?> >F44=> 
1 64D<4=FG 3 $5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=», 
E>>F65FEF65==> 6 =4EF>OM5< >FG5F5 ?D<6545=4 >F5=>4 6>745=EF6<O ??4=<DG5<>= 
45OF5?L=>EF< ?D< D54?<74F<< ?D>5>F=OE D5L5=<= ?> 1 64D<4=FG. 

�F>47 >F ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 3 «=G?564O» 
4?LF5D=4F<64 3 =5 E6O74= E 6>745=EF6<5< =4 >>DG64NMGN ED54G, =5 
E>>F65FEF6G5F ?5DE?5>F<64< 44?L=5=L57> D476<F<O ��� «�5?4DGEL>4?<=» 3 

D?47<4=4 >4?<==>= ?D><OL?5==>EF<. 
 

2.1 I 64D<4=F. $5>>=EFDG>F<O GG4EF>4 4D>5?5=<O, D4E?>?>65==>7> =4 
?D><??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 6 
E>>F65FEF6<< E ?D>5>F=O<< D5L5=<O<<  

2.1.1 �5M4O E4D4>F5D<EF<>4 F5DD<F>D<< 6>76545=<O >5N5>F4 

�D><??>M44>4 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» 
=4E>4<FEO 6 E565D=>= G4EF< %>?<7>DE>>7> D4=>=4, E> 6E5E EF>D>= >7D4=<G5==4O 
75<?O<< ��� «�>?LL56<>-�7D>».  

�D>5>F<DG5<O= >5N5>F ??>M44LN 0,2820574 D4E?>?>65= 6 F5=FD4?L=>= 
G4EF< F5DD<F>D<< ?D><??>M44>< �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=». 'G4EF>> >7D4=<G5= EGM5EF6GNM<<< FD4=E?>DF=O<< 
?D>5744<<, 74?5D5O<<.  

�?<64=L4O 6<?4O 7>=4 3 4. �>EO=<G< 3 =4E>4<FEO =4 D4EEF>O=<< 745 < =4 
N7>-6>EF>> >F DG4=<>4. 

�?<64=L<= ?>65DE=>EF=O= 6>4=O= >5N5>F 3 D5>4 %<65?L74 ?D>F5>45F =4 
D4EEF>O=<< 5>?55 2 >< 6>EF>G=55 ?D>5>F<DG5<>7> >5N5>F4. 

 

2.1.2 �D4F>>5 >?<E4=<5 ?D>5>F=OE D5L5=<= 

%>7?4E=> <7<5=5=<N 71 > 7444=<N =4 ?D>5>F<D>64=<5 EFD><F5?L=O= 
?D>5>F D4745?5= =4 465 >G5D54<. 

�5D6>= >G5D54LN EFD><F5?L=>7> ?D>5>F4 ?D54GE<4FD<645FEO: 
- D5>>=EFDG>F<O 744=<O 4D>5?5=<O (71 ?> ��); 
- ?D>5>F<D>64=<5 >><?D5EE>D=>= (75 ?> ��); 
- D5<>=F =44L4EF=>7> EF6>?4 71 (76 ?> ��); 
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- 6O=>E ?<6=56>= >4=4?<74F<<; 
- 5?47>GEFD>=EF6> F5DD<F>D<< E 6>EEF4=>6?5=<5< ?>>DOF<=, GEFD>=EF6>< 

??>M44>> E F65D4O< ?>>DOF<5<, GEFD>=EF6>< 747>=>6. 
�F>D>= >G5D54LN EFD><F5?L=>7> ?D>5>F4 ?D54GE<4FD<645FEO: 
- D5>>=EFDG>F<O 74?5D5< 752 (72 ?> ��); 
- D5>>=EFDG>F<O 74?5D5< 753 (73 ?> ��); 
- D5<>=F E>?444 DG4O (74 ?> ��); 
- D5<>=F >455?L=>= MEF4>44O (79 ?> ��); 
- 5?47>GEFD>=EF6> F5DD<F>D<< E GEFD>=EF6>< 747>=>6. 
$4=55 D47D45>F4==O< EFD><F5?L=O< ?D>5>F>< 6 744=<< 4D>5?5=<O ?> 

7444=<N =4 ?D>5>F<D>64=<5 ?D54GE<4FD<64?4EL D5>>=EFDG>F<O EGM5EF6GNM<E 
4E?<D4F<>==OE E<EF5< �1-�8, D47D45>F4==OE ?> ?D>5>FG ��%� 668-108-

/25.1.2.5-01-214�-��-01. %GM5EF6GNM<5 >55E?O?<64NM<5 GEF4=>6>< F<?4 
HKAF 36/100-K, GEF4=>6?5==O5 =5?>ED54EF65==> =44 >5>DG4>64=<5<,  
45<>=F<DGNFEO < 74<5=ONFEO =4 >F45?L=> EF>OM<5  EGE<5 DG>46=O5 D<?LFDO �1, 
�2  E 46F><4F<G5E>>= E<EF5<>= <<?G?LE=>= >G<EF>< E64FO< 6>74GE><. 
'?>6?5==4O ?O?L ?>E?5 D<?LFD>6 6>76D4M45FEO 6 F5E=>?>7<G5E><= ?D>F5EE. 
%F5?5=L >G<EF>< E>EF46?O5F 98%. 

%>7?4E=> D4=55 D47D45>F4==OE ?D>5>F=OE D5L5=<= (2020 7.) >G<M5==O= 
>F ?O?< 6>74GE >F 45<>=F<DG5<OE GEF4=>6>> 6>76D4M4?EO 6 F5E. 

�4EF>OM<< ?D>5>F>< 4>FG4?<74F<< ?D54GE<4FD<645FEO 674<5= 
74?D>5>F<D>64==OE D4=55 6 ?D>5>F5 4E?<D4F<>==OE D<?LFD>6  $��% �/�$ 
20000-��-12-21-30 E 65=F<?OF>D4<< <>M=>EFLN 45 >�F  (E<EF5<O �1 < �2) 
?D<<5=5=<5 <<5NM<EEO 6 =4?<G<< G 74>47G<>4 4=4?>7<G=OE D<?LFD>6 $��% 
�/�$ 20000 E 65=F<?OF>D4<< <>M=>EFLN 75. &4>65 ??4=<DG5FEO GEFD>=EF6> 
>D74=<7>64==OE <EF>G=<>>6 6O5D>E4 >G<M5==>7> >F ?O?< 6>74GE4 6 4F<>ED5DG. 

&5??>E=4565=<5. �D>5>F>< ?D54GE<>FD5=4 E<EF5<4 >F>??5=<O 744=<O 
4D>5?5=<O. �EF>G=<>>< F5??>E=4565=<O E?G6<F EGM5EF6GNM4O F5??>E5FL E 
&=105-70º%. 

�>4>E=4565=<5 < >4=4?<74F<O. �EF>G=<>>< E=4565=<O E>7O=EF65==>-

?<FL56>= 6>4>= O6?O5FEO 6=GFD<??>M44>G=4O 6>4>?D>6>4=4O E5FL.  
�D<5<=<>>< E>7O=EF65==>-5OF>6OE EF>G=OE 6>4 E?G6<F EGM5EF6GNM4O 

6=GFD<??>M44>G=4O >4=4?<74F<>==4O E5FL.  
�>65DE=>EF=O5 EF>G=O5 6>4O E F5DD<F>D<< ?D>5>F<DG5<>7> >5N5>F4 

?>>4?<7GNFEO < >F6>4OFEO 6> 6=GFD<??>M44>G=GN E5FL 4>6456>= >4=4?<74F<<, 
44?55 =4?D46?ONFEO 6 EGM5EF6GNMGN E<EF5<G 4>6456>= >4=4?<74F<< 
?D><??>M44>< 2$' 4?O >G<EF>< < 44?L=5=L57> <E?>?L7>64=<O 6 EE5<5 
?>6F>D=>7> 6>4>E=4565=<O 2$'. 

 

3 %4D4>F5D<EF<>4 ?D<D>4=OE GE?>6<= 

3.1 �?<<4F < <5F5>D>?>7<G5E><5 GE?>6<O 

&5DD<F>D<O D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 
>F=>E<FEO > 7>=5 E G<5D5==>->>=F<=5=F4?L=O<, =5GEF>=G<6> 6?46=O< 
>?<<4F><.  
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�?<<4F %>?<7>DE>>7> D4=>=4 >F?<G45FEO <O7>>= >>D>F>>= 7<<>=, F5??O< 
< E>?=5G=O< 6575F4F<>==O< ?5D<>4><, =5GEF>=G<6O< G6?46=5=<5<. �> 44==O< 
=45?N45=<= %?GF>>= <5F5>D>?>7<G5E>>= EF4=F<< ED54=57>4>64O F5<?5D4FGD4 
6>74GE4 E>EF46?O5F 6,8 0%, ED54=OO F5<?5D4FGD4 6>74GE4 6 O=64D5 E>EF46?O5F -

4,50%, 6 <N?5 3 +18,30%. �D>4>?6<F5?L=>EFL ?5D<>44 E> ED54=5EGF>G=O<< 
F5<?5D4FGD4<< 6OL5 00% E>EF46?O5F >>>?> 249 EGF>>. 

�> >>?<G5EF6G 6O?444NM<E >E44>>6 <EE?54G5<4O F5DD<F>D<O >F=>E<FEO > 
7>=5 4>EF4F>G=>7> G6?46=5=<O. �>4>64O EG<<4 >E44>>6 6 ED54=5< E>EF46?O5F 609 
<<., ED54=55 >>?<G5EF6> 74 F5??O= ?5D<>4 7>44 (4?D5?L - >>FO5DL) 467 <<, 74 
E>?>4=O= (=>O5DL -<4DF) 3 189 <<. � 7>4>6>< E>45 <<=<<4?L=>5 >>?<G5EF6> 
>E44>>6 (31 <<) 6O?4445F 6 D56D4?5, <4>E<<4?L=>5 (86 <<) 3 6 <N=5  

�>4>6>= E>4 ?D>4>?6<F5?L=>EF< >E44>>6 ?D>F<6>?>?>65= 7>4>6><G E>4G 
<E >>?<G5EF64. �4<5>?55 ?D>4>?6<F5?L=O >=< 7<<>=, ?5F>< <E 
?D>4>?6<F5?L=>EFL E>>D4M45FEO, => >>?<G5EF6> G65?<G<645FEO 5>?55 G5< 6 2 
D474; >E5=LN >E44>< <=>744 ?D<=<<4NF 74FO6=>= E4D4>F5D.  

�5D47>64=<5 GEF>=G<6>7> E=56=>7> ?>>D>64 6 ED54=5< ?D><EE>4<F 6 
E5D54<=5 45>45DO, D47DGL5=<5 3 > E5D54<=5 <4DF4. �OE>F4 57> 12-20 E<, ED54=OO 
7?G5<=4 ?D><5D74=<O ?>G6O ?>4 E=57>6O< ?>>D>6>< 45-50 E<, 4 ?D< 57> 
>FEGFEF6<< 3 4> 1 <. '<E?> 4=5= E> E=56=O< ?>>D>6>< 3 98. 

�5FD>6>= D56<< O6?O5FEO 646=O< D4>F>D><, 6?<ONM<< =4 
D4E?D>EFD4=5=<5 ?D<<5E5= 6 4F<>ED5D5. � D4=>=5 <EE?54>64=<= 6 ?5F=55 6D5<O 
?D5>5?444NF 65FDO 74?44=OE < E565D>-74?44=OE =4?D46?5=<=, 6 7<<=55 3 N7>-

74?44=OE, 74?44=OE < N7>-6>EF>G=OE =4?D46?5=<=. � F5?>< 74 7>4 ?D5>5?444NF 
74?44=O5 65FD4, =4<<5=LL4O ?>6F>DO5<>EFL G 65FD>6 E565D=>= G5F65DF< 
7>D<7>=F4. %D54=5 7>4>64O E>>D>EFL 65FD4, ?>6F>DO5<>EFL ?D56OL5=<O >>F>D>= 
E>EF46?O5F 5% D46=4 6 </E. 

 

3.2 �F<>ED5D=O= 6>74GE 

� 7. %>?<7>DE>5 >E=>6=O<< <EF>G=<>4<< 747DO7=5=<O 4F<>ED5D=>7> 
6>74GE4 O6?ONFEO �� «�5?4DGE>4?<=» < 46F>FD4=E?>DF. � D4=>=5 G?. %565D=4O 
D45>F45F 6 LF4F=>< D56<<5 EF4=F<O =5?D5DO6=>7> <7<5D5=<O E>45D64=<O 6 
4F<>ED5D=>< 6>74GE5 ?D<>D<F5F=OE 747DO7=ONM<E 65M5EF6. %>7?4E=> 
D4EEG<F4==O< 7=4G5=<O< ����, E>EF>O=<5 6>74GE4 6 2023 7. >F5=<64?>EL >4> 
>G5=L E>D>L55. �5D<>4O E G<5D5==O<, G4>6?5F6>D<F5?L=O<, ??>E<< < >?4E=O< 
GD>6=O<< 747DO7=5=<O 6>74GE4 >FEGFEF6>64?<. 

 

 3.3 �>65DE=>EF=O5 6>4O 

�<4D>7D4D<G5E>4O E5FL D4=>=4 <EE?54>64=<= ?D54EF46?5=4 D.%?GGL, 55 
?D<F>>>< -  D.%<65?L74 < %>?<7>DE><< 6>4>ED4=<?<M5<, E>744==>< =4 D. %?GGL.  

�4<5>?55 >DG?=O< ?D<F>>>< D. %?GGL 6 <EE?54G5<>< D4=>=5 O6?O5FEO D. 
%<65?L74. $5>4 D4E?>?>65=4 6 ~2,15 >< > 6>EF>>G >F 6>7<>6=>7> <EF>G=<>4 
747DO7=5=<O ?>65DE=>EF=OE 6>4 3 D5>>=EFDG<DG5<OE >5N5>F>6 ?D><??>M44>< 
2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=». 

�>65DE=>EF=O5 6>4=O5 >5N5>FO F5DD<F>D<< <EE?54>64=<=, 6>?NG4O D5>G 
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E D476<FO< ?D><OL?5==O< ?D><76>4EF6><, 6 MF>= E6O7< <E?OFO64NF 
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� 2023 7. GEG4L5=<5 >?4EE4 >4G5EF64 ?>65DE=>EF=OE 6>4=OE >5N5>F>6 
D4=>=4 <EE?54>64=<O, 6>?NG4O D. %<65?L74,  ?> 7<4D>E<<<G5E><< ?>>474F5?O< 
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 3.4 �54D4 (75>?>7<G5E><5, 7<4D>75>?>7<G5E><5 GE?>6<O, <=65=5D=>-

75>?>7<G5E><5 < <=O5 GE?>6<O).  
� 75>?>7<G5E>>< EFD>5=<< ??>M44>< GG4EF6GNF >F?>65=<O E?54GNM<E 

75=5F<G5E><E F<?>6 < 6>7D4EF>6: 
�5?>64O E<EF5<4 

�5?>64O E<EF5<4 ?D54EF46?5=4 6 D4=>=5 FGD>=E><< ODGE>< 65DE=57> 
>F45?4. 

�4?5>75=>64O E<EF5<4 

�F?>65=<O ?4?5>75=>6>= E<EF5<O D4E?D>EFD4=5=O ?D4>F<G5E>< 
?>6E5<5EF=>, >FEGFEF6GO ?<LL 6 ?5D5G7?G5?5=<OE G5F65DF<G=OE 4>?<=.  

�5>75=>64O E<EF5<4 

�5>75=>64O E<EF5<4 ?D54EF46?5=4 <<>F5=>< (5D<=56E>4O < 4=F>?>?LE>4O 
E6<FO). 

'5F65DF<G=4O E<EF5<4 E?>65=4 >F?>65=<O<< =<6=57>, ED54=57>, 65DE=57> 
765=L56 ??5=EF>F5=4 < 7>?>F5=4. 

�<4D>75>?>7<G5E><5 GE?>6<O  
%>7?4E=> 7<4D>75>?>7<G5E>><G D4=>=<D>64=<N F5DD<F>D<< �5?4DGE< 

<EE?54G5<O= >5N5>F =4E>4<FEO 6 ?D545?4E E565D>-74?44=>= >>D4<=O 
�D<?OFE>>7> 4DF57<4=E>>7> 54EE5==4.  

�E=>6=O5 7<4D>75>?>7<G5E><5 ?>4D4745?5=<O G5F65DF<G=OE >F?>65=<=. 
�>4>=>E=O= 7>?>F5=>6O= 4??N6<4?L=O= ?>=<5==O= 7>D<7>=F (aIV, 

�>4>=>E=O= E>6E><= =44<>D5==O= D?N6<>7?OF<4?L=O= 7>D<7>=F (fIIszs) 

D4E?D>EFD4=5= 6 4>?<=4E D5> %?GGL < %<65?L74. 
%?45>6>4>=>E=O= E>6E><= <>D5==O= >><??5>E (gIIsz) ?D<GD>G5= =4 

F5DD<F>D<< <EE?54>64=<= > ?5EG4=O< ?D>E?>O< < ?<=74<, 74?574NM<< 6 
7?<=<EF>= F>?M5 <>D5==OE >F?>65=<= 557 >?D545?5==>= 74>>=><5D=>EF<  ?> 
??>M44< < 7?G5<=5. 
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L<D>>> D476<F =4 F5DD<F>D<< <EE?54>64=<=. 
�>4>6<5M4NM<5 ?>D>4O 65EL<4 ?5EFD>7> 6 7D4=G?><5FD<G5E>>< 

>F=>L5=<< E>EF464 3 ?5E>< >F <5?>>75D=<EFOE 4> >DG?=>75D=<EFOE E 
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�>4>=>E=O= 55D57<=E><=-4=5?D>6E><= 6>4=>-?54=<>>6O= >><??5>E (f,lgIbr-

IId) D4E?D>EFD4=5= =4 6E5= F5DD<F>D<< <EE?54G5<>7> D4=>=4. 
�>4>=>E=O<< >F?>65=<O<< >><??5>E4 E?G6<F =5D4EG?5=5==4O F>?M4 

?5E>>6 D47?<G=>= >DG?=>EF< 3 >F 7?<=<EFOE 4> >DG?=>75D=<EFOE, ED54< =<E 
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$4=>= <EE?54>64=<= 4?O 6>4 55D57<=E>>-4=5?D>6E>>7> 6>4>=>E=>7> 
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%>7?4E=> 44==O< [�N??5F5=L_?4E?>DF] >4G5EF6> 6>4O ?> >E=>6=O< 

?>>474F5?O< E<<<>>-54>F5D<>?>7<G5E>>7> E>EF464 4=5?D>6E>>-E>6E>>7> 

6>4>=>E=>7> 7>D<7>=F4, ?>475<=O5 6>4O >>F>D>7> O6?ONFEO >E=>6=O< 
<EF>G=<>>< E>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O =4 F5DD<F>D<< 
%>?<7>DE>>7> D4=>=4, G4>6?5F6>DO5F FD55>64=<5< %4=�<� 7 10-124 $� 99 

«�<FL564O 6>44. �<7<5=<G5E><5 FD55>64=<O > >4G5EF6G 6>4O F5=FD4?<7>64==OE 

E<EF5< ?<FL56>7> 6>4>E=4565=<O. �>=FD>?L >4G5EF64» 74 <E>?NG5=<5 
?>6OL5==>7> E>45D64=<O 65?574. 

 

3.5 �5<5?L=O5 D5EGDEO. �>G6O  
� E>>F65FEF6<< E ?>G65==>-75>7D4D<G5E><< D4=>=<D>64=<5< F5DD<F>D<O 

<EE?54>64=<O >F=>E<FEO > �>6>7DG4E>>-�5E6<6E>><G-%?GF>><G D4=>=G 45D=>6>-
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�4 ��� «�5?4DGEL>4?<=» 6 D4<>4E ?>>4?L=>7> <>=<F>D<=74 75<5?L 
?D>6>4OFEO =45?N45=<O =4 F5DD<F>D<< 65?<7< E>?5>F64?>6 < L?4<>ED4=<?<M 
DG4>G?D46?5=<= 71-4 ?> FD5< ?4D4<5FD4<: E?>D<4O, >4?<= < =4FD<=. 
%>45D64=<5 =45?N445<OE 747DO7=ONM<E 65M5EF6 6 2019 7. =4E>4<?>EL 6 
?D545?4E 46GE>D4=OE 7=4G5=<= D>=>6OE >>=F5=FD4F<= 44==OE ?>>474F5?5=. 

�D>6>4<<O5 D4==55 DO4>< 46F>D>< <EE?54>64=<O ?>>47O64NF =4 
74E>?5=<< ?>G6 6 D4=>=5 6>745=EF6<O  ��� «�5?4DGEL>4?<=». 

 

3.6 $4EF<F5?L=O= < 6<6>F=O= <<D.  
�> 75>5>F4=<G5E>><G D4=>=<D>64=<N �5?4DGE< <EE?54G5<4O F5DD<F>D<O 

D4E?>?>65=4 6 &5=FD4?L=>-�D54?>?5EE>>< >>DG75 ?>47>=O 7D45>6>-4G5>6>-

F5<=>E6>==OE ?5E>6.  
'G4EF>> ??4=<DG5<>= D5>>=EFDG>F<< ?D<GD>G5= > EGM5EF6GNM5= 

?D><76>4EF65==>= ??>M44>5 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� 
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=4E>4OFEO =4 D4EEF>O=<< ~800 <, 4 =5?>ED54EF65==> F5DD<F>D<O DG4=<>4 E> 6E5E 
EF>D>= >>DG65=4 ?4E>F=O<< E5?LE>>E>7O=EF65==O<< 75<?O<< ��� 
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<=>7>?5F=<E FD46. 

%D54< ?4L5==>7> E>>5M5EF64 <4?>?5F=<E E>D=OE FD46 L<D>>> 
D4E?D>EFD4=5=O FD<6<4?L=O5 E>D=O><, >5OG=> ?D<EGFEF6GNM<5 6 
47D>D<F>F5=>74E 3 M5F<==<> E<7O=, 76574G4F>4 ED54=OO, 56>6=<> 
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�5?>ED54EF65==> F5DD<F>D<N D5>>=EFDG>F<< <>6=> =5 D4EE<4FD<64FL 
>4> F5DD<F>D<N ?D<7>4=GN 4?O >5<F4=<O. �4 ?D<?574NM<E ?4E>F=OE 
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?D54EF46?5=4 6<44<<, E4D4>F5D=O<< 4?O 47D>?4=4L4DF>6.  

 

3.7 $<7<G5E>>5 6>745=EF6<5. 
=4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 D4E?>?>65=> 9 =4E5?5==OE ?G=>F>6, 

747DO7=5==OE D44<>=G>?<44<< ?>E?5 464D<< =4 '5D=>5O?LE>>= �-% < 
>F=>EOM<EEO > 7>=5 E ?5D<>4<G5E><< D44<4F<>==O< >>=FD>?5<: 4. %>D>EF>6>, 4. 
�DG74>6>, 4. �46D<?LG<FO, 4. �5EG4=>4, 4. &5E=4, 4. �G5<F4, 4. �>6<=4, 4. �>F>, 
4. '5?>=5F 

�> D57G?LF4F4< <>=<F>D<=74 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 
>>=EF4F<DG5FEO GEF>=G<6O= FD5=4 6 G4EF< EF45<?L=>EF< D44<4F<>==>= 
>5EF4=>6><, >>F>D4O >5GE?>6?5=4 5EF5EF65==O<< < F5E=>75==O<< <EF>G=<>4<< 
<7?GG5=<O. 

� 2022 7>4G D44<4F<>==4O >5EF4=>6>4 =4 F5DD<F>D<< %>?<7>DE>>7> D4=>=4 
>5GE?>6?5=4 F5E=>75==O<< < 5EF5EF65==O<< <EF>G=<>4<< <>=<7<DGNM57> 
<7?GG5=<O < E4D4>F5D<7G5FEO >4> EF45<?L=4O. 

 

3.9 �5D4M5=<5 E >FE>44<<  
�4 F5>GM<= <><5=F >><<G=4?L=O5 >FE>4O =4 74E>D>=5=<5 ?D<=<<4NF 464 

?>?<7>=4 &�� ��'� "->>�><??5>E": 
" �>?<7>= &�� 7.?. �D4E=4O %?>5>44  
" �>?<7>= &�� 4. �G55<,   
�D<=F<? D4745?L=>7> E5>D4 6 7. %>?<7>DE>5 >E=>6O645FEO =4 D4745?5=<< 

&�� =5?>ED54EF65==> 6 <5EF4E >5D47>64=<O >FE>4>6. �> 6E5E 46>D4E 6<?>= 
74EFD>=>< 7. %>?<7>DE>4 D4EEF46?5=O >>=F5==5DO 4?O D4745?L=>7> E5>D4 
>><<G=4?L=OE >FE>4>6. &4>65 D4745?L=O= E5>D 6=54DO5FEO < =4 F5DD<F>D<< 
E5?LE><E =4E5?5==OE ?G=>F>6. 

� 2013 7>4G 5O?4 66545=4 6 M>E??G4F4F<N F5E=>?>7<G5E>4O ?<=<O 
E>DF<D>6>< 6F>D<G=OE <4F5D<4?L=OE D5EGDE>6. �4 F5DD<F>D<< D4=>=4 
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4. �D<D>4>>ED4==O5 < <=O5 >7D4=<G5=<O =4 GG4EF>5 D54?<74F<< 
??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 

'G4EF>> D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< =4E>4<FEO 
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� ?D>F5EE5 ?D>6545=<O D45>F ?> D5>>=EFDG>F<< <EF>G=<>4<< 6>745=EF6<O 
=4 4F<>ED5D=O= 6>74GE 5G4GF O6?OFLEO:  
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- =5?>ED54EF65==> D5>>=EFDG>F<O, 45<>=F46=O5 < D475>D=O5 D45>FO, 
EFD><F5?L=>-<>=F46=O5 D45>FO (?D<7>F>6?5=<5 EFD><F5?L=OE D4EF6>D>6 < F. ?., 
E64D>4, D57>4, >D>65?L=O5, LFG>4FGD=O5 < 4DG7<5 D45>FO, < 4D.).  

� E>45 6O?>?=5=<O 45<>=F464 >F45?L=OE M?5<5=F>6 >>=EFDG>F<=, 
EFD><F5?L=>-<>=F46=OE D45>F 6 4F<>ED5D=O= 6>74GE 6O45?ONFEO E?54GNM<5 
747DO7=ONM<5 65M5EF64: ?O?L =5>D74=<G5E>4O, E64D>G=O5 4MD>7>?<, ?5FGG<5 
>D74=<G5E><5 E>54<=5=<O, >>D4E>G=O= 4MD>7>?L, F65D4O5 G4EF<FO EG<<4D=>, 
G7?5D>4 >>E<4, 47>F4 4<>>E<4, E464, E5D4 >>E<4, G7?56>4>D>4O ?D545?L=O5 %1-

%10, G7?56>4>D>4O ?D545?L=O5 %11-%19. 
�>745=EF6<5 >F G>474==OE 6OL5 <EF>G=<>>6 =4 4F<>ED5DG 5G45F O6?OFLEO 

=57=4G<F5?L=O<, =>E<F ?>>4?L=O= < 6D5<5==O= E4D4>F5D. 
� ?5D<>4 M>E??G4F4F<<  
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� ?5D<>4 M>E??G4F4F<< >5N5>F4 6>745=EF6<5 =4 4F<>ED5D=O= 6>74GE 
E6O74=> E F5E=>?>7<G5E><<< ?D>F5EE4<< 4D>5?5=<O. 

� E>>F65FEF6<< E ?D>5>F=O<< D5L5=<O<< ?D54GE<4FD<64NFEO E?54GNM<5 
<EF>G=<>< 6O5D>E>6  6 4F<>ED5D=O= 6>74GE:  

3 6 744=<< 4D>5?5=<O 3 >D74=<7>64==O5 <EF>G=<>< 6O5D>E4 77 0001, 0002; 

3 6 >><?D5EE>D=>=  3 =5>D74=<7>64==O= <EF>G=<> 6O5D>E4 7 6001. 
 

5.2 �E=>6=O5 <EF>G=<>< < >E=>6=O5 6<4O 6>745=EF6<O =4 
?>65DE=>EF=O5 < ?>475<=O5 6>4O 

�EF>G=<>< 6>745=EF6<O =4 ?>65DE=>EF=O5 6>4=O5 >5N5>FO >FEGFEF6GNF. 
�>745=EF6<O 6 >>?<G5EF65==>< < >4G5EF65==>< 4E?5>F5 =5 ?D>7=>7<DG5FEO. 
�D>5>F>< =5 ?D54GE<4FD<64NFEO 6O?GE>< EF>G=OE 6>4, 745>D 6>4O <7 

?>65DE=>EF=OE 6>4=OE >5N5>F>6. �?<64=L<= 6>4=O= >5N5>F 3 D. %<65?L74, 
=4E>4<FEO 6>EF>G=55, =4 D4EEF>O=<< 5>?55 2,0 ><. 

 

5.3 �E=>6=O5 <EF>G=<>< < >E=>6=O5 6<4O 6>745=EF6<O =4 =54D4  
�D>5>F<DG5<O= GG4EF>> =4E>4<FEO 6 ?D545?4E 7>D=>7> >F6>44 L4EF=>7> 

?>?O �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� «�5?4DGEL>4?<=». 
�>4 GG4EF>>< D5>>=EFDG>F<< D476<F<5 7>D=OE D45>F =5 ??4=<DG5FEO. 

'G4EF>> =4E>4<FEO 6=5 7>=O 6?<O=<O 7>D=OE D45>F. 
�?4=<DG5<4O E>7O=EF65==4O 45OF5?L=>EFL =5 E6O74=4 E 6>745=EF6<5< =4 

=54D4.  
 

5.4 �E=>6=O5 <EF>G=<>< < >E=>6=O5 6<4O 6>745=EF6<O  =4 75<5?L=O5 
D5EGDEO 

�D>5>F<DG5<O= >5N5>F ??>M44LN 0,2820574 D4E?>?>65= 6 F5=FD4?L=>= 

G4EF< F5DD<F>D<< ?D><??>M44>< �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=». 

�>745=EF6<5 =4 75<5?L=O5 D5EGDEO E ?>7<F<< <7<5=5=<O >4F57>D<= 
75<?5?>?L7>64=<O =5 ?D><7>=45F, F.>. ??4=<DG5<4O D5>>=EFDG>F<O =5 6?5G5F 
?5D56>44 75<5?L 6 4DG7GN >4F57>D<N. �4 F5>GM<= <><5=F 75<?< O6?ONFEO 
>4F57>D<5= 75<5?L ?D><OL?5==>EF<, FD4=E?>DF4, E6O7<, M=5D75F<><, >5>D>=O < 
<=>7> =47=4G5=<O. $G=>F<>=4?L=>5 <E?>?L7>64=<5 75<5?L=>7> GG4EF>4 3 

?D><76>4EF65==4O 7>=4. 
�>745=EF6<5 =4 75<?<, 6>?NG4O ?>G6O, ?D< EFD><F5?LEF65 

(D5>>=EFDG>F<<), >4> ?D46<?>, E6O74=> 6 ?5D6GN >G5D54L E <5E4=<G5E><< 
6>745=EF6<5< ?D< E=OF<< 65DE=57> E?>O. 

�DO<O5 =4DGL5=<O 75<5?L (?>G6) =4 MF4?5 EFD><F5?LEF64 5G4GF E6O74=O 
?D5<<GM5EF65==> E <5E4=<G5E><<< 6>745=EF6<O<< ?D< 45<>=F465 < ?D>>?44>5 
=>6OE <=65=5D=OE >><<G=<>4F<=. � EFD><F5?L=O= ?5D<>4 (1-4O >G5D54L 
EFD><F5?L=>7> ?D>5>F4) E=<<45FEO D4EF<F5?L=>7> 7DG=F4 E ??>M44< 829<2 < 
F>?M<=>= 0,1<, 6 >5N5<5 83 <3. �F>D>= >G5D54LN EFD><F5?L=>7> ?D>5>F4 
?D54GE<4FD<645FEO E=OF<5 D4EF<F5?L=>7> 7DG=F4 ??>M44LN 486<2 < F>?M<=>= 
0,1<, 6 >5N5<5 48,6 <3. 
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$45>F4 F5E=<>< E>?DO65=4 E 6>7<>6=O<< GF5G>4<< �%� < ?D< 46<65=<< 
55 =5 ?> ?D54=47=4G5==O< 4?O MF>7> ?D>5744<< < ??>M44>4<<, ?> =5 
M>D4=<D>64==O< GG4EF>4< F5DD<F>D<< 6>7<>6=> 747DO7=5=<5 65DE=<E E?>56 
?>G6 =5DF5?D>4G>F4<<.  

�?>ED54>64==>5 6>745=EF6<5 <>65F =45?N44FLEO < 6 E?GG45 ?D>6545=<O 
D5<>=F=OE D45>F FD4=E?>DF=OE ED54EF6 6 ?>?56OE GE?>6<OE 557 ?D<<5=5=<O 
GEFD>=EF6 (?>44>=O < 4D.), ?D54>F6D4M4NM<E ?>?444=<5 =4 ?>G6O, 4 F4> 65 
74?D46>4 F>??<6>< 6 =5GEF4=>6?5==OE <5EF4E. 

�5E>5?N45=<5 FD55>64=<= ?> E5>DG < D47<5M5=<N EFD><F5?L=OE >FE>4>6 
=4 MF4?5 45<>=F464, EFD><F5?L=>-<>=F46=OE D45>F <>65F F4> 65 5OFL 
<EF>G=<>>< 74E>D5=<O < 747DO7=5=<O 75<5?L. 

 

5.5 �E=>6=O5 <EF>G=<>< < >E=>6=O5 6<4O 6>745=EF6<O =4 
D4EF<F5?L=O= < 6<6>F=O= <<D, ?D<D>4=O5 >><??5>EO < ?D<D>4=O5 
>5N5>FO 

�>745=EF6<5 =4 6<6>F=O= <<D ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 
=5 ?D>7=>7<DG5FEO, F.>. >EGM5EF6?O5FEO >=4 6 7D4=<F4E EGM5EF6GNM5= 
?D><??>M44><.  '44?5=<5 4D565E=>->GEF4D=<>>6>= D4EF<F5?L=>EF< ?D>5>F=O<< 
D5L5=<O<< =5 ?D54GE<>FD5=>. 

 

5.6 �E=>6=O5 <EF>G=<>< < >E=>6=O5 6<4O 6>745=EF6<O,  E6O74==O5 E 
D<7<G5E><<< D4>F>D4<<. 

�E=>6=O<< <EF>G=<>4<< LG<4 ?D>5>F<DG5<>7> >5N5>F4 O6?ONFEO D45>F4 
F5E=>?>7<G5E>>7> >5>DG4>64=<O 6 ?5D<>4 ?D>6545=<O 45<>=F464 < EFD><F5?L=>-

<>=F46=OE D45>F, 46<65=<5 46F><>5<?L=>7> FD4=E?>DF4 ?> F5DD<F>D<<. 
,G<>6>5 6>745=EF6<5 G>474==OE 6OL5 <EF>G=<>>6 =>E<F ?>>4?L=O= < 

6D5<5==O= E4D4>F5D < 5G45F O6?OFLEO =57=4G<F5?L=O<. 
 

5.7 �5D4M5=<5 E >FE>44<< 

�D< D54?<74F<< ??4=<DG5<>= 45OF5?L=>EF< 5G4GF >5D47>6O64FLEO >FE>4O 
=4 MF4?5 D5>>=EFDG>F<<, E6O74==O5 E 45<>=F465<, D475>D>>= >F45?L=OE 
>>=EFDG>F<= < E>>DG65=<=, F4> 65 >FE>4O ?D< EFD><F5?LEF65. 

� ?D>F5EE5 DG=>F<>=<D>64=<O ?D>5>F<DG5<>7> >5N5>F4 >5D47>64=<5 
=>6OE 6<4>6 >FE>4>6 =5 ?D54GE<4FD<645FEO. 

�>E>>?L>G 5>?LL<=EF6> 6<4>6 >FE>4>6, >5D47GNM<EEO 6 ?5D<>4 
EFD><F5?LEF64, O6?ONFEO <=5DF=O<< ?> >F=>L5=<N > >><?>=5=F4< >>DG64NM5= 
ED54O, <E =574F<6=>5 6?<O=<5 5G45F ?D>O6?OFLEO 6 >E=>6=>< 6 =4>>??5=<< =4 
F5DD<F>D<<.  

�>MF><G 6 MF>F ?5D<>4 >E=>6=>5 6=<<4=<5 E?54G5F G45?OFL 
E6>56D5<5==><G <E 6O6>7G < GF<?<74F<<. 'G<FO64O, GF> EFD><F5?L=O5 D45>FO 
?D>6>4OFEO ?>E?54>64F5?L=>, F> >5M55 >>?<G5EF6> >4=>6D5<5==> ED4=OM<EEO 
>FE>4>6 5G45F =565?<>> (6 ?D545?4E GEF4=>6?5==OE ?<<<F>6). 

 

6. �D>7=>7 < >F5=>4 6>7<>6=>7> <7<5=5=<O E>EF>O=<O >>DG64NM5= 
ED54O < E>F<4?L=>-M>>=><<G5E><5 GE?>6<O D4=>=4 <EE?54>64=<= 
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6.1. �D>7=>7  < >F5=>4  6>7<>6=>7> 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 

�D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O 4F<>ED5D=>7> 6>74GE4 6O?>?=5=4 
=4 >E=>64=<< 4=4?<74 D57G?LF4F>6 D4EG5F4 D4EE5<64=<O 747DO7=ONM<E 65M5EF6 
>F ?D>5>F<DG5<OE <EF>G=<>>6 6O5D>E>6 E GG5F>< EGM5EF6GNM57> E>EF>O=<O 
4F<>ED5D=>7> 6>74GE4 6 D4=>=5 <EE?54>64=<=. 

$4EG5F ?D<75<=OE >>=F5=FD4F<= 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 
6>74GE5 6O?>?=5= ?> G=<D<F<D>64==>= ?D>7D4<<5 D4EG5F4 747DO7=5=<O 
4F<>ED5DO «->>?>7» (65DE<O 4.7) D<D<O ��� «�=F57D4?» (7. %4=>F-�5F5D5GD7) 
< E>7?4E>64==>= ��� <<. �>5=>>64. �D>7D4<<4 D4EG5F4 D54?<7G5F >E=>6=O5 
746<E<<>EF< < ?>?>65=<O E>7?4E=> �D<>47G �<=?D<D>4O $$ >F 06.06.20177. 
7273 «�5 GF65D645=<< <5F>4>6 D4EG5F>6 D4EE5<64=<O 6O5D>E>6 6D54=OE 
(747DO7=ONM<E) 65M5EF6 6 4F<>ED5D=>< 6>74GE5» (�$$-2017).  

� D4EG5F5 D4EE5<64=<O GGF5=O 6O5D>EO >F EGM5EF6GNM<E <EF>G=<>>6 
E>7?4E=> �>F4 <=65=F4D<74F<< <EF>G=<>>6 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE 4?O �D4E=>E?>5>4E>>7> DG4=<>4 2$' ��� 
«�5?4DGEL>4?<=». 

$57G?LF4FO D4EG5F>6 ?>>474?<, GF> <4>E<<4?L=> D47>6O5 >>=F5=FD4F<< 
747DO7=ONM<E 65M5EF6 ?> >F45?L=O< <=7D54<5=F4< =4 D4EE<4FD<645<>= 
F5DD<F>D<< 6 D4EG5F=OE F>G>4E =4 7D4=<F5 E4=<F4D=>-74M<F=>= 7>=O < 
E5?<F55=>= 7>=O (4.�>EO=<G<) =5 ?D56OL4NF =>D<4F<6=O5 7=4G5=<O ?D545?L=> 
4>?GEF<<OE >>=F5=FD4F<= 6O5D>E>6, GEF4=>6?5==OE E>7?4E=> �� «�>>474F5?< 
557>?4E=>EF< < 5576D54=>EF< 4F<>ED5D=>7> 6>74GE4», GF65D645==OE 
�>EF4=>6?5=<5<  %>65F4 �<=<EFD>6 $5E?G5?<>< �5?4DGEL 7 37 >F 25.01.2021. 

�D>5>F=O5 D5L5=<O >55E?5G<64NF 5?47>?D<OF=O5 GE?>6<O D4EE5<64=<O 
747DO7=ONM<E 65M5EF6, E>5?N45=<5 45=EF6GNM57> 74>>=>44F5?LEF64 6 >5?4EF< 
FD55>64=<= > >4G5EF6G 4F<>ED5D=>7> 6>74GE4. 

�E=>6O64OEL =4 D57G?LF4F4E D4EG5F>6 D4EE5<64=<O 747DO7=ONM<E 65M5EF6 
6 4F<>ED5D=>< 6>74GE5 E GG5F>< D>=>6OE >>=F5=FD4F<= 747DO7=ONM<E 65M5EF6 
F5DD<F>D<O 6<?>= 74EFD>=>< =5 ?>?4445F 6 7D4=<FO 7>=O 6>7<>6=>7> 6D54=>7> 
6>745=EF6<O (7>=4, 74 ?D545?4<< >>F>D>= <4>E<<4?L=O5 ?D<75<=O5 
>>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 6>74GE5 =5 ?D56OEOF 
=>D<4F<6O >4G5EF64 4F<>ED5D=>7> 6>74GE4). 

�D< D54?<74F<< ?D>5>F=OE D5L5=<= =574F<6=>7> 6>745=EF6<O =4 
4F<>ED5D=O= 6>74GE =5 ?D>7=>7<DG5FEO. 

 

6.2. �D>7=>7 < >F5=>4 6>7<>6=>7> 6>745=EF6<O =4 ?>65DE=>EF=O5 
6>4=O5 >5N5>FO < ?>475<=O5 6>4O 

�D< D54?<74F<< ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 6>745=EF6<O =4 
5?<64=L<= ?>65DE=>EF=O= 6>4=O= >5N5>F 3 D. %<65?L74 =5 ?D>7=>7<DG5FEO 
66<4G F>7>, GF> =5?>ED54EF65==>7> 6O?GE>4 EF>G=OE 6>4 6 6>4>F>> =5 
?D54GE<4FD<645FEO.  

�D<5<=<>>< E>7O=EF65==>-5OF>6OE EF>>>6 E?G6<F EGM5EF6GNM4O 
6=GFD<??>M44>G=4O >4=4?<74F<>==4O E5FL. �4?55 MF< EF>G=O5 6>4O ?>EFG?4NF 
6 E5FL E>7O=EF65==>-5OF>6>= >4=4?<74F<< 2$' < 74F5< =4 >5M57>D>4E><5 
>4=4?<74F<>==O5 >G<EF=O5 E>>DG65=<O 7. %>?<7>DE>4. 
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%GM5EF6GNM4O 74>DOF4O 4>64564O E<EF5<4 >4=4?<74F<< ?D54GE<4FD<645F 
E5>D ?>65DE=>EF=OE EF>G=OE 6>4 E F5DD<F>D<< >5N5>F4 D5>>=EFDG>F<< E GG5F>< 
65DF<>4?L=>= ??4=<D>6><. �4?55 ?>65DE=>EF=O5 EF>G=O5 6>4O =4?D46?ONFEO 6 
EGM5EF6GNMGN E<EF5<G 4>6456>= >4=4?<74F<< ?D><??>M44>< 2$', >G<M4NFEO 
< <E?>?L7GNFEO 6 E<EF5<5 ?>6F>D=>7> 6>4>E=4565=<O 2$'.  

 

6.3. �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E 6>745=EF6<5< =4 =54D4 

�?4=<DG5<4O E>7O=EF65==4O 45OF5?L=>EFL, 74>?NG4NM4OEO 6 
D5>>=EFDG>F<<, 4 F4>65 ?>E?54GNM4O M>E??G4F4F<O ?D>5>F<DG5<>7> >5N5>F4 =5 
>>47O64NF 6>745=EF6<O =4 =54D4.   

 

6.4. �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E 6>745=EF6<5< =4 75<5?L=O5 D5EGDEO 

�>745=EF6<5 =4 75<5?L=O5 D5EGDEO E ?>7<F<< <7<5=5=<O >4F57>D<= 
75<?5?>?L7>64=<O =5 ?D><7>=45F, F.>. ??4=<DG5<4O D5>>=EFDG>F<O 
>EGM5EF6?O5FEO =4 F5DD<F>D<< EGM5EF6GNM5= ?D><??>M44>5 2$' 
�D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=». 

� E>45 ?D>6545=<5 EFD><F5?L=OE D45>F 5G45F E=<<4FLEO D4EF<F5?L=O= 
7DG=F 6 >5N5<5 83 <3 (?5D6O= MF4?), 48,6 <3 (6F>D>= MF4?). 

�54>EF4F>> D4EF<F5?L=>7> 7DG=F4 6 >5N5<5 61,6 <3 4?O >75?5=5=<O 
F5DD<F>D<< 5G45F ?>46>7<FEO E>7?4E=> E?D46>5. 

% F5?LN >55E?5G5=<O D4F<>=4?L=>7> <E?>?L7>64=<O < >ED4=O ?>G65==> 
D4EF<F5?L=>7> ?>>D>64 =5>5E>4<<> ?D54GE<>FD5FL: 

- <4>E<<4?L=>5 <E?>?L7>64=<5 M?5<5=F>6 EGM5EF6GNM5= FD4=E?>DF=>= 
<=DD4EFDG>FGDO F5DD<F>D<<; 

- 74?D5M5=<5 M>E??G4F4F<< EFD><F5?L=OE <4L<=, <<5NM<E F5G< 7>DNG5-

E<47>G=OE <4F5D<4?>6; 
- <4>E<<4?L=>5 <E?>?L7>64=<5 <4?>>FE>4=OE F5E=>?>7<= EFD><F5?LEF64 <  

M>E??G4F4F<< >5N5>F>6; 
- ED4=5=<5 <4F5D<4?>6, EODLO < >5>DG4>64=<O =4 55F>=<D>64==OE < 

>564?>64==OE ??>M44>4E; 
- >D74=<74F<N <5EF 6D5<5==>7> D47<5M5=<O >FE>4>6 6 E>>F65FEF6<< E 

45=EF6GNM<<< =>D<4<< < ?D46<?4<<; 
- E6>56D5<5==GN G5>D>G EFD><F5?L=OE >FE>4>6 < >FE>4>6 ?D><76>4EF64 

4?O <E>?NG5=<O 57> D47<O64, 6O4G64=<O < >E544=<O 6 ?>G65==>< ?D>D<?5; 
- E6>56D5<5==O= 6O6>7, >5D47GNM<EEO >FE>4>6 ?D><76>4EF64 < 

?>FD55?5=<O < <E>?NG5=<5 ?5D5?>?=5=<O <5EF 6D5<5==>7> D47<5M5=<O >FE>4>6; 
- >EGM5EF6?5=<5 >>=FD>?O 74 E>5?N45=<5< ?D46<? ED4=5=<O, E>EF>O=<O 

<5EF 6D5<5==>7> =4>>??5=<O >FE>4>6, <E <E?>?L7>64=<O, D47<5M5=<O, 
GF<?<74F<< < ?>64D=>= 557>?4E=>EF<. 

-F< <5D>?D<OF<O ?><>7GF <E>?NG<FL D<?LFD4F<N <?< ?>65DE=>EF=>5 
747DO7=5=<5 ?>G65==>-D4EF<F5?L=>7> ?>>D>64. 
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6.5. �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E 6>745=EF6<5< =4 D4EF<F5?L=O= < 6<6>F=O= <<D, ?D<D>4=O5 
>><??5>EO < ?D<D>4=O5 >5N5>FO 

�>745=EF6<5 =4 6<6>F=O= <<D ??4=<DG5<>= E>7O=EF65==>= 45OF5?L=>EF< 
=5 ?D>7=>7<DG5FEO, F.>. >EGM5EF6?O5FEO >=4 6 7D4=<F4E EGM5EF6GNM5= 
?D><??>M44><. '44?5=<5 4D565E=>->GEF4D=<>>6>= D4EF<F5?L=>EF< ?D>5>F=O<< 
D5L5=<O<< =5 ?D54GE<>FD5=>. 

->>?>7<G5E><< D4>F>D><, >>F>DO= <>65F >>47O64FL =574F<6=>5 6?<O=<5 
=4 D4EF<F5?L=>EFL D4=>=4 ?D>6545=<O D45>F, <>65F 5OFL >4G5EF6> 4F<>ED5D=>7> 
6>74GE4.  

%>7?4E=> ?D>6545==O< D4EG5F4< D4EE5<64=<O 6O5D>E>6 6D54=OE 65M5EF6 
6 4F<>ED5D5, 7>=4 6>7<>6=>7> 7=4G<F5?L=>7> 6D54=>7> 6>745=EF6<O 
DG=>F<>=<D>64=<O ?D>5>F<DG5<>7> >5N5>F4, E GG5F>< E>6<5EF=OE 6O5D>E>6 
EGM5EF6GNM57> ?D><76>4EF64 2 $' �D4E=>E?>5>4E>>7> DG4=<>4 ��� 
«�5?4DGEL>4?<=» =5 6OE>4<F 74 ?D545?O D4EG5F=>= %��. 

&4><< >5D47><, D54?<74F<O ??4=<DG5<>= 45OF5?L=>EF< =5 >>465F 
=574F<6=>7> 6>745=EF6<O =4 D4EF<F5?L=O= < 6<6>F=O= <<D, ?D<D>4=O= 
>><??5>EO < >5N5>FO F5DD<F>D<< <EE?54>64=<O. 

 

6.6 �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E 6>745=EF6<5< E D<7<G5E><< 6>745=EF6<5< 

� 6<4G >FEGFEF6<O ?D>5>F<DG5<OE D4>F>D>6 LG<>6>7> 6>745=EF6<O 
=574F<6=>7> 6>745=EF6<O, E6O74==>7> E LG<>< < 6<5D4F<5= =5 ?D>7=>7<DG5FEO. 

 

6.7 �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E >5D4M5=<5< E >FE>44<< 

%FD><F5?L=O5 >FE>4O, >5D47GNM<5EO =4 EF44<< EFD><F5?LEF64, 6 
44?L=5=L5< ?5D544NFEO =4 ?5D5D45>F>G E?5F<4?<7<D>64==O< >D74=<74F<O<.  

�?O ?D54>F6D4M5=<O 6D54=OE 6O45?5=<= 6 >>DG64NMGN ED54G >FE>4O 
6D5<5==> ED4=OFEO =4 E?5F<4?L=> >5>DG4>64==OE ??>M44>4E E F65D4O< 
6>4>=5?D>=<F45<O< ?>>DOF<5< (4ED4?LF>55F>=), ?D< =5>5E>4<<>EF< 
>7D4645==OE. 

�>=F5==5DO 4>?6=O >E=4M4FLEO ??>F=> 74>DO64NM<<<EO >DOL>4<< < 
>G<M4FLEO ?> <5D5 74?>?=5=<O, 4>?6=O 5OFL ?D><4D><D>64=O E G>474=<5< 
>?4EE4 >?4E=>EF< < =4<<5=>64=<O E>5<D45<OE >FE>4>6. �D54=O5 6O45?5=<O >F 
>5D47GNM<EEO >FE>4>6 >FEGFEF6GNF. &>>E<G=O5 >FE>4O =4 ?D54?D<OF<< 
>FEGFEF6GNF.  

�FE>4O, >>F>DO5 <>7GF 5OFL <E?>?L7>64=O 6 >4G5EF65 6F>D<G=>7> EODLO, 
4>?6=O <E?>?L7>64FLEO =4 >5N5>F4E ?> <E?>?L7>64=<N >FE>4>6 6 E>>F65FEF6<< 
E F5E=<G5E><<< =>D<4F<6=O<< ?D46>6O<< 4>F4<<. 

 

6.8 �D>7=>7 < >F5=>4 <7<5=5=<O E>F<4?L=>-M>>=><<G5E><E GE?>6<= 

� ?D>7=>75 <7<5=5=<= E>F<4?L=>-M>>=><<G5E><E GE?>6<= <>6=> 
6O45?<FL DO4 ?>?>6<F5?L=OE EF>D>=: 
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o ?D>6545==4O D5>>=EFDG>F<O ?D><76>4EF65==OE 744=<= < E>>DG65=<= 
GG4EF>4 4D>5?5=<O 6 E>>F65FEF6<< E =>6>=, 5>?55 E>6D5<5==>= F5E=>?>7<5=, 
=4?D46?5==4O =4 E>>F65FEF6<5 ?>6OL5==O< F5E=>?>7<G5E><<, F5E=<G5E><< < 
M>E??G4F4F<>==O<  FD55>64=<O< <>65F >55E?5G<FL GE?>6<O EF45<?L=>= D45>FO 
?D><??>M44>< 2$' �D4E=>E?>5>4E>>7> DG4=<>4 ��� «�5?4DGEL>4?<=» < 
?D54?D<OF<O ��� «�5?4DGEL>4?<=» 6 F5?><, GF>, >4> E?54EF6<5, 5G45F 
E>?D>6>644FLEO D>EF>< ?D<5O?<, =4?>7>6 < ??4F565= 6 5N465F, < E>744EF GE?>6<O 
4?O GEF>=G<6>7> D476<F<O D57<>=4, ?>6OL5=<O GD>6=O 5?47>E>EF>O=<O, 
G>D5??5=<O 74>D>6LO 7D4644=, ?>6OL5=<O >4G5EF64 >5D47>64=<O < 4D. 

o ?D>6545==4O D5>>=EFDG>F<O EGM5EF6GNM<E 4E?<D4F<>==OE E<EF5< 
6 744=<< 4D>5?5=<O E >D74=<74F<5= >D74=<7>64==>7> 6O5D>E4 >G<M5==>7> 
6>74GE4 6 4F<>ED5DG (<E>?NG4NM4O 57> 6>76D4M5=<5 6 F5E>6>5 ?D>EFD4=EF6>) 
?>?>6<F5?L=> E>465FEO =4 G?GGL5=<< GE?>6<= FDG44 =4 D45>G<E <5EF4E, 5G45F 
E?>E>5EF6>64FL F5=45=F<< > E=<65=<N ?D>D5EE<>=4?L=>= 745>?5645<>EF< =4 
?D54?D<OF<<. 

 

6.9 �D>7=>7 < >F5=>4 <7<5=5=<O E>EF>O=<O >>DG64NM5= ED54O, 
E6O74==>5 E 65D>OF=O<< GD576OG4==O<< < 74?D>5>F=O<< 464D<==O<< 
E<FG4F<O<< 

�E=>6=O<< ?D<G<=4<< 464D<=, >4> ?D46<?>, O6?ONFEO D4775D<5F<74F<O 
F5E=>?>7<G5E>>7> >5>DG4>64=<O, =4DGL5=<5 D57?4<5=F4 < ?D46<? M>E??G4F4F<< 
>5>DG4>64=<O >5E?G6<64NM<< ?5DE>=4?><, E =4DGL5=<5< F5E=<G5E>>= < 
?D>F<6>?>64D=>= 557>?4E=>EF<. 

�>E?5 66>44 ?D>5>F<DG5<>7> >5N5>F4 6 M>E??G4F4F<N D<E> 6>7=<>=>65=<O 
=4 ?D><76>4EF65 464D<==OE E<FG4F<=, 4 F4>65 <E ?>E?54EF6<O 5G4GF 
<<=<<4?L=O<< ?D< GE?>6<< =5G>>E=<F5?L=>7> < EFD>7>7> E>5?N45=<O 6 
?D>F5EE5 ?D><76>4EF64 D45>F ?D46<? ?D><OL?5==>= 557>?4E=>EF<. 

 

7 �5D>?D<OF<O ?> ?D54>F6D4M5=<N < <<=<<<74F<< 6D54=>7> 
6>745=EF6<O 

�F<>ED5D=O= 6>74GE 

�55E?5G<FL 6O5D>E 747DO7=ONM<E 65M5EF6, <<5NM<E F65D4>5 47D574F=>5 
E>EF>O=<5, E >>=F5=FD4F<5= =5 5>?55 50 <7/<3 (�5>D5F �D57<45=F4 $5E?G5?<>< 
�5?4DGEL >F 23.11.2017  7 7); 

�55E?5G<FL <E?D46=>5 DG=>F<>=<D>64=<5 747>>G<EF=OE GEF4=>6>> (��') 
3 ?O?5G?46?<64NM57> >5>DG4>64=<O, 6 E>>F65FEF6<< E 74>>=>< $5E?G5?<>< 
�5?4DGEL >F 16.12.2008 7. 7 2-3, E <7<5=5=<O<< < 4>?>?=5=<O<< >F 17.07.2023 7. 
7 295; 

�47>>G<EF=O5 GEF4=>6>< <>7GF M>E??G4F<D>64FLEO F>?L>> 6 F5E=<G5E>< 
<E?D46=>< E>EF>O=<<. 

�D< M>E??G4F4F<< ?O?5G?46?<64NM57> >5>DG4>64=<O) =5 4>?GE>45FEO: 
" >F>?NG5=<5 747>>G<EF=OE GEF4=>6>> ?D< D45>F4NM5< 

F5E=>?>7<G5E>>< >5>DG4>64=<<; 
" G65?<G5=<5 ?D><76>4<F5?L=>EF< F5E=>?>7<G5E>>7> >5>DG4>64=<O, 

E>?D>6>644NM55EO <7<5=5=<5< >4G5EF65==>7> < (<?<) >>?<G5EF65==>7> E>EF464 
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>FE>4OM<E 747>6 E ?D56OL5=<5< 7=4G5=<=, GEF4=>6?5==OE 6 ?D>5>F=OE 
D5L5=<OE =4 >E=4M5=<5 >D74=<7>64==OE EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 
747>>G<EF=O<< GEF4=>6>4<<, 557 >?5D564NM57> ?<5> >4=>6D5<5==>7> 
=4D4M<64=<O <>M=>EF< 45=EF6GNM<E 747>>G<EF=OE GEF4=>6>>. 

�EGM5EF6?OFL ?D><76>4EF65==O= >>=FD>?L 6O5D>E>6 747DO7=ONM<E 
65M5EF6 6 4F<>ED5D=O= 6>74GE. 

�>65DE=>EF=O5  6>4O 

�>445D6<64FL 6>4>>F6>4OM<5 >><<G=<>4F<< < >>=EFDG>F<< ?DG44-

<E?4D<F5?O 6 F5E=<G5E>< $47D45>F>4 E?5F<4?L=OE <5D>?D<OF<= ?> 
?D54>F6D4M5=<N <?< E=<65=<N ?>F5=F<4?L=OE =55?47>?D<OF=OE 6>745=EF6<= 
=4 ?>65DE=>EF=O5 6>4O =5 FD55G5FEO. 

�D>5>F=O<< D5L5=<O<< =5 ?D54GE<4FD<645FEO >D74=<74F<< E5D>E>6 
EF>G=OE 6>4 6 ?>65DE=>EF=O5 6>4=O5 >5N5>FO. 

�5<5?L=O5 D5EGDEO 

� F5?OE <<=<<<74F<< =574F<6=>7> 6?<O=<O ?D< D54?<74F<< ??4=<DG5<>= 
45OF5?L=>EF< 4>?6=O 5OFL ?D<=OFO E?54GNM<5 <5DO: 

" <E>?NG<FL ?5D5<5L<64=<5 E ?>4EF<?4NM<<< ?>D>44<<, 
747DO7=5=<5 =5DF5?D>4G>F4<<, ?D>G<<< 747DO7=ONM<<< 65M5EF64<<, >FE>44<< 
< F.?.; 

" EFD><F5?L=4O F5E=<>4 =5 4>?6=4 <<5FL ?D>F5G5> <4E?4 < F>??<64 < 
4>?6=4 5OFL E=4565=4 >><??5>F>< 45E>D55=F4 4?O GEFD4=5=<O GF5G5> <4E?4; 

" GEFD>=EF6> E?5F<4?L=> ?D54=47=4G5==OE <5EF 4?O E5>D4 < ED4=5=<O 
>FE>4>6; 

" ?> >>>=G4=<N EFD><F5?LEF64 F5DD<F>D<= EFD>=??>M44>> 
=5>5E>4<<> 5?47>GEFD4<64FL. 

�FE>4O 

" �?O <E>?NG5=<O =574F<6=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G >FE>4>6, 
>5D47GNM<EEO ?D< D5>>=EFDG>F<<, ?D54GE<4FD<645FEO <E >D74=<7>64==O= E5>D, 
ED4=5=<5 =4 6D5<5==OE ??>M44>4E 4?O =4>>??5=<O =5 5>?55 >4=>= FD4=E?>DF=>= 
54<=<FO E ?>E?54GNM5= E44G5= E?5F<4?<7<D>64==O< ?D54?D<OF<O< =4 
?5D5D45>F>G <?< <E?>?L7>64=<5< 4?O E>5EF65==OE =G64 ?D54?D<OF<O. 

" �57>?4E=>5 >5D4M5=<5 E >FE>44<< =4 ?D54?D<OF<< 4>?6=> >EGM5EF6?OFLEO 
6 E>>F65FEF6<< E D47D45>F4==>= «�=EFDG>F<5= ?> >5D4M5=<N E >FE>44- << 
?D><76>4EF64». 

" �5D>?D<OF<O ?> <<=<<<74F<< =574F<6=>7> 6?<O=<O >FE>4>6 ?D><76>4EF64 
< EFD><F5?L=OE >FE>4>6 =4 >>DG64NMGN ED54G 6>?NG4NF 6 E55O: 

" 3  D4745?L=O= E5>D >FE>4>6; 
" 3  >D74=<74F<N <5EF ED4=5=<O >FE>4>6; 
" 3 ?>?GG5=<5 E>7?4E>64=<O > D47<5M5=<< >FE>4>6 ?D><76>4EF64 < 

74>?NG5=<5 4>7>6>D>6 E> E?5F<4?<7<D>64==O<< >D74=<74F<O<< ?> ?D<5<G < 
GF<?<74F<< >FE>4>6; 

" 3  FD4=E?>DF<D>6>G >FE>4>6 > <5EF4< ?5D5D45>F><; 
" 3  ?D>6545=<5 <=EFDG>F464 > E5>D5, ED4=5=<<, FD4=E?>DF<D>6>5 >FE>4>6 < 

?D><E4=<F4D<< ?5DE>=4?4 6 E>>F65FEF6<< E FD55>64=<O<< >D74=>6 
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M>>?>7<G5E>>7> >>=FD>?O, 7>EG44DEF65==>7> E4=<F4D=>-M?<45<<>?>7<G5E>>7> 
=447>D4. 

" �D74=<74F<O <5EF 6D5<5==>7> ED4=5=<O >FE>4>6 6>?NG45F E?54GNM55: 
" 3 =4?<G<5 ?>>DOF<O, ?D54>F6D4M4NM57> ?D>=<>=>65=<5 F>>E<G=OE 

65M5EF6 6 ?>G6G < 7DG=F>6O5 6>4O; 
" 3 74M<FG ED4=OM<EEO >FE>4>6 >F 6>745=EF6<O 4F<>ED5D=OE >E44>>6 < 

65FD4; 
" 3 =4?<G<5 EF4F<>=4D=OE <?< ?5D546<6=OE <5E4=<7<>6 4?O 

?>7DG7><D477DG7>< >FE>4>6 ?D< <E ?5D5<5M5=<<; 
" 3 E>>F65FEF6<5 E>EF>O=<O 5<>>EF5=, 6 >>F>DOE =4>4??<64NFEO >FE>4O, 

FD55>64=<O< FD4=E?>DF<D>6>< 46F>FD4=E?>DF><. 
 

9 �D54?>65=<O ?> ?D>7D4<<5 ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= 
ED54O < =5>5E>4<<>EF< ?D>6545=<O ?>E?5?D>5>F=>7> 4=4?<74 

�D>6545=<5 ?>>4?L=>7> <>=<F>D<=74 >EGM5EF6?O5FEO 6 E>>F65FEF6<< E 
�>?>65=<5< > ?>DO4>5 ?D>6545=<O 6 E>EF465 �4F<>=4?L=>= E<EF5<O 
<>=<F>D<=74 >>DG64NM5= ED54O 6 $5E?G5?<>5 �5?4DGEL ?>>4?L=>7> 
<>=<F>D<=74 >>DG64NM5= ED54O < <E?>?L7>64=<O 57> 44==OE, GF65D645==O< 
?>EF4=>6?5=<5< %>65F4 �<=<EFD>6 $5E?G5?<>< �5?4DGEL >F 28 4?D5?O 2004 7. 7 
482 . 

�>>4?L=O= <>=<F>D<=7 ?D>6>4<FEO 6 F5?OE =45?N45=<O 74 E>EF>O=<5< 
>>DG64NM5= ED54O < 6>745=EF6<5< 45OF5?L=>EF< =4 >>DG64NMGN ED54G 6 
D4=>=5 >EGM5EF6?5=<O E>7O=EF65==>= < <=>= 45OF5?L=>EF<, >>F>D4O >>47O645F 
6D54=>5 6>745=EF6<5 =4 >>DG64NMGN ED54G, 6 F>< G<E?5 M>>?>7<G5E>< >?4E=>= 
45OF5?L=>EF<. 

�5D5G5=L ?4D4<5FD>6 < ?5D<>4<G=>EFL =45?N45=<=, 4 F4>65 ?5D5G5=L 
?D<D>4>?>?L7>64F5?5=, >EGM5EF6?ONM<E ?D>6545=<5 ?>>4?L=>7> <>=<F>D<=74 
>>DG64NM5= ED54O, >?D545?ONFEO �<=<EF5DEF6>< ?D<D>4=OE D5EGDE>6 < 
>ED4=O >>DG64NM5= ED54O. 

�=EFDG>F<5= > ?>DO4>5 ?D>6545=<O ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= 
ED54O [29�] >?D545?5=O >5N5>FO =45?N45=<= ?D< ?D>6545=<< ?>>4?L=>7> 
<>=<F>D<=74, 4 F4>65 FD55>64=<O >?D545?ONM<5, >4><5 >5N5>FO > =<< 
>F=>EOFEO.   

�5N5>F4<< =45?N45=<= ?D< ?D>6545=<< ?>>4?L=>7> <>=<F>D<=74 
O6?ONFEO: 

" 6O5D>EO 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE >F 
F5E=>?>7<G5E>>7> < <=>7> >5>DG4>64=<O, F5E=>?>7<G5E><E ?D>F5EE>6, <4L<= < 
<5E4=<7<>6 (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - 6O5D>EO 747DO7=ONM<E 65M5EF6 
6 4F<>ED5D=O= 6>74GE); 

" EF>G=O5 6>4O, E5D4EO645<O5 6 ?>65DE=>EF=O5 6>4=O5 >5N5>FO, 6 
F>< G<E?5 G5D57 E<EF5<G 4>6456>= >4=4?<74F<< (44?55, 5E?< =5 GEF4=>6?5=> 
<=>5, - EF>G=O5 6>4O); 

" ?>65DE=>EF=O5 6>4O 6 D4=>=5 D4E?>?>65=<O <EF>G=<>>6 E5D>E>6 
EF>G=OE 6>4 (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - ?>65DE=>EF=O5 6>4O); 
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" ?>475<=O5 6>4O 6 <5EF4E D4E?>?>65=<O 6OO6?5==OE <?< 
?>F5=F<4?L=OE <EF>G=<>>6 <E 747DO7=5=<O (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - 
?>475<=O5 6>4O); 

" ?>G6O (7DG=FO) 6 <5EF4E D4E?>?>65=<O 6OO6?5==OE <?< 
?>F5=F<4?L=OE <EF>G=<>>6 <E 747DO7=5=<O (44?55, 5E?< =5 GEF4=>6?5=> <=>5, - 
?>G6O (7DG=FO); 

" 4DG7<5 >5N5>FO =45?N45=<=, >?D545?O5<O5 �<=<EF5DEF6>< 
?D<D>4=OE D5EGDE>6 < >ED4=O >>DG64NM5= ED54O (44?55 - �<=?D<D>4O). 
 

'G<FO64O E4D4>F5D ?D>5>F<DG5<OE <EF>G=<>>6 < FD55>64=<O ?G=>F4 3 
�=EFDG>F<<, >>F>DO< >?D545?5=O >D<F5D<<  >F=5E5=<O  <EF>G=<>>6 6O5D>E>6, > 
F5<, >>F>DO5 FD55GNF ?D>6545=<O ?>>4?L=>7> <>=<F>D<=74,  E?54G5F >F<5F<FL, 
GF>  ?D>6545=<5 ?>>4?L=>7> <>=<F>D<=74 >>DG64NM5= ED54O =5 FD55G5FEO. 

 �4=4>>, E>7?4E=> EF4FL5 101 �4>>=4 $5E?G5?<>< �5?4DGEL «�5 >ED4=5 
>>DG64NM5= ED54O» ND<4<G5E><5 ?<F4 < <=4<6<4G4?L=O5 ?D54?D<=<<4F5?< 
?D< >EGM5EF6?5=<< E>7O=EF65==>= < <=>= 45OF5?L=>EF<, >>47O64NM5= 6D54=>5 
6>745=EF6<5 =4 >>DG64NMGN ED54G, >5O74=O >55E?5G<64FL >EGM5EF6?5=<5 
?D><76>4EF65==>7> >>=FD>?O 6 >5?4EF< >ED4=O >>DG64NM5= ED54O.   

% GG5F>< =4?<G<O EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 =5>5E>4<<> 
>EGM5EF6?OFL ?D><76>4EF65==O= >>=FD>?L E>EF>O=<O 4F<>ED5D=>7> 6>74GE4, 6 
F>< G<E?5 =4 7D4=<F5 GEF4=>6?5==>= %��.  

�D< ?D>6545=<< >>=FD>?O 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 
4F<>ED5D=O= 6>74GE >F EF4F<>=4D=OE <EF>G=<>>6 6O5D>E>6 >F5>D ?D>5 < 
?D>6545=<5 <7<5D5=<= 6 >5?4EF< >ED4=O >>DG64NM5= ED54O >EGM5EF6?O5FEO ?> 
?5D5G=O< ?>>474F5?5=, GEF4=>6?5==O< 4?O 44==>7> <EF>G=<>4 6O5D>E>6 6 
D47D5L5=<< =4 6O5D>EO 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE <?< 
>><??5>E=>< ?D<D>4>>ED4==>< D47D5L5=<<. 

�5D<>4<G=>EFL ?D>6545=<O >>=FD>?O - =5 D565 >4=>7> D474 6 >64DF4? 
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